Case3:07-cv-00943-WHA Document643-3 Filed10/02/09 Page1 of 307

Exhibit C to the

Declaration of Lewis T. LeClair in Support of Class Counsels' Renewed Application for Fees, Expenses, and an Incentive Payment For Class Representative, Herbert Adderley

Project No. 1		December 2006 Case Management			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:					\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 1 by Co-					
Counsel:					

Project No. 2		Attend Gainesville Meeting to Discuss Causes of Action and Factual Background			
Date	Time Keeper	Description	Hours	Rate	Fee
12/11/06	L. LeClair	Meeting in Gainesville, Florida on new case regarding ERISA claim with R. Katz, B. Parrish and S. Mutch.	8.20	\$ 625	\$ 5,125.00
Project Total:			8.20		\$ 5,125.00
Percentage Recoverable:	100%				\$ 5,125.00
Hours Billed to Project No. 2 by Co- Counsel:	0.00				

Project No. 3		Attend New York Meeting with Potential Witness			
Date	Time Keeper	Description	Hours	Rate	Fee
12/18/06	L. LeClair	Meeting in New York with potential witness.	5.10	\$ 625	\$ 3,187.50
Project Total:			5.10		\$ 3,187.50
Percentage	100%				\$ 3,187.50
Recoverable:					
Hours Billed to	0.00				
Project No. 3 by Co-					
Counsel:					

287224_10.XLS 1 of 306

Project No. 4		Review of Key Documents Received from Bernard Parrish				
Date	Time Keeper	Description	Hours	Rate	Fee	
12/14/06	L. LeClair	Review notes and documents from client regarding potential case.	1.20	\$ 625	\$ 750.00	
12/14/06	L. LeClair	Review exhibits.	0.60	\$ 625	\$ 375.00	
12/26/06	L. LeClair	ERISA record and review of documents.	2.80	\$ 625	\$ 1,750.00	
01/24/07	J. Naylor	Begin review of documents and legal research.	1.00	\$ 425	\$ 425.00	
02/06/07	L. LeClair	Review of B. Parrish material.	0.60	\$ 625	\$ 375.00	
02/07/07	L. LeClair	Review of documents for complaint.	0.60	\$ 625	\$ 375.00	
Project Total:			6.80		\$ 4,050.00	
Percentage	100%				\$ 4,050.00	
Recoverable:	<u> </u>					
Hours Billed to Project No. 4 by Co- Counsel:	1.30					

Project No. 5		Strategy Calls with Co-Counsel and/or Client Regarding Potential Causes of Action and Draft Complaint				
Date	Time Keeper	Description	Hours	I	Rate	Fee
01/24/07	J. Naylor	Conference calls with L. LeClair and co-counsel.	1.20	\$	425	\$ 510.00
02/05/07	J. Naylor	Conference with co-counsel regarding strategy.	0.80	\$	425	\$ 340.00
02/05/07	J. Naylor	Conference with L. LeClair regarding same.	0.30	\$	425	\$ 127.50
02/06/07	J. Naylor	Conference call with co-counsel regarding strategy and research issues.	2.70	\$	425	\$ 1,147.50
02/07/07	J. Naylor	Conference with co-counsel regarding same.	0.80	\$	425	\$ 340.00
02/12/07	J. Naylor	Conferences with L. LeClair and co-counsel on various matters.	1.40	\$	425	\$ 595.00
02/21/07	J. Naylor	Review e-mails from co-counsel.	0.40	\$	425	\$ 170.00
03/12/07	J. Naylor	Conferences with co-counsel regarding same.	0.50	\$	425	\$ 212.50
03/12/07	J. Naylor	Conferences with L. LeClair regarding same.	0.40	\$	425	\$ 170.00
03/28/07	J. Naylor	Conferences with L. LeClair and co-counsel.	0.10	\$	425	\$ 42.50
04/11/07	J. Naylor	Telephone conference with team members regarding strategy.	0.40	\$	425	\$ 170.00
						\$ -
Project Total:			9.00			\$ 3,825.00
Percentage Recoverable:	100%					\$ 3,825.00
Hours Billed to Project No. 5 by Co- Counsel:	8.10					

287224_10.XLS 2 of 306

Project No. 6		Legal Research Regarding Potential ERISA Claims				
Date	Time Keeper	Description	Hours]	Rate	Fee
12/27/06	A. Garza	NFPLA: Research ERISA caselaw directed to standing and equitable relief related to 502(a)(3).	4.90	\$	275	\$ -
12/13/06	L. LeClair	Review of ERISA law and issues.	1.10	\$	625	\$ 3,062.50
12/21/06	L. LeClair	Review of documents.	1.00	\$	625	\$ 625.00
12/21/06	L. LeClair	Work on case strategy.	1.00	\$	625	\$ 625.00
12/21/06	L. LeClair	Review of ERISA.	2.10	\$	625	\$ 1,312.50
12/28/06	A. Garza	NFPLA: Research application of sections 1132(a)(1)(B) and 1132(a)(3) to potential NFL case.	3.50	\$	275	\$ 577.50
12/28/06	A. Garza	Discuss findings re: ERISA with L. LeClair, draft memorandum about the same.	2.60	\$	275	\$ 962.50
02/07/07	J. Naylor	Legal research regarding various causes of action.	0.30	\$	425	\$ 127.50
Project Total:			16.50			\$ 7,292.50
Percentage Recoverable:	100%					\$ 7,292.50
Hours Billed to Project No. 6 by Co- Counsel:	0.00					

Project No. 7		Legal Research Regarding Potential Contract Claims			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:					
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	5.60				
Project No. 7 by Co-					
Counsel:					

287224_10.XLS 3 of 306

Project No. 8		Legal Research Regarding Potential Intellectual Property Claims			
Date	Time Keeper	Description	Hours	Rate	Fee
01/22/07	L. LeClair	Continued review of IP and contract claim.	2.00	\$ 660	\$ 1,320.00
02/07/07	J. Naylor	Legal research regarding various causes of action.	0.60	\$ 425	\$ 255.00
Project Total:			2.60		\$ 1,575.00
Percentage Recoverable:	100%				\$ 1,575.00
** ***	0.00				
Hours Billed to Project No. 8 by Co- Counsel:	0.00				

Project No. 9		Legal Research Regarding Scope of Potential Damages			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:					
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 9 by Co-					
Counsel:					

287224_10.XLS 4 of 306

Project No. 10		Legal Research Regarding Rule 23				
Date	Time Keeper	Description	Hours]	Rate	Fee
01/25/07	J. Naylor	Legal research regarding 2003 amendments to Rule 23.	3.70	\$	425	\$ 1,572.50
01/25/07	J. Naylor	Prepare memorandum regarding same.	0.40	\$	425	\$ 170.00
01/26/07	J. Naylor	Further preparation of memorandum regarding new Rule 23.	4.70	\$	425	\$ 1,997.50
01/26/07	J. Naylor	Prepare memorandum regarding same.	0.90	\$	425	\$ 382.50
01/27/07	J. Naylor	Further preparation of memorandum regarding current law related to class actions, including Local Rule 23.1.	6.80	\$	425	\$ 2,890.00
01/29/07	J. Naylor	Further preparation of Rule 23 memorandum.	3.20	\$	425	\$ 1,360.00
01/30/07	J. Naylor	Legal research regarding commonality and typicality requirements under Rule 23.	3.20	\$	425	\$ 1,360.00
01/30/07	J. Naylor	Prepare memorandum regarding same.	3.50	\$	425	\$ 1,487.50
02/01/07	J. Naylor	Further draft of Rule 23 memorandum.	3.20	\$	425	\$ 1,360.00
03/05/07	J. Naylor	Research regarding burden of proof on Rule 23.	2.70	\$	425	\$ 1,147.50
Project Total:			32.30			\$ 13,727.50
Percentage Recoverable:	100%					\$ 13,727.50
Hours Billed to Project No.10 by Co- Counsel:	0.00					

287224_10.XLS 5 of 306

Project No. 11		Legal Research Regarding Jurisdiction and Venue					
Date	Time Keeper	Description	Hours	F	Rate	Fee	
01/26/07	J. Naylor	Legal research regarding 2005 Class Action Fairness Act.	3.80	\$	425	\$	1,615.00
01/26/07	J. Naylor	Prepare memorandum regarding same.	0.80	\$	425	\$	340.00
02/07/07	J. Naylor	Legal research regarding venue provisions.	0.30	\$	425	\$	127.50
02/07/07	J. Naylor	Prepare e-mail memorandum regarding same.	0.80	\$	425	\$	340.00
02/07/07	L. LeClair	Research on venue and jurisdiction.	1.00	\$	660	\$	660.00
02/09/07	L. LeClair	Continue review of venue and jurisdiction issues.	1.10	\$	660	\$	726.00
06/01/07	J. Naylor	Review jurisdictional statement.	0.30	\$	425	\$	127.50
06/01/07	J. Naylor	Conference with L. LeClair regarding same.	0.20	\$	425	\$	85.00
08/14/08	J. Naylor	Legal research regarding supplemental jurisdiction and motion to dismiss.	3.70	\$	450	\$	1,665.00
Project Total:			12.00			\$	5,686.00
Percentage Recoverable:	100%					\$	5,686.00
Hours Billed to Project No.11 by Co- Counsel:	0.00						

Project No. 12		Prepare Co-Counsel Agreement				
Date	Time Keeper	Description	Hours	R	ate	Fee
01/03/07	L. LeClair	Work on co-counsel agreement	0.70	\$	660	\$ 462.00
01/18/07	L. LeClair	Draft co-counsel agreement.	1.20	\$	660	\$ 792.00
01/23/07	L. LeClair	Revise agreement.	1.10	\$	660	\$ 726.00
01/24/07	L. LeClair	Work on letters and claim.	1.10	\$	660	\$ 726.00
01/24/07	L. LeClair	Telephone conference with S. Mutch regarding call and agreement.	0.30	\$	660	\$ 198.00
Project Total:			4.40			\$ 2,904.00
Percentage Recoverable:	100%					\$ 2,904.00
Hours Billed to Project No.12 by Co-	2.50					
Counsel:						

287224_10.XLS 6 of 306

Project No. 13		Prepare Engagement Letter			
Date	Time Keeper	Description	Hours	Rate	Fee
01/22/07	L. LeClair	Work on letters to clients.	1.00	\$ 660	\$ 660.00
02/05/07	J. Naylor	Review of engagement letter.	0.30	\$ 425	\$ 127.50
02/10/07	L. LeClair	Draft engagement letter to B. Parrish and H. Adderley	0.20	\$ 660	\$ 132.00
02/05/07	L. LeClair	Draft and edit form of engagement letter for B. Parrish and H. Adderley; telephone conference with R. Katz.	1.20	\$ 660	\$ 792.00
Project Total:			2.70		\$ 1,711.50
Percentage Recoverable:	0%				\$ -
Hours Billed to Project No.13 by Co- Counsel:	0.00				

Project No. 14		Review of Client Documents and Exhibits			
Date	Time Keeper	Description	Hours	Rate	Fee
01/11/07	L. LeClair	Review of new material for B. Parrish and R. Katz.	1.40	\$ 660	\$ 924.00
01/24/07	J. Naylor	Begin review of documents and legal research.	1.00	\$ 425	\$ 425.00
02/12/07	J. Naylor	Review client documents and exhibits.	1.90	\$ 425	\$ 807.50
02/21/07	J. Naylor	Review e-mails from various players.	1.60	\$ 425	\$ 680.00
Project Total:			5.90		\$ 2,836.50
Percentage Recoverable:	100%				\$ 2,836.50
Hours Billed to Project No. 14 by Co- Counsel:	7.40				

287224_10.XLS 7 of 306

Project No. 15		Prepare Complaint (Filed February 14, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
01/12/07	L. LeClair	Telephone conference with R. Katz.	0.30	\$ 660	\$ 198.00
01/16/07	L. LeClair	Work on complaint.	0.70	\$ 660	\$ 462.00
01/17/07	L. LeClair	Begin draft of agreement and complaint.	0.90	\$ 660	\$ 594.00
01/18/07	L. LeClair	Telephone conferences with R. Katz.	0.20	\$ 660	\$ 132.00
01/18/07	L. LeClair	Review changes to complaint.	1.00	\$ 660	\$ 660.00
01/22/07	L. LeClair	Numerous telephone conferences with R. Katz.	0.60	\$ 660	\$ 396.00
01/23/07	L. LeClair	Telephone conference with R. Katz, H. Adderley, and B. Parrish.	1.40	\$ 660	\$ 924.00
01/23/07	L. LeClair	Review of proposed claim.	0.30	\$ 660	\$ 198.00
01/24/07	L. LeClair	Numerous telephone conferences with R. Katz and team regarding complaint, expert letter, and status.	1.60	\$ 660	\$ 1,056.00
02/06/07	L. LeClair	Telephone conference with R. Katz regarding pending complaint and claims.	0.20	\$ 660	\$ 132.00
02/06/07	L. LeClair	Work on complaint.	0.40	\$ 660	\$ 264.00
02/07/07	J. Naylor	Review class complaint.	0.70	\$ 425	\$ 297.50
02/08/07	J. Naylor	Further research regarding complaint and class actions and additional courses of action and damages.	5.20	\$ 425	\$ 2,210.00
02/09/07	L. LeClair	Edit material for complaint.	1.70	\$ 660	\$ 1,122.00
02/09/07	J. Naylor	Revisions to latest draft of complaint.	1.30	\$ 425	\$ 552.50
02/10/07	L. LeClair	Edit complaint.	1.70	\$ 660	\$ 1,122.00
02/12/07	L. LeClair	Telephone conference with clients; work on proposed changes to complaint.	1.10	\$ 660	\$ 726.00
02/12/07	J. Naylor	Further review and revisions to original complaint.	0.80	\$ 425	\$ 340.00
02/13/07	L. LeClair	Extensive work in preparation to file complaint; telephone conference with R. Katz and J. Adler; work on press release; telephone conference regarding class representatives; edit materials; research regarding pleading issues.	6.30	\$ 660	\$ 4,158.00
02/13/07	J. Naylor	Further review of lawsuit and issues.	1.20	\$ 425	\$ 510.00
02/14/07	L. LeClair	Extensive discussions and work on filing of complaint.	4.20	\$ 660	\$ 2,772.00
02/16/07	L. LeClair	Review of filed claim.	0.60	\$ 660	\$ 396.00
Project Total:			32.40		\$ 19,222.00
Percentage Recoverable:	75%				\$ 14,416.50
Hours Billed to Project No. 15 by Co- Counsel:	9.20				

287224_10.XLS 8 of 306

Project No. 16		Prepare First Amended Complaint (Filed February 23, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
03/07/07	J. Naylor	Review pleadings.	1.30	\$ 425	\$ 552.50
02/22/07	L. LeClair	Review of e-mails; work on complaint.	1.50	\$ 660	\$ 990.00
02/27/07	L. LeClair	Review of amended complaint and discovery.	0.50	\$ 660	\$ 330.00
Project Total:			3.30		\$ 1,872.50
Percentage	75%				\$ 1,404.38
Recoverable:					
Hours Billed to Project No.16 by Co- Counsel:	4.80				

Project No. 17		Identification of Class Representatives			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	6.00				
Project No. 17 by Co-					
Counsel:					

Project No. 18		Review of Public Records			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No.18 by Co- Counsel:	0.00				

287224_10.XLS 9 of 306

Project No. 19		January 2007 Case Management				
Date	Time Keeper	Description	Hours	Rate	Fee	
01/17/07	L. LeClair	Telephone conference with R. Katz regarding status.	0.20	\$ 660	\$ 132.00	
01/22/07	L. LeClair	Telephone conference with R. Katz.	0.10	\$ 660	\$ 66.00	
01/22/07	L. LeClair	Telephone conference with J. Adler.	0.20	\$ 660	\$ 132.00	
01/23/07	L. LeClair	Telephone conference with R. Katz regarding agreement to proceed.	0.40	\$ 660	\$ 264.00	
01/24/07	L. LeClair	Conference with J. Adler regarding status and action plan.	0.90	\$ 660	\$ 594.00	
02/02/07	L. LeClair	Prepare for witness call.	0.50	\$ 660	\$ 330.00	
Project Total:			2.30		\$ 1,518.00	
Percentage Recoverable:	100%				\$ 1,518.00	
Hours Billed to Project No.19 by Co- Counsel:	0.00					

287224_10.XLS 10 of 306

Project No. 20		February 2007 Case Management and Miscellaneous				
Date	Time Keeper	Description	Hours	Rate	Fee	
02/07/07	L. LeClair	Conference with J. Adler.	0.20	\$ 660	\$	132.00
02/07/07	L. LeClair	Telephone conference with R. Katz.	0.30	\$ 660	\$	198.00
02/12/07	L. LeClair	Telephone conference with B. Lynch and Manatt.	0.40	\$ 660	\$	264.00
02/14/07	L. LeClair	Telephone conference with New York Times; edit motion on class counsel; telephone conference with R. Katz on pending issues; review of complaint.	1.90	\$ 660	\$	1,254.00
02/15/07	L. LeClair	Numerous telephone calls and e-mails regarding newly filed complaint; review of complaint and Northern District of California Rules.	2.50	\$ 660	\$	1,650.00
02/19/07	L. LeClair	Review of filed lawsuit; telephone conference with R. Katz regarding status; review of e-mails; conference regarding publicity.	2.30	\$ 660	\$	1,518.00
02/21/07	L. LeClair	Telephone conference with R. Katz and B. Parrish; work on issues related to website; plan strategy for lawsuit.	2.70	\$ 660	\$	1,782.00
02/22/07	L. LeClair	Telephone conference with R. Katz.	0.40	\$ 660	\$	264.00
02/25/07	L. LeClair	Review of e-mails.	1.20	\$ 660	\$	792.00
02/27/07	L. LeClair	Telephone conference with R. Katz.	0.20	\$ 660	\$	132.00
Project Total:			12.10		\$	7,986.00
Percentage Recoverable:	100%				\$	7,986.00
Hours Billed to Project No. 20 by Co- Counsel:	3.10					

287224_10.XLS 11 of 306

Project No. 21		Prepare Document Retention Letter to Defendant				
Date	Time Keeper	Description	Hours	Rate	Fee	
03/02/07	J. Naylor	Revise letter to NFL.	0.60	\$ 425		255.00
03/08/07	L. LeClair	Edit discovery letter.	0.60	\$ 660	\$	396.00
03/09/07	L. LeClair	Send discovery preservation letter.	0.40	\$ 660	\$	264.00
Project Total:			1.60		\$	915.00
Percentage Recoverable:	100%				\$	915.00
Hours Billed to Project No. 21 by Co- Counsel:	0.00					

Project No. 22		Research Regarding Rule 16					
Date	Time Keeper	Description	Hours	Rate	•	Fee	
02/21/07	J. Naylor	Legal research regarding discovery plan.	3.30	\$	425	\$	1,402.50
02/22/07	J. Naylor	Legal research regarding discovery plan and Rule 16 as appropriate for a class action.	0.50	\$	425	\$	212.50
02/27/07	J. Naylor	Review proper Rule 16 submission.	2.00	\$	425	\$	850.00
Project Total:			5.80			\$	2,465.00
Percentage Recoverable:	100%					\$	2,465.00
Hours Billed to Project No. 22 by Co- Counsel:	0.00						

287224_10.XLS 12 of 306

Project No. 23		Research regarding scope of discovery				
Date	Time Keeper	Description	Hours	Rate	Fee	
02/22/07	J. Naylor	Legal research regarding discovery plan and Rule 16 as appropriate for a class action.	0.40	\$ 425	\$ 170.00	
02/26/07	J. Naylor	Legal research regarding proper discovery order for pre-certification period of class action.	0.50	\$ 425	\$ 212.50	
02/26/07	J. Naylor	Legal research regarding other discovery issues.	3.20	\$ 425	\$ 1,360.00	
02/27/07	J. Naylor	Further review of scope of discovery issues.	4.10	\$ 425	\$ 1,742.50	
03/08/07	J. Naylor	Research regarding discovery matters.	2.00	\$ 425	\$ 850.00	
09/04/07	J. Naylor	Legal research regarding work product.	1.20	\$ 425	\$ 510.00	
Project Total:			11.40		\$ 4,845.00	
Percentage Recoverable:	100%				\$ 4,845.00	
Hours Billed to Project No. 23 by Co- Counsel:	0.00					

287224_10.XLS 13 of 306

Project No. 24		Prepare Memorandum Regarding Scope of Discovery					
Date	Time Keeper	Description	Hours	Rate	2	Fee	
03/01/07	J. Naylor	Prepare memorandum related to discovery issues in class actions.	8.20	\$	425	\$	3,485.00
03/02/07	J. Naylor	Work on memorandum regarding scope of discovery in class actions.	6.50	\$	425	\$	2,762.50
04/03/07	J. Naylor	Prepare memorandum regarding class action discovery.	4.40	\$	425	\$	1,870.00
Project Total:			19.10			\$	8,117.50
Percentage Recoverable:	100%					\$	8,117.50
Hours Billed to Project No. 24 by Co- Counsel:	0.00						

Project No. 25		Prepare Discovery Plan			
Date	Time Keeper	Description	Hours	Rate	Fee
02/16/07	L. LeClair	Work on issues regarding discovery plan.	1.10	\$ 660	\$ 726.00
02/20/07	L. LeClair	Work on discovery issues.	1.10	\$ 660	\$ 726.00
02/22/07	J. Naylor	Begin preparation of discovery plan.	7.40	\$ 425	\$ 3,145.00
04/02/07	J. Naylor	Prepare class action discovery.	1.80	\$ 425	\$ 765.00
05/18/07	L. LeClair	Prepare for conference call; review of reply; conference call with team.	2.20	\$ 660	\$ 1,452.00
Project Total:			13.60		\$ 6,814.00
_ ·	1000/		15.00		,
Percentage Recoverable:	100%				\$ 6,814.00
Hours Billed to Project No. 25 by Co-	0.00				
Counsel:					

287224_10.XLS 14 of 306

Project No. 26		Research Regarding Absent Class Members			
Date	Time Keeper	Description	Hours	Rate	Fee
03/05/07	J. Naylor	Research regarding discovery of absent class members.	2.20	\$ 425	\$ 935.00
Project Total:			2.20		\$ 935.00
Percentage	100%				\$ 935.00
Recoverable:					
Hours Billed to	0.00				
Project No. 26 by Co-					
Counsel:					

Project No. 27		Legal Research Regarding Damages			
Date	Time Keeper	Description	Hours	Rate	Fee
03/07/07	J. Naylor	Legal research regarding damage models.	4.80	\$ 425	\$ 2,040.00
03/08/07	J. Naylor	Further research regarding damages model.	3.90	\$ 425	\$ 1,657.50
Project Total:			8.70		\$ 3,697.50
Percentage Recoverable:	100%				\$ 3,697.50
Hours Billed to Project No. 27 by Co- Counsel:	4.80				

287224_10.XLS 15 of 306

Project No. 28		Legal Research Regarding Class Issues					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
01/03/07	L. LeClair	Research and issues regarding new case.	2.40	\$	660	\$	1,584.00
01/15/07	L. LeClair	Extensive review of case law and potential claim.	2.80	\$	660	\$	1,848.00
02/05/07	L. LeClair	Review of California law on arbitration; work on legal issues.	2.40	\$	660	\$	1,584.00
02/12/07	L. LeClair	Edit pleadings and status; collect information on class cases.	1.80	\$	660	\$	1,188.00
02/16/07	L. LeClair	Telephone conference with S. Weinberg regarding pending issues; telephone conference with R. Katz.	0.50	\$	660	\$	330.00
04/03/07	J. Naylor	Prepare memorandum regarding class issues.	4.30	\$	425	\$	1,827.50
Project Total:			14.20			\$	8,361.50
Percentage Recoverable:	100%					\$	8,361.50
Hours Billed to Project No. 28 by Co- Counsel:	0.80						

Project No. 29		Research Regarding Damages Model			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 29 by Co-					
Counsel:					

287224_10.XLS 16 of 306

Project No. 30		Establish Retired Players for Justice					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
02/20/07	L. LeClair	Prepare for meeting with R. Katz; extensive meeting with R. Katz regarding publicity and website regarding Retired Pro Football Players for Justice.	2.70	\$	660	\$	1,782.00
02/27/07	L. LeClair	Work on issues and press release.	0.90	\$	660	\$	594.00
03/14/07	L. LeClair	E-mail to team on website issues.	0.10	\$	660	\$	66.00
03/22/07	L. LeClair	Telephone conference with R. Katz regarding website; telephone conference with Heather Mills on website; edit draft layout.	1.10	\$	660	\$	726.00
03/27/07	L. LeClair	Work on website and issues.	0.30	\$	660	\$	198.00
03/29/07	L. LeClair	Work on new litigation website.	0.70	\$	660	\$	462.00
04/03/07	L. LeClair	E-mails regarding website and status.	0.20	\$	660	\$	132.00
04/04/07	L. LeClair	Prepare final changes on website.	0.20	\$	660	\$	132.00
Project Total:			6.20			\$	4,092.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 30 by Co- Counsel:	5.50						

Project No. 31		March 2007 Case Management			
Date	Time Keeper	Description	Hours	Rate	Fee
03/07/07	J. Naylor	Review court's orders.	0.30	\$ 425	\$ 127.50
03/08/07	L. LeClair	Review letters and e-mails.	0.50	\$ 660	\$ 330.00
03/31/07	L. LeClair	Review of memorandums from R. Katz; review letter on document preservation.	0.60	\$ 660	\$ 396.00
Project Total:			1.40		\$ 853.50
Percentage Recoverable:	100%				\$ 853.50
Hours Billed to Project No. 31 by Co- Counsel:	2.40				

287224_10.XLS 17 of 306

Project No. 32		Legal Research Regarding Communications with Class Counsel					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
03/13/07	J. Naylor	Research regarding class communications.	1.80	\$	425	\$	765.00
03/14/07	J. Naylor	Further research regarding class communications.	3.20	\$	425	\$	1,360.00
Project Total:			5.00			\$	2,125.00
Percentage Recoverable:	100%					\$	2,125.00
Hours Billed to Project No. 32 by Co- Counsel:	8.40						

Project No. 33		Preparation of Memorandum Regarding Communications with Class Counsel				
Date	Time Keeper	Description	Hours	Rate	Fee	
03/13/07	J. Naylor	Prepare memorandum regarding class communications.	2.30	\$ 425	\$	977.50
03/14/07	J. Naylor	Further preparation of memorandum regarding class communications.	4.30	\$ 425	\$	1,827.50
Project Total:			6.60		\$	2,805.00
Percentage Recoverable:	100%				\$	2,805.00
Hours Billed to Project No. 33 by Co- Counsel:	7.70					

Project No. 34		Legal Research Regarding Fiduciary Duty Claim			
Date	Time Keeper	Description	Hours	Rate	Fee
03/09/07	J. Naylor	Research on fiduciary duty.	3.10	\$ 425	\$ 1,317.50
03/14/07	L. LeClair	Further review of agency and fiduciary duty material	1.90	\$ 660	\$ 1,254.00
Project Total:			5.00		\$ 2,571.50
Percentage Recoverable:	100%				\$ 2,571.50
Hours Billed to Project No. 34 by Co- Counsel:	2.30				

287224_10.XLS 18 of 306

Project No. 35		April 2007 Case Management				
Date	Time Keeper	Description	Hours	Rate	Fee	
04/12/07	L. LeClair	Conference with J. Adler.	0.70	\$ 660	\$	462.00
05/31/07	L. LeClair	Meeting with team.	3.10	\$ 660	\$	2,046.00
06/04/07	L. LeClair	Review of Judge Alsup order; telephone conference with R. Katz	1.60	\$ 660	\$	1,056.00
Project Total:			5.40		\$	3,564.00
Percentage Recoverable:	100%				\$	3,564.00
Hours Billed to Project No. 35 by Co- Counsel:	2.30					

Project No. 36		Prepare Memorandum Regarding Class Action Discovery			
Date		Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 36 by Co-					
Counsel:					

Project No. 37		Review and Analysis of Defendants' Answer			
-		(Filed April 2, 2007)		_	***
Date	Time Keeper	Description	Hours	Rate	Fee
04/03/07	L. LeClair	Review of answer filed.	0.30	\$ 660	\$ 198.00
Project Total:			0.30		\$ 198.00
Percentage	75%				\$ 148.50
Recoverable:					
Hours Billed to	0.00				
Project No. 37 by Co-Counsel:					

287224_10.XLS 19 of 306

Project No. 38		Review and Analysis of Defendants' Motion for Sanctions (Filed April 4, 2007)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
03/09/07	L. LeClair	Receive and review Rule 11 letter; plan for response.	2.30	\$	660	\$	1,518.00
03/09/07	J. Naylor	Review motion for sanctions.	1.10	\$	425	\$	467.50
03/09/07	J. Naylor	Review team e-mails regarding same.	0.40	\$	425	\$	170.00
03/10/07	L. LeClair	Research on Rule 11 motion.	1.60	\$	660	\$	1,056.00
03/11/07	L. LeClair	Research on Rule 11 motion.	2.10	\$	660	\$	1,386.00
03/12/07	L. LeClair	Extensive telephone conferences, meetings, and emails regarding Rule 11; plan response and strategy.	5.20	\$	660	\$	3,432.00
03/12/07	J. Naylor	Research regarding response to Rule 11 motions.	8.80	\$	425	\$	3,740.00
03/12/07	J. Naylor	Review issues regarding same.	3.10	\$	425	\$	1,317.50
03/13/07	L. LeClair	Continue work on Rule 11 and website issues.	2.20	\$	660	\$	1,452.00
03/13/07	J. Naylor	Further research related to Rule 11 motions.	3.80	\$	425	\$	1,615.00
03/14/07	L. LeClair	E-mail to J. Adler and T. Graves; analyze issues under Rule 11.	0.50	\$	660	\$	330.00
03/21/07	L. LeClair	Extensive telephone conference with T. Graves on Rule 11; research and analysis.	2.70	\$	660	\$	1,782.00
03/22/07	L. LeClair	Analysis of Rule 11 and correspondence.	3.10	\$	660	\$	2,046.00
03/23/07	L. LeClair	Continue work on Rule 11.	2.20	\$	660	\$	1,452.00
03/26/07	L. LeClair	Research and analysis regarding Rule 11, amended complaint.	1.70	\$	660	\$	1,122.00
03/27/07	L. LeClair	Conference with J. Adler regarding Rule 11, status, proposed pleading, analysis and status.	2.20	\$	660	\$	1,452.00
03/28/07	L. LeClair	Conference with J. Adler regarding Rule 11 and second amended complaint; revise draft; work on cover letter and motion for leave; research regarding Rule 11.	3.90	\$	660	\$	2,574.00
03/30/07	L. LeClair	Final research on Rule 11 motion; telephone conference regarding website; e-mails and telephone conferences with R. Katz.	3.10	\$	660	\$	2,046.00
04/04/07	L. LeClair	Review of draft Rule 11 motion and motion on pleadings; telephone conference with R. Katz; email motion to Board; conference with J. Adler regarding motion.	2.80	\$	625	\$	1,750.00

287224_10.XLS 20 of 306

04/09/07	L. LeClair	Continued work on pleading and Rule 11 papers; conference with J. Adler.	3.30	\$ 625	\$ 2,062.50
04/11/07	L. LeClair	Detailed review of pleading and papers; conference with J. Adler regarding response.	2.40	\$ 625	\$ 1,500.00
05/02/07	J. Naylor	Continue review of authority in briefing of Rule 11 response.	2.20	\$ 425	\$ 935.00
Project Total:			60.70		\$ 35,205.50
Percentage Recoverable:	75%				\$ 26,404.13
Hours Billed to Project No. 38 by Co- Counsel:	28.20				

Project No. 39		Review and Analysis of Defendants' Motion to Transfer Venue (Filed April 4, 2007)			
Date	Time Keeper	Description (2 new right 1, 2007)	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	1.60				
Project No. 39 by Co-					
Counsel:					

Project No. 40		Strategy Calls in Connection with Defendants'				
		Motion Regarding Venue				
Date	Time Keeper	Description Hours 1		Rate	F	Pee
04/19/07	J. Naylor	Review team e-mails regarding motion to transfer.	0.80	\$ 42	25 \$	340.00
04/26/07	J. Naylor	Conference with L. LeClair regarding same.	0.20	\$ 42	25 \$	85.00
04/27/07	J. Naylor	Conference with all team regarding strategy and status of motions and scheduling.	0.50	\$ 42	25 \$	3 212.50
Project Total:			1.50		\$	637.50
Percentage	75%				\$	478.13
Recoverable:					+	
Hours Billed to	0.00				+	
Project No. 40 by Co-						
Counsel:						

287224_10.XLS 21 of 306

Project No. 41		Review and Analysis of Defendants' Motion for Judgment on the Pleadings (Filed April 4, 2007)					
Date	Time Keeper	Description	Hours	Rate		Fee	
04/04/07	J. Naylor	Review motion on pleadings filed by NFLPA.	1.70	\$	425	\$	722.50
04/05/07	L. LeClair	Thorough review of motions; conference with J. Adler on motions and research; conference call with R. Katz on pending issues and proposed plan.	2.20	\$	660	\$	1,452.00
04/09/07	R. Snider	Conference with L. LeClair regarding issues in motion to dismiss; review documents.	0.80	\$	525	\$	420.00
04/12/07	L. LeClair	Work on motions.	1.80	\$	660	\$	1,188.00
04/13/07	L. LeClair	Conference with J. Adler; continued work on motion.	1.50	\$	660	\$	990.00
Project Total:			8.00			\$	4,772.50
Percentage Recoverable:	75%					\$	3,579.38
Hours Billed to Project No.41 by Co- Counsel:	3.40						

Project No. 42		Strategy Calls in Connection with Defendants' Motion to Dismiss			
Date	Time Keeper	Description	Hours	Rate	Fee
03/13/07	J. Naylor	Conferences with L. LeClair regarding same.	0.40	\$ 425	\$ 170.00
04/04/07	J. Naylor	Review e-mails regarding same.	1.10	\$ 425	\$ 467.50
04/04/07	J. Naylor	Meeting with L. LeClair regarding same.	0.30	\$ 425	\$ 127.50
04/22/07	J. Naylor	E-mail correspondence with L. LeClair regarding response to motion for judgment in the pleadings.	0.20	\$ 425	\$ 85.00
04/27/07	J. Naylor	Conference with all team regarding strategy and status of motions and scheduling.	0.40	\$ 425	\$ 170.00
05/03/07	J. Naylor	Telephone conference with R. Hilbert regarding new developemnts.	1.10	\$ 425	\$ 467.50
05/04/07	J. Naylor	Conference call with team members.	0.30	\$ 425	\$ 127.50

287224_10.XLS 22 of 306

05/04/07	J. Naylor	Conference with R. Hilbert.	0.80	\$ 425	\$ 340.00
05/08/07	J. Naylor	Meet with L. LeClair regarding same.	0.50	\$ 425	\$ 212.50
05/08/07	J. Naylor	Numerous e-mails with other team members regarding same.	0.70	\$ 425	\$ 297.50
05/09/07	J. Naylor	Numerous conferences regarding same.	1.40	\$ 425	\$ 595.00
05/12/07	J. Naylor	E-mails with team members regarding same.	0.20	\$ 425	\$ 85.00
05/15/07	J. Naylor	Review e-mails from other team members.	0.80	\$ 425	\$ 340.00
Project Total:			8.20		\$ 3,485.00
Percentage Recoverable:	75%				\$ 2,613.75
Hours Billed to Project No. 42 by Co- Counsel:	13.00				

Project No. 43		Prepare Response to Defendant's Motion for Judgment on the Pleadings (Filed May 10, 2007)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
04/11/07	J. Naylor	Prepare draft of response to motion for judgment on the pleadings.	7.80	\$	425	\$	3,315.00
04/13/07	J. Naylor	Prepare draft of response to motion for judgment on the pleadings.	6.20	\$	425	\$	2,635.00
04/14/07	J. Naylor	Prepare draft of response to motion for judgment on the pleadings.	3.50	\$	425	\$	1,487.50
04/16/07	L. LeClair	Work on judgment on pleadings response.	2.20	\$	660	\$	1,452.00
04/16/07	J. Naylor	Finalize draft of response in opposition to motion for judgment on pleadings.	0.40	\$	425	\$	170.00
04/18/07	L. LeClair	Work on judgment on pleadings.	2.10	\$	660	\$	1,386.00
04/22/07	L. LeClair	Work on judgment on pleadings draft motion response.	1.40	\$	660	\$	924.00
04/23/07	L. LeClair	Review and edit motion opposition for judgment on pleadings; e-mail to team regarding continued work.	3.90	\$	660	\$	2,574.00
04/24/07	L. LeClair	Work on draft responses to judgment on pleadings and transfer;	2.10	\$	660	\$	1,386.00

287224_10.XLS 23 of 306

04/27/07	L. LeClair	Review of judgment on pleadings order and telephone conference with R. Katz; telephone conference with J. Adler.	1.50	\$ 660	\$ 990.00
05/06/07	L. LeClair	Review of motion for judgment on the pleadings and edit.	0.90	\$ 660	\$ 594.00
05/09/07	L. LeClair	Final edit and review of briefs.	0.50	\$ 660	\$ 330.00
05/10/07	L. LeClair	Final review of pleadings, filings, and documents as filed; review of motion to amend.	1.00	\$ 660	\$ 660.00
05/11/07	L. LeClair	Review of final filed briefs; begin outline for argument.	0.80	\$ 660	\$ 528.00
Project Total:			34.30		\$ 18,431.50
Percentage Recoverable:	75%				\$ 13,823.63
Hours Billed to	40.40				
Project No. 43 by Co-Counsel:					

Project No. 44		Legal research in Connection with Defendants' Motion for Judgment on the Pleadings					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
04/04/07	J. Naylor	Research regarding motion on pleadings.	2.20	\$	425	\$	935.00
04/06/07	L. LeClair	Work extensively on research and pleading related to NFLPA case.	3.90	\$	625	\$	2,437.50
04/10/07	J. Naylor	Perform research regarding response to motion for judgment on the pleadings.	7.80	\$	425	\$	3,315.00
04/12/07	J. Naylor	Research regarding response to motion for judgment on the pleadings.	8.50	\$	425	\$	3,612.50
04/22/07	J. Naylor	Additional legal research regarding same.	1.00	\$	425	\$	425.00
Project Total:			23.40			\$	10,725.00
Percentage Recoverable:	75%					\$	8,043.75
Hours Billed to Project No. 44 by Co- Counsel:	17.30						

287224_10.XLS 24 of 306

Project No. 45		Prepare Response to Motion to Transfer Venue (Filed May 10, 2007)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
04/18/07	J. Naylor	Prepare response to motion to transfer venue.	10.10	\$	425	\$	4,292.50
04/19/07	L. LeClair	Work on response to judgment on pleadings and venue.	2.10	\$	660	\$	1,386.00
04/19/07	J. Naylor	Prepare response to motion to transfer venue.	6.30	\$	425	\$	2,677.50
04/20/07	J. Naylor	Revise response to motion to transfer venue.	8.70	\$	425	\$	3,697.50
04/23/07	J. Naylor	Finalize draft of response to motion to transfer.	5.30	\$	425	\$	2,252.50
04/24/07	L. LeClair	Telephone conference with J. Adler; work on various issues.	1.10	\$	660	\$	726.00
04/26/07	L. LeClair	Telephone conference with J. Adler regarding response to motion to transfer; edit and revise response; prepare for conference call.	2.70	\$	660	\$	1,782.00
04/26/07	J. Naylor	Further revisions to motion to transfer.	1.70	\$	425	\$	722.50
04/27/07	L. LeClair	Review of motion to transfer response; telephone conference regarding response.	1.40	\$	660	\$	924.00
05/01/07	J. Naylor	Further draft of motion to transfer.	4.30	\$	425	\$	1,827.50
05/06/07	L. LeClair	Edit venue motion response.	0.90	\$	660	\$	594.00
05/09/07	L. LeClair	Final edit and review of briefs.	0.50	\$	660	\$	330.00
05/09/07	J. Naylor	Continue revising and finalizing response to motion for transfer.	1.90	\$	425	\$	807.50
05/10/07	L. LeClair	Final review of pleadings, filings, and documents as filed; review of motion to amend.	1.10	\$	660	\$	726.00
05/10/07	J. Naylor	Final comments and revisions to multiple responses.	1.40	\$	425	\$	595.00
05/11/07	L. LeClair	Review of final filed briefs; begin outline for argument.	0.80	\$	660	\$	528.00
Project Total:			50.30			\$	23,868.50
Percentage Recoverable:	100%					\$	23,868.50
Hours Billed to Project No. 45 by Co- Counsel:	33.00						

287224_10.XLS 25 of 306

Project No. 46		Legal Research in Connection with Defendants' Motion to Transfer Venue					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
04/09/07	J. Naylor	Legal research regarding venue motion.	5.60	\$	425	\$	2,380.00
04/16/07	J. Naylor	Legal research regarding venue motion.	8.80	\$	425	\$	3,740.00
04/17/07	J. Naylor	Legal research regarding motion to transfer venue.	9.80	\$	425	\$	4,165.00
04/25/07	J. Naylor	Legal research regarding internet evidence.	1.80	\$	425	\$	765.00
04/25/07	J. Naylor	Further research regarding venue issues.	0.80	\$	425	\$	340.00
04/25/07	J. Naylor	Revisions to response to motion to transfer venue.	3.70	\$	425	\$	1,572.50
04/26/07	J. Naylor	Legal research regarding how to present proof on motion to transfer.	0.30	\$	425	\$	127.50
04/26/07	J. Naylor	Review Rules of Evidence.	1.20	\$	425	\$	510.00
Project Total:			32.00			\$	13,600.00
Percentage Recoverable:	100%					\$	13,600.00
Hours Billed to Project No. 46 by Co- Counsel:	14.40						

Project No. 47		Factual Research in Connection with			
Data	Time Varian	Defendants' Motion to Transfer Venue	Hanna	Data	Ess
Date	Time Keeper	Description	Hours	Rate	Fee
04/26/07	J. Naylor	Investigation into residences of prospective witnesses.	1.20	\$ 425	\$ 510.00
04/26/07	J. Naylor	Conferences with private investigator regarding same.	0.60	\$ 425	\$ 255.00
05/01/07	J. Naylor	Conference with private investigator.	0.50	\$ 425	\$ 212.50
Project Total:			2.30		\$ 977.50
Percentage Recoverable:	100%				\$ 977.50
Hours Billed to	1.30				
Project No. 47 by Co-Counsel:					

287224_10.XLS 26 of 306

Project No. 48		Prepare Response to Defendants' Motion for					
Б	TI' IZ	Sanctions (Filed May 10, 2007)	TT	Rat		Fee	
Date 03/14/07	Time Keeper H. Peterson	Description Preparation of research regarding NFLPA practice with Rule 11 sanctions per J. Adler.	4.00	\$	80	\$	320.00
05/04/07	J. Naylor	Review Rule 11 response.	1.20	\$	425	\$	510.00
05/04/07	J. Naylor	Review all authorities cited.	1.40	\$	425	\$	595.00
05/04/07	J. Naylor	Revise response.	1.50	\$	425	\$	637.50
05/06/07	L. LeClair	Thorough review of Rule 11 response and proposed claims; e-mail to team.	0.90	\$	660	\$	594.00
05/07/07	L. LeClair	Conference call on Rule 11 motion and drafts; edit draft.	2.50	\$	660	\$	1,650.00
05/07/07	J. Naylor	Revise drafted pleadings.	3.90	\$	425	\$	1,657.50
05/07/07	J. Naylor	Conferences with L. LeClair regarding same.	0.40	\$	425	\$	170.00
05/07/07	J. Naylor	Conference call with team regarding draft of pleadings.	1.00	\$	425	\$	425.00
05/07/07	J. Naylor	Research regarding Restatement authority.	5.50	\$	425	\$	2,337.50
05/08/07	L. LeClair	Extensive editing and review of pleading in respons to Rule 11 dismissal; e-mails and conference with J. Adler.	3.90	\$	660	\$	2,574.00
05/08/07	J. Naylor	Continue revisions and drafting to pleadings.	6.80	\$	425	\$	2,890.00
05/08/07	J. Naylor	Review affidavits in support of Rule 11 response.	1.10	\$	425	\$	467.50
05/09/07	L. LeClair	Final edit and review of briefs.	0.70	\$	660	\$	462.00
05/09/07	J. Naylor	Continue revising and finalizing responses to rule 11motion for judgment on pleadings and motion for transfer.	1.90	\$	425	\$	807.50
05/10/07	L. LeClair	Final review of pleadings, filings, and documents as filed; review of motion to amend.	1.10	\$	660	\$	726.00
05/10/07	J. Naylor	Final comments and revisions to multiple responses.	1.40	\$	425	\$	595.00
05/11/07	L. LeClair	Review of final filed briefs; begin outline for argument.	0.80	\$	660	\$	528.00
Project Total:			40.00			\$	17,946.50
Percentage Recoverable:	75%					\$	13,459.88
Hours Billed to Project No. 48 by Co- Counsel:	44.90						

287224_10.XLS 27 of 306

Project No. 49		Monitor NFLPA Website			
Date	Time Keeper	Description	Hours	Rate	Fee
05/12/07	J. Naylor	Monitor NFLPA website.	0.30	\$ 425	\$ 127.50
Project Total:			0.30		\$ 127.50
Percentage	100%				\$ 127.50
Recoverable:					
Hours Billed to	6.10				
Project No. 49 by Co-					
Counsel:					

Project No. 50		Review and Analysis of Filings Related to Designation of Interim Class Counsel				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/15/07	J. Naylor	Review interim counsel motion reply.	1.10	\$ 425	\$	467.50
05/15/07	J. Naylor	Prepare revisions to same.	1.90	\$ 425	\$	807.50
05/16/07	L. LeClair	Review of filings on interim counsel; edit same.	1.00	\$ 660	\$	660.00
Project Total:			4.00		\$	1,935.00
Percentage	100%				\$	1,935.00
Recoverable:					<u> </u>	
Hours Billed to Project No. 50 by Co- Counsel:	0.00					

Project No. 51		Review and Analysis of Defendants' Reply in Support of Its Motion for Judgment on the					
		Pleadings (Filed May 17, 2007)					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
05/17/07	J. Naylor	Review reply briefs and case law.	3.50	\$	425	\$	1,487.50
05/21/07	J. Naylor	Review cases on response to motion for judgment on pleadings.	2.30	\$	425	\$	977.50
						\$	-
Project Total:			5.80			\$	2,465.00
Percentage	75%					\$	1,848.75
Recoverable:							
Hours Billed to	10.20						
Project No. 51 by Co-Counsel:							

287224_10.XLS 28 of 306

Project No. 52		Review and Analysis of Defendants' Reply in Support of its Motion to Transfer Venue (Filed May 17, 2007)				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/17/07	J. Naylor	Review reply briefs and case law.	3.40	\$ 425	\$	1,445.00
Project Total:			3.40		\$	1,445.00
Percentage Recoverable:	75%				\$	1,083.75
Hours Billed to	8.20					
Project No. 52 by Co-Counsel:						

Project No. 53		Prepare Case Management Conference					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
04/03/07	L. LeClair	Work on proposed discovery and case management plan.	0.70	\$	660	\$	462.00
04/04/07	L. LeClair	E-mails to R. Katz regarding case management conference and pending issues.	0.90	\$	660	\$	594.00
04/11/07	L. LeClair	Conference call with Manatt Phelps team to discuss case management conference and Rule 11.	1.70	\$	660	\$	1,122.00
04/12/07	L. LeClair	Work on case management conference issues.	0.90	\$	660	\$	594.00
04/27/07	J. Naylor	Research regarding Case Management Conference.	1.80	\$	425	\$	765.00
04/27/07	J. Naylor	Begin draft of Case Management Conference document.	4.10	\$	425	\$	1,742.50
04/30/07	J. Naylor	Review deadlines.	1.80	\$	425	\$	765.00
04/30/07	J. Naylor	Conferences with L. LeClair regarding same.	0.30	\$	425	\$	127.50
04/30/07	J. Naylor	Draft Case Management Conference document.	4.80	\$	425	\$	2,040.00
05/01/07	L. LeClair	Review various orders and materials regarding case management conference and deadlines; telephone conference with J. Adler; e-mails regarding setting deadline at June 7 for case management conference.	1.50	\$	660	\$	990.00
05/02/07	J. Naylor	Review new case management conference rules.	0.50	\$	425	\$	212.50
05/02/07	J. Naylor	Continue preparation of case management conference document.	0.50	\$	425	\$	212.50
05/03/07	J. Naylor	Continue preparation of case management conference document.	1.60	\$	425	\$	680.00
05/04/07	J. Naylor	Work on case management conference document.	0.20	\$	425	\$	85.00
05/10/07	J. Naylor	Prepare case management conference statement.	0.70	\$	425	\$	297.50
05/10/07	J. Naylor	Numerous conferences regarding same.	1.40	\$	425	\$	595.00
05/14/07	J. Naylor	Prepare draft case management conference statement.	2.60	\$	425	\$	1,105.00

287224_10.XLS 29 of 306

05/14/07	J. Naylor	Legal research regarding same.	1.30	\$ 425	\$ 552.50
05/15/07	J. Naylor	Further research and preparation regarding case management conference and meet and confer.	0.90	\$ 425	\$ 382.50
05/17/07	L. LeClair	Work on case management conference and schedule teleconference; telephone conference with J. Adler regarding pending issues.	1.50	\$ 660	\$ 990.00
05/17/07	J. Naylor	Preparation for the meet and confer.	0.30	\$ 425	\$ 127.50
Project Total:			30.00		\$ 14,442.00
Percentage Recoverable:	100%				\$ 14,442.00
Hours Billed to Project No. 53 by Co- Counsel:	0.00				

Project No. 54		Legal Research Regarding Fiduciary Relationships, Agency and Informal Fiduciary Relationships					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
04/05/07	J. Naylor	Legal research regarding informal fiduciary relationship.	6.30	\$	425	\$	2,677.50
04/05/07	J. Naylor	Legal research regarding agency and fiduciary as question of fact/law.	1.00	\$	425	\$	425.00
04/06/07	J. Naylor	Prepare memorandum regarding fiduciary duty.	5.70	\$	425	\$	2,422.50
04/06/07	J. Naylor	Further research regarding informal fiduciary relationship.	1.10	\$	425	\$	467.50
Project Total:			14.10			\$	5,992.50
Percentage Recoverable:	100%					\$	5,992.50
Hours Billed to Project No. 54 by Co- Counsel:	12.70						

287224_10.XLS 30 of 306

Project No. 55		Legal Research Regarding Electronic Discovery Requirements				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/16/07	J. Naylor	Research regarding new electronic discovery requirements.	5.20	\$ 425	\$	2,210.00
Project Total:			5.20		\$	2,210.00
Percentage Recoverable:	100%				\$	2,210.00
Hours Billed to	2.90					
Project No. 55 by Co-Counsel:						

Project No. 56		Prepare for Hearing on Defendants' Motions (Mary 31, 2007)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/15/07	L. LeClair	Prepare outlines and prepare for hearing.	1.90	\$	660	\$	1,254.00
05/16/07	L. LeClair	Telephone conference with R. Katz; prepare for hearing.	2.60	\$	660	\$	1,716.00
05/19/07	R. Snider	Begin review and analysis of materials sent by L. LeClair.	3.20	\$	525	\$	1,680.00
05/21/07	L. LeClair	Review of new superior court opinion and motion to dismiss; e-mail to R. Katz on proposed schedule for hearing.	1.70	\$	660	\$	1,122.00
05/21/07	D. Gaiser	Office conference with J. Adler regarding instructions for compilation of case law cited in plaintiffs' opposition to defendant's motion for judgment on the pleadings; search Lexis and Westlaw for above-referenced case law; prepare and organize above-referenced case law for review by J. Adler; office conference with J. Adler regarding status of same.	4.30	\$	110	\$	473.00
05/22/07	J. Naylor	Review cases for hearing.	5.90	\$	425	\$	2,507.50
05/23/07	L. LeClair	Conference call with Manatt; review of issues on dismissal; conference call with D. Balthaer on case management and schedule.	2.30	\$	660	\$	1,518.00
05/23/07	J. Naylor	Prepare cases for hearing; coordinate with D. Gaiser.	10.20	\$	425	\$	4,335.00

287224_10.XLS 31 of 306

05/23/07	D. Gaiser	Review e-mail from J. Adler attaching defendant's reply brief in support of motion for judgment on the pleadings; search Lexis and Westlaw for case law cited in above-referenced reply brief as requested by J. Adler; prepare and organize above-referenced case law for review by J. Adler; commence to search Lexis and Westlaw for statutes, rules and secondary sources cited in above-referenced reply brief as well as plaintiffs' opposition to defendant's motion for judgment on the pleadings as requested by J. Adler.	10.00	\$ 110	\$ 1,100.00
05/24/07	L. LeClair	Conference with J. Adler regarding issues; work on hearing.	0.80	\$ 660	\$ 528.00
05/24/07	J. Naylor	Prepare cases for hearing; coordinate with D. Gaiser.	7.50	\$ 425	\$ 3,187.50
05/25/07	L. LeClair	Prepare for hearing.	2.50	\$ 660	\$ 1,650.00
05/25/07	D. Gaiser	Compile topical case law binders as requested by J. Adler; prepare indices for same; coordinate copying of same; distribute set of topical case law binders to L. LeClair for his review.	8.80	\$ 110	\$ 968.00
05/26/07	L. LeClair	Prepare for hearing.	3.60	\$ 660	\$ 2,376.00
05/28/07	R. Snider	Review materials provided by L. LeClair regarding motion to dismiss and motion for sanctions; conference with L. LeClair regarding same.	1.80	\$ 525	\$ 945.00
05/28/07	L. LeClair	Prepare for hearing on motions for judgment on the pleadings.	4.30	\$ 660	\$ 2,838.00
05/29/07	L. LeClair	Prepare for hearing; prepare outlines; review of correspondence.	8.10	\$ 660	\$ 5,346.00
05/30/07	L. LeClair	Prepare for argumen; meeting with R. Katz.	8.80	\$ 660	\$ 5,808.00
Project Total:			88.30		\$ 39,352.00
Percentage Recoverable:	75%				\$ 29,514.00
Hours Billed to Project No. 56 by Co- Counsel:	32.60				

287224_10.XLS 32 of 306

Project No. 57		San Francisco Strategy Meeting in Preparation for Hearing on Defendants' Motion to Dismiss and Motion to Transfer Venue					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
05/29/07	J. Naylor	Prepare for hearing.	2.90	\$	425	\$	1,232.50
05/30/07	J. Naylor	Meet with co-counsel.	0.70	\$	425	\$	297.50
05/30/07	J. Naylor	Meet with L. LeClair.	0.80	\$	425	\$	340.00
05/31/07	J. Naylor	Attend strategy meeting with co-counsel	3.50	\$	425	\$	1,487.50
Project Total:			7.90			\$	3,357.50
Percentage Recoverable:	75%					\$	2,518.13
Hours Billed to Project No. 57 by Co- Counsel:	8.10						

287224_10.XLS 33 of 306

Project No. 58		Conference Calls with Co-Counsel Regarding Vendors and Experts					
Date	Time Keeper	Description	Hours	Rate		Fee	
05/24/07	L. LeClair	Review engegement letter for vendors and correspondence to R. Katz; conference with R. Katz regarding expert.	1.60	\$	660	\$	1,056.00
12/10/07	J. Naylor	Attend meeting with experts.	2.40	\$	425	\$	1,020.00
12/10/07	J. Naylor	Review and respond to e-mails from co-counsel.	0.30	\$	425	\$	127.50
Project Total:			4.30			\$	2,203.50
Percentage Recoverable:	100%					\$	2,203.50
Hours Billed to Project No. 58 by Co- Counsel:	0.00						

Project No. 59		Attend Hearing Regarding Defendants' Motion				
		to Dismiss and Motion to Transfer Venue				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/31/07	L. LeClair	Attend conference in San Francisco.	2.20	\$ 660	\$	1,452.00
05/31/07	J. Naylor	Attend hearing.	2.00	\$ 425	\$	850.00
Project Total:			4.20		¢	2,302.00
	750/		4.20		Φ	ŕ
Percentage	75%				\$	1,726.50
Recoverable:						
Hours Billed to Project No. 59 by Co-	9.60					
Counsel:						

287224_10.XLS 34 of 306

Project No. 60		June 2007 Case Management					
Date	Time Keeper	Description	Hours	Rate		Rate Fee	
06/04/07	L. LeClair	Work on case management conference issues.	0.80	\$	660	\$	528.00
06/05/07	L. LeClair	Review of draft discovery request; telephone conference with R. Katz; telephone conference with J. Adler; review of cases regarding proposed order.	1.40	\$	660	\$	924.00
06/05/07	L. LeClair	E-mail to clients regarding status of amended pleadings.	0.30	\$	660	\$	198.00
06/12/07	L. LeClair	E-mail thoughts to R. Katz; review of draft complaint.	0.50	\$	660	\$	330.00
06/14/07	L. LeClair	Conference with R. Katz and W. Roberts; plan for complaint filing and discovery.	1.20	\$	660	\$	792.00
06/18/07	L. LeClair	Telephone conference with R. Katz; telephone conference with J. Adler; conference call with Manatt team to discuss further research under UCL.	1.30	\$	660	\$	858.00
06/19/07	L. LeClair	E-mail to R. Katz on B. Parish GLAS; circulate new version of complaint; conference call with Manatt team.	2.00	\$	660	\$	1,320.00
06/22/07	L. LeClair	Telephone conference with R. Katz regarding website; review of filed complaint; review of discovery issues.	1.20	\$	660	\$	792.00
06/28/07	L. LeClair	Work on website transition.	0.50	\$	660	\$	330.00
Project Total:	100%		9.20			\$	6,072.00
Percentage Recoverable:						\$	-
Hours Billed to Project No. 60 by Co- Counsel:	8.60						

287224_10.XLS 35 of 306

Project No. 61		Prepare Joint Statement of the Case (Filed June 4, 2007)				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/29/07	J. Naylor	Prepare joint statement.	0.70	\$ 425	\$	297.50
05/29/07	J. Naylor	Review e-mails.	0.70	\$ 425	\$	297.50
06/01/07	J. Naylor	Further preparation of joint statement.	3.20	\$ 425	\$	1,360.00
06/01/07	L. LeClair	Work on joint statement for case management conference; e-mails to J. Adler and R. Katz.	1.20	\$ 660	\$	792.00
06/07/07	J. Naylor	Revisions to joint statement.	0.70	\$ 425	\$	297.50
Project Total:			6.50		\$	3,044.50
Percentage Recoverable:	75%				\$	2,283.38
Hours Billed to Project No. 61 by Co- Counsel:	25.00					

Project No. 62		Review of Order Denying Defendants' Motions to Transfer and for Rule 11 Sanctions			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	3.30				
Project No.62 by Co-					
Counsel:					

287224_10.XLS 36 of 306

Project No. 63		Review and Analysis of Order Denying in Part and Granting in Part Defendants' Motion to Dismiss			
Date	Time Keeper	Description	Hours	Rate	Fee
11/14/07	J. Naylor	Review order.	0.20	\$ 425	\$ 85.00
11/14/07	J. Naylor	Conference with L. LeClair regarding same.	0.20	\$ 425	\$ 85.00
12/03/07	J. Naylor	Review order granting motion for leave.	0.40	\$ 425	\$ 170.00
Project Total:			0.80		\$ 340.00
Percentage Recoverable:	75%				\$ 255.00
Hours Billed to Project No. 63 by Co- Counsel:	3.20				

Project No. 64		Prepare Rule 26 Disclosures (Served June 7, 2007)					
Date	Time Keeper	Description	Hours	Rat	æ	Fee	
06/04/07	J. Naylor	Prepare first draft of Rule 26 disclosures.	4.20	\$	425	\$	1,785.00
06/04/07	J. Naylor	Review e-mails from team members.	0.30	\$	425	\$	127.50
06/04/07	J. Naylor	Conference call with co-counsel.	1.00	\$	425	\$	425.00
Project Total:			5.50			\$	2,337.50
Percentage Recoverable:	100%					\$	2,337.50
Hours Billed to Project No. 64 by Co- Counsel:	10.80						

287224_10.XLS 37 of 306

Project No. 65		Legal Research in Connection with Amended Complaint				
Date	Time Keeper	Description	Hours	Rate	Fee	
03/27/07	J. Naylor	Conference with L. LeClair regarding amended complaint.	1.20	\$ 425	\$	510.00
03/27/07	J. Naylor	Research regarding same.	2.90	\$ 425	\$	1,232.50
06/11/07	L. LeClair	Continue work on new complaint and UCL.	2.30	\$ 625	\$	1,437.50
06/12/07	L. LeClair	Continue work on new complaint and prepare for case management conference	1.80	\$ 625	\$	1,125.00
Project Total:			8.20		\$	4,305.00
Percentage Recoverable:	75%				\$	3,228.75
Hours Billed to Project No. 65 by Co- Counsel:	20.80					

Project No. 66		Legal Research Regarding Alternate Causes of Action					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/05/07	J. Naylor	Legal research regarding new causes of action.	5.10	\$	425	\$	2,167.50
06/06/07	J. Naylor	Continue research on new causes of action.	2.80	\$	425	\$	1,190.00
06/07/07	J. Naylor	Continue research regarding new causes of action.	4.10	\$	425	\$	1,742.50
06/08/07	L. LeClair	Research on UCL and 17-200.	2.10	\$	625	\$	1,312.50
06/08/07	J. Naylor	Continue research on new causes of action.	8.20	\$	425	\$	3,485.00
06/09/07	J. Naylor	Continue research on new causes of action.	4.40	\$	425	\$	1,870.00
06/09/07	J. Naylor	Discussions with L. LeClair regarding same.	0.50	\$	425	\$	212.50
06/12/07	L. LeClair	Extensive research on issues under Section 1.	1.00	\$	625	\$	625.00
06/12/07	J. Naylor	Research UCL claim.	6.20	\$	425	\$	2,635.00
06/13/07	J. Naylor	Further review of research of additional claims.	1.00	\$	425	\$	425.00
06/18/07	J. Naylor	Continue research on other causes of action.	5.20	\$	425	\$	2,210.00
06/18/07	J. Naylor	Review license agreements.	2.10	\$	425	\$	892.50
06/18/07	J. Naylor	Perform research for other licensing agreements.	2.30	\$	425	\$	977.50
06/19/07	L. LeClair	Research on UCL; edit and revise complaint.	3.60	\$	660	\$	2,376.00
06/21/07	L. LeClair	Research, etc. standing issue.	1.70	\$	660	\$	1,122.00
Project Total:			50.30			\$	23,243.00
Percentage	75%					\$	17,432.25
Recoverable:							
Hours Billed to	14.90						
Project No. 66 by Co-Counsel:							

287224_10.XLS 38 of 306

Project No. 67		Legal Research Regarding Potential Anti-Trust Claims					
Date	Time Keeper	Description	Hours	Rat	Rate Fee		
06/12/07	J. Naylor	Research anti-trust claim.	2.00	\$	425	\$	850.00
06/15/07	D. Gaiser	Telephone conference with J. Adler regarding retrieval of most recent live complaints from related antitrust cases; search court dockets for above-referenced complaints; e-mail same to L. LeClair and J. Adler for their review; prepare and organize hard copies of above-referenced complaints, court dockets and related antitrust case law for review by J. Adler; telephone conference with J. Adler regarding same; draft e-mail to J. Adler regarding confirmation of same.	4.50	\$	110	\$	495.00
06/15/07	L. LeClair	Further research on antitrust; e-mail to J. Adler.	3.20	\$	660	\$	2,112.00
06/15/07	J. Naylor	Legal research regarding anti-trust claims.	4.80	\$	425	\$	-
Project Total:			14.50			\$	3,457.00
Percentage Recoverable:	75%					\$	2,592.75
Hours Billed to Project No. 67 by Co- Counsel:	21.60						

Project No. 68		Strategy Calls with Co-Counsel Regarding Draft Discovery					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
02/26/07	J. Naylor	Review and respond to e-mails from class counsel.	0.40	\$	425	\$	170.00
03/07/07	J. Naylor	Conference with co-counsel.	0.40	\$	425	\$	170.00
03/14/07	J. Naylor	Review e-mails from clients and co-counsel.	1.20	\$	425	\$	510.00
04/02/07	J. Naylor	Review e-mails regarding various issues from team members.	0.30	\$	425	\$	127.50
06/19/07	J. Naylor	Conference regarding discovery.	2.20	\$	425	\$	935.00
06/20/07	J. Naylor	Conference regarding discovery.	1.50	\$	425	\$	637.50
07/02/07	J. Naylor	Review e-mails.	0.30	\$	425	\$	127.50
08/02/07	J. Naylor	Review e-mails and correspondence regarding various matters.	0.80	\$	425	\$	340.00
08/16/07	J. Naylor	Review e-mails from co-counsel.	0.90	\$	425	\$	382.50
08/20/07	J. Naylor	Revise/confer with co-counsel on discovery responses.	1.10	\$	425	\$	467.50
12/03/07	J. Naylor	Review e-mails regarding discovery from team members and opposing counsel.	0.20	\$	425	\$	85.00
12/04/07	J. Naylor	Review e-mails regarding discovery and scheduling order from team members and opposing counsel.	0.80	\$	425	\$	340.00
12/14/07	J. Naylor	E-mails with co-counsel regarding strategy.	0.50	\$	425	\$	212.50

287224_10.XLS 39 of 306

12/17/07	J. Naylor	Telephone conference with R. Hilbert regarding strategy.	0.70	\$ 425	\$ 297.50
12/19/07	J. Naylor	E-mails with co-counsel.	0.30	\$ 425	\$ 127.50
12/19/07	J. Naylor	Telephone conference with R. Hilbert.	0.60	\$ 425	\$ 255.00
12/21/07	J. Naylor	Conference call with all team members.	1.80	\$ 425	\$ 765.00
12/21/07	J. Naylor	Meeting with L. LeClair regarding discovery.	0.40	\$ 425	\$ 170.00
02/11/08	J. Naylor	Conference with B. Charhon regarding discovery.	0.30	\$ 425	\$ 127.50
02/12/08	J. Naylor	Numerous e-mails and telephone conferences with co-counsel regarding various issues.	1.20	\$ 425	\$ 510.00
02/13/08	J. Naylor	Review numerous e-mails.	0.80	\$ 425	\$ 340.00
02/22/08	J. Naylor	Conference with B. Charhon regarding various matters.	0.70	\$ 425	\$ 297.50
02/25/08	J. Naylor	Review e-mails to and from other counsel regarding discovery.	0.40	\$ 425	\$ 170.00
02/25/08	J. Naylor	Conference with B. Charhon regarding strategy.	0.50	\$ 425	\$ 212.50
03/17/08	J. Naylor	Telephone conference with R. Hilbert regarding discovery issues.	2.20	\$ 425	\$ 935.00
03/17/08	J. Naylor	Conferences with K. Sherrill regarding same.	0.70	\$ 425	\$ 297.50
04/16/08	J. Naylor	Review e-mails.	0.40	\$ 425	\$ 170.00
04/18/08	J. Naylor	Review e-mails.	0.30	\$ 425	\$ 127.50
Project Total:			21.90		\$ 9,307.50
Percentage Recoverable:	100%				\$ 9,307.50
Hours Billed to Project No. 68 by Co- Counsel:	3.20				

Project No. 69		Prepare Requests for Production to Players, Inc. (Served June 11, 2007)					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
06/05/07	J. Naylor	Draft first request for production.	2.80	\$	425	\$	1,190.00
06/06/07	J. Naylor	Further draft of first request for production.	3.70	\$	425	\$	1,572.50
06/07/07	J. Naylor	Revisions to discovery responses.	0.80	\$	425	\$	340.00
06/15/07	L. LeClair	Edit and revise request for productions to conform to Judge Alsup's comments; further edits to document.	1.90	\$	660	\$	1,254.00
Project Total:			9.20			\$	4,356.50
Percentage Recoverable:	100%					\$	4,356.50
Hours Billed to Project No.69 by Co- Counsel:	14.10						

287224_10.XLS 40 of 306

Project No. 70		Prepare Requests for Admission to Players, Inc. (Served June 11, 2007)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
06/06/07	J. Naylor	Draft requests for admissions.	3.60	\$	425	\$	1,530.00
06/07/07	L. LeClair	E-mails to R. Katz; review of request for admissions; edit and revise request for admissions and case management conference statement.	1.00	\$	660	\$	660.00
06/07/07	J. Naylor	Revisions to discovery responses.	0.70	\$	425	\$	297.50
						\$	-
Project Total:			5.30			\$	2,487.50
Percentage Recoverable:	100%					\$	2,487.50
Hours Billed to Project No.70 by Co- Counsel:	0.00						

Project No. 71		Edit Requests for Admission			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 71 by Co-					
Counsel:					

Project No. 72		Conference Calls with Clients Regarding Amended Pleadings, Orders from the Court			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	11.80				
Project No. 72 by Co-					
Counsel:					

287224_10.XLS 41 of 306

Project No. 73		Prepare for Case Management Conference					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/05/07	L. LeClair	Work on joint statement and case management conference.	1.20	\$	660	\$	792.00
06/06/07	L. LeClair	Review of ADR filing; e-mail to R. Hilbert regarding status of pending material for case management conference; work on case management conference and statement.	3.10	\$	660	\$	2,046.00
06/06/07	L. LeClair	Address numerous issues on new complaint and prepare case management conference issues.	0.40	\$	660	\$	264.00
06/07/07	L. LeClair	Continue work on case management conference, ADR and complaint; numerous calls and e-mails.	0.60	\$	660	\$	396.00
06/08/07	L. LeClair	Review of filed papers regarding case management conference.	0.40	\$	660	\$	264.00
06/13/07	L. LeClair	Prepare for case management conference; conference in Palo Alto with R. Katz and other lawyers; review outline for case management conference.	5.10	\$	660	\$	3,366.00
06/13/07	J. Naylor	Meetings with L. LeClair and co-counsel in preparation for case management conference.	4.30	\$	425	\$	1,827.50
06/14/07	L. LeClair	Prepare for case management conference.	2.00	\$	660	\$	1,320.00
Project Total:			17.10			\$	10,275.50
Percentage Recoverable:	100%					\$	10,275.50
Hours Billed to Project No.73 by Co- Counsel:	3.50						

Project No. 74		Attend Case Management Conference			
Date	Time Keeper	Description	Hours	Rate	Fee
06/14/07	L. LeClair	Attend court hearing in San Francisco.	0.50	\$ 660	\$ 330.00
06/14/07	J. Naylor	Attend case management conference.	1.00	\$ 425	\$ 425.00
Project Total:			1.50		\$ 755.00
Percentage	100%				\$ 755.00
Recoverable:					
Hours Billed to	7.80				
Project No. 74 by Co-					
Counsel:					

287224_10.XLS 42 of 306

Project No. 75		Prepare Second Amended Complaint (Filed June 21, 2007)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
03/28/07	J. Naylor	Prepare second amended complaint.	3.70	\$	425	\$	1,572.50
03/28/07	J. Naylor	Prepare motion for leave to file.	2.00	\$	425	\$	850.00
03/29/07	J. Naylor	Finalize second amended complaint.	2.90	\$	425	\$	1,232.50
03/29/07	J. Naylor	Prepare motion for leave.	1.30	\$	425	\$	552.50
06/07/07	L. LeClair	Revise and edit draft; telephone conference with R. Katz regarding complaint.	1.20	\$	660	\$	792.00
06/08/07	L. LeClair	Extensive work on amended complaint.	1.20	\$	660	\$	792.00
06/13/07	L. LeClair	Work on pending issues regarding complaint; draft outline for Section 1 claim.	2.00	\$	660	\$	1,320.00
06/16/07	L. LeClair	Extensive work on amended complaint.	3.70	\$	660	\$	2,442.00
06/17/07	L. LeClair	Extensive work on amended complaint; e-mail to team with revised draft.	5.80	\$	660	\$	3,828.00
06/18/07	L. LeClair	Further editing and review of amended complaint.	2.80	\$	660	\$	1,848.00
06/18/07	J. Naylor	Review draft pleadings; review emails from team.	1.60	\$	425	\$	680.00
06/19/07	L. LeClair	Extensive e-mail discussion of complaint, antitrust, and UCL.	1.30	\$	660	\$	858.00
06/19/07	J. Naylor	Continue research, review, and revisions of second amended complaint; draft emails to team members.	4.30	\$	425	\$	1,827.50
06/20/07	L. LeClair	Continue efforts on amended complaint, vast quantity of e-mails and drafts.	3.60	\$	660	\$	2,376.00
06/20/07	J. Naylor	Continue research, review, and revisions of second amended complaint; review emails, draft emails to team	10.70	\$	425	\$	4,547.50
06/21/07	L. LeClair	Final research on filing amended complaint.	3.40	\$	660	\$	2,244.00
06/21/07	J. Naylor	Continue research, review, and revisions of second amended complaint; review emails, numerous conferences.	8.70	\$	425	\$	3,697.50
Project Total:	75%		60.20			\$	31,460.00
Percentage Recoverable:						\$	-
Hours Billed to Project No. 75 by Co- Counsel:	51.70						

287224_10.XLS 43 of 306

Project No. 76		Prepare Supplemental Rule 26(a) Disclosures (Served June 29, 2007)					
Date	Time Keeper	Description	Hours	Rat	Rate Fee		
06/25/07	L. LeClair	E-mails and several telephone conferences with team regarding disclosure; review of disclosure and amendment; review of e-mails and final filing.	2.20	\$	660	\$	1,452.00
06/27/07	L. LeClair	Work on revised disclosures.	1.10	\$	660	\$	726.00
06/28/07	L. LeClair	Conference call regarding disclosures.	1.20	\$	660	\$	792.00
Project Total:			4.50			\$	2,970.00
Percentage Recoverable:	75%					\$	2,227.50
Hours Billed to Project No. 76 by Co- Counsel:	7.60						

Project No. 77		July 2007 Case Management				
Date	Time Keeper	Description	Hours	Rate	Fee	e
07/10/07	L. LeClair	Review Weber Shandwick agreement; revise and edit	0.60	\$ 66	\$	396.00
07/18/07	L. LeClair	Review of corresondence and pleadings; telephone conference with J. Adler; review of discovery.	1.40	\$ 66	\$	924.00
07/23/07	L. LeClair	Telephone conference with R. Katz on status.	0.20	\$ 66) \$	132.00
07/24/07	L. LeClair	Telephone conference with J. Adler; review of correspondence on discovery; review of correspondence.	0.60	\$ 66	\$	396.00
Project Total:			2.80		\$	1,848.00
Percentage Recoverable:	100%				\$	1,848.00
YY - D'11 1 .	0.20				_	
Hours Billed to Project No. 77 by Co- Counsel:	9.30					

287224_10.XLS 44 of 306

Project No. 78		Review and Analysis of Defendants' Motion to Dismiss Plaintiffs' Second Amended Complaint (Filed July 6, 2007)					
Date	Time Keeper	Description	Hours	Rate		Rate Fee	
07/08/07	L. LeClair	Review new motion to dismiss.	1.30	\$	660	\$	858.00
07/09/07	J. Naylor	Review new filings by defendants.	3.10	\$	425	\$	1,317.50
07/10/07	J. Naylor	Review motion to dismiss.	1.20	\$	425	\$	510.00
Project Total:			5.60			\$	2,685.50
Percentage Recoverable:	75%					\$	2,014.13
Hours Billed to Project No. 78 by Co- Counsel:	30.30						

Project No. 79		Internal Strategy Calls and Calls with Co- Counsel Regarding Motion to Dismiss.			
Date	Time Keeper	Description	Hours	Rate	Fee
07/09/07	J. Naylor	Conference call regarding motion to dismiss.	0.40	\$ 425	\$ 170.00
07/09/07	J. Naylor	Review numerous e-mails regarding same.	0.70	\$ 425	\$ 297.50
Project Total:			1.10		\$ 467.50
Percentage Recoverable:	75%				\$ 350.63
Hours Billed to	3.30				
Project No. 79 by Co-Counsel:					

287224_10.XLS 45 of 306

Project No. 80		Prepare Response to Defendants' Motion to					
		Dismiss Plaintiffs' Second Amended Complaint (Filed on August 9, 2007)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
07/10/07	J. Naylor	Begin preparation of response.	2.30	\$	425	\$	977.50
07/11/07	J. Naylor	Prepare motion to dismiss response.	3.70	\$	425	\$	1,572.50
07/12/07	L. LeClair	Work on amended motion to dismiss.	2.60	\$	660	\$	1,716.00
07/12/07	J. Naylor	Prepare response to motion to dismiss.	4.00	\$	425	\$	1,700.00
07/13/07	J. Naylor	Prepare response to motion to dismiss.	2.30	\$	425	\$	977.50
07/16/07	J. Naylor	Prepare response to motion to dismiss and legal research regarding same.	2.80	\$	425	\$	1,190.00
07/17/07	J. Naylor	Prepare response to motion to dismiss.	6.30	\$	425	\$	2,677.50
07/18/07	J. Naylor	Review drafts of brief.	0.50	\$	425	\$	212.50
07/20/07	L. LeClair	Review of brief and status; conference with J. Adler.	1.80	\$	660	\$	1,188.00
07/22/07	L. LeClair	Work on motion to dismiss.	2.10	\$	660	\$	1,386.00
07/23/07	J. Naylor	Prepare responses to motions to dismiss.	2.00	\$	425	\$	850.00
07/24/07	L. LeClair	Review of latest draft of opposition to motion to dismiss.	2.20	\$	660	\$	1,452.00
07/24/07	J. Naylor	Prepare responses to motions to dismiss.	5.80	\$	425	\$	2,465.00
07/25/07	J. Naylor	Complete draft of responses to motions to dismiss.	7.30	\$	425	\$	3,102.50
07/26/07	L. LeClair	Review of e-mails; edit motion response; telephone conference with J. Adler.	3.10	\$	660	\$	2,046.00
07/26/07	J. Naylor	Further revisions to motions to dismiss.	2.10	\$	425	\$	892.50
07/27/07	L. LeClair	Review of draft and prepare for conference call; edit draft.	1.80	\$	660	\$	1,188.00
07/29/07	L. LeClair	Edit brief for call on Monday; e-mail to J. Adler and team.	2.20	\$	660	\$	1,452.00
07/30/07	L. LeClair	Work on brief and prepare for call; edit brief	4.20	\$	660	\$	2,772.00
07/31/07	J. Naylor	Further revisions to brief in response to motions to dismiss.	3.10	\$	425	\$	1,317.50
08/02/07	J. Naylor	Revisions to oppositions to motions to dismiss.	1.30	\$	425	\$	552.50

287224_10.XLS 46 of 306

08/03/07	L. LeClair	Review briefs on motion to dismiss, proposed comment, and edits on brief; telephone conference with R. Katz on brief and pending motion; prepare for August 30 hearing.	2.90	\$ 660	\$ 1,914.00
08/06/07	J. Naylor	Revise introduction to opposition.	0.40	\$ 425	\$ 170.00
08/06/07	J. Naylor	Conferences with L. LeClair and co-counsel regarding brief.	0.80	\$ 425	\$ 340.00
08/07/07	J. Naylor	Revisions to consolidated oppositions.	0.30	\$ 425	\$ 127.50
08/09/07	J. Naylor	Final revisions to filings regarding oppositions to motions to dismiss.	1.20	\$ 425	\$ 510.00
Project Total:			69.10		\$ 34,749.00
Percentage Recoverable:	75%				\$ 26,061.75
Hours Billed to Project No.80 by Co- Counsel:	123.80				

Project No. 81		Internal Strategy Calls and Calls with Co- Counsel Regarding Response to Motion to Dismiss					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
07/09/07	L. LeClair	Conference with J. Adler; telephone conference with Manatt lawyers; work on motion and issues regarding fiduciary duty, etc.	2.00	\$	660	\$	1,320.00
07/12/07	J. Naylor	Review e-mails from team members.	0.40	\$	425	\$	170.00
07/13/07	J. Naylor	Review e-mails.	0.30	\$	425	\$	127.50
07/18/07	J. Naylor	Strategy discussions with co-counsel.	0.50	\$	425	\$	212.50
07/23/07	J. Naylor	Review e-mails from team members.	0.80	\$	425	\$	340.00
07/24/07	J. Naylor	Review e-mails from team members.	1.40	\$	425	\$	595.00
07/27/07	J. Naylor	Review e-mails from team members on various issues.	0.80	\$	425	\$	340.00
07/30/07	J. Naylor	Conference call regarding motions to dismiss.	1.20	\$	425	\$	510.00
07/31/07	J. Naylor	Review of e-mails.	0.40	\$	425	\$	170.00
08/02/07	J. Naylor	Conference with L. LeClair regarding motion to dismiss.	0.40	\$	425	\$	170.00
08/20/07	J. Naylor	Coordinate filings with co-counsel and with G. Ryland.	1.10	\$	425	\$	467.50
08/20/07	J. Naylor	Review emails from co-counsel regarding various issues.	1.00	\$	425	\$	425.00
Project Total:			10.30			\$	4,847.50
Percentage Recoverable:	75%					\$	3,635.63
Hours Billed to Project No. 81 by Co- Counsel:	6.30						

287224_10.XLS 47 of 306

Project No. 82		Legal Research in Connection with Motion to Dismiss					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/09/07	L. LeClair	Prepare for call on responses to motion to dismiss.	0.70	\$	660	\$	462.00
07/10/07	J. Naylor	Legal research regarding same.	3.80	\$	425	\$	1,615.00
07/11/07	J. Naylor	Research regarding motion to dismiss response.	3.60	\$	425	\$	1,530.00
07/12/07	J. Naylor	Research in connection with response to motion to dismiss.	3.90	\$	425	\$	1,657.50
07/13/07	J. Naylor	Research regarding to motion to dismiss.	2.20	\$	425	\$	935.00
07/16/07	J. Naylor	Prepare response to motion to dismiss and legal research regarding same.	2.80	\$	425	\$	1,190.00
Project Total:			17.00			\$	7,389.50
Percentage Recoverable:	75%					\$	5,542.13
Hours Billed to Project No. 82 by Co- Counsel:	49.10						

Project No. 83		Research Regarding Potential Experts			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Recoverable.					
Hours Billed to	0.00				
Project No. 83 by Co-					
Counsel:					

287224_10.XLS 48 of 306

Project No. 84		Internal Strategy Calls and Calls with Co- Counsel Regarding Potential Experts			
Date	Time Keeper	Description	Hours	Rate	Fee
07/03/07	L. LeClair	Work on expert issue; telephone conference with R. Katz; review of pleading.	1.10	\$ 660	\$ 726.00
Project Total:			1.10		\$ 726.00
Percentage Recoverable:	100%				\$ 726.00
Hours Billed to	4.30				
Project No. 84 by Co-Counsel:					

Project No. 85		Interview Potential Experts			
Date	Time Keeper	Description	Hours	Rate	Fee
07/13/07	L. LeClair	Telephone conference with potential experts; meeting with LECG representatives; review of briefs and discovery.	3.10	\$ 660	\$ 2,046.00
08/18/08	J. Naylor	Review motions in limine and make revisions; call D. Drinen.	0.70	\$ 450	\$ 315.00
Project Total:			3.80		\$ 2,361.00
Percentage Recoverable:	100%				\$ 2,361.00
Hours Billed to Project No.85 by Co- Counsel:	6.40				

Project No. 86		Draft Expert Engagement Letter				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/12/07	L. LeClair	Review of LECG engagement letter; prepare alternate language for letter; wrok on proposed topics	1.70	\$ 660	\$ 1,122	.00
Project Total:			1.70		\$ 1,122	.00
Percentage Recoverable:	100%				\$ 1,122	.00
Hours Billed to	0.00					_
Project No. 86 by Co-Counsel:						

287224_10.XLS 49 of 306

Project No. 87		Preparation of Damages Model and Proof in Connection with Same			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 87 by Co-					
Counsel:					

Project No. 88		Review and Analyze Defendants' Discovery Responses (Served July 16, 2007).					
Date	Time Keeper	Description	Hours	Rate		Fee	
07/17/07	L. LeClair	Review of motions, discovery, e-mail, etc.	2.60	\$	660	\$	1,716.00
07/25/07	L. LeClair	Review discovery responses and meet and confer letters; work on discovery issues.	2.60	\$	660	\$	1,716.00
07/30/07	L. LeClair	Review document responses.	0.90	\$	660	\$	594.00
07/30/07	J. Naylor	Review e-mails and correspondence from opposing counsel.	1.60	\$	425	\$	680.00
08/06/07	J. Naylor	Review defendants admissions.	0.80	\$	425	\$	340.00
08/06/07	J. Naylor	Review defendants prior pleadings for inconsistent statements; review e-mails from co-counsel and opposing counsel.	6.50	\$	425	\$	2,762.50
Project Total:			15.00			\$	7,808.50
Percentage Recoverable:	100%					\$	7,808.50
Hours Billed to	3.50						
Project No. 88 by Co-Counsel:	3.50						

287224_10.XLS 50 of 306

Project No. 89		Prepare Requests for Production to NFLPA (Served July 17, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
07/10/07	L. LeClair	Review of discovery request and response.	1.30	\$ 660	\$ 858.00
Project Total:			1.30		\$ 858.00
Percentage Recoverable:	100%				\$ 858.00
Hours Billed to Project No. 89 by Co- Counsel:	2.70				

Project No. 90		Prepare Requests for Admission to NFLPA (Served July 17, 2007)				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/19/07	L. LeClair	Review of requests for admission and requests for production; e-mail to plaintiffs; review of motion inserts.	1.50	\$ 660	\$	990.00
Project Total:			1.50		\$	990.00
Percentage Recoverable:	100%				\$	990.00
Hours Billed to Project No. 90 by Co- Counsel:	0.00					

287224_10.XLS 51 of 306

Project No. 91		August 2007 Case Management					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/20/07	L. LeClair	Review deposition notices; review motion.	0.60	\$	660	\$	396.00
08/21/07	L. LeClair	Review deposition schedule and discuss assignments with R. Katz.	0.40	\$	660	\$	264.00
08/21/07	J. Naylor	Review e-mails from co-counsel and L. Leclair regarding various issues.	0.30	\$	425	\$	127.50
08/22/07	J. Naylor	Review e-mails from co-counsel regarding various issues.	0.20	\$	425	\$	85.00
08/23/07	J. Naylor	Review e-mails from co-counsel regarding various issues.	0.30	\$	425	\$	127.50
08/30/07	L. LeClair	Telephone conference with J. Adler and S. Baxter regarding hearing; review of order; e-mails to R. Hilbert regarding order.	2.30	\$	660	\$	1,518.00
Project Total:			4.10			\$	2,518.00
Percentage Recoverable:	100%					\$	2,518.00
Hours Billed to Project No. 91 by Co- Counsel:	13.40						

287224_10.XLS 52 of 306

Project No. 92		Review of Prior Filings by Players Against Defendants					
Date	Time Keeper	Description	Hours	Rate		Fee	
03/19/07	J. Naylor	Review history of NFLPA sanctions filings.	3.70	\$	425	\$	1,572.50
03/19/07	J. Naylor	Meetings with H. Peterson regarding same.	0.30	\$	425	\$	127.50
07/21/07	D. Gaiser	Review e-mail from J. Adler attaching Dewey Ballantine's description of its sports law practice and a Weil Gotschal press release citing NFL Players Association cases relevant to client and respond to same; search CourtLink for dockets and relevant filings for above-refered cases; prepare and organize same in preparation for review by J. Adler.	7.50	\$	110	\$	825.00
07/23/07	D. Gaiser	Prepare and organize copy set of dockets and pertinent filings in NFL Players Association cases relevant to client; office conference with J. Adler regarding status of retrieval of remaining pertinent filings.	1.50	\$	110	\$	165.00
07/27/07	J. Naylor	Meet with D. Gaiser.	0.20	\$	425	\$	85.00
07/27/07	J. Naylor	Review numerous docket sheets for similar cases and similar issues filed by defendants in other cases.	1.20	\$	425	\$	510.00
07/27/07	J. Naylor	Conference with L. LeClair regarding same.	0.20	\$	425	\$	85.00
07/27/07	D. Gaiser	Coordinate retrieval of select federal district court filings as requested by J. Adler; draft e-mail to J. Adler regarding confirmation of same.	1.00	\$	110	\$	110.00
08/02/07	J. Naylor	Review prior lawsuits and other filings regarding Players Inc.	4.90	\$	425	\$	2,082.50
Project Total:			20.50			\$	5,562.50
Percentage Recoverable:	100%					\$	5,562.50
Hours Billed to Project No. 92 by Co- Counsel:	0.00						

287224_10.XLS 53 of 306

Project No. 93		Prepare for Hearing Regarding Defendants' Second Motion to Dismiss			
Date		Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	75%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 93 by Co-					
Counsel:					

Project No. 94		Review and Analyze Defendants' Document Requests (Served on July 23, 2007)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/23/07	J. Naylor	Review discovery requests.	1.00	\$	425	\$	425.00
07/24/07	J. Naylor	Review discovery requests.	1.00	\$	425	\$	425.00
07/26/07	J. Naylor	Meet with L. Phelan regarding discovery requests.	1.00	\$	425	\$	425.00
07/30/07	L. Phelan	Conference with J. Adler regarding Defendant's first requests for production of documents to plaintiffs and potential objections thereto; review two of defendant's responses to plaintiff's requests for production in this case received from J. Adler regarding objectionable requests.	3.00	\$	90	\$	270.00
08/07/07	J. Naylor	Review e-mails.	0.10	\$	425	\$	42.50
08/08/07	L. Phelan	Review defendants' requests for production and read Judge Alsup's local Supplemental Order to Order Setting Initial CMC in Civil Trials; review second amended complaint; review requests for production in other cases for standard language.	4.00	\$	90	\$	360.00
08/09/07	L. Phelan	Prepare objections to requests for production.	5.00	\$	90	\$	450.00
Project Total:			15.10			\$	2,397.50
Percentage Recoverable:	100%					\$	2,397.50
Hours Billed to Project No. 94 by Co- Counsel:	6.40						

287224_10.XLS 54 of 306

Project No. 95		Retain Expert Regarding Preservation and			
		Retention of Plaintiffs' Documents			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 95 by Co-					
Counsel:					

Project No. 96		Prepare Database of Defendants' Document			
		Production			
Date	Time Keeper	Description	Hours	Rate	Fee
08/22/07	K. Sherrill	Review and send emails regarding database of defendants' production.	0.40	\$ 110	\$ 44.00
08/23/07	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk, verify load integrity, re-index database, report load statistics to K. Sherrill.	2.20	\$ 120	\$ 264.00
08/24/07	D. Forbes	Correct unlinked document images in Opticon imagebase.	1.40	\$ 120	\$ 168.00
09/04/07	D. Forbes	Coordinate with K. Sherrill to arrange for FTP transfer of plaintiffs' production; re-build incomplete production received on DVD to create searchable text and database/imagebase loadfiles.	2.60	\$ 120	\$ 312.00
09/04/07	K. Sherrill	Emails with R. Hilbert regarding production CDs; meetings and emails with D. Forbes regarding same.	0.80	\$ 110	\$ 88.00
09/05/07	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk; build production volume from these documents.	4.20	\$ 120	\$ 504.00
09/05/07	K. Sherrill	Meeting with D. Forbes regarding issues with the defendants' production database.	0.30	\$ 110	\$ 33.00
09/06/07	K. Sherrill	Emails and meeting with Don Forbes regarding loading PDFs received as production from defendants.	0.30	\$ 110	\$ 33.00
12/10/07	J. Naylor	Meet with K. Sherrill to begin document coding project.	0.90	\$ 425	\$ 382.50
12/17/07	K. Sherrill	Emails regarding database coding project	0.20	\$ 110	\$ 22.00
12/17/07	J. Naylor	Meet with K. Sherrill regarding document coding.	0.90	\$ 425	\$ 382.50

287224_10.XLS 55 of 306

12/18/07	K. Sherrill	Emails regarding document coding project; telephone conferences with vendors regarding coding project.	0.30	\$ 110	\$ 33.00
12/19/07	D. Forbes	Coordinate with vendor Pinnacle regarding processing of incoming native files.	0.80	\$ 120	\$ 96.00
12/19/07	K. Sherrill	Prepare document for inclusion in database; review database and prepare for coding project; emails with J. Naylor regarding same	2.00	\$ 110	\$ 220.00
12/19/07	J. Naylor	Meet with K. Sherrill regarding document coding.	0.60	\$ 425	\$ 255.00
12/19/07	J. Naylor	Prepare list of key words for same.	0.80	\$ 425	\$ 340.00
12/20/07	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk, verify load integrity, re-index database, report load statistics to K. Sherrill; export entire database and imagebase to optical disk for delivery to document coders.	4.50	\$ 120	\$ 540.00
12/20/07	K. Sherrill	Prepare documents to be added to database and meetings regarding same; emails regarding coding the database.	0.40	\$ 110	\$ 44.00
12/21/07	J. Naylor	Review document coding list.	0.40	\$ 425	\$ 170.00
12/26/07	J. Naylor	Several conferences with K. Sherrill regarding third party discovery and document coding.	1.80	\$ 425	\$ 765.00
12/27/07	J. Naylor	Conferences with K. Sherrill regarding third party discovery and document coding.	0.90	\$ 425	\$ 382.50
04/09/08	K. Sherrill	Handle database issues	0.20	\$ 180	\$ 36.00
05/01/08	C. Alaniz	Continue to update database with new produced defendant documents in preparation for attorney's review; index same.	1.30	\$ 85	\$ 110.50
05/02/08	C. Alaniz	Continue to update database with new produced documents in preparation for attorney's review; index same.	1.40	\$ 85	\$ 119.00
05/12/08	C. Alaniz	Continue to update database with new produced defendant documents in preparation for attorney's review; index same.	3.60	\$ 85	\$ 306.00
05/15/08	C. Alaniz	Continue to update database with defendant's produced materials in preparation for attorney's review; index same.	2.90	\$ 85	\$ 246.50
06/04/08	C. Alaniz	Review and edit classification of production in database for attorney's review.	4.50	\$ 85	\$ 382.50
06/06/08	C. Alaniz	Review and edit classification of production in database for attorney's review.	7.50	\$ 85	\$ 637.50
Project Total:		+		\$ 5,265	\$ 6,916.50
Percentage Recoverable:	100%			,	\$ 6,916.50
Hours Billed to Project No. 96 by Co- Counsel:	4.00				

287224_10.XLS 56 of 306

Project No. 97		Review and Analysis of Documents Produced					
110ject 140. 77		by Defendants					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/23/07	L. LeClair	Review of various documents regarding NFLPA and pleadings.	0.40	\$	660	\$	264.00
09/13/07	K. Sherrill	Prepare documents for J. Adler to review in the database; meeting with J. Adler regarding review; review documents at J. Adler's instruction.	2.70	\$	110	\$	297.00
09/14/07	K. Sherrill	Research regarding language in the license agreements for L. LeClair.	4.90	\$	110	\$	539.00
09/17/07	K. Sherrill	Research NFLPA production database for information regarding by-laws.	1.90	\$	110	\$	209.00
09/18/07	K. Sherrill	Final review of production for NFLPA by-laws; email to J. Adler regarding same; meeting with J. Adler and review of key documents.	1.30	\$	110	\$	143.00
12/19/07	D. Page	Perform research and review of bulk document production from California counsel; create appropriate individual documents for coding and research purposes.	4.30	\$	110	\$	473.00
12/21/07	K. Sherrill	Emails and telephone conference with Merrill regarding document coding project and "key words" for coding project.	1.20	\$	110	\$	132.00
01/02/08	K. Sherrill	Emails regarding document coding project.	0.20	\$	180	\$	36.00
01/04/08	K. Sherrill	Emails regarding database coding project	0.10	\$	180	\$	18.00
01/17/08	K. Sherrill	Review new production coding and meet with D. Forbes regarding same.	0.40	\$	180	\$	72.00
02/12/08	B. Charhon	Review and analyze documents listing retired members of the NFLPA.	0.50	\$	400	\$	200.00
07/09/08	K. Sherrill	Review database regarding document types and assist A. Garza with plan for categorizing defendants' documents.	0.80	\$	180	\$	144.00
07/09/08	A. Garza	Begin document review.	0.80	\$	375	\$	300.00
07/12/08	A. Garza	Continue document review.	4.00	\$	375	\$	1,500.00
07/13/08	A. Garza	Continue document review.	5.60	\$	375	\$	2,100.00
07/14/08	A. Garza	Continue document review; write summary of document review.	4.30	\$	375	\$	1,612.50
08/13/08	A. Garza	Review selected documents.	0.70	\$	375	\$	262.50
Drainat Total			24.10			¢	9 202 00
Project Total: Percentage Recoverable:	100%		34.10			\$	8,302.00 8,302.00
Hours Billed to Project No. 97 by Co- Counsel:	11.50						

287224_10.XLS 57 of 306

Project No. 98		Legal Research Regarding Class Certification Issues			
Date	Time Keeper	Description	Hours	Rate	Fee
08/31/07	L. LeClair	Review of class certification issues; outline issues for brief.	2.00	\$ 660	\$ 1,320.00
09/02/08	A. Garza	Research appealability of class certification denials; correspond with team about the same.	6.60	\$ 375	\$ 2,475.00
Project Total:			8.60		\$ 3,795.00
Percentage Recoverable:	100%				\$ 3,795.00
Hours Billed to Project No. 98 by Co- Counsel:	4.50				

Project No. 99		Meet and Confers with Opposing Counsel					
		Regarding Discovery Issues					
Date	Time Keeper	Description	Hours	Rate	,	Fee	
05/22/07	J. Naylor	Conference with team members regarding meet and confer.	0.80	\$	425	\$	340.00
05/22/07	J. Naylor	Meet and confer with other counsel.	1.20	\$	425	\$	510.00
05/22/07	J. Naylor	Conference with L. LeClair regarding same.	0.30	\$	425	\$	127.50
09/21/07	J. Naylor	Review letters from opposing counsel.	1.20	\$	425	\$	510.00
Project Total:			3.50			\$	1,487.50
Percentage Recoverable:	100%					\$	1,487.50
Hours Billed to Project No. 99 by Co- Counsel:	160.80						

Project No. 100		Prepare Deposition Notices and Subpoenas (Upshaw, Ridley, Skall, D. Allen, P. Allen) (Served on August 2, 2007 and August 6, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 100 by Co- Counsel:	21.10				

287224_10.XLS 58 of 306

Project No. 101		Prepare for Deposition of D. Allen					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/21/07	L. LeClair	Review of subposenas and documents and prepare for D. Allen deposition;	0.70	\$	660	\$	462.00
08/23/07	L. LeClair	Begin preparation for deposition of D. Allen.	1.60	\$	660	\$	1,056.00
08/24/07	K. Sherrill	Research and review documents produced by defendants preparing for D. Allen and D. Ridley depositions; emails with N. Cohen regarding same.	2.50	\$	110	\$	275.00
08/27/07	K. Sherrill	Emails regarding the deposition preparation for D. Allen; review defendants document productions for potential deposition exhibits for D. Allen deposition.	3.50	\$	110	\$	385.00
08/27/07	L. LeClair	E-mails regarding depositions and 30(b)(6) issues.	1.30	\$	660	\$	858.00
08/27/07	J. Naylor	Review D. Allen documents in preparation for deposition.	2.40	\$	425	\$	1,020.00
08/27/07	J. Naylor	Meet with K. Sherrill on other search terms for D. Allen documents.	0.30	\$	425	\$	127.50
08/30/07	K. Sherrill	Research and review documents in preparation of the D. Allen deposition.	4.80	\$	110	\$	528.00
08/31/07	K. Sherrill	Review documents in preparation of the D. Allen deposition for L. LeClair.	6.10	\$	110	\$	671.00
09/01/07	L. LeClair	Review of new documents; e-mails to team.	2.20	\$	660	\$	1,452.00
09/02/07	K. Sherrill	Review and select documents for deposition exhibits for the D. Allen deposition.	5.80	\$	110	\$	638.00
09/03/07	K. Sherrill	Review and select documents for exhibits for the D. Allen deposition.	3.50	\$	110	\$	385.00
09/03/07	L. LeClair	Prepare for D. Allen deposition; review of documents; conference with K. Sherrill regarding new documents.	3.10	\$	660	\$	2,046.00
09/04/07	K. Sherrill	Review and select documents to be used as exhibits at the D. Allen deposition.	6.30	\$	110	\$	693.00
09/04/07	K. Sherrill	Meeting with J. Adler regarding the D. Allen deposition and documents for production.	0.40	\$	110	\$	44.00
09/04/07	L. LeClair	Prepare for depositions of D. Allen and D. Ridley; telephone conference with T. Graves.	3.30	\$	660	\$	2,178.00
09/05/07	K. Sherrill	Review new production for documents to be used as exhibits for the D. Allen deposition and final preparation of the deposition materials for L. LeClair.	8.40	\$	110	\$	924.00
09/05/07	L. LeClair	Prepare for depositions; review of documents; prepare for deposition of D. Allen.	7.10	\$	660	\$	4,686.00
09/06/07	L. LeClair	Prepare for D. Allen deposition.	4.80	\$	660	\$	3,168.00
09/11/07	K. Sherrill	Telephone calls regarding D. Allen deposition preparation materials.	0.30	\$	110	\$	33.00

287224_10.XLS 59 of 306

09/11/07	K. Sherrill	Prepare materials for J. Adler to review from the D. Allen deposition preparation and meeting regarding same.	0.40	\$ 110	\$ 44.00
01/04/08	K. Sherrill	Emails with co-counsel regarding D. Allen deposition exhibits	0.20	\$ 180	\$ 36.00
09/06/08	K. Sherrill	Complete review of defendants latest production for the D. Allen deposition	1.10	\$ 180	\$ 198.00
Project Total:			70.10		\$ 21,907.50
Percentage Recoverable:	100%				\$ 21,907.50
Hours Billed to Project No. 101 by Co- Counsel:	26.30				

Project No. 102		Review and Analysis of Defendants' Reply Memorandum in Support of Their Motion to Dismiss Plaintiffs' Second Amended Complaint (Filed August 16, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total: Percentage Recoverable:	75%		-		\$ - \$ -
Hours Billed to Project No.102 by Co- Counsel:	6.20				

	Review and Analysis of Defendants' Discovery				
	Responses (Served on August 16, 2007)				
Гime Keeper	Description	Hours	Rate	Fee	
	Review document production response; review e- mails to and from Dewey Ballentine regarding documents and depositions.	1.10	\$ 660	\$ 720	6.00
		1.10		¢ 724	C 00
		1.10			
100%				\$ 726	6.00
7.00					
10	ime Keeper . LeClair	ime Keeper Description LeClair Review document production response; review emails to and from Dewey Ballentine regarding documents and depositions.	ime Keeper Description Hours LeClair Review document production response; review emails to and from Dewey Ballentine regarding documents and depositions. 1.10 00%	ime Keeper Description Hours Rate Review document production response; review e- mails to and from Dewey Ballentine regarding documents and depositions. 1.10 00%	ime Keeper Description Hours Rate Fee Review document production response; review e- mails to and from Dewey Ballentine regarding documents and depositions. 1.10 \$ 660 \$ 720 1.10 \$ 720 1.10 \$ 720

287224_10.XLS 60 of 306

Project No. 104		Prepare for August 20, 2007 Hearing Regarding Motion to Dismiss and Other Issues					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/20/07	L. LeClair	Prepare for hearing.	1.30	\$	660	\$	858.00
08/22/07	L. LeClair	Prepare for argument on motions to dismiss; email to K. Sherrill regarding searches; e-mail to T. Graves.	1.00	\$	660	\$	660.00
08/22/07	J. Naylor	Prepare notebooks of case law for hearing on motion to dismiss.	0.80	\$	425	\$	340.00
08/23/07	K. Sherrill	Review motion to dismiss and prepare case binders for J. Adler.	7.80	\$	110	\$	858.00
08/24/07	K. Sherrill	Meeting with J. Adler regarding motion to dismiss hearing preparation.	0.20	\$	110	\$	22.00
08/24/07	L. LeClair	Review of briefs regarding motions to dismiss; prepare for hearing.	2.20	\$	660	\$	1,452.00
08/27/07	L. LeClair	Review of briefs and prepare for hearing on motions to dismiss.	2.30	\$	660	\$	1,518.00
08/29/07	L. LeClair	Prepare for hearing; edit outlines.	5.10	\$	660	\$	3,366.00
08/30/07	L. LeClair	Prepare for hearing; conference with R. Katz and R. Hilbert regarding hearing and discovery.	4.10	\$	660	\$	2,706.00
Project Total:			24.80			\$	11,780.00
Percentage Recoverable:	75%					\$	8,835.00
Hours Billed to Project No. 104 by Co- Counsel:	28.30						

Project No. 105		Attend August 20, 2007 Hearing Regarding				
		Motion to Dismiss and Other Issues				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/30/07	L. LeClair	Attend court hearing on motions to dismiss.	3.30	\$ 660	\$	2,178.00
Project Total:			3.30		\$	2,178.00
Percentage	75%				\$	1,633.50
Recoverable:						
Hours Billed to	7.00					
Project No.105 by Co-						
Counsel:						

287224_10.XLS 61 of 306

Project No. 106		Prepare Responses to Discovery Requests Served on RPFPJ					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/07/07	J. Naylor	Work with L. Phelan on drafting responses to request for production.	1.70	\$	425	\$	722.50
08/10/07	L. Phelan	Prepare objections to Defendant's requests for production.	3.00	\$	90	\$	270.00
08/15/07	L. Phelan	Finalize objection to requests for production and identifying requests plaintiffs must respond to.	5.00	\$	90	\$	450.00
08/16/07	J. Naylor	Review L. Phelan draft of request for production responses; draft request for production responses.	4.40	\$	425	\$	1,870.00
08/21/07	J. Naylor	Coordinate documents search with co-counsel, K. Sherrill and S. Bovine.	1.00	\$	425	\$	425.00
08/21/07	J. Naylor	Review and revise discovery responses.	1.80	\$	425	\$	765.00
08/22/07	L. LeClair	Review subpoenas on Retired Professional Football Players for Justice organization; e-mails to R. Katz and R. Hilbert.	0.40	\$	660	\$	264.00
08/25/07	L. LeClair	Review of Retired Professional Football Players for Justice subpoenas; e-mails to R. Katz; review of discovery.	0.90	\$	660	\$	594.00
Project Total:			18.20			\$	5,360.50
Percentage Recoverable:	100%					\$	5,360.50
Hours Billed to Project No.106 by Co- Counsel:	12.30						

Project No. 107		September 2007 Case Management				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/10/07	L. LeClair	Work on pending issues.	1.60	\$ 660	\$	1,056.00
10/09/07	L. LeClair	Telephone conference with R. Katz regarding S. Mutch; schedule calls.	1.10	\$ 660	\$	726.00
Project Total:			2.70		\$	1,782.00
Percentage	100%				\$	1,782.00
Recoverable:						
Hours Billed to Project No. 107 by Co- Counsel:	15.40					

287224_10.XLS 62 of 306

Project No. 108		Internal Telephone Conferences and Calls with Co-Counsel Regarding Strategy for Motion for Class Certification					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/08/08	J. Naylor	Review e-mails from co-counsel.	0.40	\$	425	\$	170.00
01/22/08	J. Naylor	Conference call with team regarding various matters.	0.80	\$	425	\$	340.00
02/27/08	J. Naylor	Review e-mails from other counsel regarding various issues.	0.50	\$	425	\$	212.50
02/28/08	J. Naylor	Review Shapiro comments regarding certification and respond to same.	1.80	\$	425	\$	765.00
02/28/08	J. Naylor	Review e-mails from co-counsel on various issues.	1.20	\$	425	\$	510.00
02/29/08	J. Naylor	Review e-mails from team members class certification.	0.10	\$	425	\$	42.50
02/29/08	J. Naylor	Review Shapiro comments to motion for class certification.	0.60	\$	425	\$	255.00
02/29/08	J. Naylor	E-mails with R. Katz and L. LeClair on various matters.	0.80	\$	425	\$	340.00
03/04/08	J. Naylor	E-mails with R. Katz and R. Hilbert regarding motion to enlarge page limit.	0.30	\$	425	\$	127.50
03/04/08	J. Naylor	Meet with B. Charhon regarding gathering evidentiary materials for class certification brief.	2.80	\$	425	\$	1,190.00
03/05/08	J. Naylor	Review e-mails from co-counsel regarding various matters.	0.50	\$	425	\$	212.50
03/06/08	J. Naylor	Telephone conference with R. Katz regarding strategy.	0.40	\$	425	\$	170.00
03/06/08	J. Naylor	Telephone conferences with L. LeClair regarding strategy.	0.60	\$	425	\$	255.00
03/06/08	J. Naylor	Circulate e-mails regarding motion for class certification.	0.40	\$	425	\$	170.00
03/07/08	J. Naylor	Review e-mails from team members.	0.40	\$	425	\$	170.00
03/10/08	J. Naylor	Conference with L. LeClair regarding brief for class certification.	0.40	\$	425	\$	170.00

287224_10.XLS 63 of 306

03/10/08	J. Naylor	E-mails with L. LeClair and B. Charhon regarding class cert motion; review and respond to numerous e-mails regarding same.	0.50	\$ 425	\$ 212.50
03/24/08	J. Naylor	Conference with B. Charhon regarding certification motion.	0.70	\$ 425	\$ 297.50
03/25/08	J. Naylor	Review e-mails from co-counsel.	0.20	\$ 425	\$ 85.00
03/30/08	J. Naylor	Conference call with all team members regarding reply in support of motion for class certification; emails regarding same.	1.30	\$ 425	\$ 552.50
04/01/08	J. Naylor	Review and respond to co-counsel e-mail.	0.70	\$ 425	\$ 297.50
Project Total:			15.40		\$ 6,545.00
Percentage Recoverable:	75%				\$ 4,908.75
Hours Billed to Project No. 108 by Co-Counsel:	5.10				

Project No. 109		Legal Research in Connection with Motion for Class Certification			
Date	Time Keeper	Description	Hours	Rate	Fee
02/29/08	B. Charhon	Research law in connection with class certification motion	3.10	\$ 400	\$ 1,240.00
08/23/07	J. Naylor	Research regarding class certification.	3.30	\$ 425	\$ 1,402.50
08/24/07	J. Naylor	Research regarding class certification.	7.80	\$ 425	\$ 3,315.00
08/28/07	J. Naylor	Legal research regarding class certification.	5.00	\$ 425	\$ 2,125.00
08/28/07	J. Naylor	Conference call with co-counsel regarding various items.	0.60	\$ 425	\$ 255.00
08/29/07	J. Naylor	Legal research regarding class certifiation.	2.10	\$ 425	\$ 892.50
08/29/07	J. Naylor	Review and respond to various e-mails from co- counsel.	0.70	\$ 425	\$ 297.50
08/30/07	J. Naylor	Legal research regarding class certification.	3.20	\$ 425	\$ 1,360.00
12/03/07	J. Naylor	Research regarding class certification.	3.60	\$ 425	\$ 1,530.00
12/04/07	J. Naylor	Research regarding class certification.	2.80	\$ 425	\$ 1,190.00
12/05/07	J. Naylor	Research regarding class certification.	4.30	\$ 425	\$ 1,827.50
01/03/08	J. Naylor	Legal research regarding class certification.	4.80	\$ 425	\$ 2,040.00

287224_10.XLS 64 of 306

01/04/08	J. Naylor	Legal research regarding class certification.	5.20	\$ 425	\$ 2,210.00
01/07/08	J. Naylor	Legal research regarding California law related to class certification motion.	4.20	\$ 425	\$ 1,785.00
01/08/08	J. Naylor	Research regarding class certification.	3.20	\$ 425	\$ 1,360.00
01/22/08	J. Naylor	Review "reliance" element.	0.80	\$ 425	\$ 340.00
01/22/08	J. Naylor	Conferences with team members regarding same and settlement conference statement.	0.70	\$ 425	\$ 297.50
01/22/08	J. Naylor	Review e-mails regarding various matters.	0.80	\$ 425	\$ 340.00
Project Total:			56.20		\$ 23,807.50
Percentage Recoverable:	75%				\$ 17,855.63
Recoverable.					
Hours Billed to Project No.109 by Co- Counsel:	0.00				

Project No. 110		Prepare Second Set of Requests for Admissions to NFLPA (Served September 5, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			_		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to Project No.110 by Co- Counsel:	5.50				

287224_10.XLS 65 of 306

Project No. 111		Prepare Second Set of Requests for Admissions to Players, Inc. (Served September 5, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 111 by Co-					
Counsel:					

Project No. 112		Prepare for Deposition of Dawn Ridley					
Date	Time Keeper	Description	Hours	Rate	Fee		
09/06/07	K. Sherrill	Review all productions for documents to be used as exhibits at the D. Ridley deposition.	4.30	\$ 110	\$ 473.00		
Project Total:			4.30		\$ 473.00		
Percentage Recoverable:	100%				\$ 473.00		
Hours Billed to Project No. 112 by Co- Counsel:	7.20						

Project No. 113		Telephonic Hearing with Judge Alsup			
		Regarding D. Allen Deposition.			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.50				
Project No. 113 by Co-					
Counsel:					

287224_10.XLS 66 of 306

Project No. 114		Research Alternative Causes of Action in					
		Connection with Third Amended Complaint					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
09/06/07	L. LeClair	Review of dismissal order.	1.30	\$	660	\$	858.00
09/10/07	J. Naylor	Review order to dismiss.	0.80	\$	425	\$	340.00
09/11/07	J. Naylor	Conference call regarding third amended complaint and other matters.	0.80	\$	425	\$	340.00
09/11/07	J. Naylor	Begin preparation of motion in connection with same.	6.50	\$	425	\$	2,762.50
09/12/07	J. Naylor	Legal research regarding new cliams and theories regarding third amended complaint.	5.10	\$	425	\$	2,167.50
09/17/07	J. Naylor	Review documents in preparation of third amended complaint.	1.90	\$	425	\$	807.50
09/17/07	J. Naylor	Legal research regarding the contractual relationship between NFLPA and its members.	2.30	\$	425	\$	977.50
09/17/07	J. Naylor	Review certification regarding same.	0.30	\$	425	\$	127.50
09/17/07	J. Naylor	Research regarding Bylaws.	1.80	\$	425	\$	765.00
09/20/07	J. Naylor	Legal research regarding association's duties to members.	3.00	\$	425	\$	1,275.00
09/21/07	J. Naylor	Review and revise third amended complaint.	1.20	\$	425	\$	510.00
09/21/07	J. Naylor	Legal research regarding same.	2.10	\$	425	\$	892.50
09/24/07	J. Naylor	Further research.	0.80	\$	425	\$	340.00
Project Total:			27.90			\$	12,163.00
Percentage Recoverable:	75%					\$	9,122.25
Hours Billed to Project No. 114 by Co- Counsel:	44.60						

287224_10.XLS 67 of 306

Project No. 115		Prepare Motion for Leave to File Third Amended Complaint (Filed September 27,			
Date	Time Keeper	Description	Hours	Rate	Fee
09/12/07	J. Naylor	Prepare motion for leave.	0.50	\$ 425	\$ 212.50
09/19/07	J. Naylor	Draft motion for leave.	8.50	\$ 425	\$ 3,612.50
09/20/07	J. Naylor	Revise motion for leave.	0.40	\$ 425	\$ 170.00
Project Total:			9.40		\$ 3,995.00
Percentage	100%				\$ 3,995.00
Recoverable:			<u> </u>		
Hours Billed to Project No. 115 by Co- Counsel:	43.90				

287224_10.XLS 68 of 306

Project No. 116		Prepare Third Amended Complaint (Filed September 27, 2007)					
Date	Time Keeper	Description	Hours	Rate		Fee	
09/11/07	L. LeClair	Work on third amended complaint.	1.50	\$	660	\$	990.00
09/12/07	L. LeClair	Work on third amended complaint.	3.10	\$	660	\$	2,046.00
09/13/07	L. LeClair	Extensive drafting of third amended complaint.	2.10	\$	660	\$	1,386.00
09/14/07	L. LeClair	Complete redraft of third amended complaint.	7.20	\$	660	\$	4,752.00
09/17/07	L. LeClair	Drafting and revisions of third amended complaint.	2.70	\$	660	\$	1,782.00
09/19/07	L. LeClair	Extensive work on third amended complaint.	4.10	\$	660	\$	2,706.00
09/20/07	L. LeClair	Work on third amended complaint.	4.70	\$	660	\$	3,102.00
09/21/07	L. LeClair	Work on third amended complaint, substantially revising draft.	5.70	\$	660	\$	3,762.00
09/24/07	J. Naylor	Review/revise third amended complaint and other documents.	2.00	\$	425	\$	850.00
09/24/07	L. LeClair	Work on third amended complaint, declaration, and motion for leave.	5.10	\$	660	\$	3,366.00
09/25/07	J. Naylor	Finalize documents for filing.	1.10	\$	425	\$	467.50
09/25/07	L. LeClair	Work on third amended complaint, motion for leave, and declaration	5.60	\$	660	\$	3,696.00
09/27/07	L. LeClair	Finalize third amended complaint.	5.10	\$	660	\$	3,366.00
09/26/07	L. LeClair	Extensive work on third amended complaint, telephone conferences and e-mail regarding same.	3.60	\$	660	\$	2,376.00
Project Total:			53.60			\$	34,647.50
Percentage Recoverable:	75%					\$	25,985.63
Hours Billed to Project No. 116 by Co- Counsel:	73.90						

287224_10.XLS 69 of 306

Project No. 117		Internal Telephone Conferences and Calls with Co-Counsel Regarding Strategy for Third Amended Complaint					
Date	Time Keeper	Description	Hours	Rate		Fee	
09/12/07	J. Naylor	Conference with L. LeClair and team meeting regarding third amended complaint.	0.60	\$	425	\$	255.00
09/17/07	J. Naylor	E-mails with L. LeClair regarding by-laws.	0.90	\$	425	\$	382.50
09/18/07	J. Naylor	E-mails with L. LeClair and co-counsel regarding various matters.	0.30	\$	425	\$	127.50
09/19/07	J. Naylor	Conference call regarding third amended complaint and motion for leave.	1.30	\$	425	\$	552.50
09/19/07	J. Naylor	E-mails with L. LeClair and co-counsel regarding motion for leave and thrid amended complaint.	0.30	\$	425	\$	127.50
09/20/07	J. Naylor	Conference call regarding third amended complaint.	0.40	\$	425	\$	170.00
09/21/07	J. Naylor	Prepare e-mail memorandum to L. LeClair regarding third amended complaint.	0.80	\$	425	\$	340.00
09/23/07	L. LeClair	Conference call with team regarding third amended complaint.	1.20	\$	660	\$	792.00
09/23/07	J. Naylor	E-mails with L. LeClair and co-counsel regarding third amended complaint.	0.30	\$	425	\$	127.50
09/24/07	J. Naylor	Conference call regarding third amended complaint with co-counsel.	0.40	\$	425	\$	170.00
09/25/07	J. Naylor	Conference call with co-counsel.	1.00	\$	425	\$	425.00
09/27/07	L. LeClair	Numerous telephone conferences and e-mails regarding draft motion.	1.40	\$	660	\$	924.00
09/28/07	L. LeClair	Telephone conference with R. Katz; prepare for hearing.	1.30	\$	660	\$	858.00
Project Total:			10.20			\$	5,251.50
Percentage Recoverable:	75%					\$	3,938.63
Hours Billed to Project No. 117 by Co- Counsel:	59.20						

Project No. 118		Draft Third Amended Complaint			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	75%				\$ -
Recoverable:					
Hours Billed to	0.70				
Project No. 118 by Co-	1				
Counsel:					

287224_10.XLS 70 of 306

Project No. 119		Review of Supplemental Document Production					
		From Defendants					
Date	Time Keeper	Description	Hours	Rate		Fee	
09/13/07	J. Naylor	Review and code document production; meetings with K. Sherrill regarding same.	8.70	\$	425	\$	3,697.50
09/14/07	J. Naylor	Review and code document production.	9.20	\$	425	\$	3,910.00
09/18/07	J. Naylor	Meet with K. Sherrill regarding document review and coding.	0.40	\$	425	\$	170.00
09/18/07	J. Naylor	Code/tag documents.	3.40	\$	425	\$	1,445.00
09/18/07	J. Naylor	Review of documents.	4.20	\$	425	\$	1,785.00
Project Total:			25.90			\$	11,007.50
Percentage Recoverable:	100%					\$	11,007.50
Hours Billed to Project No.119 by Co- Counsel:	31.10						

Project No. 120		Take Deposition of D. Allen (September 7,			
		2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
09/07/07	L. LeClair	Attend D. Allen deposition in Los Angeles.	10.80	\$ 660	\$ 7,128.00
Project Total:			10.80		\$ 7,128.00
Percentage	100%				\$ 7,128.00
Recoverable:					
Hours Billed to	9.50				
Project No.120 by Co-					
Counsel:					

287224_10.XLS 71 of 306

Project No. 121		Review Transcript and Exhibits from D. Allen Deposition					
Date	Time Keeper	Description	Hours	Rate		Fee	
09/09/07	L. LeClair	Review of D. Allen transcript; e-mails to R. Katz.	2.20	\$	660	\$	1,452.00
09/10/07	J. Naylor	Review D. Allen Documents and D. Allen deposition.	4.00	\$	425	\$	1,700.00
09/10/07	L. LeClair	Review D. Allen exhibits.	1.30	\$	660	\$	858.00
09/11/07	L. LeClair	Review of D. Allen testimony.	0.80	\$	660	\$	528.00
10/12/07	J. Naylor	Review D. Allen testimony.	1.40	\$	425	\$	595.00
09/14/07	L. LeClair	Review of D. Allen testimony.	0.50	\$	660	\$	330.00
10/01/07	L. LeClair	Review e-mails from R. Katz.	0.60	\$	660	\$	396.00
01/02/08	J. Naylor	Review D. Allen deposition.	1.80	\$	425	\$	765.00
01/24/08	C.Alaniz	Review and compare license agreements within database and Allen deposition exhibits.	1.00	\$	85	\$	85.00
Project Total:			13.60			\$	6,709.00
Percentage Recoverable:	100%					\$	6,709.00
Hours Billed to Project No. 121 by Co- Counsel:	14.90						

Project No. 122		Legal Research Regarding Duties Owed by Defendants to Retired Players			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	20.30				
Project No.122 by Co-					
Counsel:					

287224_10.XLS 72 of 306

Project No. 123		October 2007 Case Management						
Date	Time Keeper	Description	Hours		Rate		Fee	
10/13/07	L. LeClair	Work on pending issues.	2.6	50	\$	660	\$	1,716.00
10/14/07	L. LeClair	Continue work on pending issues.	3.7	70	\$	660	\$	2,442.00
Project Total:			6.3	0			\$	4,158.00
Percentage Recoverable:	100%						\$	4,158.00
Hours Billed to Project No. 123 by Co-Counsel:	3.90							

Project No. 124		Review and Analysis of Defendants' Motion to Dismiss Plaintiffs' Third Amended Complaint					
		and Defendant's Opposition to Motion for					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
10/11/07	L. LeClair	Review of NFLPA filings and e-mails to R. Katz.	1.20	\$	660	\$	792.00
10/11/07	J. Naylor	Review opposition to third amended complaint and numerous filings.	3.20	\$	425	\$	1,360.00
10/12/07	L. LeClair	Continue review of new filings; analyze issue; telephone conference with Manatt team; conference with J. Adler; work on issue.	3.20	\$	660	\$	2,112.00
10/12/07	J. Naylor	Continue review of defendants pleadings.	2.10	\$	425	\$	892.50
Project Total:			9.70			\$	5,156.50
Percentage Recoverable:	75%					\$	3,867.38
** ***	1.5.00						
Hours Billed to Project No. 124 Co- Counsel:	16.00						

287224_10.XLS 73 of 306

Project No. 125		Draft Declaration in Support of Plaintiff's				
		Response to Motion to Dismiss				
Date	Time Keeper	Description	Hours	Rate	I	Fee
10/13/07	L. LeClair	Draft declaration; work on reply.	3.10	\$ 66	50 5	\$ 2,046.00
10/14/07	L. LeClair	Edit declaration.	2.20	\$ 66	50 5	\$ 1,452.00
10/15/07	L. LeClair	Continue extensive work on reply and S. Mutch	6.90	\$ 66	50 5	\$ 4,554.00
		issue.				
Project Total:			12.20		9	8,052.00
Percentage	75%				\$	6,039.00
Recoverable:						
Hours Billed to	6.30					
Project No. 125 by						
Co-Counsel:						

Project No. 126		Prepare Reply Brief in Support of Motion for Leave to File Third Amended Complaint (Filed					
Date	Time Keeper	Description Description	Hours	Rate	;	Fee	
10/12/07	J. Naylor	Begin preparation of reply brief.	7.90	\$	425	\$	3,357.50
10/13/07	J. Naylor	Prepare reply brief.	5.00	\$	425	\$	2,125.00
10/14/07	J. Naylor	Prepare reply brief.	6.20	\$	425	\$	2,635.00
10/15/07	J. Naylor	Continue revisions to reply brief.	0.80	\$	425	\$	340.00
10/16/07	L. LeClair	Continue work on editing reply, draft and e-mails	3.90	\$	660	\$	2,574.00
10/16/07	J. Naylor	Further revisions to reply brief.	0.90	\$	425	\$	382.50
10/17/07	L. LeClair	Continue work on reply brief.	4.80	\$	660	\$	3,168.00
10/17/07	J. Naylor	Further revisions.	3.50	\$	425	\$	1,487.50
10/18/07	L. LeClair	Continue editing and finalization of reply brief and material.	6.20	\$	660	\$	4,092.00
10/18/07	J. Naylor	Finalize reply brief.	3.20	\$	425	\$	1,360.00
Project Total:			42.40			\$	21,521.50
Percentage Recoverable:	75%					\$	16,141.13
Hours Billed to Project No. 126 by Co-Counsel:	113.90						

287224_10.XLS 74 of 306

Project No. 127		Prepare Response to Motion to Dismiss Third			
		Amended Complaint			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	75%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 127 by Co-					
Counsel:					

Project No. 128		Internal Telephone Conferences and Calls with Co-Counsel Regarding Response to Motion to Dismiss Third Amended Complaint					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
10/12/07	J. Naylor	Conference with L. LeClair and co-counsel.	0.80	\$	425	\$	340.00
10/13/07	L. LeClair	Telephone conference with R. Katz; telephone conference with T. Graves.	0.20	\$	660	\$	132.00
10/13/07	J. Naylor	Several conferences with L. LeClair regarding response to motion to dismiss; review and prepare e-mails regarding same.	2.80	\$	425	\$	1,190.00
10/14/07	L. LeClair	Telephone conference with T. Graves.	0.10	\$	660	\$	66.00
10/14/07	L. LeClair	Telephone conference wtih J. Adler.	0.20	\$	660	\$	132.00
10/14/07	J. Naylor	Several conferences with L. LeClair regarding response to motion to dismiss; review and prepare emails regarding same.	2.50	\$	425	\$	1,062.50
10/15/07	J. Naylor	Review and respond to e-mails regarding same.	0.40	\$	425	\$	170.00
10/16/07	J. Naylor	Conference with L. LeClair regarding response.	0.40	\$	425	\$	170.00
10/16/07	J. Naylor	E-mails with co-counsel regarding same and other matters.	0.60	\$	425	\$	255.00
10/17/07	L. LeClair	Numerous telephone conferences and e-mails.	0.80	\$	660	\$	528.00
10/17/07	J. Naylor	Conference call with team members regarding reply brief.	0.90	\$	425	\$	382.50

287224_10.XLS 75 of 306

10/18/07	J. Naylor	Conference call with team members regarding	0.70	\$ 425	\$ 297.50
		same.			
10/18/07	J. Naylor	E-mails regarding reply brief.	1.30	\$ 425	\$ 552.50
10/19/07	L. LeClair	Review final submissions and telephone conference with R. Katz.	1.10	\$ 660	\$ 726.00
10/19/07	J. Naylor	Review e-mails regarding case.	0.60	\$ 425	\$ 255.00
11/14/07	L. LeClair	Review order on motion for hearing; telephone conference with R. Katz.	1.20	\$ 660	\$ 792.00
Project Total:			14.60		\$ 7,051.00
Percentage	75%				\$ 5,288.25
Recoverable:					
Hours Billed to	19.80				
Project No.128 by Co-					
Counsel:					

Project No. 129		Legal Research in Connection with Response to Motion to Dismiss Third Amended Complaint					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
10/15/07	J. Naylor	Research in connection with motion to dismiss.	2.00	\$	425	\$	850.00
10/16/07	J. Naylor	Legal research regarding whether discovery is warranted where motion to dismiss is connected to summary judgemnt and parameters of rule.	3.20	\$	425	\$	1,360.00
10/17/07	J. Naylor	Further research regarding issues in reply brief.	2.90	\$	425	\$	1,232.50
Project Total:			8.10			\$	3,442.50
Percentage Recoverable:	75%					\$	2,581.88
Hours Billed to Project No.129 by Co- Counsel:	27.30						

287224_10.XLS 76 of 306

Project No. 130		Review of Client Documents			
Date	Time Keeper	Description	Hours	Rate	Fee
11/07/07	L. LeClair	Review B. Parrish use of exhibits regarding Congress.	1.20	\$ 660	\$ 792.00
12/21/07	J. Naylor	Meeting with L. LeClair and B. Charhon regarding strategy.	0.40	\$ 425	\$ 170.00
01/08/08	J. Naylor	Meeting with K. Sherrill regarding document coding.	0.70	\$ 425	\$ 297.50
02/02/08	C.Alaniz	Assist K.Sherrill with review and preparation of client documents selected by attorney for production.	8.50	\$ 85	\$ 722.50
02/03/08	C. Alaniz	Continue to assist K.Sherrill with review and preparation of client documents selected by attorney for production.	6.80	\$ 85	\$ 578.00
Project Total:			17.60		\$ 2,560.00
Percentage Recoverable:	100%				\$ 2,560.00
Hours Billed to Project No. 130 by Co- Counsel:	6.20				

Project No. 131		Additional Review of Defendants' Document			
D .		Production	**	D.	F
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	4.90				
Project No.131 by Co-					
Counsel:					

287224_10.XLS 77 of 306

Project No. 132		November 2007 Case Management					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
11/07/07	L. LeClair	Telephone conference with R. Katz.	0.50	\$	660	\$	330.00
11/18/07	L. LeClair	Work on to do list; review of pleading; prepare for telephone conference.	0.90	\$	660	\$	594.00
11/19/07	J. Naylor	Conference call regarding strategy with all team members.	1.00	\$	425	\$	425.00
11/27/07	L. LeClair	Review discovery and pleadings; telephone conference with R. Katz.	1.10	\$	660	\$	726.00
11/28/07	J. Naylor	Review e-mails.	0.10	\$	425	\$	42.50
11/28/07	J. Naylor	Correspond with team members regarding various issues.	0.20	\$	425	\$	85.00
12/06/07	L. LeClair	Review D. Feher e-mail and send detailed response.	1.40	\$	660	\$	924.00
Project Total:			5.20			\$	3,126.50
Percentage Recoverable:	100%					\$	3,126.50
Hours Billed to Project No.132 by Co- Counsel:	21.30						

Project No. 133		Prepare First Set of Interrogatories to NFLPA			
		(Filed November 20, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
12/01/07	L. LeClair	Review of status of discovery and e-mail to R. Katz; prepare for motion filing Monday.	1.60	\$ 660	\$ 1,056.00
12/04/07	L. LeClair	Review B. Parrish confidentiality issue; e-mail to team.	0.40	\$ 660	\$ 264.00
Project Total:			2.00		\$ 1,320.00
Percentage Recoverable:	100%				\$ 1,320.00
Hours Billed to Project No.133 by Co- Counsel:	6.10				

287224_10.XLS 78 of 306

Project No. 134		Prepare First Set of Requests for Admission to NFLPA (Filed November 20, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 134 by Co-					
Counsel:					

Project No. 135		Prepare Third Party Discovery					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
11/16/07	L. LeClair	Work on pending third party discovery.	2.10	\$	660	\$	1,386.00
11/19/07	L. LeClair	Conference call on discovery; work on discovery.	1.80	\$	660	\$	1,188.00
11/20/07	L. LeClair	Work on expert issues and discovery.	1.80	\$	660	\$	1,188.00
11/26/07	L. LeClair	Review discovery, documents, and class certification; work on third party discovery.	2.30	\$	660	\$	1,518.00
11/27/07	L. LeClair	Work on third party discovery.	1.10	\$	660	\$	726.00
12/06/07	J. Naylor	Prepare document requests to Topps and EA.	2.90	\$	425	\$	1,232.50
12/06/07	J. Naylor	Review D. Allen deposition and declarations filed by third parties.	1.60	\$	425	\$	680.00
12/07/07	J. Naylor	Revise document requests based upon communications with co-counsel.	0.50	\$	425	\$	212.50
12/10/07	J. Naylor	Revise discovery requests.	1.20	\$	425	\$	510.00
12/17/07	J. Naylor	Telephone conference with Electronic Arts representative J. Schatz.	0.80	\$	425	\$	340.00
12/17/07	J. Naylor	Prepare letter to J. Schatz regarding production of documents.	0.40	\$	425	\$	170.00
12/18/07	L. LeClair	Work on Electronic Arts and Topps discovery.	1.10	\$	660	\$	726.00
12/18/07	J. Naylor	E-mails with co-counsel regarding various telephone conferences with J. Schatz regarding production of documents.	0.70	\$	425	\$	297.50
12/18/07	J. Naylor	Review correspondence from Electronic Arts regarding same.	0.30	\$	425	\$	127.50
12/18/07	J. Naylor	Prepare response to J. Schatz.	0.90	\$	425	\$	382.50
12/18/07	J. Naylor	E-mail regarding same.	0.50	\$	425	\$	212.50
12/19/07	J. Naylor	Prepare deposition subpoena and list of 30(b)(6) topics.	2.80	\$	425	\$	1,190.00
12/20/07	J. Naylor	Revise Electronic Arts deposition subpoena.	0.20	\$	425	\$	85.00
12/20/07	J. Naylor	E-mails with co-counsel regarding various issues.	0.60	\$	425	\$	255.00
12/20/07	J. Naylor	Review objections to discovery.	1.90	\$	425	\$	807.50
12/20/07	J. Naylor	Prepare letter to J. Schatz.	0.40	\$	425	\$	170.00
12/27/07	J. Naylor	Review service rules.	0.40	\$	425	\$	170.00
12/27/07	J. Naylor	Review subpoena.	0.80	\$	425	\$	340.00

287224_10.XLS 79 of 306

01/02/08	J. Naylor	E-mail correspondence with Topps lawyers	0.80	\$ 425	\$ 340.00
		regarding document production and depositions.			
01/03/08	J. Naylor	Meeting with K. Sherrill regarding various	2.10	\$ 425	\$ 892.50
		discovery matters; telephone conferences with co-			
		counsel; review e-mails from co-counsel.			
01/03/08	J. Naylor	Telephone conferences with counsel for Topps	1.20	\$ 425	\$ 510.00
		regarding production.			
01/03/08	J. Naylor	Telephone conferences with counsel for Electronic	0.80	\$ 425	\$ 340.00
		Arts regarding production.			
01/04/08	J. Naylor	Meeting with K. Sherrill regarding discovery.	0.60	\$ 425	\$ 255.00
01/04/08	J. Naylor	E-mails to Topps regarding new subpoenas.	0.80	\$ 425	\$ 340.00
01/04/08	J. Naylor	Conferences with L. LeClair regarding same.	0.30	\$ 425	\$ 127.50
01/07/08	J. Naylor	Meet with B. Charhon regarding discovery.	0.50	\$ 425	\$ 212.50
02/29/08	J. Naylor	Work with C. Alaniz to notice 30(b)(6) deposition.	0.80	\$ 425	\$ 340.00
03/04/08	J. Naylor	Correspond with opposing counsel regarding	1.60	\$ 425	\$ 680.00
		30(b)(6) deposition.			
Project Total:			36.60		\$ 17,952.00
Percentage	100%				\$ 17,952.00
Recoverable:					
Hours Billed to	11.30	+			
Project No. 135 by Co-Counsel:	-				

Project No. 136		Prepare Damages Analysis			
Date	Time Keeper	Description	Hours	Rate	Fee
02/25/08	B. Charhon	Telephone conference with team regarding calculation of damages	0.50	\$ 400	\$ 200.00
02/25/08	J. Naylor	Conference with damages expert.	1.20	\$ 425	\$ 510.00
03/05/08	J. Naylor	Discuss damages with co-counsel.	0.50	\$ 425	\$ 212.50
Project Total:			2.20		\$ 922.50
Percentage Recoverable:	100%				\$ 922.50
Hours Billed to Project No. 136 by Co- Counsel:	25.00				

287224_10.XLS 80 of 306

Project No. 137		Review and Analysis of Defendants Answer to Plaintiff's Third Amended Complaint (Filed November 20, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
11/28/07	L. LeClair	Review of pleadings, etc. regarding third amended answer.	1.20	\$ 660	\$ 792.00
11/29/07	L. LeClair	Review of pleadings, etc. regarding third amended answer.	0.60	\$ 660	\$ 396.00
11/30/07	L. LeClair	Review of pleadings, etc. regarding third amended answer.	0.40	\$ 660	\$ 264.00
Project Total:			2.20		\$ 1,452.00
Percentage Recoverable:	75%				\$ 1,089.00
Hours Billed to Project No. 137 by Co- Counsel:	2.20				

Project No. 138		December 2007 Case Management					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
12/14/07	L. LeClair	Finalize filing of discovery response; telephone conference with R. Katz.	0.60	\$	660	\$	396.00
12/17/07	J. Naylor	Meet with B. Charhon regarding participating in case and background facts and materials.	1.40	\$	425	\$	595.00
12/19/07	D. Page	Confer with K. Sherrill regarding assignments.	0.80	\$	110	\$	88.00
12/21/07	L. LeClair	Conference call regarding discovery and planning.	1.50	\$	660	\$	990.00
12/26/07	L. LeClair	Work on deposition schedule and discovery; emails to R. Katz.	1.20	\$	660	\$	792.00
01/02/08	J. Naylor	E-mails with B. Charhon regarding schedule.	0.60	\$	425	\$	255.00
Project Total:			6.10			\$	3,116.00
Percentage Recoverable:	100%					\$	3,116.00
Hours Billed to Project No. 138 by Co- Counsel:	2.10						

287224_10.XLS 81 of 306

Project No. 139		Prepare Third Party Subpoenas (Joel Linzner, EA December 14 and 21, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
12/13/07	K. Sherrill	Prepare EA deposition subpoenas and notices.	1.90	\$ 110	\$ 209.00
12/14/07	K. Sherrill	Edit EA subpoenas and deposition notices.	2.80	\$ 110	\$ 308.00
12/14/07	L. LeClair	Work on Electronic Arts issue and subpoenas.	2.10	\$ 660	\$ 1,386.00
12/14/07	J. Naylor	Prepare 30(b)(6) subpoena for Electronic Arts.	1.00	\$ 425	\$ 425.00
12/15/07	L. LeClair	Work on discovery service issue.	1.30	\$ 660	\$ 858.00
12/17/07	K. Sherrill	Prepare notice of service of EA subpoena.	0.60	\$ 110	\$ 66.00
12/20/07	K. Sherrill	Edit deposition subpoenas to EA and J. Linzner.	0.40	\$ 110	\$ 44.00
12/20/07	L. LeClair	Work on Electronic Arts discovery; calls with opposing counsel.	1.60	\$ 660	\$ 1,056.00
Project Total:			11.70		\$ 4,352.00
Percentage Recoverable:	100%				\$ 4,352.00
Hours Billed to Project No.139 by Co- Counsel:	10.80				

Project No. 140		Prepare Discovery Requests			
Date	Time Keeper	Description	Hours	Rate	Fee
12/06/07	L. LeClair	Work on discovery issues.	0.80	\$ 660	\$ 528.00
12/12/07	L. LeClair	Work on pending discovery.	1.40	\$ 660	\$ 924.00
12/13/07	L. LeClair	Work on discovery.	1.20	\$ 660	\$ 792.00
12/21/07	L. LeClair	Work on license discovery.	0.80	\$ 660	\$ 528.00
01/02/08	J. Naylor	Numerous e-mails and telephone conferences with co-counsel and Electronic Arts regarding supplemental subpoena.	1.80	\$ 425	\$ 765.00
Project Total:			6.00		\$ 3,537.00
Percentage Recoverable:	100%				\$ 3,537.00
Hours Billed to Project No. 140 by Co- Counsel:	15.10				

287224_10.XLS 82 of 306

Project No. 141		Review and Analysis of Defendants Discovery Requests					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
12/26/07	L. LeClair	Review of discovery response.	1.00	\$	660	\$	660.00
01/07/08	J. Naylor	Review defendants' discovery requests.	0.90	\$	425	\$	382.50
01/08/08	B. Charhon	Review defendant's discovery requests; office conference with J. Naylor regarding same.	1.00	\$	400	\$	400.00
01/09/08	B. Charhon	Extended telephone conference with R. Katz regarding discovery responses.	0.70	\$	400	\$	280.00
01/15/08	J. Naylor	Legal research regarding various discovery issues.	0.90	\$	425	\$	382.50
01/15/08	J. Naylor	E-mails with B. Charhon and L. LeClair regarding same.	0.30	\$	425	\$	127.50
Project Total:			4.80			\$	2,232.50
Percentage Recoverable:	100%					\$	2,232.50
Hours Billed to Project No. 141 by Co- Counsel:	14.30						

Project No. 142		Review Court's Order Regarding Class Certification Requirements			
Date	Time Keeper	Description	Hours	Rate	Fee
12/07/07	L. LeClair	Review of Judge Alsup order on class certification; e-mails to J. Naylor; work on discovery.	1.40	\$ 660	\$ 924.00
Project Total:			1.40		\$ 924.00
Percentage Recoverable:	100%				\$ 924.00
Hours Billed to Project No. 142 by Co- Counsel:	5.30				

287224_10.XLS 83 of 306

Project No. 143		Prepare Mediation Statement					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
12/21/07	B. Charhon	Office conference with J. Adler and L. LeClair regarding factual background of case and mediation statement.	0.40	\$	350	\$	140.00
12/21/07	J. Naylor	Begin preparation of settlement statement.	2.30	\$	425	\$	977.50
12/26/07	B. Charhon	Review and analyze case materials including plaintiffs' third amended complaint, key exhibits and defendants' opposition to plaintiffs' motion for leave to amend in preparation to draft mediation statement.	4.00	\$	350	\$	1,400.00
12/28/07	B. Charhon	Research requirements for mediation statement; begin drafting same.	3.50	\$	350	\$	1,225.00
12/28/07	H. Peterson	Preparation of research on settlement statements per B. Charhon.	0.20	\$	80	\$	16.00
01/02/08	B. Charhon	Continue drafting plaintiffs' mediation statement; review and analyze Plaintiffs' third amended complaint in connection with same.	8.00	\$	400	\$	3,200.00
01/03/08	B. Charhon	Continue drafting mediation statement; review and analyze NFLPA's license agreement with Players Inc. in connection with same; review and analyze EA agreements in connection with same.	8.00	\$	400	\$	3,200.00
01/04/08	B. Charhon	Research procedural history of case in order to draft summary of proceedings for mediation statement; continue drafting mediation statement; meet with J. Adler regarding mediation statement.	7.00	\$	400	\$	2,800.00
01/04/08	J. Naylor	Conference with B. Charhon regarding conference statement.	1.40	\$	425	\$	595.00
01/05/08	B. Charhon	Continue drafting mediation statement; review and revise mediation statement.	6.50	\$	400	\$	2,600.00
01/06/08	B. Charhon	Review and revise mediation statement; email same to J. Adler.	2.50	\$	400	\$	1,000.00
01/07/08	J. Naylor	Review and revise settlement conference statement.	4.50	\$	425	\$	1,912.50
01/08/08	B. Charhon	Review J. Naylor's comments to mediation statement; revise mediation statement to incorporate J. Naylor's comments.	7.00	\$	400	\$	2,800.00
01/09/08	J. Naylor	Draft settlement conference statement.	1.70	\$	425	\$	722.50
01/10/08	J. Naylor	Review B. Charhon draft of settlement conference statement.	1.20	\$	425	\$	510.00
01/10/08	J. Naylor	Revise mediation statement; review D. Allen deposition and exhibits in connection with same.	7.50	\$	425	\$	3,187.50

287224_10.XLS 84 of 306

01/14/08	B. Charhon	Telephone conference with N. Cohen regarding mediation statement	0.30	\$ 400	\$ 120.00
01/14/08	J. Naylor	Further drafting of settlement conference statement.	7.80	\$ 425	\$ 3,315.00
01/22/08	B. Charhon	Review and revise mediation statement.	0.50	\$ 400	\$ 200.00
01/24/08	B. Charhon	Review and revise mediation statement; email comments to J. Adler.	1.20	\$ 400	\$ 480.00
01/25/08	B. Charhon	Exchange emails with J. Adler regarding discovery responses and mediation statement	0.20	\$ 400	\$ 80.00
01/28/08	B. Charhon	Review and revise mediation statement based on comments from L. LeClair and R. Katz; circulate mediation statement to team.	4.50	\$ 400	\$ 1,800.00
Project Total:			80.20		\$ 32,281.00
Percentage Recoverable:	75%				\$ 24,210.75
Hours Billed to Project No. 143 by Co- Counsel:	6.30				

Project No. 144		January 2008 Case Management and			
D :	m: xx	Miscellaneous	**	D :	P
Date	Time Keeper	Description	Hours	Rate	Fee
01/03/08	K. Sherrill	Research and review documents for J. Naylor regarding third parties	1.40	\$ 180	\$ 252.00
01/28/08	L. LeClair	Work on depositions and discovery disputes.	1.70	\$ 700	\$ 1,190.00
01/25/08	J. Naylor	Review e-mails from counsel.	0.50	\$ 425	\$ 212.50
Project Total:			3.60		\$ 1,654.50
Percentage Recoverable:	100%				\$ 1,654.50
Hours Billed to	25.60				
Project No. 144 by Co-Counsel:					

287224_10.XLS 85 of 306

Project No. 145		Prepare and Serve Subpoenas on Topps, Electronic Arts and Upper Deck (Served January 1, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
12/18/07	K. Sherrill	Finalize Topps document subpoena; telephone conference with process server; email and letter regarding notice of service of Topps subpoena; prepare deposition subpoenas.	4.30	\$	110	\$	473.00
12/18/07	J. Naylor	Prepare subpoena for Topps, Inc.	1.30	\$	425	\$	552.50
12/19/07	K. Sherrill	Prepare deposition subpoenas	0.50	\$	110	\$	55.00
12/20/07	K. Sherrill	Prepare subpoena to Topps	1.60	\$	110	\$	176.00
12/26/07	K. Sherrill	Emails with attorneys regarding service of subpoenas and document coding; prepare deposition subpoenas to Topps and W. Friss.	3.10	\$	110	\$	341.00
12/27/07	K. Sherrill	Telephone calls and emails regarding service of subpoenas and in-house counsel for Topps.	0.60	\$	110	\$	66.00
12/28/07	K. Sherrill	Prepare various deposition subpoenas and prepare for service of same.	5.70	\$	110	\$	627.00
01/02/08	K. Sherrill	Edit subpoenas and emails regarding same	2.00	\$	180	\$	360.00
01/02/08	J. Naylor	Prepare W. Friss subpoena.	1.70	\$	425	\$	722.50
01/02/08	J. Naylor	Draft new subpoena for Electronic Arts.	0.60	\$	425	\$	255.00
01/03/08	K. Sherrill	Prepare proof of service and send out regarding subpoenas.	0.60	\$	180	\$	108.00
01/04/08	K. Sherrill	Prepare Topps and Mr. Friss deposition subpoenas and supplement document request subpoena and serve subpoenas on all counsel.	1.60	\$	180	\$	288.00
01/11/08	L. LeClair	Work on Electronic Arts discovery and deposition.	1.40	\$	700	\$	980.00
01/15/08	J. Naylor	Revise W. Friss and Topps subpoenas.	0.20	\$	450	\$	90.00
01/15/08	J. Naylor	Conference with L. LeClair regarding same.	0.20	\$	450	\$	90.00
01/15/08	K. Sherrill	Modify subpoenas to Topps and Mr. Friss and serve on all counsel.	1.80	\$	180	\$	324.00
01/15/08	L. LeClair	Work on Electronic Arts.	1.80	\$	700	\$	1,260.00
01/28/08	K. Sherrill	Review emails regarding Topps document subpoena.	0.30	\$	180	\$	54.00
01/30/08	K. Sherrill	Emails regarding Topps response to subpoenas.	0.10	\$	180	\$	18.00
Percentage Recoverable:	100%					\$	-
Project Total:			29.40			\$	6,840.00
Hours Billed to Project No. 145 by Co- Counsel:	10.10						

287224_10.XLS 86 of 306

Project No. 146		Prepare Second Set of Requests for Production to Defendants (Served January 9, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 146 by Co- Counsel:	3.80				

Project No. 147		Prepare Responses to Defendant's Interrogatories (Served February 4, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/02/08	L. LeClair	Work on pending discovery.	0.80	\$	700	\$	560.00
01/14/08	B. Charhon	Draft response to interrogatories.	6.70	\$	400	\$	2,680.00
01/15/08	B. Charhon	Continue drafting responses to Defendants' interrogatories.	6.00	\$	400	\$	2,400.00
01/15/08	J. Naylor	Review draft discovery responses.	0.80	\$	425	\$	340.00
01/16/08	B. Charhon	Review and revise discovery responses.	1.00	\$	400	\$	400.00
01/22/08	B. Charhon	Conference call with team regarding discovery responses; review and revise interrogatory responses.	1.00	\$	400	\$	400.00
01/22/08	J. Naylor	Review draft discovery responses.	0.30	\$	425	\$	127.50
01/23/08	B. Charhon	Telephone conference with H. Adderley regarding discovery responses; exchange emails with R. Katz regarding same; review and revise discovery responses.	1.80	\$	400	\$	720.00
01/24/08	B. Charhon	Prepare for telephone conference with R. Katz regarding discovery responses; telephone conference with team regarding discovery responses; revise discovery responses to incorporate comments of R. Katz.	2.00	\$	400	\$	800.00
01/25/08	B. Charhon	Review and revise discovery response to incorporate comments of R. Katz; email discovery responses to L. LeClair.	2.00	\$	400	\$	800.00
01/29/08	B. Charhon	Review and revise discovery responses; circulate discovery responses to L. LeClair and R. Katz; extended telephone call with L. LeClair and R. Katz regarding discovery responses; exchange emails with H. Adderley and B. Parrish regarding discovery responses.	3.20	\$	400	\$	1,280.00
01/30/08	B. Charhon	Extended telephone call with H. Adderley regarding draft discovery responses; extended telephone call with B. Parrish regarding draft discovery responses; review and revise discovery responses.	4.00	\$	400	\$	1,600.00

287224_10.XLS 87 of 306

01/31/08	B. Charhon	Review and revise discovery interrogatory responses; email same to L. LeClair and R. Katz; revise discovery responses per email from R. Katz	0.50	\$ 400	\$ 200.00
02/01/08	B. Charhon	Prepare Parrish verification; email same to B. Parrish; telephone conference with B. Parrish regarding discovery responses.	0.70	\$ 400	\$ 280.00
02/12/08	B. Charhon	Email R. Katz and L. LeClair regarding verification of interrogatories; prepare H. Adderley verification; draft letter to H. Adderley regarding same.	1.00	\$ 400	\$ 400.00
02/14/08	B. Charhon	Exchange emails with J. Adler regarding H. Adderley's verification	0.40	\$ 400	\$ 160.00
02/15/08	B. Charhon	Prepare verification for interrogatories; exchange emails with R. Katz and N. Cohen regarding same; telephone conference with H. Adderley regarding deposition preparation and interrogatory responses; serve verifications.	1.00	\$ 400	\$ 400.00
03/07/08	B. Charhon	Exchange emails with N. Cohen regarding Parrish verification.	0.10	\$ 400	\$ 40.00
Project Total:			33.30		\$ 13,587.50
Percentage Recoverable:	75%				\$ 10,190.63
Hours Billed to Project No. 147 by Co- Counsel:	0.30				

287224_10.XLS 88 of 306

Project No. 148		Prepare Responses to Defendant's Requests for Admission (Served February 4, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/09/08	B. Charhon	Begin drafting responses to defendants' requests for admission.	3.50	\$	400	\$	1,400.00
01/10/08	B. Charhon	Continue drafting responses to requests for admission; extended telephone conference with B. Parrish regarding discovery responses; extended telephone conference with H. Adderley regarding same.	5.00	\$	400	\$	2,000.00
01/11/08	B. Charhon	Continue drafting responses to requests for admission; review defendants' document production for documents relating to H. Adderley in connection with same.	2.00	\$	400	\$	800.00
01/11/08	J. Naylor	Review B. Charhon draft of discovery responses.	0.70	\$	450	\$	315.00
01/11/08	J. Naylor	Conferences with B. Charhon regarding matter.	0.30	\$	450	\$	135.00
01/13/08	B. Charhon	Review and revise responses to requests for admission.	1.50	\$	400	\$	600.00
01/14/08	B. Charhon	Review and revise responses to requests for admission; draft email to J. Naylor regarding same; email H. Adderley regarding requests for admission.	1.20	\$	400	\$	480.00
01/15/08	B. Charhon	Review and revise responses to requests for admission and requests for production; email team regarding same.	0.80	\$	400	\$	320.00
01/15/08	J. Naylor	Review draft discovery responses.	0.80	\$	450	\$	360.00
01/21/08	B. Charhon	Review and revise discovery responses.	1.00	\$	400	\$	400.00
01/22/08	J. Naylor	Review draft discovery responses.	0.20	\$	450	\$	90.00
01/24/08	B. Charhon	Prepare for telephone conference with R. Katz regarding discovery responses; telephone conference with team regarding discovery responses; revise discovery responses to incorporate comments of R. Katz.	3.00	\$	400	\$	1,200.00

287224_10.XLS 89 of 306

01/25/08	B. Charhon	Review and revise discovery response to incorporate comments of R. Katz; email discovery responses to L. LeClair.	1.80	\$ 400	\$ 720.00
01/25/08	L. LeClair	Work on discovery issues.	1.10	\$ 660	\$ 726.00
01/28/08	B. Charhon	Review and revise discovery responses to incorporate comments of L. LeClair.	3.50	\$ 400	\$ 1,400.00
01/31/08	B. Charhon	Review and revise responses to request for admission; email same to L. LeClair and R. Katz; revise discovery responses per email from R. Katz	0.50	\$ 400	\$ 200.00
05/22/08	L. LeClair	Review discovery filings to be made on May 23.	1.70	\$ 660	\$ 1,122.00
Project Total:			28.60		\$ 12,268.00
Percentage Recoverable:	75%				\$ 9,201.00
Hours Billed to Project No. 148 by Co- Counsel:	0.00				

287224_10.XLS 90 of 306

Project No. 149		Prepare Responses to Defendants Requests for Production (Served February 4, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/09/08	B. Charhon	Begin drafting responses to defendants' requests for production.	3.50	\$	400	\$	1,400.00
01/10/08	B. Charhon	Continue drafting responses to request for production; extended telephone conference with B. Parrish regarding discovery responses; extended telephone conference with H. Adderley regarding same.	3.50	\$	400	\$	1,400.00
01/11/08	B. Charhon	Continue drafting responses to requests for production; review defendants' document production for documents relating to H. Adderley in connection with same.	6.00	\$	400	\$	2,400.00
01/11/08	J. Naylor	Review B. Charhon draft of discovery responses.	0.70	\$	450	\$	315.00
01/11/08	J. Naylor	Conferences with B. Charhon regarding matter.	0.20	\$	450	\$	90.00
01/11/08	J. Naylor	Revise discovery responses.	0.20	\$	450	\$	90.00
01/14/08	B. Charhon	Telephone conference with N. Cohen and L. LeCair regarding document production issues.	0.30	\$	400	\$	120.00
01/15/08	B. Charhon	Review and revise responses to requests for production; email team regarding same.	0.70	\$	400	\$	280.00
01/15/08	L. LeClair	Telephone conference with R. Katz on discovery.	0.40	\$	700	\$	280.00
01/24/08	B. Charhon	Telephone conference with team regarding discovery responses; revise discovery responses to incorporate comments of R. Katz.	1.50	\$	400	\$	600.00
01/31/08	B. Charhon	Review and revise discovery responses; email same to L. LeClair and R. Katz.	0.50	\$	400	\$	200.00
02/04/08	B. Charhon	Prepare and serve discovery responses.	0.05	\$	400	\$	20.00
Project Total:			17.55			\$	7,195.00
Percentage Recoverable:	100%					\$	7,195.00
Hours Billed to Project No. 149 by Co- Counsel:	2.30						

287224_10.XLS 91 of 306

Project No. 150		Legal Research Regarding Standard for					
		Adequacy of a Class Representative					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/15/08	J. Naylor	Legal research regarding standards for class representative in California.	4.80	\$	450	\$	2,160.00
01/16/08	B. Charhon	Research issues regarding scope of permissible discovery related to adequacy of class representative	5.50	\$	400	\$	2,200.00
01/16/08	J. Naylor	Legal research regarding adequacy of class representative.	4.10	\$	450	\$	1,845.00
01/16/08	J. Naylor	Review various briefing on issue.	2.00	\$	450	\$	900.00
01/21/08	B. Charhon	Research issues regarding scope of permissible discovery related to adequacy of class representative; prepare email to team setting forth research.	6.50	\$	400	\$	2,600.00
01/25/08	J. Naylor	Discuss putative conflict of class counsel or representative.	0.90	\$	450	\$	405.00
01/25/08	J. Naylor	Legal research regarding same.	1.80	\$	450	\$	810.00
01/31/08	B. Charhon	Research class certification issues including requirement of typicality.	3.00	\$	400	\$	1,200.00
02/01/08	B. Charhon	Research regarding typicality issue; email team with results of research.	2.90	\$	400	\$	1,160.00
03/25/08	J. Naylor	Legal research regarding adequacy requirement of Rule 23(a).	4.20	\$	450	\$	1,890.00
03/25/08	J. Naylor	Prepare legal memorandum regarding same.	1.80	\$	450	\$	810.00
Project Total:			37.50			\$	15,980.00
Percentage Recoverable:	100%					\$	15,980.00
Hours Billed to Project No. 150 by Co- Counsel:	13.40						

287224_10.XLS 92 of 306

Project No. 150(A)		Analysis of GLA			
Date	Time Keeper	Description	Hours	Rate	Fee
02/12/08	B. Charhon	Review emails from team regarding interpretation of the GLA	0.30	\$ 400	\$ 120.00
03/04/08	B. Charhon	Review emails regarding Defendants eligibility requirements	0.30	\$ 400	\$ 120.00
06/15/08	B. Charhon	Review and respond to emails from R. Katz regarding GLAs	0.30	\$ 400	\$ 120.00
06/16/08	B. Charhon	Exchange emails with R. Katz regarding number of players who were paid pursuant to GLAs	0.20	\$ 400	\$ 80.00
Project Total:			1.10		\$ 440.00
Percentage Recoverable:	100%				\$ 440.00
Hours Billed to Project No. 150 by Co- Counsel:	0.00				

Project No. 151		Prepare Chart of Potential Class Members					
		Based on GLAs Produced by Defendants					
Date	Time Keeper	Description	Hours	Rate	е	Fee	
01/22/08	B. Charhon	Begin preparing chart of retired NFL players that executed a GLA during the statute of limitations.	6.00	\$	400	\$	2,400.00
01/23/08	B. Charhon	Preparation of chart of NFL players that executed a GLA during the statute of limitations.	4.00	\$	400	\$	1,600.00
01/25/08	B. Charhon	Preparation of chart listing retired players that executed a GLA within the statute of limitations.	3.00	\$	400	\$	1,200.00
01/28/08	B. Charhon	Review and revise chart listing retired players who have signed a GLA; circulate chart to team	4.70	\$	400	\$	1,880.00
02/03/08	J. Naylor	Review chart of GLA class.	0.80	\$	450	\$	360.00
02/03/08	J. Naylor	E-mails with B. Charhon regarding same.	0.40	\$	450	\$	180.00
02/03/08	J. Naylor	Review different versions of GLA.	1.30	\$	450	\$	585.00
Project Total:			20.20			\$	8,205.00
Percentage Recoverable:	100%					\$	8,205.00
Hours Billed to Project No. 151 by Co- Counsel:	0.00						

287224_10.XLS 93 of 306

Project No. 152		Negotiate with Topps Regarding Requested Discovery					
Date	Time Keeper	Description	Hours	Rate		Fee	
01/28/08	B. Charhon	Review emails regarding Topps' document production delays; review Plaintiffs' document subpoena to Topps; draft response to Topps' email regarding production delays.	2.00	\$	400	\$	800.00
01/29/08	B. Charhon	Review and respond to email from M. Tajika regarding Topps subpoena.	0.50	\$	400	\$	200.00
01/30/08	B. Charhon	Review response from M. Tajika regarding Topps subpoena; exchange emails with team regarding proposed response; review response from M. Tajika regarding Topps subpoena; exchange emails with team regarding proposed response.	3.00	\$	400	\$	1,200.00
01/30/08	L. LeClair	Conference call regarding discovery; work on issues.	1.10	\$	700	\$	770.00
01/31/08	B. Charhon	Research law regarding third party subpoenas and obligation to pay fees and expenses; draft letter responding to Topps request for fees and expenses.	3.50	\$	400	\$	1,400.00
02/04/08	B. Charhon	Telephone conference with M. Tajika regarding narrowing scope of document requests; call with J. Adler regarding same.	0.50	\$	400	\$	200.00
02/11/08	B. Charhon	Review emails from team regarding status of case Topps discovery.	0.30	\$	400	\$	120.00
02/18/08	B. Charhon	Exchange emails with M. Tajika regarding Topps deposition.	0.50	\$	400	\$	200.00
02/29/08	B. Charhon	Exchange emails with M. Tajika regarding Topps production; exchange emails with L. LeClair regarding Topps deposition.	0.50	\$	400	\$	200.00
03/04/08	B. Charhon	Exchange emails with R. Hilbert regarding Topps subpoena.	0.20	\$	400	\$	80.00
03/10/08	B. Charhon	Exchange emails with M. Tajika regarding Topps deposition.	0.30	\$	400	\$	120.00
Project Total:		<u> </u>	12.40			\$	5,290.00
Percentage Recoverable:	100%					\$	5,290.00
Hours Billed to Project No.152 by Co- Counsel:	0.00						

287224_10.XLS 94 of 306

Project No. 153		Prepare Database Containing EA and Topps Productions					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/22/08	D. Forbes	Load Electronic Arts document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk, generate OCR text, verify load integrity, reindex database, print documents with slipsheets, report load statistics to K. Sherrill.	3.00	\$	125	\$	375.00
01/22/08	K. Sherrill	Prepare EA production for review by J. Naylor; meeting with D. Forbes regarding materials to load into database; prepare materials for review by B. Charhon.	1.10	\$	180	\$	198.00
01/24/08	D. Forbes	Load coded data received from vendor Merrill into processing database, correlate with original document set; print and slipsheet Electronic Arts documents for attorney review.	3.10	\$	125	\$	387.50
01/24/08	K. Sherrill	Review coding project and emails with D. Forbes regarding same.	0.50	\$	180	\$	90.00
01/29/08	D. Forbes	Load data received from coding vendor into Concordance, correlate re-unitized docs with records from original database and assemble re-unitized documents into PDF files in preparation for OCR processing by vendor.	3.20	\$	125	\$	400.00
01/30/08	K. Sherrill	Meeting with D. Forbes regarding updating database;	0.20	\$	180	\$	36.00
02/01/08	D. Forbes	Integrate OCR text and document coding received from vendors into new database, re-unitize document images to correspond to coded documents, re-index database and verify load integrity, archive old database and preserve tags.	2.90	\$	125	\$	362.50
03/10/08	D. Forbes	Load document images and data into Parrish Third- Party Concordance database and Opticon imagebase from new volumes produced on optical disk, verify load integrity, re-index database, report load statistics to K. Sherrill.	1.70	\$	125	\$	212.50

287224_10.XLS 95 of 306

03/17/08	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk, verify load integrity, re-index database, report load statistics to Karen Sherrill.	4.30	\$ 125	\$	537.50
03/19/08	D. Forbes	Locate TOPPS document images, assemble into multi-page TIFFs, burn to DVD and deliver to vendor for blowback.	2.00	\$ 125	\$	250.00
D :			22.00		Φ.	2 0 40 00
Project Total:			22.00		\$	2,849.00
Percentage	100%				\$	2,849.00
Recoverable:						
Hours Billed to	0.00	+				
Project No. 153 by						
Co-Counsel:						

Project No. 154		Review Documents Produced by Third Parties			
Б	TT: 17		**	ъ .	T.
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	10.80				
Project No. 154 by Co-					
Counsel:					

Project No. 155		Research Regarding a Third Parties'			
		Obligation to Pay Costs of Producing			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 155 by Co-					
Counsel:					

287224_10.XLS 96 of 306

Project No. 156		February 2008 Case Management and Miscellaneous Tasks			
Date	Time Keeper	Description	Hours	Rate	Fee
02/14/08	B. Charhon	Extended telephone call with team regarding status of case; follow-up call with J. Adler regarding same.	1.00	\$ 400	\$ 400.00
02/14/08	L. LeClair	Catch up on issues; review of e-mails.	1.10	\$ 700	\$ 770.00
Project Total:			2.10		\$ 1,170.00
Percentage Recoverable:	100%				\$ 1,170.00
Hours Billed to Project No.156 by Co- Counsel:	72.50				

287224_10.XLS 97 of 306

Project No. 156(A)		Create Database of Client Documents					
Date	Time Keeper	Description	Hours	Rate		Fee	
02/04/08	D. Forbes	Create new Concordance database and Opticon database to receive coded fields from vendor Merrill, merge data in previous review database with coded fields, verify load integrity, index database, report load statistics to K. Sherrill; investigate and repair broken image links in Parrish PI Production database; print tagged documents in same database at request of C. Alaniz for deposition preparation.	5.20	\$	125	\$	650.00
02/05/08	D. Forbes	Load native files and metadata into Concordance PI Production database from new volumes produced on optical disk, repair missing and/or invalid native file links, generate OCR data, verify load integrity, report load statistics to K. Sherrill.	3.90	\$	125	\$	487.50
02/18/08	D. Forbes	Extract specified native files from Microsoft Production database and write to optical disk in preparation for printing and attorney review.	0.90	\$	125	\$	112.50
03/11/08	D. Forbes	Analyze Parrish PI Production database to identify Bates gaps and/or overlaps.	0.60	\$	125	\$	75.00
03/19/08	K. Sherrill	Receive, download and organize various files from Manatt Phelps; review missing productions received.	1.30	\$	180	\$	234.00
03/20/08	K. Sherrill	Receive downloads of depositions and exhibits from Manatt and organize for future case use;	0.40	\$	180	\$	72.00
03/24/08	K. Sherrill	Review downloads from Manatt regarding files need for depositions.	0.60	\$	180	\$	108.00
03/25/08	K. Sherrill	Review and organize materials from Manatt Phelps for use at future depositions.	1.00	\$	180	\$	180.00
03/28/08	K. Sherrill	Handle database issues	0.20	\$	180	\$	36.00
04/07/08	D. Forbes	Extract tagged native files from Parrish Production database and write to optical disk in preparation for attorney review.	0.70	\$	125	\$	87.50
04/10/08	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from new volumes produced on optical disk, verify load integrity, re-index database, report load statistics to K. Sherrill.	1.60	\$	125	\$	200.00
06/05/08	D. Smith	Preparation of images on database for in-house printing and printing	5.00	\$	125	\$	625.00
06/19/08	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from volumes produced on optical disk, verify load integrity, re- index database, report load statistics to K. Sherrill.	1.80	\$	125	\$	225.00

287224_10.XLS 98 of 306

06/27/08	D. Forbes	Load document images and data into Concordance database and Opticon imagebase from volumes produced on optical disk, reconcile overlay volumes and replacement volumes, verify load integrity, re-index database, report load statistics to K. Sherrill.	4.90	\$ 125	\$ 612.50
06/27/08	D. Smith	Preparation of images for blowback	5.50	\$ 125	\$ 687.50
07/10/08	D. Forbes	Locate Excel workbooks EMailed by K. Sherrill with Parrish database and confirm that linked native file matches EMailed workbook; analyze and correct missing or unlinked native files in database.	2.50	\$ 125	\$ 312.50
07/11/08	D. Forbes	Locate Excel workbooks EMailed by K. Sherrill with Parrish database and confirm that linked native file matches EMailed workbook; analyze and correct missing or unlinked native files in database.	1.20	\$ 125	\$ 150.00
07/14/08	D. Smith	Copy data to network; copy images to network; load data to database; load images to imagebase; link database records to images.	2.50	\$ 125	\$ 312.50
07/14/08	D. Smith	Copy data to network; copy images to network; load data to database; load images to imagebase; link database records to images.	1.50	\$ 125	\$ 187.50
07/15/08	D. Smith	Copy data to network; copy images to network; load data to database; load images to imagebase; link database records to images.	2.50	\$ 125	\$ 312.50
07/25/08	K. Sherrill	Emails with D. Wishon regarding missing native files from production	0.10	\$ 180	\$ 18.00
07/28/08	D. Forbes	Compare replacement native files from Players, Inc. with missing native files in database, link files to database as needed, report results to K. Sherrill.	1.80	\$ 125	\$ 225.00
08/14/08	D. Forbes	Load document images and data into Parrish PI Production database and imagebase from volumes produced on optical disk, verify load integrity, re- index database, report load statistics to K. Sherrill.	1.20	\$ 125	\$ 150.00

287224_10.XLS 99 of 306

08/22/08	D. Forbes	Load document images and data into Parrish PI Production database and imagebase from volumes produced on optical disk, verify load integrity, reindex database, report load statistics to B. Sanders.	1.80	\$ 125	\$ 225.00
09/04/08	D. Forbes	Examine vendor's deliverable CDs to locate missing Excel native files.	0.90	\$ 125	\$ 112.50
09/05/08	D. Forbes	Locate and restore missing native Excel files to Parrish PI database.	1.40	\$ 125	\$ 175.00
Project Total:			51.00		\$ 6,573.00
Percentage Recoverable:	100%				\$ 6,573.00
Hours Billed to Project No.156(A) by Co-Counsel:	0.00				

Project No. 156(B)		Review Client Documents for Production			
Date	Time Keeper	Description	Hours	Rate	Fee
02/18/08	J. Naylor	Coordinate with K. Sherrill regarding review of documents.	0.30	\$ 450	\$ 135.00
05/20/08	K. Sherrill	Emails regarding our production of documents.	0.30	\$ 180	\$ 54.00
05/20/08	K. Sherrill	Review production of documents and emails regarding videos produced.	0.40	\$ 180	\$ 72.00
Project Total:			1.00		\$ 261.00
Percentage Recoverable:	75%				\$ 195.75
Hours Billed to Project No.156(B) by Co-Counsel:	0.00				

287224_10.XLS 100 of 306

Project No. 157		Review EA Production					
Date	Time Keeper	Description	Hours	Rate		Fee	
01/02/08	J. Naylor	Review Electronic Arts License Agreements.	1.50	\$	425	\$	637.50
01/22/08	J. Naylor	Review Electronic Arts document production.	2.10	\$	450	\$	945.00
01/24/08	C.Alaniz	Perform research and document preparation of license agreements for L. LeClair's review.	0.50	\$	85	\$	42.50
02/04/08	J. Naylor	Review documents and depositions.	2.10	\$	450	\$	945.00
02/04/08	J. Naylor	Correspond with Electronic Arts regarding document production and the deposition.	0.10	\$	450	\$	45.00
02/06/08	J. Naylor	Review documents.	5.30	\$	450	\$	2,385.00
02/11/08	J. Naylor	E-mail with Electronic Arts regarding missing documents.	0.40	\$	450	\$	180.00
02/18/08	J. Naylor	Correspondence with Electronic Arts regarding missing license agreement.	0.30	\$	450	\$	135.00
03/17/08	J. Naylor	E-mails with third-party Electronic Arts regarding J. Linzer deposition.	0.50	\$	450	\$	225.00
Project Total:			12.80			\$	5,540.00
Percentage Recoverable:	100%					\$	5,540.00
Hours Billed to Project No. 157 by Co- Counsel:	7.00						

Project No. 158		Prepare for Settlement Conference			
Date	Time Keeper	Description	Hours	Rate	Fee
02/06/08	J. Naylor	Meet with client.	2.10	\$ 450	\$ 945.00
02/06/08	J. Naylor	Meet with co-counsel.	2.30	\$ 450	\$ 1,035.00
Project Total:			4.40		\$ 1,980.00
Percentage	100%				\$ 1,980.00
Recoverable:					
Hours Billed to	4.80				
Project No. 158 by Co-	•				
Counsel:					

287224_10.XLS 101 of 306

Project No. 159		Attend Settlement Conference (Date)			
Date	Time Keeper	Description	Hours	Rate	Fee
02/06/08	J. Naylor	Attend settlement conference.	2.80	\$ 450	\$ 1,260.00
Project Total:			2.80		\$ 1,260.00
Percentage	100%				\$ 1,260.00
Recoverable:					
Hours Billed to	9.00				
Project No.159 by Co-					
Counsel:					

Project No. 160		Prepare H. Adderley for Deposition			
Date	Time Keeper	Description	Hours	Rate	Fee
10/15/07	K. Sherrill	Meeting and review of Mr. Adderly's documents with J. Adler.	0.40	\$ 110	\$ 44.00
01/24/08	C.Alaniz	Review and perform document preparation of potential deposition exhibits to assist with upcoming H. Adderley deposition.	1.40	\$ 85	\$ 119.00
					\$ -
Project Total:			1.80		\$ 163.00
Percentage Recoverable:	100%		1.00		\$ 163.00
Hours Billed to Project No. by Co- Counsel:	7.70				

287224_10.XLS 102 of 306

Project No. 161		Prepare for Deposition of J. Linzner (EA)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
01/30/08	K. Sherrill	Review documents and telephone conference regarding deposition preparation for EA	0.60	\$	180	\$	108.00
01/30/08	K. Sherrill	Conference with L. LeClair regarding new address for Manatt Phelps San Francisco office and prepare letter regarding same for all counsel attending EA deposition.	0.40	\$	180	\$	72.00
01/30/08	L. LeClair	Prepare for deposition.	0.40	\$	700	\$	280.00
01/31/08	L. LeClair	Prepare for deposition.	1.20	\$	700	\$	840.00
02/04/08	B. Charhon	Office conference with J. Adler regarding EA deposition; call with R. Katz and J. Adler regarding same; review EA documents in preparation for deposition; review emails from team regarding EA deposition.	5.50	\$	400	\$	2,200.00
02/04/08	C. Alaniz	Perform research and document preparation of potential deposition exhibits from production database for upcoming EA deposition.	5.60	\$	85	\$	476.00
02/04/08	K. Sherrill	Assist R. Hilbert with EA deposition preparation; meeting regarding updating the database for further deposition preparation.	2.90	\$	180	\$	522.00
02/04/08	J. Naylor	Prepare for Electronic Arts deposition.	6.70	\$	450	\$	3,015.00
02/04/08	J. Naylor	Coordinate with co-counsel regarding discovery.	0.30	\$	450	\$	135.00
02/05/08	K. Sherrill	Review documents for J. Naylor for possible use as exhibits at the EA deposition.	1.70	\$	180	\$	306.00
02/05/08	J. Naylor	Prepare for Electronic Arts deposition.	10.80	\$	450	\$	4,860.00
02/05/08	J. Naylor	Review documents and depositions.	1.00	\$	450	\$	450.00
02/06/08	C. Alaniz	Perform research and document preparation of selected key documents by attorney from production database for upcoming EA deposition.	2.10	\$	85	\$	178.50
02/06/08	J. Naylor	Meeting with R. Hilbert in preparation for depositions.	0.40	\$	450	\$	180.00
02/07/08	J. Naylor	Review documents.	6.20	\$	450	\$	2,790.00
02/07/08	J. Naylor	Prepare for Electronic Arts deposition.	6.00	\$	450	\$	2,700.00
02/08/08	K. Sherrill	Telephone conference with court reporters; materials of interest to L. LeClair and J. Naylor for deposition preparation.	2.00	\$	180	\$	360.00
02/12/08	K. Sherrill	Obtain documents for R. Katz	0.50	\$	180	\$	90.00
03/06/08	K. Sherrill	Emails regarding deposition and exhibits of J. Linzner	0.20	\$	180	\$	36.00
Project Total:	 		54.50			\$	19,598.50
Percentage Recoverable:	100%					\$	19,598.50
Hours Billed to Project No. 161 by Co- Counsel:	52.90						

287224_10.XLS 103 of 306

Project No. 162		Attend Deposition of J. Linzner (February 8, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
02/08/08	J. Naylor	Attend depositions of Electronic Arts and J. Linzer.	8.90	\$ 450	\$	4,005.00
Project Total:			8.90		\$	4,005.00
Percentage Recoverable:	100%				\$	4,005.00
Hours Billed to Project No. 162 by Co- Counsel:	9.00					

Project No. 162(A)		Review Deposition Transcript of J. Linzner					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
02/11/08	J. Naylor	Review EA deposition.	0.90	\$	450	\$	405.00
02/19/08	B. Charhon	Review deposition transcript of J. Linzner	2.00	\$	400	\$	800.00
Project Total:			2.90			\$	1,205.00
Percentage Recoverable:	100%					\$	1,205.00
Hours Billed to Project No. 162 by Co- Counsel:	3.00						

Project No. 163		Prepare for Deposition of G. Eyrich			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	21.50				
Project No. 163 by Co-					
Counsel:					

287224_10.XLS 104 of 306

Project No. 164		Attend Deposition of G. Eyrich (February 12, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	18.00				
Project No. 164 by Co-					
Counsel:					

Project No. 165		Prepare for Deposition of Gene Upshaw				
Date	Time Keeper	Description	Hours	Rate	Fee	
02/11/08	J. Naylor	Review G. Upshaw outline for deposition and documents.	1.80	\$ 450	\$	810.00
Project Total:			1.80		\$	810.00
Percentage Recoverable:	100%				\$	810.00
Hours Billed to Project No.165 by Co- Counsel:	107.30					

Project No. 166		Attend Deposition of Gene Upshaw (February 13, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	34.30				
Project No. 166 by Co-					
Counsel:					

287224_10.XLS 105 of 306

Project No. 166(A)		Rview Transcript from Deposition of Gene Upshaw (February 13, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
02/29/08	B. Charhon	Review and analyze deposition transcript of G. Upshaw	2.00	\$ 400	\$ 800.00
Project Total:			2.00		\$ 800.00
Percentage Recoverable:	100%				\$ 800.00
Hours Billed to Project No. 166 by Co- Counsel:	0.00				

Project No. 167		Prepare for Deposition of H. Skall			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	24.60				
Project No. 167 by Co-					
Counsel:					

Project No. 168		Attend Deposition of H. Skall (February 14, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	10.20				
Project No.168 by Co-					
Counsel:					

287224_10.XLS 106 of 306

Project No. 169		Prepare H. Adderley for Deposition			
Date	Time Keeper	Description	Hours	Rate	Fee
02/20/08	L. LeClair	Conference call on H. Adderly's deposition.	0.80	\$ 700	\$ 560.00
02/21/08	L. LeClair	Conference call on H. Adderly's deposition.	0.60	\$ 700	\$ 420.00
Project Total:			1.40		\$ 980.00
Percentage	100%				\$ 980.00
Recoverable:					
	43.10				
Project No. 169 by Co-	•				
Counsel:					

Project No. 170		Attend Deposition of H. Adderley (February 20, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			_		\$ -
Percentage Recoverable:	100%				\$ -
Recoverable.					
Hours Billed to Project No. 170 by Co- Counsel:	19.40				

Project No. 171		Prepare for Deposition of P. Allen			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	35.30				
Project No.171 by Co-					
Counsel:					

Project No. 172		Attend Deposition of P. Allen (February 28, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -

287224_10.XLS 107 of 306

Percentage Recoverable:	100%		\$ -
Hours Billed to	8.20		
Project No. 172 by Co-			
Counsel:			

Project No. 172(A)		Review Deposition Transcript of P. Allen			
Date	Time Keeper	Description	Hours	Rate	Fee
02/28/08	B. Charhon	Review N. Cohen summary of P. Allen deposition	0.50	\$ 400	\$ 200.00
03/04/08	B. Charhon	Review transcript of P. Allen	1.00	\$ 400	\$ 400.00
Project Total:			1.50		\$ 600.00
Percentage Recoverable:	100%				\$ 600.00
Hours Billed to Project No. 172 by Co- Counsel:	3.60				

Project No. 173		Incorporate Deposition Testimony into Class Certification Motion			
Date	Time Keeper	Description	Hours	Rate	Fee
02/18/08	B. Charhon	Review class certification motion; review and analyze depositions of D. Allen and G. Eyrich to incorporate into motion	5.00	\$ 400	\$ 2,000.00
02/15/08	J. Naylor	Review depositions for evidence regarding class certification.	6.90	\$ 450	\$ 3,105.00
02/19/08	J. Naylor	Review deposition of H. Skall for certification motion.	0.70	\$ 450	\$ 315.00
02/26/08	J. Naylor	Review new depositions regarding same.	2.20	\$ 450	\$ 990.00
Project Total:			14.80		\$ 6,410.00
Percentage Recoverable:	75%				\$ 4,807.50
Hours Billed to Project No.173 by Co- Counsel:	11.80				

287224_10.XLS 108 of 306

Project No. 174		Research Regarding Adequacy, Typicality and Other Issues Associated with Class					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
02/15/08	B. Charhon	Review class certification brief; research regarding same	2.00	\$	400	\$	800.00
02/26/08	J. Naylor	Further research on various certification issues.	0.90	\$	450	\$	405.00
02/29/08	J. Naylor	Further research regarding class certification.	4.70	\$	450	\$	2,115.00
03/03/08	J. Naylor	Further research on certification issues.	3.20	\$	450	\$	1,440.00
03/06/08	J. Naylor	Legal research regarding ethical issues.	3.20	\$	450	\$	1,440.00
Project Total:			14.00			\$	6,200.00
Percentage	100%					\$	6,200.00
Recoverable:							
Hours Billed to Project No.174 by Co- Counsel:	18.90						

Project No. 175		Attend to Discovery Disputes with Defendants			
Date	Time Keeper	Description	Hours	Rate	Fee
12/21/07	J. Naylor	Create letter to secure additional deposition dates.	0.30	\$ 450	\$ 135.00
01/18/08	J. Naylor	E-mail with team members regarding various matters.	0.30	\$ 450	\$ 135.00
02/01/08	B. Charhon	Review letter from D. Greenspan regarding discovery dispute.	0.20	\$ 400	\$ 80.00
02/22/08	J. Naylor	Legal research regarding discovery advise.	3.40	\$ 450	\$ 1,530.00
02/26/08	B. Charhon	Review N. Cohen's draft letter to D. Greenspan	0.20	\$ 400	\$ 80.00
02/29/08	B. Charhon	Review correspondence from N. Cohen and D. Greenspan regarding Plaintiffs' production	0.40	\$ 400	\$ 160.00
02/29/08	J. Naylor	Review opposing counsel letters and responses to various discovery issues.	0.50	\$ 450	\$ 225.00
03/24/08	J. Naylor	E-mails with opposing counsel regarding 30(b)(6) deposition.	0.40	\$ 450	\$ 180.00
03/26/08	J. Naylor	Correspondence with opposing counsel regarding deposition.	0.20	\$ 450	\$ 90.00
03/31/08	B. Charhon	Review correspondence from Defendants regarding document production issues	0.20	\$ 400	\$ 80.00
04/02/08	B. Charhon	Review correspondence from N. Cohen regarding document production issues	0.20	\$ 400	\$ 80.00
04/07/08	K. Sherrill	Assist B. Charhon with NFLPA discovery deficiencies	1.10	\$ 180	\$ 198.00

287224_10.XLS 109 of 306

05/29/08	B. Charhon	Draft letter to opposing counsel regarding Defendants' production of documents relating to the NFL sponsorship agreement; review correspondence relating to Defendants' failure to produce documents related to Topps, Defendants' failure to adequately display the class notice and Defendants' failure to produce documents regarding G. Upshaw's compensation	1.70	\$ 400	\$ 680.00
05/30/08	B. Charhon	Review and revise letters to opposing counsel regarding Defendants' initial disclosures and Defendants' document production related to the NFL sponsorship agreement	0.80	\$ 400	\$ 320.00
06/04/08	B. Charhon	Review letter from J. Clark regarding Defendants' production of documents related to the internet sponsorship agreement; draft letter to J. Clark responding to same	1.00	\$ 400	\$ 400.00
06/04/08	B. Charhon	Review motion to compel regarding Upshaw documents	0.50	\$ 400	\$ 200.00
06/06/08	B. Charhon	Draft letter to J. Clark regarding request for production no. 31	1.00	\$ 400	\$ 400.00
06/09/08	B. Charhon	Draft letter to D. Greenspan regarding defendants refusal to grant additional depositions	1.20	\$ 400	\$ 480.00
06/10/08	B. Charhon	Review and revise letter to D. Greenspan regarding deposition issues; email same to D. Greenspan.	0.50	\$ 400	\$ 200.00
Project Total:			14.10		\$ 5,653.00
Percentage Recoverable:	100%				\$ 5,653.00
Hours Billed to Project No.175 by Co- Counsel:	5.90				

287224_10.XLS 110 of 306

Project No. 176		Calls with Co-Counsel Regarding Deposition of					
Date	Time Keeper	H. Adderley Description	Hours	Rat	ie.	Fee	
02/15/08	J. Naylor	Conference with N. Cohen regarding H. Adderley deposition.	0.30	\$	450	\$	135.00
02/21/08	J. Naylor	Conference call with co-counsel regarding Adderley depo.	0.60	\$	450	\$	270.00
02/22/08	B. Charhon	Telephone calls with team regarding deposition of H. Adderley.	0.50	\$	400	\$	200.00
02/22/08	J. Naylor	E-mail and telephone conferences with co-counsel regarding H. Adderley deposition.	1.70	\$	450	\$	765.00
02/26/08	B. Charhon	Review emails from R. Katz regarding communications with H. Adderley and H. Adderley deposition.	0.20	\$	400	\$	80.00
Project Total:			3.30			\$	1,450.00
Percentage Recoverable:	100%					\$	1,450.00
Hours Billed to Project No.176 by Co- Counsel:	4.60						

Project No. 177		Review Transcript and Exhibits from H.					
		Adderley Deposition					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
02/21/08	J. Naylor	Review H. Adderly deposition.	1.20	\$	450	\$	540.00
02/22/08	B. Charhon	Review and analyze deposition of H. Adderley.	1.80	\$	400	\$	720.00
02/22/08	L. LeClair	Review of H. Adderly's deposition transcript.	0.90	\$	700	\$	630.00
Project Total:			3.90			\$	1,890.00
Percentage	100%					\$	1,890.00
Recoverable:							
Hours Billed to	3.00						
Project No. 177 by Co-							
Counsel:							

287224_10.XLS 111 of 306

Project No. 178		Prepare 30(b)(6) Notice to NFLPA					
Date	Time Keeper	Description	Hours	Rate		Fee	
02/28/08	C. Alaniz	Assist J. Naylor with notice of deposition and subpoena for the 30(b)(6) National Fooball League Players Association deposition.	3.60	\$	85	\$	306.00
02/29/08	C. Alaniz	Assist J. Naylor with notice of deposition and subpoena for the 30(b)(6) National Fooball League Players Association deposition.	2.90	\$	85	\$	246.50
Project Total:			6.50			\$	552.50
Percentage Recoverable:	100%					\$	552.50
Hours Billed to Project No.178 by Co- Counsel:	2.60						

Project No. 179		Prepare RFPFJ Discovery Responses			
Date	Time Keeper	Description	Hours	Rate	Fee
02/27/08	J. Naylor	Review RFPFJ discovery responses.	1.00	\$ 450	\$ 450.00
02/28/08	B. Charhon	Review objections and responses to retired players for justice subpoena.	0.50	\$ 400	\$ 200.00
Project Total:			1.50		\$ 650.00
Percentage Recoverable:	100%				\$ 650.00
Hours Billed to Project No.179 by Co- Counsel:	23.50				

287224_10.XLS 112 of 306

Project No. 180		Legal Research Regarding Conflict of Law Issues			
Date	Time Keeper	Description	Hours	Rate	Fee
01/18/08	J. Naylor	Legal research regarding defenses to certification.	8.80	\$ 450	\$ 3,960.00
02/25/08	J. Naylor	Further research regarding conflict of law.	5.20	\$ 450	\$ 2,340.00
02/27/08	J. Naylor	Research regarding conflict of law and revise certification motion regarding same.	3.60	\$ 450	\$ 1,620.00
Project Total:			17.60		\$ 7,920.00
Percentage Recoverable:	100%				\$ 7,920.00
Hours Billed to Project No. 180 by Co- Counsel:	1.50				

Project No. 181		Review and Analyze Defendants' Responses to Plaintiffs' Interrogatories			
Date	Time Keeper	Description	Hours	Rate	Fee
02/19/08	J. Naylor	Review defendants supplemental disclosures.	0.50	\$ 450	\$ 225.00
02/28/08	B. Charhon	Review Defendants' supplemental interrogatory responses	0.50	\$ 400	\$ 200.00
05/27/08	B. Charhon	Review Defendant's responses to Plaintiff's third and fourth set of interrogatories and third set of requests for admissions	0.20	\$ 400	\$ 80.00
06/06/08	B. Charhon	Review correspondence regarding Footlocker payments and review interrogatories regarding same	0.50	\$ 400	\$ 200.00
Project Total:			1.70		\$ 705.00
Percentage Recoverable:	100%				\$ 705.00
Hours Billed to Project No. 181 by Co- Counsel:	9.30				

287224_10.XLS 113 of 306

Project No. 182		March 2008 Case Management and Miscellaneous					
Date	Time Keeper	Description Ho	Hours	Ra	te	Fee	
02/28/08	L. LeClair	Catch up on pending issues.	1.10	\$	700	\$	770.00
02/29/08	L. LeClair	Review mountain of e-mails and documents.	2.80	\$	700	\$	1,960.00
03/02/08	L. LeClair	E-mail to counsel.	0.20	\$	700	\$	140.00
03/05/08	L. LeClair	Work on other issues; e-mail to B. Charhon.	0.90	\$	700	\$	630.00
03/06/08	L. LeClair	Conference with J. Naylor and B. Charhon on discovery.	0.40	\$	700	\$	280.00
03/10/08	L. LeClair	Telephone conference with R. Katz.	0.50	\$	700	\$	350.00
03/15/08	H. Peterson	Correspondence with various district court clerks regarding fees for obtaining court records for attorney review.	0.60	\$	80	\$	48.00
03/20/08	L. LeClair	Review of D. Allen deposition and errata; work on discovery.	0.60	\$	700	\$	420.00
03/20/08	J. Naylor	Review H. Adderley errata sheet and co-counsel emails regarding various issues.	2.90	\$	450	\$	1,305.00
03/26/08	L. LeClair	Arrange client conference call.	0.20	\$	700	\$	140.00
03/27/08	L. LeClair	Arrange class certification conference call.	0.20	\$	700	\$	140.00
Project Total:			10.40			\$	6,183.00
Percentage Recoverable:	100%					\$	6,183.00
Hours Billed to Project No.182 by Co- Counsel:	51.40						

Project No. 183		Prepare M. Parrish for Deposition			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
Hours Billed to	15.10				
Project No. 183 by Co-					
Counsel:					

287224_10.XLS 114 of 306

Project No. 184		Attend Deposition of M. Parrish (March 5, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
Hours Billed to	4.00				
Project No.184 by Co-					
Counsel:					

Project No. 185		Prepare B. Parrish for Deposition			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
Hours Billed to	35.90				
Project No. 185 by Co-					
Counsel:					

Project No. 186		Attend Deposition of B. Parrish (March 13, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
	0.00				
Project No. 186 by Co-					
Counsel:					

287224_10.XLS 115 of 306

Project No. 186(A)		Review Transcripts of Deposition of B. Parrish (March 13, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
03/17/08	B. Charhon	Review deposition transcript of B. Parrish	1.00	\$ 400	\$ 400.00
03/24/08	J. Naylor	Review B. Parrish deposition.	0.90	\$ 450	\$ 405.00
03/27/08	J. Naylor	Review B. Parrish errata sheet.	0.40	\$ 450	\$ 180.00
Project Total:			2.30		\$ 985.00
Percentage Recoverable:	0%				\$ -
Hours Billed to Project No. 186(A) by Co-Counsel:	0.00				

Project No. 186(B)		Research Regarding Former Employees of NFLPA and Players Inc.			
Date	Time Keeper	Description	Hours	Rate	Fee
03/17/08	B. Charhon	Exchange emails with L. LeClair regarding B. Halton; review production database for documents related to B. Halton	1.50	\$ 400	\$ 600.00
05/05/08	B. Charhon	Telephone conference with B. Halton and L. LeClair	0.05	\$ 400	\$ 20.00
Project Total:			1.55		\$ 620.00
Percentage Recoverable:	100%				\$ 620.00
Hours Billed to Project No. 186(B) by Co-Counsel:	0.00				

287224_10.XLS 116 of 306

Project No. 187		Prepare Motion for Class Certification (Filed March 14, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/28/07	J. Naylor	Begin prepration of motion to certify.	1.10	\$ 450		495.00
08/29/07	J. Naylor	Preparation of motion to certify.	6.30	\$ 450	\$ 2,	835.00
08/30/07	J. Naylor	Pepare motion.	3.00	\$ 450	\$ 1,	350.00
09/04/07	J. Naylor	Work on class certification motion.	7.10	\$ 450	\$ 3,	195.00
09/05/07	J. Naylor	Work on class certification motion.	8.20	\$ 450	\$ 3,	690.00
09/06/07	J. Naylor	Work on class certification motion.	9.30	\$ 450	\$ 4,	185.00
01/09/08	J. Naylor	Draft certification motion.	7.10	\$ 450	\$ 3,	195.00
01/09/08	J. Naylor	E-mails with B. Charhon regarding same.	0.60	\$ 450	\$	270.00
01/11/08	J. Naylor	Further draft of certification motion.	4.10	\$ 450	\$ 1,	845.00
01/16/08	J. Naylor	Begin draft of issue for motion to certify.	0.70	\$ 450	\$	315.00
01/17/08	J. Naylor	Work on certification motion.	7.20	\$ 450	\$ 3,	240.00
01/23/08	J. Naylor	Work on draft of certification motion.	8.20	\$ 450	\$ 3,	690.00
01/24/08	J. Naylor	Work on certification brief.	8.40	\$ 450	\$ 3,	780.00
02/11/08	J. Naylor	Prepare class certification motion.	5.40	\$ 450	\$ 2,	430.00
02/12/08	J. Naylor	Prepare class certification motion.	9.00	\$ 450	\$ 4,	050.00
02/13/08	J. Naylor	Prepare class certification motion.	6.60	\$ 450	\$ 2,	970.00
02/14/08	J. Naylor	Work on class certification motion.	9.30	\$ 450		185.00
02/18/08	J. Naylor	Work on class certification motion.	5.70	\$ 450	\$ 2,	565.00
02/19/08	J. Naylor	Revise certification motion.	6.20	\$ 450		790.00
02/20/08	J. Naylor	Conference with L. LeClair regarding strategy.	0.40	\$ 450		180.00
02/20/08	J. Naylor	Work on certification motion.	6.10	\$ 450	\$ 2,	745.00
02/20/08	J. Naylor	Review discovery responses.	0.80	\$ 450		360.00
02/21/08	J. Naylor	Finalize first draft of certification motion.	7.60	\$ 450	,	420.00
02/25/08	B. Charhon	Telephone conference with J. Adler regarding	0.50	\$ 400		200.00
		class certification motion; review and revise class				
		certification motion				
02/26/08	J. Naylor	Revise certification motion.	0.60	\$ 450	\$	270.00
02/27/08	B. Charhon	Review damages analysis from P. Rowley; draft	1.50	\$ 400		600.00
		damages insert for class certification motion				
02/27/08	J. Naylor	Review B. Charhon's revisions to brief.	0.70	\$ 450	\$	315.00
02/27/08	J. Naylor	Research regarding conflict of law and revise	3.50	\$ 450	,	575.00
		certification motion regarding same.		,	,	
02/28/08	L. LeClair	Work on class certification.	2.00	\$ 700	\$ 1,	400.00
02/28/08	J. Naylor	Further revisions to certification moiton.	5.70	\$ 450		565.00
02/29/08	B. Charhon	Review D. Shapiro comments to class certification	0.50	\$ 400		200.00
		motion.				
02/29/08	L. LeClair	Work on class certification issue and H. Adderly.	3.30	\$ 700	\$ 2,	310.00
02/29/08	J. Naylor	Revisions to class certification brief.	3.40	\$ 450		530.00
03/02/08	J. Naylor	Revise certification brief.	4.10	\$ 450		845.00
03/03/08	B. Charhon	Review and revise class certification motion;	3.50	\$ 400		400.00
		conference call with team regarding class		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	-,	
		certification motion; prepare evidence for class				
		certification motion.				
03/03/08	L. LeClair	Review of draft motion; e-mail to team.	2.50	\$ 700	\$ 1,	750.00
03/03/08	J. Naylor	Incorporate numerous revisions from team	6.30	\$ 425		677.50
	- : - (a) 101	members.	0.50	123	l,	
03/03/08	J. Naylor	Work on class certification motion.	2.60	\$ 450	\$ 1,	170.00
03/04/08	B. Charhon	Review and revise class certification motion.	0.50	\$ 400		200.00

287224_10.XLS 117 of 306

03/04/08	L. LeClair	Work on draft of motion for class certification; emails to team.	4.80	\$ 700	\$ 3,360.00
03/05/08	B. Charhon	Review and revise class certification motion; email same to L. LeClair and J. Adler; prepare evidence for class certification motion.	4.30	\$ 400	\$ 1,720.00
03/05/08	L. LeClair	Continue work on class certification; telephone conference with R. Katz; telephone conference with J. Naylor; work on draft.	4.20	\$ 700	\$ 2,940.00
03/06/08	L. LeClair	Work on class certification issues; review new draft.	4.40	\$ 700	\$ 3,080.00
03/07/08	J. Naylor	Review new draft of certification motion; ake revisions to same.	4.90	\$ 450	\$ 2,205.00
03/09/08	B. Charhon	Review Manatt's revision to class certification motion; revise motion for class certification	2.50	\$ 400	\$ 1,000.00
03/09/08	L. LeClair	Continue work on certification motion.	3.20	\$ 700	\$ 2,240.00
03/10/08	L. LeClair	Potential issues on class certification; review of draft.	2.90	\$ 700	\$ 2,030.00
03/10/08	J. Naylor	Additional revisions to same.	1.80	\$ 450	\$ 810.00
03/11/08	L. LeClair	Continue work on class certification.	4.40	\$ 700	\$ 3,080.00
03/11/08	J. Naylor	Review and revise draft of brief.	0.40	\$ 450	\$ 180.00
03/12/08	B. Charhon	Review and revise class certification motion; email revisions to L. Franco; telephone conference with J. Naylor regarding NLFPA-Players Inc. agreement.	0.60	\$ 400	\$ 240.00
03/12/08	L. LeClair	Continue work on class certification.	2.90	\$ 700	\$ 2,030.00
03/13/08	B. Charhon	Review revised draft of class certification motion.	1.00	\$ 400	\$ 400.00
03/13/08	L. LeClair	Continue work on class certification.	1.80	\$ 700	\$ 1,260.00
03/13/08	J. Naylor	Review drafts of brief and e-mails with co- counsel.	1.50	\$ 450	\$ 675.00
03/14/08	B. Charhon	Review final version of brief	0.30	\$ 400	\$ 120.00
03/14/08	L. LeClair	Finalize motion for class certification.	3.20	\$ 700	\$ 2,240.00
03/14/08	J. Naylor	Finalize certification brief.	1.60	\$ 450	\$ 720.00
03/15/08	L. LeClair	Review final filed class certification motion and materials.	1.10	\$ 700	\$ 770.00
Project Total:	75%		221.40		\$ 108,887.50
Percentage Recoverable:					\$ -
Hours Billed to Project No. 187 by Co- Counsel:	132.50				

287224_10.XLS 118 of 306

Project No. 188		Prepare J. Naylor Declaration in Support of Class Certification Motion (Filed March 14, 2008)					
Date	Time Keeper	· · ·	Hours	Ra	te	Fee	
03/04/08	B. Charhon	Prepare declaration of J. Naylor in support of class certification motion	3.80	\$	400	\$	1,520.00
03/05/08	J. Naylor	Assist in drafting declarations to support certification brief.	3.20	\$	450	\$	1,440.00
03/09/08	B. Charhon	Review and revise declaration of J. Naylor.	0.50	\$	400	\$	200.00
03/10/08	B. Charhon	Review and revise declaration of J. Naylor; exchange emails with R. Hilbert regarding same.	0.80	\$	400	\$	320.00
03/11/08	B. Charhon	Review and revise declaration of J. Naylor	0.50	\$	400	\$	200.00
03/11/08	J. Naylor	Review and revise declarations for certification.	2.60	\$	450	\$	1,170.00
03/12/08	J. Naylor	Review J. Naylor declaration and numerous exhibits.	3.20	\$	450	\$	1,440.00
03/13/08	B. Charhon	Finalize declaration J. Naylor in support of class certification motion	1.00	\$	400	\$	400.00
03/13/08	J. Naylor	Continued review of J. Naylor declaration and exhibits.	1.70	\$	450	\$	765.00
03/14/08	J. Naylor	Finalize J. Naylor declaration.	1.20	\$	450	\$	540.00
Project Total:			18.50			\$	7,995.00
Percentage Recoverable:	75%					\$	5,996.25
Hours Billed to Project No.188 by Co- Counsel:	0.00						

Project No. 188(A)		Prepare R. Katz Declaration in Support of Class Certification Motion (Filed March 14, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
03/09/08	B. Charhon	Draft declaration of R. Katz in support of class certification motion; incorporate cites to declaration of J. Naylor and R. Katz into class certification motion.	3.50	\$ 400	\$ 1,400.00
Project Total:			3.50		\$ 1,400.00
Percentage Recoverable:	75%				\$ 1,050.00
Hours Billed to Project No.188(A) by Co-Counsel:	5.50				

287224_10.XLS 119 of 306

Project No. 189		Prepare L. LeClair Declaration in Support of Class Certification Motion (Filed March 14, 2008)					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
03/08/08	L. LeClair	Work on L. LeClair declaration and certification	2.10	\$	700	\$	1,470.00
03/10/08	B. Charhon	Preparation of declaration of L. LeClair; circulate same to J. Adler and L. LeClair; incorporate comments of J. Adler	1.70	\$	400	\$	680.00
03/11/08	B. Charhon	Review and revise declaration of L. LeClair	0.50	\$	400	\$	200.00
03/12/08	L. LeClair	Review declaration.	2.20	\$	700	\$	1,540.00
03/13/08	B. Charhon	Finalize declaration of L. LeClair a in support of class certification motion	0.60	\$	400	\$	240.00
03/14/08	L. LeClair	Finalize declaration.	2.30	\$	700	\$	1,610.00
03/10/08	J. Naylor	Review L. LeClair declaration.	1.10	\$	450	\$	495.00
Project Total:			10.50			\$	6,235.00
Percentage Recoverable:	75%					\$	4,676.25
Hours Billed to Project No.189 by Co- Counsel:	0.00						

Project No. 190		Prepare P. Rowley Declaration in Support of Class Certification Motion (Filed March 14, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	75%				\$ -
Hours Billed to Project No.190 by Co- Counsel:	11.80				

287224_10.XLS 120 of 306

Project No. 191		Prepare M. Miller Declaration in Support of Class Certification Motion (Filed March 14, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
					\$ -
Project Total:			-		\$ -
Percentage Recoverable:	75%				\$ -
Hours Billed to Project No.191 by Co- Counsel:	10.50				

Project No. 192		Prepare B. Parrish Declaration in Support of Class Certification Motion (Filed March 14,			
Date	Time Keeper	Description	Hours	Rate	Fee
03/12/08	B. Charhon	Draft declaration of Bernie Parrish in support of class certification motion	1.00	\$ 400	\$ 400.00
					\$ -
					\$ -
Project Total:			1.00		\$ 400.00
Percentage Recoverable:	75%				\$ 300.00
Hours Billed to Project No. 192 by Co- Counsel:	0.00				

287224_10.XLS 121 of 306

Project No. 193		Prepare Exhibits A -VV to Class Certification Motion					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
03/06/08	J. Naylor	Review exhibits to certification motion.	2.20	\$	450	\$	990.00
03/06/08	B. Charhon	Prepare evidence for declaration of J. Naylor.	1.00	\$	400	\$	400.00
03/10/08	K. Sherrill	Prepare exhibits to J. Naylor declaration and edit	6.00	\$	180	\$	1,080.00
03/10/08	C. Alaniz	Assist K. Sherrill in preparation of exhibits in support of J. Naylor's declaration.	5.50	\$	85	\$	467.50
03/11/08	B. Charhon	Coordinate preparation of evidence for class certification motion	3.50	\$	400	\$	1,400.00
03/11/08	K. Sherrill	Prepare the exhibits for the declaration of J. Naylor and emails regarding same; emails to D. Wishon regarding depositions and exhibits	6.40	\$	180	\$	1,152.00
03/11/08	C. Alaniz	Continue to assist K. Sherrill in preparation of exhibits in support of J. Naylor's declaration.	3.80	\$	85	\$	323.00
03/12/08	B. Charhon	Continue preparation of evidence for class certification motion	2.40	\$	400	\$	960.00
03/12/08	K. Sherrill	Prepare exhibits to J. Naylor declaration and emails and phone calls regarding same.	6.40	\$	180	\$	1,152.00
03/12/08	C. Alaniz	Continue to assist K. Sherrill in preparation of exhibits in support of J. Naylor's declaration.	5.00	\$	85	\$	425.00
03/13/08	B. Charhon	Review exhibits to declaration of J. Naylor; multiple telephone conferences with J. Naylor regarding same; continue preparation of evidence for class certification motion; multiple telephone conferences with J. Naylor and R. Hilbert regarding NFL sponsorship agreement.	3.20	\$	400	\$	1,280.00
03/13/08	K. Sherrill	Edits and additions to the exhibits for the J. Naylor declaration and emails and telephone conferences regarding same.	4.70	\$	180	\$	846.00
Project Total:			50.10			\$	10,475.50
Percentage Recoverable:	75%					\$	7,856.63
Hours Billed to Project No. 193 by Co-Counsel:	1.80						

287224_10.XLS 122 of 306

Project No. 194		Cite Check Class Certification Motion					
Date	Time Keeper Description	Hours	Rate		Fee		
02/04/08	B. Charhon	Confirm depo cites in class certification motion; exchange emails with R. Hilbert regarding evidence for class certification motion;	1.20	\$	400	\$	480.00
02/24/08	B. Charhon	Review and revise class certification motion; cite check class certification motion.	7.50	\$	400	\$	3,000.00
02/28/08	B. Charhon	Review and revise class certification motion; cite check class certification motion; email J. Adler regarding same; review and analyze deposition of J. Linzner in connection with same	6.00	\$	400	\$	2,400.00
03/10/08	B. Charhon	Cite check deposition cites in class certification motion	2.00	\$	400	\$	800.00
03/12/08	B. Charhon	Confirm quotes in class certification motion	1.50	\$	400	\$	600.00
Project Total:			18.20			\$	7,280.00
Percentage Recoverable:	75%					\$	5,460.00
Hours Billed to Project No. 194 by Co- Counsel:	0.60						

Project No. 195		Coordinate Destruction of Inadvertently			
		Produced Documents			
Date	Time Keeper	Description	Hours	Rate	Fee
03/04/08	B. Charhon	Coordinate destruction of inadvertently produced documents.	0.50	\$ 400	\$ 200.00
03/06/08	K. Sherrill	Emails regarding snapped back NFLPA document.	0.20	\$ 180	\$ 36.00
Project Total:			0.70		\$ 236.00
Percentage	100%				\$ 236.00
Recoverable:					
Hours Billed to	0.00				
Project No.195 by Co-					
Counsel:					

287224_10.XLS 123 of 306

Project No. 196		Prepare Motion to Enlarge Page Limit in Connection with Class Certification Motion			
Date	Time Keeper	Description	Hours	Rate	Fee
03/04/08	J. Naylor	Draft motion to enlarge page limit.	2.00	\$ 450	\$ 900.00
03/04/08	J. Naylor	Correspond with opposing counsel regarding same.	0.40	\$ 450	\$ 180.00
Project Total:			2.40		\$ 1,080.00
Percentage Recoverable:	100%				\$ 1,080.00
Hours Billed to Project No.196 by Co- Counsel:	12.80				

	Meetings with Experts in Connection with				
	Damages Related to Madden Game				
Time Keeper	Description	Hours	Rate	Fee	
L. LeClair	Meeting with potential experts in Los Angeles.	4.70	\$ 700	\$	3,290.00
		4.70		\$	3,290.00
100%				\$	3,290.00
1 20					
1.20					
	Time Keeper L. LeClair 100%	Time Keeper Description L. LeClair Meeting with potential experts in Los Angeles. 100% 1.20	Time Keeper Description Hours L. LeClair Meeting with potential experts in Los Angeles. 4.70 4.70 100% 1.20	Damages Related to Madden Game Time Keeper Description Hours Rate L. LeClair Meeting with potential experts in Los Angeles. 4.70 \$ 700 100% 4.70 4.70 1.20 1.20 1.20	Damages Related to Madden GameTime KeeperDescriptionHoursRateFeeL. LeClairMeeting with potential experts in Los Angeles.4.70\$ 700\$100%4.70\$1.20\$ 1.20

Project No. 198		Prepare for Deposition of Bernard Parrish			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
	0.00				
Project No.198 by Co-					
Counsel:					

287224_10.XLS 124 of 306

Project No. 199		Review Topps' Document Production					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
03/02/08	L. LeClair	Work on document discovery.	1.00	\$	700	\$	700.00
03/07/08	B. Charhon	Exchange emails with K. Sherill regarding Topps production	0.20	\$	400	\$	80.00
03/10/08	J. Naylor	Telephone conference with K. Sherrill regarding Topps production.	0.20	\$	450	\$	90.00
03/11/08	L. LeClair	Continue work on discovery.	1.70	\$	700	\$	1,190.00
03/17/08	J. Naylor	Review documents for Topps deposition.	3.80	\$	450	\$	1,710.00
03/18/08	J. Naylor	Review documents for Topps deposition.	4.80	\$	450	\$	2,160.00
03/19/08	J. Naylor	Review documents for Topps deposition.	6.70	\$	450	\$	3,015.00
03/20/08	J. Naylor	Review documents for Topps deposition.	4.30	\$	450	\$	1,935.00
03/26/08	B. Charhon	Review and analyze Topps' production in preparation for deposition; review Defendants' production for documents mentioning Topps, W. Friss and A. Zucker.	8.00	\$	400	\$	3,200.00
03/27/08	B. Charhon	Review and analyze Topps' production in preparation for deposition.	6.00	\$	400	\$	2,400.00
Project Total:			36.70			\$	16,480.00
Percentage	100%					\$	16,480.00
Recoverable:							
Hours Billed to Project No.199 by Co- Counsel:	11.10						

Project No. 200		Prepare for Topps Deposition					
Date	Time Keeper	Time Keeper Description	Hours	Rate		Fee	
02/18/08	K. Sherrill	Research Topps and Friss and prepare materials for review by J. Naylor regarding deposition preparation.	0.90	\$	180	\$	162.00
03/18/08	L. LeClair	Work on deposition for Topps and GLA depositions.	3.80	\$	700	\$	2,660.00
03/19/08	K. Sherrill	Assist J. Naylor with preparation for the Topps depositions	3.20	\$	180	\$	576.00
03/20/08	K. Sherrill	Preparation for Topps depositions	0.90	\$	180	\$	162.00
03/27/08	K. Sherrill	Assist J. Naylor with Topps deposition preparation.	3.60	\$	180	\$	648.00
03/27/08	L. LeClair	Prepare for Topps deposition.	2.70	\$	700	\$	1,890.00
03/27/08	J. Naylor	Coordinate Topps deposition outline and documents with B. Charhon.	0.50	\$	450	\$	225.00
03/28/08	B. Charhon	Continue preparation for Topps deposition including review of documents flagged by J. Naylor	3.00	\$	400	\$	1,200.00
03/28/08	L. LeClair	Prepare for Topps deposition.	1.50	\$	700	\$	1,050.00
03/30/08	B. Charhon	Continue preparation for Topps deposition	1.50	\$	400	\$	600.00
03/31/08	B. Charhon	Continue preparation for Topps deposition; call with M. Tajika regarding same;	1.50	\$	400	\$	600.00

287224_10.XLS 125 of 306

03/31/08	L. LeClair	Work on Topps deposition.	0.70	\$ 700	\$ 490.00
04/01/08	B. Charhon	Prepare notebook of documents for Topps deposition; exchange emails with M. Tajika regarding logistics for Topps deposition	4.00	\$ 400	\$ 1,600.00
04/01/08	K. Sherrill	Assist with the preparation for the Topps deposition and serve updated notices for same; update 30(b)(6) deposition notice.	4.90	\$ 180	\$ 882.00
04/01/08	L. LeClair	Prepare for Topps deposition.	1.00	\$ 700	\$ 700.00
04/02/08	B. Charhon	Draft outline for Topps deposition	4.50	\$ 400	\$ 1,800.00
04/02/08	J. Naylor	Review Topps deposition outline.	0.80	\$ 450	\$ 360.00
04/03/08	B. Charhon	Prepare for Topps deposition.	6.50	\$ 400	\$ 2,600.00
04/03/08	L. LeClair	Prepare for Topps deposition in New York.	4.10	\$ 700	\$ 2,870.00
04/08/08	K. Sherrill	Telephone call to court reporter regarding missing exhibits from the Topps 30 (b)(6) deposition and emails regarding same; telephone calls to the Manatt firm regarding the deposition.	0.40	\$ 180	\$ 72.00
04/09/08	B. Charhon	Prepare replacement exhibits from depositions of W. Friss and A. Zucker	0.50	\$ 400	\$ 200.00
04/09/08	K. Sherrill	Review missing exhibits with C. Alaniz	0.30	\$ 180	\$ 54.00
04/09/08	C. Alaniz	Review and organize Zucker deposition exhibits for B. Charhon's review.	4.90	\$ 85	\$ 416.50
04/10/08	C. Alaniz	Continue to review and organize Zucker deposition exhibits for B. Charhon's review; Prepare materials for court reporter's review, transmittal letters regarding same, and index of materials being sent.	4.60	\$ 85	\$ 391.00
Project Total:			60.30		\$ 22,208.50
Percentage Recoverable:	100%				\$ 22,208.50
Hours Billed to Project No. 200 by Co Counsel:	2.50				

Project No. 201		Attend March 19th, 2008 Meetings with Experts				
Date	Time Keeper	Description	Hours	Rate	Fee	
03/19/08	L. LeClair	Meetings with experts.	3.90	\$ 700	\$	2,730.00
Project Total:			3.90		\$	2,730.00
Percentage	100%				\$	2,730.00
Recoverable:						
Hours Billed to	39.10					
Project No. 201 by Co-						
Counsel:						

287224_10.XLS 126 of 306

Project No. 202		Revise and Re-Serve Deposition Notices for W. Friss and Topps				
Date	Time Keeper	Description	Hours	Rate	Fee	
03/31/08	B. Charhon	Re-issue subpoenas to Topps	0.50	\$ 400	\$	200.00
03/31/08	K. Sherrill	Revise and serve the W. Friss and Topps subpoena.	1.10	\$ 180	\$	198.00
Project Total:			1.60		\$	398.00
Percentage Recoverable:	100%		1.00		\$	398.00
Hours Billed to Project No.202 by Co- Counsel:	0.00					

Project No. 203		Prepare Second Request for Production of Documents to Defendant Players, Inc. (Served					
Date	Time Keeper	March 14, 2007) Description	Hours	Rate	e	Fee	
03/07/08	B. Charhon	Review emails from R. Hilbert regarding additional discovery requests	0.10	\$	400	\$	40.00
03/13/08	B. Charhon	Review draft requests for production	0.50	\$	400	\$	200.00
03/10/08	L. LeClair	Work on discovery issues.	1.10	\$	700	\$	770.00
03/14/08	L. LeClair	Finalize discovery.	0.90	\$	700	\$	630.00
Project Total:			2.60			\$	1,640.00
Percentage Recoverable:	100%					\$	1,640.00
Hours Billed to Project No. 203 by Co- Counsel:	4.40						

Project No. 204		Prepare Third Request for Production to NFLPA (Served March 14, 2007)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 204 by Co- Counsel:	2.30				

287224_10.XLS 127 of 306

Project No. 205		Prepare Response to Defendants Second Set of Interrogatories (Served March 17, 2008)					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
02/14/08	B. Charhon	Review defendants' second set of interrogatories	0.40	\$	400	\$	160.00
02/29/08	B. Charhon	Review and analyze defendants responses to plaintiffs interrogatories at request of J. Adler; email J. Adler regarding same	1.00	\$	400	\$	400.00
03/12/08	L. LeClair	Continue work on discovery.	1.20	\$	700	\$	840.00
03/12/08	B. Charhon	Draft objections and responses to Defendants' second set of interrogatories	2.00	\$	400	\$	800.00
03/13/08	L. LeClair	Continue work on discovery.	2.10	\$	700	\$	1,470.00
03/14/08	B. Charhon	Email L. LeClair and J. Naylor regarding damages interrogatories; review pleadings regarding unrelated litigation involving B. Parrish in connection with same; review letter from J. Kessler regarding H. Adderley deposition.	0.90	\$	400	\$	360.00
03/17/08	B. Charhon	Finalize responses to Defendants' damages interrogatories; prepare verification for interrogatories; exchange emails with R. Hilburt regarding same	2.00	\$	400	\$	800.00
Project Total:			9.60			\$	4,830.00
Percentage Recoverable:	75%					\$	3,622.50
Hours Billed to Project No. 205 by Co- Counsel:	0.00						

Project No. 206		Prepare Redacted Version of Class Certification Motion					
Date	Time Keeper	Description	Hours	Rate		Fee	
03/13/08	B. Charhon	Review proposed redactions to class certification motion	0.70	\$ 40	00	\$ 28	0.00
03/14/08	J. Naylor	Review motion for confidential materials.	1.90	\$ 45	50	\$ 85	5.00
03/18/08	L. LeClair	Review of motion.	0.30	\$ 70	00	\$ 21	0.00
Project Total:			2.90			\$ 1,34	5.00
Percentage Recoverable:	75%					\$ 1,00	8.75
Hours Billed to Project No. 206 by Co- Counsel:	8.50						

287224_10.XLS 128 of 306

Project No. 207		Prepare for 30(b)(6) Deposition Regarding GLA					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
02/27/08	B. Charhon	Prepare 30(b)(6) deposition notice regarding the drafting of the GLA	1.00	\$	400	\$	400.00
02/27/08	J. Naylor	Prepare deposition notice for 30(b)(6) of NFLPA.	1.00	\$	450	\$	450.00
03/24/08	L. LeClair	Review information regarding Manatt meeting; work on discovery related to GLAs.	2.40	\$	700	\$	1,680.00
03/25/08	B. Charhon	Exchange emails with J. Adler regarding GLA deposition notice; review Defendants interrogatory responses and GLA chart at request of J. Adler; telephone conference with J. Adler regarding same.	0.70	\$	400	\$	280.00
03/25/08	L. LeClair	Continue work on discovery regarding GLAs.	2.10	\$	700	\$	1,470.00
03/31/08	B. Charhon	Review correspondence from Defendants regarding GLA deposition.	0.30	\$	400	\$	120.00
04/01/08	B. Charhon	Exchange emails with J. Adler regarding compelling GLA deposition.	0.50	\$	400	\$	200.00
04/07/08	B. Charhon	Begin preparation for GLA deposition; telephone conference with J. Adler regarding same	1.00	\$	400	\$	400.00
04/08/08	B. Charhon	Review Defendants' production in preparation for GLA deposition; prepare notebook of documents for L. LeClair; multiple telephone conferences with J. Adler regarding same.	6.50	\$	400	\$	2,600.00
04/08/08	J. Naylor	Review of documents for 30(b)(6) deposition.	6.20	\$	450	\$	2,790.00
04/09/08	B. Charhon	Prepare for GLA deposition; review Defendants' production in preparation for deposition	4.00	\$	400	\$	1,600.00
04/09/08	B. Charhon	Emails and preparation for the GLA deposition.	1.10	\$	400	\$	440.00
Project Total:			26.80			\$	12,430.00
Percentage	100%					\$	12,430.00
Recoverable:							
Hours Billed to Project No. 207 by Co- Counsel:	17.00						

287224_10.XLS 129 of 306

Project No. 208		Draft Motion to Compel 30(b)(6) Deposition Regarding GLA					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
03/26/08	L. LeClair	Work on discovery disputes and GLA depositions.	3.10	\$	700	\$	2,170.00
03/28/08	B. Charhon	Draft motion to compel 30(b)(6) deposition regarding GLA; office conference with J. Naylor regarding same	4.50	\$	400	\$	1,800.00
04/02/08	J. Naylor	Prepare motion to compel.	6.20	\$	450	\$	2,790.00
Project Total:			13.80			\$	6,760.00
Percentage Recoverable:	100%					\$	6,760.00
Hours Billed to Project No. 208 by Co- Counsel:	0.00						

Project No. 209		Review and Analysis of Defendants Opposition to Motion for Class Certification (Filed March 28, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
03/29/08	J. Naylor	Review opponents brief and other filed	2.90	\$	450	\$	1,305.00
03/29/08	L. LeClair	Extensive review of class certification response; forward to J. Naylor; e-mails to team.	5.10	\$	700	\$	3,570.00
03/29/08	J. Naylor	Review opponents brief and other filed documents.	2.90	\$	450	\$	1,305.00
03/30/08	B. Charhon	Review and analyze Defendants' response to Plaintiffs' class certification brief; telephone conference with team regarding same	2.00	\$	400	\$	800.00
03/30/08	L. LeClair	Further review of class certification; conference call with team.	3.10	\$	700	\$	2,170.00
Project Total:			16.00			\$	9,150.00
Percentage Recoverable:	75%					\$	6,862.50
Hours Billed to Project No. 209 by Co- Counsel:	28.10						

287224_10.XLS 130 of 306

Project No. 210		April 2008 Case Management					
Date	Time Keeper	Description	Hours	Rate		Fee	
04/03/08	L. LeClair	Numerous e-mails and telephone conferences.	0.30	\$ 7	700	\$	210.00
04/09/08	J. Naylor	Review e-mails from team members.	0.40	\$ 4	150	\$	180.00
04/18/08	L. LeClair	Work on discovery.	0.80	\$ 7	700	\$	560.00
04/24/08	L. LeClair	Work on discovery issues.	2.10	\$ 7	700	\$	1,470.00
04/30/08	L. LeClair	Work on trial planning; edit deposition list; review e-mails regarding discovery.	3.10	\$ 7	700	\$	2,170.00
Project Total:			6.70			\$	4,590.00
Percentage Recoverable:	100%					\$	4,590.00
Hours Billed to Project No. 210 by Co- Counsel:	25.10						

Project No. 211		Review Opposition to Motion to Strike Declaration of Marvin Miller (Filed April 4,				
		2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
04/02/08	B. Charhon	Review opposition to motion to strike declaration of M. Miller	0.30	\$ 400	\$	120.00
Project Total:			0.30		\$	120.00
Percentage	75%				\$	90.00
Recoverable:						
Hours Billed to Project No. 211 by Co- Counsel:	13.40					

287224_10.XLS 131 of 306

Project No. 212		Prepare Plaintiff's Reply in Support of Motion for Class Certification (Filed April 4, 2008)					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
03/24/08	J. Naylor	Research regarding reply brief to certification motion.	2.10	\$	450	\$	945.00
03/26/08	J. Naylor	Legal research regarding numerous legal issues in preparation for reply brief.	8.00	\$	450	\$	3,600.00
03/27/08	J. Naylor	Prepare reply brief.	5.90	\$	450	\$	2,655.00
03/28/08	J. Naylor	Research in preparation of reply brief.	5.80	\$	450	\$	2,610.00
03/29/08	J. Naylor	Prepare reply brief.	9.30	\$	450	\$	4,185.00
03/30/08	J. Naylor	Further draft of reply brief.	4.80	\$	450	\$	2,160.00
03/31/08	B. Charhon	Review and revise reply to defendants opposition to class certification; identify deposition testimony to incorporate into reply brief	2.00	\$	400	\$	800.00
03/31/08	L. LeClair	Work on reply regarding class certification; conference with J. Naylor.	4.50	\$	700	\$	3,150.00
03/31/08	J. Naylor	Further revisions to reply brief.	8.90	\$	450	\$	4,005.00
04/01/08	B. Charhon	Review emails regarding reply brief	0.50	\$	400	\$	200.00
04/01/08	J. Naylor	Work on reply brief.	8.50	\$	450	\$	3,825.00
04/01/08	L. LeClair	Work on class certification reply brief.	3.20	\$	700	\$	2,240.00
04/02/08	B. Charhon	Review and revise class certification reply brief	1.50	\$	400	\$	600.00
04/02/08	L. LeClair	Work on class certification reply brief.	3.30	\$	700	\$	2,310.00
04/02/08	J. Naylor	Work on reply brief.	1.50	\$	450	\$	675.00
04/03/08	L. LeClair	Work on class certification reply brief.	1.80	\$	700	\$	1,260.00
04/03/08	J. Naylor	Work on reply brief.	10.80	\$	450	\$	4,860.00
04/04/08	J. Naylor	Work on reply brief.	6.10	\$	450	\$	2,745.00
Project Total:			88.50			\$	42,825.00
Percentage Recoverable:	75%					\$	32,118.75
Hours Billed to Project No. 212 by Co- Counsel:	98.60						

287224_10.XLS 132 of 306

Project No. 213		Prepare Declaration of Ronald Katz in Support of Motion for Class Certification (Filed April 4, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	75%				\$ -
TT D'11 1	10.20				
Hours Billed to Project No. 213 by Co- Counsel:	10.30				

Project No. 214		Attend Depositions of W. Friss and A. Zucker			
		(April 4, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
04/04/08	B. Charhon	Attend depositions of W. Friss and A. Zucker.	7.50	\$ 400	\$ 3,000.00
04/04/08	L. LeClair	Attend deposition of Topps (W. Friss and Zucker) in New York; e-mail to team regarding deposition.	7.50	\$ 700	\$ 5,250.00
Project Total:			15.00		\$ 8,250.00
Percentage Recoverable:	100%				\$ 8,250.00
Hours Billed to Project No. 214 by Co- Counsel:	0.00				

Project No. 215		Prepare Privilege Log			
Date	Time Keeper	Description	Hours	Rate	Fee
05/07/08	B. Charhon	Review correspondence regarding privilege logs.	0.20	\$ 400	\$ 80.00
Project Total:			0.20		\$ 80.00
Percentage	100%				\$ 80.00
Recoverable:					
Hours Billed to	24.30				
Project No. 215 by Co-					
Counsel:					

287224_10.XLS 133 of 306

Project No. 216		Review and Analysis of Defendants' Opposition to Motion for Class Certification			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	75%				\$ -
Recoverable:					
Hours Billed to	16.70				
Project No. 216 by Co-					
Counsel:					

Project No. 217		Review Topps' Production for Deficiencies			
Date	Time Keeper	Description	Hours	Rate	Fee
04/07/08	B. Charhon	Review Topps' production for document deficiencies based on testimony from deposition; office conference with K. Sherrill regarding comparison of Topps' production to Defendants' production; exchange emails with L. LeClair regarding document issues;	3.00	\$ 400	\$ 1,200.00
Project Total:			3.00		\$ 1,200.00
Percentage Recoverable:	100%				\$ 1,200.00
Hours Billed to Project No. 217 by Co- Counsel:	1.60				

287224_10.XLS 134 of 306

Project No. 218		Prepare for Deposition of J. Nahra					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
04/02/08	K. Sherrill	Edit deposition notice.	0.40	\$	180	\$	72.00
04/03/08	K. Sherrill	Prepare deposition notice for J. Nahra for J. Naylor.	0.70	\$	180	\$	126.00
04/07/08	K. Sherrill	Assist J. Naylor with the preparation of deposition of J. Nahra	2.90	\$	180	\$	522.00
04/07/08	J. Naylor	Review of documents for 30(b)(6) deposition.	11.20	\$	450	\$	5,040.00
04/07/08	J. Naylor	Conferences with B. Charhon regarding same.	0.90	\$	450	\$	405.00
04/08/08	L. LeClair	Work on J. Nahra deposition.	2.90	\$	700	\$	2,030.00
04/09/08	L. LeClair	Prepare for J. Nahra deposition	5.20	\$	700	\$	3,640.00
04/11/08	K. Sherrill	Review pleading for materials to assist J. Naylor.	0.40	\$	180	\$	72.00
04/11/08	L. LeClair	Work on discovery issues regarding J. Nahra.	1.10	\$	700	\$	770.00
04/14/08	L. LeClair	Negotiate deposition date for J. Nahra.	0.40	\$	700	\$	280.00
04/14/08	L. LeClair	Prepare for J. Nahra deposition.	2.60	\$	700	\$	1,820.00
04/15/08	K. Sherrill	Preparation for the deposition of J. Nahra.	1.40	\$	180	\$	252.00
04/15/08	L. LeClair	Prepare for J. Nahra deposition.	4.10	\$	700	\$	2,870.00
Project Total:			34.20			\$	17,899.00
Percentage	100%					\$	17,899.00
Recoverable:							
Hours Billed to Project No. 218 by Co-	1.10						
Counsel:							

Project No. 219		Attend Deposition of J. Nahra (April 16, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
04/16/08	L. LeClair	Attend deposition of J. Nahra in Washington DC.	7.00	\$ 700	\$	4,900.00
Project Total:			7.00		\$	4,900.00
Percentage Recoverable:	100%				\$	4,900.00
Hours Billed to Project No. 219 by Co- Counsel:	0.80					

287224_10.XLS 135 of 306

Project No. 219(A)		Review Deposition Transcript of J. Nahra			
Date	Time Keeper	Description	Hours	Rate	Fee
04/17/08	L. LeClair	Follow up to J. Nahra deposition; review of transcript.	0.40	\$ 700	\$ 280.00
04/21/08	J. Naylor	Review J. Nahra deposition.	0.80	\$ 450	\$ 360.00
05/05/08	B. Charhon	Review and analyze deposition transcript of J. Nahra	1.50	\$ 400	\$ 600.00
Project Total:			2.70		\$ 1,240.00
Percentage Recoverable:	100%				\$ 1,240.00
Hours Billed to Project No. 219 by Co- Counsel:	0.00				

Project No. 220		Preliminary Research Regarding Issues Likely					
		to be Raised on Summary Judgment					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
04/09/08	J. Naylor	Begin legal research regarding summary judgment.	3.00	\$	450	\$	1,350.00
04/10/08	J. Naylor	Legal research regarding third party beneficiary doctrine.	5.20	\$	450	\$	2,340.00
04/11/08	J. Naylor	Legal research regarding incidental beneficiary, contract, inter-production, internet.	4.70	\$	450	\$	2,115.00
04/14/08	J. Naylor	Legal research regarding third party beneficiary.	4.80	\$	450	\$	2,160.00
04/14/08	J. Naylor	Legal research regarding principal/agent claims in preparation for motion for summary judgment.	2.50	\$	450	\$	1,125.00
04/15/08	J. Naylor	Further research regarding summary judgment.	1.50	\$	450	\$	675.00
04/17/08	J. Naylor	Continue research regarding contract construction for summary judgment.	5.20	\$	450	\$	2,340.00
04/18/08	J. Naylor	Continue research regarding summary judgment.	3.00	\$	450	\$	1,350.00
04/21/08	J. Naylor	Review principal agent relationship regarding licenses for summary judgment.	3.40	\$	450	\$	1,530.00
05/29/08	J. Naylor	Telephone conference with other counsel regarding summary judgment.	0.30	\$	450	\$	135.00
06/01/08	J. Naylor	E-mails with co-counsel regarding summary judgment.	0.80	\$	450	\$	360.00
Project Total:			34.40			\$	15,480.00
Percentage Recoverable:	100%					\$	15,480.00
Hours Billed to Project No. 220 by Co-	0.00						
Counsel:							

287224_10.XLS 136 of 306

Project No. 221		Prepare for Class Certification Hearing					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
04/07/08	L. LeClair	Prepare outline and work on class certification.	2.60	\$	700	\$	1,820.00
04/08/08	L. LeClair	Prepare for class certification hearing.	1.40	\$	700	\$	980.00
04/09/08	K. Sherrill	Emails regarding case law with J. Naylor	0.20	\$	180	\$	36.00
04/11/08	C. Alaniz	Research and organize cases cited in Motion to Certify, Motion in Opposition and Reply Brief for J. Naylor's review.	7.20	\$	85	\$	612.00
04/11/08	L. LeClair	Work on class certification.	2.60	\$	700	\$	1,820.00
04/14/08	L. LeClair	E-mails regarding class certification hearing.	0.20	\$	700	\$	140.00
04/15/08	C. Alaniz	Research and organize cases cited in Motion to Certify, Motion in Opposition and Reply Brief for J. Naylor's review.	4.10	\$	85	\$	348.50
04/17/08	L. LeClair	Work on class certification.	2.90	\$	700	\$	2,030.00
04/18/08	L. LeClair	Work on class certification.	1.50	\$	700	\$	1,050.00
04/20/08	L. LeClair	Work on class certification.	5.10	\$	700	\$	3,570.00
04/21/08	L. LeClair	Prepare for class certification hearing.	2.90	\$	700	\$	2,030.00
04/22/08	L. LeClair	Prepare for class certification hearing.	4.20	\$	700	\$	2,940.00
04/23/08	L. LeClair	Meeting with R. Katz; prepare for class certification hearing.	7.40	\$	700	\$	5,180.00
04/24/08	L. LeClair	Conference with R. Katz in preparaton for class certification hearing.	4.50	\$	700	\$	3,150.00
04/16/08	J. Naylor	Review cases in preparation for certification hearing.	3.70	\$	450	\$	1,665.00
04/23/08	J. Naylor	Legal research for L. LeClair's presentation at certification hearing.	1.40	\$	450	\$	630.00
04/23/08	J. Naylor	Conference with L. LeClair regarding same.	0.30	\$	450	\$	135.00
04/23/08	J. Naylor	Forward evidence regarding same.	0.40	\$	450	\$	180.00
Project Total:			52.60			\$	28,316.50
Percentage Recoverable:	75%					\$	21,237.38
Hours Billed to Project No. 221 by Co- Counsel:	34.30						

287224_10.XLS 137 of 306

Project No. 222		Attend Class Certification Hearing (Date)				
Date	Time Keeper	Description	Hours	Rate	Fee	
04/24/08	L. LeClair	Attend class certification hearing in California.	2.50	\$ 700	\$	1,750.00
05/07/08	B. Charhon	Review transcript from class certification hearing	0.50	\$ 400	\$	200.00
Project Total:			3.00		\$	1,950.00
Percentage	75%				\$	1,462.50
Recoverable:						
Hours Billed to	17.20					
Project No. 222 by Co-	1					
Counsel:						

Project No. 223		Prepare Third Set of Requests for Admissions to NFLPA (Served April 23. 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
04/18/08	J. Naylor	Create new discovery requests.	0.50	\$ 450	\$	225.00
Project Total:			0.50		\$	225.00
Percentage Recoverable:	100%				\$	225.00
Hours Billed to Project No. 223 by Co- Counsel:	0.00					

Project No. 224		Prepare Third Set of Requests for Admissions to Players, Inc. (Served April 23, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 224 by Co- Counsel:	0.00				

287224_10.XLS 138 of 306

Project No. 225		Prepare Supplemental Requests for Production to Defendants (Served April 23, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 225 by Co- Counsel:	3.70				

Project No. 226		Prepare Plaintiffs' Disclosure of Issues on Which They Will Offer Expert Testimony (April 25, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 226 by Co- Counsel:	6.30				

Project No. 227		Review and Analysis of Certification Order (Issued April 29, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
04/29/08	L. LeClair	Review order from Judge Alsup certifying class; plan further case strategy and actions.	2.80	\$ 700	\$ 1,960.00
Project Total:			2.80		\$ 1,960.00
Percentage	75%				\$ 1,470.00
Recoverable:					
Hours Billed to Project No. 227 by Co- Counsel:	32.30				

287224_10.XLS 139 of 306

Project No. 228		May 2008 Case Management and Miscellaneous					
Date	Time Keeper Description	Hours	Rate		Fee		
05/01/08	L. LeClair	Review of outstanding tasks; plan trial planning meeting.	2.10	\$	700	\$	1,470.00
05/01/08	L. LeClair	E-mail to Manatt team regarding case and meeting.	0.10	\$	700	\$	70.00
05/02/08	B. Charhon	Review standing order on pre-trial issues.	0.50	\$	400	\$	200.00
05/02/08	L. LeClair	Conference with J. Naylor regarding issues and planning; conference with B. Charhon regarding witness Haltom and proposed contact.	1.50	\$	700	\$	1,050.00
05/05/08	K. Sherrill	Review discovery issues and emails with J.Naylor and R. Hilbert regarding same; meeting with G. Ryland regarding same.	1.60	\$	180	\$	288.00
05/06/08	K. Sherrill	Emails and telephone conference regarding discovery issues.	0.40	\$	180	\$	72.00
05/16/08	L. LeClair	Meeting with R. Katz, L. Franco, N. Cohen, and R. Hilbert regarding deposition strategy and S. Saxon and potential trial witnesses.	1.50	\$	700	\$	1,050.00
05/18/08	L. LeClair	Review of outstanding tasks; plan trial planning meeting.	0.80	\$	700	\$	560.00
05/22/08	K. Sherrill	Emails regarding deposition database and review of depositions	0.20	\$	180	\$	36.00
05/22/08	C. Alaniz	Load witness deposition transcripts of D. Allen, P. Allen, Eyrich, Parrish, Linzner, Adderley, Skall, Upshaw, Friss, Nahra, and Zucker to database for team's review.	0.90	\$	85	\$	76.50
05/27/08	L. LeClair	Continue review of discovery and expert issues; plan for trial.	2.70	\$	700	\$	1,890.00
05/29/08	L. LeClair	Telephone conference with B. Charhon.	0.10	\$	700	\$	70.00
05/30/08	L. LeClair	Numerous e-mails to R. Katz and Manatt.	1.20	\$	700	\$	840.00
05/09/08	J. Naylor	Review and respond to numerous co-counsel emails.	0.50	\$	450	\$	225.00
05/20/08	J. Naylor	E-mails with K. Sherrill regarding various matters.	0.10	\$	450	\$	45.00
Project Total:			14.20			\$	7,942.50
Percentage Recoverable:	100%					\$	7,942.50
Hours Billed to Project No. 228 by Co- Counsel:	48.30						

287224_10.XLS 140 of 306

Project No. 229		Review of Defendants' Supplemental Production			
Date	Time Keeper	Description	Hours	Rate	Fee
04/15/08	J. Naylor	Review supplemental document production.	1.30	\$ 450	\$ 585.00
05/19/08	K. Sherrill	Review new productions from defendants and emails regarding missing documents.	0.90	\$ 180	\$ 162.00
Project Total:			2.20		\$ 747.00
Percentage Recoverable:	100%				\$ 747.00
Hours Billed to Project No. 229 by Co- Counsel:	10.50				

Project No. 230		Prepare for May 6, 2008 Team Strategy			
		Meeting in California			
Date	Time Keeper	Description	Hours	Rate	Fee
05/06/08	J. Naylor	Prepare for meeting with co-counsel.	4.20	\$ 450	\$ 1,890.00
05/02/08	L. LeClair	Prepare for meeting in California.	1.50	\$ 700	\$ 1,050.00
05/05/08	B. Charhon	Prepare for team status meeting	3.00	\$ 400	\$ 1,200.00
05/05/08	L. LeClair	Prepare for meeting in Palo Alto regarding trial	3.10	\$ 700	\$ 2,170.00
		planning and strategy.			
Project Total:			11.80		\$ 6,310.00
Percentage	100%				\$ 6,310.00
Recoverable:					
Hours Billed to	6.20				
Project No. 230 by Co-					
Counsel:					

287224_10.XLS 141 of 306

Project No. 231		Attend May 6, 2008 Team Meeting in California to Discuss Case Strategy, Trial Plan and Expert Discovery					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/06/08	B. Charhon	Team meeting in San Jose regarding case strategy and upcoming deliverables.	7.20	\$	400	\$	2,880.00
05/06/08	L. LeClair	Attend meeting in Palo Alto with entire team to plan experts and trial.	7.20	\$	700	\$	5,040.00
05/06/08	J. Naylor	Meeting with co-counsel regarding trial and pretrial strategy.	7.50	\$	450	\$	3,375.00
Project Total:			21.90			\$	11,295.00
Percentage Recoverable:	100%					\$	11,295.00
Hours Billed to Project No. 231 by Co- Counsel:	21.50						

Project No. 232		Prepare Response to Defendants' Third Set of Requests for Production (May 15, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
04/16/08	J. Naylor	Review new discovery requests.	0.70	\$ 450	\$ 315.00
05/01/08	L. LeClair	Work on responses to discovery.	1.20	\$ 700	\$ 840.00
05/15/08	J. Naylor	Review and revise further discovery responses.	1.50	\$ 450	\$ 675.00
Project Total:			3.40		\$ 1,830.00
Percentage Recoverable:	100%				\$ 1,830.00
Hours Billed to Project No. 232 by Co- Counsel:	7.60				

287224_10.XLS 142 of 306

Project No. 233		Prepare of Proof Outline					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/06/08	B. Charhon	Begin preparation of proof outline	2.00	\$	400	\$	800.00
05/07/08	B. Charhon	Continue preparation of proof outline	3.80	\$	400	\$	1,520.00
05/08/08	B. Charhon	Continue preparation of proof outline; review	7.10	\$	400	\$	2,840.00
		depositions of D. Allen and G. Upshaw in					
		connection with same					
05/09/08	B. Charhon	Continue preparation of proof outline.	7.00	\$	400	\$	2,800.00
05/11/08	B. Charhon	Continue preparation of proof outline; review and	6.00	\$	400	\$	2,400.00
		analyze deposition of J. Linzner in connection					
		with same.					
05/12/08	B. Charhon	Continue preparation of proof outline; review	8.00	\$	400	\$	3,200.00
		deposition of J. Linzner and G. Eyrich in					
		connection with same.					
05/12/08	J. Naylor	Review draft proof outline.	1.80	\$	450	\$	810.00
05/13/08	B. Charhon	Continue preparation of proof outline.	1.50	\$	400	\$	600.00
05/13/08	C. Alaniz	Review and prepare deposition exhibits of J.	0.50	\$	85	\$	42.50
		Linzer and G. Eyrich for B. Charhon's review.					
05/14/08	C. Alaniz	Compare and revise Licensing spreadsheet with	0.50	\$	85	\$	42.50
		Parrish database for B. Charhon's review.					
05/15/08	B. Charhon	Continue preparation of proof outline.	6.50	\$	400	\$	2,600.00
05/16/08	B. Charhon	Continue preparation of proof outline.	6.00	\$	400	\$	2,400.00
05/19/08	B. Charhon	Continue preparation of proof outline; incorporate	4.00	\$	400	\$	1,600.00
		testimony of W. Friss and A. Zucker into proof					
		outline.					
05/20/08	B. Charhon	Continue preparation of proof outline.	6.00	\$	400	\$	2,400.00
05/21/08	B. Charhon	Continue preparation of proof outline; circulate	11.50	\$	400	\$	4,600.00
		same to team.					
05/21/08	J. Naylor	Review proof outline.	1.80	\$	450	\$	810.00
05/27/08	B. Charhon	Incorporate expert reports into proof outline;	6.60	\$	400	\$	2,640.00
		review and incorporate deposition of R.					
		Berthelson into proof outline					
05/28/08	B. Charhon	Continue preparation of proof outline.	6.70	\$	400	\$	2,680.00
05/29/08	B. Charhon	Continue preparation of proof outline.	3.20	\$	400	\$	1,280.00
05/30/08	B. Charhon	Continue preparation of proof outline.	3.70	\$	400	\$	1,480.00
06/02/08	B. Charhon	Continue preparation of proof outline.	5.70	\$	400	\$	2,280.00
06/04/08	B. Charhon	Continue preparation of proof outline.	3.50	\$	400	\$	1,400.00
06/05/08	B. Charhon	Finalize proof outline and circulate same to team.	6.50	\$	400	\$	2,600.00
06/12/08	B. Charhon	Review and revise proof outline.	0.30	\$	400	\$	120.00
06/17/08	L. LeClair	Review of proof outline.	1.40	\$	700	\$	980.00
07/14/08	J. Naylor	Review trial plan.	1.10	\$	450	\$	495.00
07/21/08	B. Charhon	Review and revise proof outline.	2.00	\$	400	\$	800.00
07/23/08	A. Garza	Prepare exhibits that go with proof outline.	0.50	\$	375	\$	187.50
08/05/08	J. Naylor	Review proof outline and pertinant documents.	5.80	\$	450	\$	2,610.00

287224_10.XLS 143 of 306

08/08/08	J. Naylor	Review proof outline.	1.50	\$ 450	\$ 675.00
08/25/08	B. Charhon	Begin preparing revised proof outline at request of C. Hummell.	2.50	\$ 400	\$ 1,000.00
08/26/08	B. Charhon	Prepare new proof outline based on C. Hummel's trial outline.	5.00	\$ 400	\$ 2,000.00
08/29/08	L. LeClair	Work on proof outline and trial evidence issues.	5.40	\$ 700	\$ 3,780.00
09/03/08	B. Charhon	Exchange emails with C. Hummel regarding proof outline.	0.10	\$ 400	\$ 40.00
09/16/08	B. Charhon	review and revise proof outline in preparation for New York trial strategy meeting.	3.00	\$ 400	\$ 1,200.00
Project Total:			138.50		\$ 57,712.50
Percentage Recoverable:	100%				\$ 57,712.50
** **	5.70				
Hours Billed to Project No. 233 by Co-Counsel:	6.50				

Project No. 234		Interview Sports Marketing Expert			
Date	Time Keeper	Description	Hours	Rate	Fee
05/07/08	L. LeClair	Meeting with sports marketing experts in Los Angeles.	3.70	\$ 700	\$ 2,590.00
Project Total:			3.70		\$ 2,590.00
Percentage	100%				\$ 2,590.00
Recoverable:					
Hours Billed to	1.00				
Project No. 234 by Co-	-				
Counsel:					

287224_10.XLS 144 of 306

Project No. 235		Prepare Class Notice					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
05/08/08	B. Charhon	Review draft of class notice	0.20	\$	400	\$	80.00
05/08/08	L. LeClair	Review class notice and send to Manatt team.	0.40	\$	700	\$	280.00
05/08/08	J. Naylor	Legal research regarding class notice.	2.80	\$	450	\$	1,260.00
05/08/08	J. Naylor	Draft proposed form of class notice.	1.70	\$	450	\$	765.00
05/09/08	L. LeClair	Work on class notice.	2.90	\$	700	\$	2,030.00
05/09/08	J. Naylor	Revise draft class notice.	1.00	\$	450	\$	450.00
05/09/08	J. Naylor	Create submission to court for dissemination plan.	5.40	\$	450	\$	2,430.00
05/13/08	J. Naylor	Review defendants revisions to class notice.	0.20	\$	450	\$	90.00
05/13/08	J. Naylor	E-mails with team members regarding same and dissemination plan.	0.50	\$	450	\$	225.00
05/13/08	J. Naylor	Prepare joint submission and order.	1.80	\$	450	\$	810.00
05/14/08	B. Charhon	Review emails regarding class certification notice	0.20	\$	400	\$	80.00
05/14/08	J. Naylor	Correspond with opposing counsel regarding notice, joint submission, and dissemination plan.	0.80	\$	450	\$	360.00
05/14/08	J. Naylor	Revise joint submission.	2.40	\$	450	\$	1,080.00
05/19/08	L. LeClair	Work on class notice issues.	2.70	\$	700	\$	1,890.00
05/20/08	L. LeClair	Work on class notice, and meet and confers.	0.40	\$	700	\$	280.00
05/20/08	J. Naylor	Redraft class notice and joint submission.	0.40	\$	450	\$	180.00
05/20/08	J. Naylor	Communicate with co-counsel and other counsel regarding same.	0.20	\$	450	\$	90.00
05/29/08	J. Naylor	Review defendants class notice link.	0.20	\$	450	\$	90.00
06/03/08	J. Naylor	Redraft class notice.	0.30	\$	450	\$	135.00
06/05/08	J. Naylor	Revise stipulation and class notice.	0.30	\$	450	\$	135.00
06/06/08	J. Naylor	E-mails with opposing counsel regarding stipulation and class notice.	0.80	\$	450	\$	360.00
06/13/08	J. Naylor	Correspondence with D. Greenspan regarding class notice.	0.30	\$	450	\$	135.00
06/17/08	B. Charhon	Review and revise class notice; exchange emails with opposing counsel regarding same.	0.40	\$	400	\$	160.00
08/08/08	B. Charhon	Exchange emails with R. Katz regarding class notice	0.20	\$	400	\$	80.00
08/11/08	B. Charhon	Exchange emails with J. Hannah regarding class notice	0.20	\$	400	\$	80.00
Project Total:			26.70			\$	13,555.00
Percentage Recoverable:	100%					\$	13,555.00
Hours Billed to Project No. 235 by Co- Counsel:	14.70						

287224_10.XLS 145 of 306

Project No. 236		Retain Class Administer and Correspond with Class Administrator					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/18/08	L. LeClair	E-mail to class administrator regarding notice and related issues on class certification.	0.10	\$	700	\$	70.00
05/22/08	J. Naylor	Review court's order.	0.20	\$	450	\$	90.00
05/29/08	L. LeClair	Work on issues regarding class notice and appeal.	1.40	\$	700	\$	980.00
06/09/08	B. Charhon	Exchange emails with class administrator regarding same.	0.30	\$	400	\$	120.00
06/10/08	B. Charhon	Exchange emails with class administrator.	0.30	\$	400	\$	120.00
06/13/08	B. Charhon	Email class administrator regarding spreadsheet of addresses.	0.20	\$	400	\$	80.00
06/17/08	B. Charhon	Exchange emails with class administrator regarding class notice.	0.20	\$	400	\$	80.00
06/20/08	B. Charhon	Exchange emails with class administrator regarding class notice.	0.20	\$	400	\$	80.00
07/02/08	B. Charhon	Telephone conference with class administrator regarding status of class mailing; email team regarding same.	0.50	\$	400	\$	200.00
07/21/08	B. Charhon	Exchange emails with class administrator; exchange emails with L. LeClair regarding same.	0.30	\$	400	\$	120.00
07/22/08	B. Charhon	Multiple telephone calls with class administrator regarding status of mailing; exchange emails with class administrator regarding same.	0.50	\$	400	\$	200.00
08/22/08	B. Charhon	Exchange emails with class administrator.	0.20	\$	400	\$	80.00
09/09/08	B. Charhon	Exchange emails with class administrator regarding opt-outs.	0.20	\$	400	\$	80.00
09/10/08	B. Charhon	Exchange emails with J. Naylor and administrator regarding opt-outs.	0.30	\$	400	\$	120.00
Project Total:		 	4.90			\$	2,420.00
Percentage Recoverable:	100%					\$	2,420.00
Hours Billed to Project No. 236 by Co- Counsel:	0.00						

287224_10.XLS 146 of 306

Project No. 237		Work with Counsel for Defendants Regarding Preparation of Class List					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/21/08	J. Naylor	Telephone conference with opposing counsel regarding class notice and list of addresses.	0.90	\$	450	\$	405.00
05/21/08	J. Naylor	Discuss with team members regarding same and strategy.	0.50	\$	450	\$	225.00
05/21/08	J. Naylor	Arrange conference call with co-counsel.	0.40	\$	450	\$	180.00
05/22/08	J. Naylor	E-mail with opposing counsel regarding players' addresses.	0.40	\$	450	\$	180.00
05/22/08	J. Naylor	Coordinate player list with master list of GLAs with K. Sherrill.	1.30	\$	450	\$	585.00
05/23/08	J. Naylor	Meet with K. Sherrill regarding retired players list.	0.40	\$	450	\$	180.00
05/30/08	J. Naylor	Coordinate notice list with B. Charhon.	0.60	\$	450	\$	270.00
06/03/08	J. Naylor	Telephone conference with D. Greenspan regarding summary judgment and regarding class notices.	0.50	\$	450	\$	225.00
06/03/08	J. Naylor	Prepare letter regarding same.	0.50	\$	450	\$	225.00
06/03/08	J. Naylor	Draft stipulation and proposed order.	2.10	\$	450	\$	945.00
06/03/08	J. Naylor	Coordinate players addresses with opposing counsel and with K. Sherrill.	0.80	\$	450	\$	360.00
Project Total:			8.40			\$	3,780.00
Percentage Recoverable:	100%					\$	3,780.00
Hours Billed to Project No. 237 by Co- Counsel:	0.00						

287224_10.XLS 147 of 306

Project No. 238		Prepare Class List					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
05/22/08	K. Sherrill	Emails regarding GLAs and class notices; review chart of player list and GLAs;	1.20	\$	180	\$	216.00
05/23/08	B. Sanders	Create, review and edit list of class members.	5.80	\$	85	\$	493.00
05/27/08	K. Sherrill	Edit and update class list.	4.80	\$	180	\$	864.00
05/27/08	B. Sanders	Create, review and edit list of class members.	6.90	\$	85	\$	586.50
06/02/08	B. Sanders	Create, review and edit list of class members.	7.30	\$	85	\$	620.50
06/03/08	B. Sanders	Create, review and edit list of class members.	7.20	\$	85	\$	612.00
06/04/08	B. Sanders	Create, review and edit list of class members.	6.50	\$	85	\$	552.50
06/05/08	K. Sherrill	Telephone conference with B. Charhon regarding review of GLAs; meeting with B. Sanders and B. Charhon regarding same; review of GLAs	7.20	\$	180	\$	1,296.00
06/05/08	B. Sanders	Create, review and edit list of class members.	8.80	\$	85	\$	748.00
06/06/08	K. Sherrill	Review and edit class chart regarding type and date of GLA.	5.40	\$	180	\$	972.00
06/06/08	B. Sanders	Create, review and edit list of class members.	7.10	\$	85	\$	603.50
06/12/08	K. Sherrill	Edit and revise list for class notification	3.10	\$	180	\$	558.00
10/06/08	B. Charhon	Coordinate preparation of list of class members	1.50	\$	400	\$	600.00
10/07/08	B. Charhon	Coordinate preparation of list of class members	0.50	\$	400	\$	200.00
Project Total:			73.30			\$	8,922.00
Percentage Recoverable:	100%					\$	8,922.00
Hours Billed to Project No. 238 by Co- Counsel:	1.50						

Project No. 239		Meet and Confer with Defendants' Counsel			
		Regarding Discovery <u>D</u> isputes			
Date	Time Keeper	Description	Hours	Rate	Fee
05/29/08	L. LeClair	Extensive work on pending discovery disputes.	2.70	\$ 700	\$ 1,890.00
05/30/08	L. LeClair	Continue work on meet and confers regarding discovery disputes.	1.70	\$ 700	\$ 1,190.00
06/02/08	J. Naylor	E-mail to opposing counsel regarding summary judgment.	0.40	\$ 450	\$ 180.00
Project Total:			4.80		\$ 3,260.00
Percentage	100%				\$ 3,260.00
Recoverable:					
Hours Billed to	4.30				
Project No. 239 by Co-					
Counsel:					

287224_10.XLS 148 of 306

Project No. 240		Prepare for Deposition of R. Berthelsen					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
05/09/08	L. LeClair	Prepare for R. Berthelsen deposition, including arrangements to take deposition in DC.	1.40	\$	700	\$	980.00
05/10/08	L. LeClair	Review of R. Berthelsen documents.	2.90	\$	700	\$	2,030.00
05/11/08	L. LeClair	Continue review of R. Berthelsen documents and prepare for deposition.	3.10	\$	700	\$	2,170.00
05/12/08	K. Sherrill	Assist L. LeClair with preparation for the deposition of R. Berthelsen; prepare deposition notice regarding same; telephone conference with court reporter for the R. Berthelsen deposition.	3.60	\$	180	\$	648.00
05/12/08	L. LeClair	Prepare for R. Berthelsen deposition.	4.20	\$	700	\$	2,940.00
Project Total:			15.20			\$	8,768.00
Percentage Recoverable:	100%					\$	8,768.00
Hours Billed to Project No. 240 by Co- Counsel:	0.00						

Project No. 241		Attend Deposition of R. Berthelsen (May 13, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/13/08	L. LeClair	Attend R. Berthelsen deposition in DC.	7.20	\$ 700	\$ 5,04	40.00
Project Total:			7.20		\$ 5,04	10.00
Percentage Recoverable:	100%				\$ 5,04	10.00
Hours Billed to Project No. 241 by Co- Counsel:	0.00					

287224_10.XLS 149 of 306

Project No. 242		Respond to Discovery Served by Defendants					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/12/08	J. Naylor	Review and update all discovery responses.	1.20	\$	450	\$	540.00
05/12/08	J. Naylor	Draft response to third and fourth set of interrogatories.	1.70	\$	450	\$	765.00
05/14/08	L. LeClair	Work on discovery responses.	3.10	\$	700	\$	2,170.00
05/15/08	J. Naylor	Revise request for admissions regarding H. Adderley testimony.	0.90	\$	450	\$	405.00
05/15/08	J. Naylor	Telephone conferences with B. Charhon regarding same.	0.40	\$	450	\$	180.00
Project Total:			7.30			\$	4,060.00
Percentage Recoverable:	100%					\$	4,060.00
Hours Billed to Project No.242 by Co- Counsel:	17.40						

Project No. 243		Research Regarding Fiduciary Duty Claims			
Date	Time Keeper	Description	Hours	Rate	Fee
05/14/08	B. Charhon	Office conference with J. Adler regarding fiduciary duty claims; email L. LeClair and J. Adler regarding alternate fiduciary duty claims.	0.30	\$ 400	\$ 120.00
Project Total:			0.30		\$ 120.00
Percentage Recoverable:	100%				\$ 120.00
Hours Billed to Project No. 243 by Co- Counsel:	2.90				

287224_10.XLS 150 of 306

Project No. 244		Review and Analysis of Defendants Rule 26 Disclosures				
Date	Time Keeper	Description	Hours	Rate	Fee	
05/29/08	B. Charhon	Review Defendants' rule 26(a)(1) disclosures and draft letter to opposing counsel regarding same	1.60	\$ 400	\$	640.00
05/30/08	J. Naylor	E-mails with team members.	0.30	\$ 450	\$	135.00
Project Total:			1.90		\$	775.00
Percentage Recoverable:	100%				\$	775.00
Hours Billed to Project No. 244 by Co- Counsel:	0.90					

Project No. 245		Confer with Defendants' Counsel Regarding Issues Related to G. Upshaw's Compensation				
Date	Time Keeper	Description	Hours	Rate	Fee	
06/05/08	L. LeClair	Review court order on hearing on G. Upshaw compensation and discuss with Manatt team.	0.70	\$ 700	\$	490.00
Project Total:			0.70		\$	490.00
Percentage Recoverable:	100%				\$	490.00
Hours Billed to Project No. 245 by Co- Counsel:	34.90					

287224_10.XLS 151 of 306

Project No. 246		Prepare Appeal of Class Certification Ruling			
Date	Time Keeper	Description	Hours	Rate	Fee
05/13/08	J. Naylor	Review defendants petition for permission to appeal.	0.50	\$ 450	\$ 225.00
05/13/08	J. Naylor	Legal research regarding same.	2.80	\$ 450	\$ 1,260.00
05/13/08	J. Naylor	Begin draft of response to appeal.	4.40	\$ 450	\$ 1,980.00
05/22/08	J. Naylor	Review opposition to petition for permission to appeal.	0.50	\$ 450	\$ 225.00
Project Total:			8.20		\$ 3,690.00
Percentage	0%				\$ -
Recoverable:					
Hours Billed to Project No. 246 by Co-	0.00				
Counsel:					

Project No. 247		Prepare Responses to Defendants Fourth Set of Interrogatories (Served May 21, 2008)					
Date	Time Keeper	Description	Hours	Rate	2	Fee	
05/13/08	B. Charhon	Draft responses to PI's third set of interrogatories; telephone conference with J. Adler regarding same	3.00	\$	400	\$	1,200.00
05/14/08	B. Charhon	Review and revise plaintiffs' responses to defendants third and fourth sets of interrogatories.	1.10	\$	400	\$	440.00
05/15/08	B. Charhon	Email team regarding draft interrogatory responses; exchange emails with L. LeClair regarding response to interrogatory no. 14.	0.60	\$	400	\$	240.00
Project Total:			4.70			\$	1,880.00
Percentage Recoverable:	100%					\$	1,880.00
Hours Billed to Project No. 247 by Co- Counsel:	0.00						

287224_10.XLS 152 of 306

Project No. 248		Prepare Supplemental Responses to Defendants' First and Second Sets of Interrogatories and Admission (Served May 21, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
05/15/08	B. Charhon	Review supplemental responses to Defendants' second set of requests for admission; telephone conference with J. Naylor regarding same; review deposition testimony and errata of H. Adderley in connection with same	1.40	\$	400	\$	560.00
05/20/08	L. LeClair	Extensive work on close of discovery responses.	4.20	\$	700	\$	2,940.00
05/23/08	L. LeClair	Work on close of discovery responses; file responses and prepare for expert discovery.	1.00	\$	700	\$	700.00
Project Total:			6.60			\$	4,200.00
Percentage Recoverable:	100%					\$	4,200.00
Hours Billed to Project No.248 by Co- Counsel:	9.60						

Project No. 249		Attend Sports Law Conference			
Date	Time Keeper	Description	Hours	Rate	Fee
05/15/08	L. LeClair	Meeting with Manatt; conference with R. Katz and R. Hilbert	3.50	\$ 700	\$ 2,450.00
05/16/08	L. LeClair	Attend Sports Law Conference for argument with J. Kessler.	3.80	\$ 700	\$ 2,660.00
Project Total:			7.30		\$ 5,110.00
Percentage Recoverable:	0%				\$ -
Hours Billed to Project No.249 by Co- Counsel:	0.00				

287224_10.XLS 153 of 306

Project No. 250		Begin Preparation of Expert Reports					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/01/08	L. LeClair	Work on expert reports.	0.90	\$	700	\$	630.00
05/02/08	L. LeClair	Review of proposed experts and potential trial witnesses.	0.60	\$	700	\$	420.00
05/14/08	L. LeClair	Preparation of expert report outline.	1.80	\$	700	\$	1,260.00
05/18/08	L. LeClair	Work on expert reports.	1.40	\$	700	\$	980.00
05/19/08	L. LeClair	Work on expert issues.	0.70	\$	700	\$	490.00
05/20/08	B. Charhon	Review expert reports of M. Miller, D. Rashcer and P. Rowley	1.50	\$	400	\$	600.00
05/20/08	L. LeClair	Work on expert reports.	1.10	\$	700	\$	770.00
05/20/08	L. LeClair	Prepare for expert depositions.	0.40	\$	700	\$	280.00
05/21/08	L. LeClair	Extensive work on expert reports; telephone conference with R. Katz regarding M. Miller and potential need to drop him; conference with J. Naylor regarding M. Miller and further amend M. Miller report; conference regarding Rascher report; review of Rowley.	5.90	\$	700	\$	4,130.00
05/22/08	B. Charhon	Review and respond to emails regarding draft expert reports; review revised drafts of expert reports	0.80	\$	400	\$	320.00
05/22/08	L. LeClair	Extensive review and discussion of expert reports.	5.20	\$	700	\$	3,640.00
05/22/08	L. LeClair	Conference call regarding M. Miller.	0.20	\$	700	\$	140.00
05/23/08	L. LeClair	Extensive conference call with experts; finalize reports.	5.30	\$	700	\$	3,710.00
05/24/08	L. LeClair	Telephone conference with R. Katz regarding expert reports and punitive damages; review of potential issues regarding damages and potential amendment of Rowley report.	1.30	\$	700	\$	910.00
05/26/08	L. LeClair	Continue review of expert reports; discovery, and trial planning.	3.20	\$	700	\$	2,240.00
06/17/08	B. Charhon	Review emails regarding expert depositions	0.20	\$	400	\$	80.00
Project Total:			30.50			\$	20,600.00
Percentage Recoverable:	100%					\$	20,600.00
Hours Billed to Project No. 250 by Co Counsel:	35.10						

287224_10.XLS 154 of 306

Project No. 252		June 2008 Case Management and					
		Miscellaneous					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/02/08	B. Charhon	Email L. LeClair and J. Adler regarding problems with class definition; review appellate briefing in connection with same; exchange correspondence with team regarding same; conference call with team regarding same; review correspondence from team regarding Defendants' motion for a page extension	1.80	\$	400	\$	720.00
06/02/08	C. Alaniz	Confer with court reporter regarding A. Zucker's deposition exhibits.	0.10	\$	85	\$	8.50
06/03/08	C. Alaniz	Review and download deponent R. Berthelsen exhibits to database.	2.60	\$	85	\$	221.00
06/04/08	B. Charhon	Review and respond to numerous emails regarding the definition of the class and the proposed changes to same	0.50	\$	400	\$	200.00
06/04/08	L. LeClair	Work on potential witnesses for trial.	0.80	\$	700	\$	560.00
06/05/08	L. LeClair	Work on discovery responses, summary judgment and class certification and stipulation.	1.40	\$	700	\$	980.00
06/06/08	B. Charhon	Review correspondence regarding joint stipulation amending class definition	0.50	\$	400	\$	200.00
06/09/08	A. Garza	Review pleadings; talk with J. Naylor about the overview of the case.	1.20	\$	375	\$	450.00
06/09/08	L. LeClair	Continue discovery wrangling with opposing counsel; meeting with B. Charhon regarding issues.	0.30	\$	700	\$	210.00
06/10/08	B. Charhon	Office conference with J. Naylor regarding potential argument relating to Topps agreement; draft email to R. Hilburt and L. LeClair regarding same	1.00	\$	400	\$	400.00
06/23/08	L. LeClair	Call with B. Lynch.	0.50	\$	700	\$	350.00
06/27/08	L. LeClair	Work on witness preparation and selection, trial preparation, etc.	2.40	\$	700	\$	1,680.00
Project Total:			13.10			\$	5,979.50
Percentage Recoverable:	100%					\$	5,979.50
Hours Billed to Project No. 252 by Co- Counsel:	30.80						

287224_10.XLS 155 of 306

Project No. 253		Prepare Supplemental Responses to Defendants' Fourth Set of Interrogatories (Served June 3, 2008)					
Date	Time Keeper	Description	Hours	Rat		Fee	
05/28/08	B. Charhon	Review correspondence regarding Plaintiff's response to interrogatory no. 14 and Plaintiffs' request for additional depositions	0.30	\$	400	\$	120.00
05/30/08	J. Naylor	Review discovery responses.	0.50	\$	450	\$	225.00
06/03/08	B. Charhon	Review draft supplemental response to interrogatory no. 14; email L. LeClair and J. Adler regarding same; revise response to interrogatory no. 14; telephone conference with team regarding same.	1.50	\$	400	\$	600.00
06/03/08	L. LeClair	Work on discovery responses, particularly interrogatory 14 and issues re "utilization" of retired player images without payment; telephone conference with B. Charhon and R. Hilbert regarding issue; conference call to discuss discovery responses; edit and revise supplemental responses.	5.70	\$	700	\$	3,990.00
Project Total:			8.00			\$	4,935.00
Percentage Recoverable:	100%					\$	4,935.00
Hours Billed to Project No. by Co- Counsel:	12.30						

287224_10.XLS 156 of 306

Project No. 254		Edit and Reconcile Expert's Class List			
Date	Time Keeper	Description	Hours	Rate	Fee
06/10/08	B. Sanders	Reconcile expert's class list with plaintiffs' list.	6.40	\$ 85	\$ 544.00
06/11/08	B. Sanders	Reconcile expert's class list with plaintiffs' list.	5.10	\$ 85	\$ 433.50
06/12/08	B. Sanders	Reconcile expert's class list with plaintiffs' list.	3.50	\$ 85	\$ 297.50
06/13/08	B. Sanders	Reconcile expert's class list with plaintiffs' list.	3.30	\$ 85	\$ 280.50
06/16/08	B. Charhon	Telephone conference with B. Sanders regarding discrepancies in P. Rowley's report	0.50	\$ 400	\$ 200.00
06/16/08	B. Sanders	Review expert's class list and plaintiffs' class list for discrepancies as requested by B. Charhon	1.10	\$ 85	\$ 93.50
09/09/08	B. Charhon	Telephone conference with S. Girard regarding Rowley's chart of retired players who signed GLAs	0.20	\$ 400	\$ 80.00
Project Total:			20.10		\$ 1,929.00
Percentage Recoverable:	100%				\$ 1,929.00
Hours Billed to Project No. 254 by Co- Counsel:	0.00				

Project No. 255		Analyze Effects of Opt-Out Deadline			
Date	Time Keeper	Description	Hours	Rate	Fee
06/13/08	B. Charhon	Exchange emails with L. LeClair and J. Adler regarding opt-out deadline	0.20	\$ 400	\$ 80.00
Project Total:			0.20		\$ 80.00
Percentage	100%				\$ 80.00
Recoverable:					
Hours Billed to	0.00				
Project No. 255 by Co-					
Counsel:					

287224_10.XLS 157 of 306

Project No. 256		Analyze Class Notice Issues					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/05/08	J. Naylor	Meeting with L. LeClair and B. Charhon regarding strategy on class notice.	0.30	\$	450	\$	135.00
05/08/08	J. Naylor	Review e-mails from team members regarding various matters.	0.20	\$	450	\$	90.00
05/09/08	J. Naylor	Telephone conference with D. Greenspan regarding same.	0.50	\$	450	\$	225.00
05/09/08	J. Naylor	Research class notice and due process.	1.20	\$	450	\$	540.00
05/14/08	J. Naylor	Legal research regarding publication requirement of class notice.	0.80	\$	450	\$	360.00
05/20/08	J. Naylor	Review court order regarding class notice.	0.20	\$	450	\$	90.00
05/28/08	J. Naylor	Review and respond to team e-mails regarding class notice and other matters.	0.90	\$	450	\$	405.00
06/02/08	L. LeClair	E-mails to J. Naylor regarding issue on class notice; review of notice and Judge Alsup order; set up conference call to discuss with Manatt; conference call with Manatt regarding class notice and related issues.	2.50	\$	700	\$	1,750.00
06/02/08	J. Naylor	Review and respond to numerous e-mails regarding various matters.	0.70	\$	450	\$	315.00
06/02/08	J. Naylor	Conference call regarding class notice.	0.60	\$	450	\$	270.00
06/03/08	L. LeClair	Work on issues regarding class certification and notice.	0.40	\$	700	\$	280.00
06/04/08	L. LeClair	Work on class notice and stipulation definition of class and inclusion of "exclusive" GLAs.	1.30	\$	700	\$	910.00
06/06/08	L. LeClair	Class notice and certification issues including "exclusive" GLAs; telephone conference with B. Charhon regarding G. Upshaw hearing; telephone conference with R. Katz regarding G. Upshaw hearing and L. LeClair attendance.	1.10	\$	700	\$	770.00
06/06/08	L. LeClair	Telephone conference with J. Naylor regarding class notice and D. Greenspan conversation.	0.20	\$	700	\$	140.00
06/06/08	J. Naylor	Review orders from court.	1.00	\$	450	\$	450.00
06/06/08	J. Naylor	Review and respond to e-mails regarding various issues to co-counsel.	1.00	\$	450	\$	450.00
06/13/08	L. LeClair	Work on class notice.	0.40	\$	700	\$	280.00
Project Total:			13.30			\$	7,460.00
Percentage Recoverable:	100%					\$	7,460.00
Hours Billed to Project No. 256 by Co Counsel:	12.20						

287224_10.XLS 158 of 306

Project No. 257		Coordinate Class Mailing			
Date	Time Keeper	Description	Hours	Rate	Fee
05/22/08	B. Charhon	Exchange emails with J. Adler regarding class certification mailing	0.20	\$ 400	\$ 80.00
05/27/08	B. Charhon	Coordinate preparation of addresses for class notice mailing	0.80	\$ 400	\$ 320.00
05/28/08	B. Charhon	Coordinate preparation of addresses for class notice mailing	1.00	\$ 400	\$ 400.00
05/28/08	K. Sherrill	Review and compare the class address list.	6.60	\$ 180	\$ 1,188.00
05/28/08	C. Alaniz	Compare and revise Master Retired Players' Addresses index for attorney's review.	6.40	\$ 85	\$ 544.00
05/29/08	K. Sherrill	Review edit and update class addresses.	2.10	\$ 180	\$ 378.00
05/29/08	C. Alaniz	Continue to compare and revise Master Retired Players' Addresses index for attorney's review.	7.60	\$ 85	\$ 646.00
05/30/08	B. Charhon	Multiple calls with K. Sherrill regarding preparation of addresses for class notice mailing	0.50	\$ 400	\$ 200.00
05/30/08	K. Sherrill	Review edit and update class addresses.	4.80	\$ 180	\$ 864.00
05/30/08	C. Alaniz	Continue to compare and revise Master Retired Players' Addresses index for attorney's review.	7.50	\$ 85	\$ 637.50
06/01/08	K. Sherrill	Edit and review the class notification list.	8.80	\$ 180	\$ 1,584.00
06/02/08	B. Charhon	Coordinate preparation of spreadsheet listing addresses of potential class members	1.00	\$ 400	\$ 400.00
06/02/08	K. Sherrill	Prepare and edit class address chart.	7.40	\$ 180	\$ 1,332.00
06/03/08	K. Sherrill	Continue to edit and revise the class notification list; meeting with B. Sanders regarding same; emails with B. Charhon regarding same.	4.00	\$ 180	\$ 720.00
06/04/08	B. Charhon	Coordinate review of Defendants' production of GLAs	1.00	\$ 400	\$ 400.00
06/04/08	K. Sherrill	Review class address list and telephone conference with L. Kaplan regarding missing information; meeting with B. Sanders regarding bates range for GLAs and review of same.	2.80	\$ 180	\$ 504.00
06/05/08	B. Charhon	Coordinate preparation of spreadsheet listing names and addresses of potential class members	1.00	\$ 400	\$ 400.00
06/06/08	B. Charhon	Coordinate creation of spreadsheet listing names and addresses of potential class members	1.30	\$ 400	\$ 520.00
06/09/08	B. Charhon	Meet with K. Sherrill and B. Sanders regarding spreadsheet of addresses	0.50	\$ 400	\$ 200.00
06/09/08	B. Sanders	Prepare and edit list of class members for class administrator.	8.70	\$ 85	\$ 739.50
06/10/08	B. Charhon	Exchange emails with K. Sherrill regarding spreadsheet of addresses	0.20	\$ 400	\$ 80.00
06/10/08	K. Sherrill	Review and compare what addresses were requested from the NFLP, what we received, and others to be requested and edit class notification list.	6.60	\$ 180	\$ 1,188.00
06/11/08	K. Sherrill	Continue to review and compare what addresses were requested from the NFLPA, what we received, and others to be requested and edit class notification list; telephone conference with opposing counsel's paralegal regarding address information still needed.	4.80	\$ 180	\$ 864.00

287224_10.XLS 159 of 306

06/12/08	B. Charhon	Exchange emails with B. Sanders regarding spreadsheet of addresses.	0.20	\$ 400	\$	80.00
06/12/08	K. Sherrill	Research for addresses regarding players on class list.	3.90	\$ 180	\$	702.00
06/13/08	B. Charhon	Meet with K. Sherrill and B. Sanders regarding spreadsheet of addresses.	0.30	\$ 400	\$	120.00
06/13/08	K. Sherrill	Emails with L. Caplan regarding addresses needed for class notification; research and edit class notification address list.	5.70	\$ 180	\$	1,026.00
07/22/08	B. Charhon	Email K. Sherrill regarding missing addresses	0.30	\$ 400	\$	120.00
07/22/08	K. Sherrill	Review class notification list regarding failed addresses	1.10	\$ 180	\$	198.00
07/23/08	B. Charhon	Exchange emails with K. Sherril regarding missing addresses.	0.20	\$ 400	\$	80.00
07/23/08	K. Sherrill	Review the undeliverable addresses for the class and compare to the addresses given to us by the defendants.	1.40	\$ 180	\$	252.00
07/25/08	K. Sherrill	Edit class notification addresses	0.40	\$ 180	\$	72.00
07/26/08	K. Sherrill	Continue to review and edit class notification addresses; telephone conferences with B. Charhon.	2.50	\$ 180	\$	450.00
07/28/08	B. Sanders	Research missing addresses for class members as requested by class administrator.	1.20	\$ 85	\$	102.00
07/29/08	B. Sanders	Research missing addresses for class members as requested by class administrator.	4.20	\$ 85	\$	357.00
08/08/08	B. Charhon	Telephone conference with B. Sanders regarding additional addresses of class members; email same to class administrator	0.40	\$ 400	\$	160.00
Ducia et Tatal			107.40		\$	17 000 00
Project Total: Percentage	100%		107.40		\$	17,908.00 17,908.00
Recoverable:	100%				Ф	17,908.00
Hours Billed to Project No. 257 by Co- Counsel:	0.00					

287224_10.XLS 160 of 306

Project No. 258		Review and Analysis of Defendants' Motion for Summary Judgment (Filed June 13, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
06/12/08	L. LeClair	Work on summary judgment.	0.60	\$	700	\$	420.00
06/13/08	L. LeClair	Review of summary judgment filed by defendants and massive exhibits.	4.20	\$	700	\$	2,940.00
06/14/08	B. Charhon	Review and analyze Defendant's motion for summary judgment	0.70	\$	400	\$	280.00
06/14/08	J. Naylor	Review defendants motion for summary judgment.	3.30	\$	450	\$	1,485.00
06/14/08	L. LeClair	Continue work on summary judgment.	3.10	\$	700	\$	2,170.00
06/16/08	A. Garza	Review summary judgment briefing.	1.20	\$	375	\$	450.00
06/16/08	L. LeClair	Work on summary judgment.	0.90	\$	700	\$	630.00
Project Total:			14.00			\$	8,375.00
Percentage	100%					\$	8,375.00
Recoverable:	<u> </u>						
Hours Billed to Project No. 258 by Co- Counsel:	11.90						

287224_10.XLS 161 of 306

Project No. 259		Internal Calls and Calls with Co-Counsel Regarding Strategy for Responding to Defendants' Motion for Summary Judgment					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/28/08	L. LeClair	Telephone conference with R. Katz and work on summary judgment.	1.50	\$	700	\$	1,050.00
06/03/08	J. Naylor	Review e-mails from team members regarding various issues.	0.40	\$	450	\$	180.00
06/03/08	J. Naylor	Conference with co-counsel.	0.60	\$	450	\$	270.00
06/05/08	J. Naylor	Review e-mails from team members regarding various issues.	0.30	\$	450	\$	135.00
06/11/08	J. Naylor	Conference with A. Garza on fiduciary relationship research.	1.10	\$	450	\$	495.00
06/16/08	J. Naylor	Conference call with team to discuss various items including summary judgment motion.	0.50	\$	450	\$	225.00
06/23/08	A. Garza	Participate in conference call regarding draft MSJ response.	1.00	\$	375	\$	375.00
06/24/08	J. Naylor	Review e-mails and respond to emails regarding summary judgment motion.	0.70	\$	450	\$	315.00
06/27/08	J. Naylor	Review and respond to e-mails regarding motion for summary judgment.	0.90	\$	450	\$	405.00
06/29/08	J. Naylor	Review e-mails regarding Defendants' motion.	0.90	\$	450	\$	405.00
06/30/08	A. Garza	Participate in telephone conference regarding Motion for Summary Judgment response.	1.00	\$	375	\$	375.00
06/30/08	J. Naylor	Conference call with co-counsel regarding motion for summary judgment briefing and other matters.	0.50	\$	450	\$	225.00
07/01/08	J. Naylor	Review team e-mails regarding motion for summary judgment.	0.90	\$	450	\$	405.00
Project Total:			10.30			\$	4,860.00
Percentage Recoverable:	100%					\$	4,860.00
Hours Billed to Project No. 259 by Co- Counsel:	6.30						

287224_10.XLS 162 of 306

Project No. 260		Research D.C. and Virginia law on Agency			
Date	Time Keeper	Description	Hours	Rate	Fee
06/11/08	A. Garza	Research agency law for Virginia and D.C; correspond with J. Naylor about the same.	3.90	\$ 375	\$ 1,462.50
06/12/08	A. Garza	Research D.C. and Virginia agency law.	6.40	\$ 375	\$ 2,400.00
06/13/08	A. Garza	Research agency law.	3.50	\$ 375	\$ 1,312.50
06/17/08	A. Garza	Research Virginia agency law.	7.00	\$ 375	\$ 2,625.00
Project Total:			20.80		\$ 7,800.00
Percentage Recoverable:	100%				\$ 7,800.00
Hours Billed to Project No. 260 by Co- Counsel:	0.00				

Project No. 261		Research D.C. and Virginia law on Fiduciary Relationships			
Date	Time Keeper	Description	Hours	Rate	Fee
06/09/08	J. Naylor	Legal research regarding breach of fiduciary duty for multiple principals, breach of fiduciary duty in Virginia law and DC law, plus restatement principles.	9.20	\$ 450	\$ 4,140.00
06/10/08	J. Naylor	Meet with A. Garza regarding research in case.	0.40	\$ 450	\$ 180.00
Project Total:			9.60		\$ 4,320.00
Percentage Recoverable:	100%				\$ 4,320.00
Hours Billed to Project No. 261 by Co- Counsel:	0.00				

287224_10.XLS 163 of 306

Project No. 262		Research D.C. and Virginia law of Fiduciary				
		Duties Relating to Brokerage Accounts				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/20/08	J. Naylor	Legal research regarding fiduciary duty of broker for discretionay account.	5.00	\$ 450	\$	2,250.00
Project Total:			5.00		\$	2,250.00
Percentage	100%				\$	2,250.00
Recoverable:						
Hours Billed to	4.00					
Project No. 262 by Co-						
Counsel:						

Project No. 263		Research Virginia Law on Punitive Damages			
Date	Time Keeper	Description	Hours	Rate	Fee
05/27/08	J. Naylor	Legal research regarding what law will govern punitive damages claim.	0.60	\$ 450	\$ 270.00
05/27/08	J. Naylor	Review instructions in each jurisdiction and elements of proof.	1.10	\$ 450	\$ 495.00
05/27/08	J. Naylor	Prepare memorandum regarding same.	1.90	\$ 450	\$ 855.00
06/12/08	J. Naylor	Legal research regarding punitive damages under Virginia law.	2.30	\$ 450	\$ 1,035.00
06/13/08	A. Garza	Research punitive damage caps.	1.00	\$ 375	\$ 375.00
Project Total:			6.90		\$ 3,030.00
Percentage Recoverable:	100%				\$ 3,030.00
Hours Billed to Project No. 263 by Co- Counsel:	0.00				

287224_10.XLS 164 of 306

Project No. 264		Miscellaneous Research Supporting Brief					
Date	Time Keeper	Description	Hours	Rate		Fee	
06/12/08	J. Naylor	Legal research regarding other issues related to the motion for summary judgment.	7.00	\$ 45	50	\$	3,150.00
06/15/08	L. LeClair	Continue review and work on summary judgment.	2.20	\$ 70	00	\$	1,540.00
06/23/08	J. Naylor	Legal research and draft motion for summary judgment response.	5.10	\$ 45	50	\$	2,295.00
06/24/08	J. Naylor	Legal research and draft motion for summary judgment response.	2.30	\$ 45	50	\$	1,035.00
06/25/08	J. Naylor	Legal research and draft motion for summary judgment response.	3.20	\$ 45	50	\$	1,440.00
06/28/08	J. Naylor	Review legal citations.	4.10	\$ 45	50	\$	1,845.00
Project Total:			23.90			\$	11,305.00
Percentage Recoverable:	100%					\$	11,305.00
Hours Billed to Project No. 264 by Co- Counsel:	6.70						

Project No. 265		Research Law on Multiple Representation by			
		Agents			
Date	Time Keeper	Description	Hours	Rate	Fee
06/16/08	A. Garza	Review case law on multiple representation.	2.10	\$ 375	\$ 787.50
06/17/08	L. LeClair	Prepare for summary judgment.	0.20	\$ 700	\$ 140.00
06/23/08	L. LeClair	Work on summary judgment.	5.10	\$ 700	\$ 3,570.00
Project Total:			7.40		\$ 4,497.50
Percentage	100%				\$ 4,497.50
Recoverable:					
Hours Billed to	0.00				
Project No. 265 by Co-	1				
Counsel:					

287224_10.XLS 165 of 306

Project No. 266		Research Law on the Duty of Loyalty			
Date	Time Keeper	Description	Hours	Rate	Fee
06/16/08	A. Garza	Review case law on duty of loyalty.	2.10	\$ 375	\$ 787.50
Project Total:			2.10		\$ 787.50
Percentage	100%				\$ 787.50
Recoverable:					
Hours Billed to	0.00				
Project No. 266 by Co-					
Counsel:					

Project No. 267		Research Causation			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.00				
Project No. 267 by Co-					
Counsel:					

Project No. 268		Research Possibility of Disgorgement			
Date	Time Keeper	Description	Hours	Rate	Fee
05/14/08	J. Naylor	Correspond with co-counsel regarding disgorgement theory of damages.	0.90	\$ 450	\$ 405.00
05/14/08	J. Naylor	Legal research regarding same.	3.40	\$ 450	\$ 1,530.00
06/26/08	J. Naylor	Research causation issue and disgorgement.	1.60	\$ 450	\$ 720.00
Project Total:			5.90		\$ 2,655.00
Percentage Recoverable:	100%				\$ 2,655.00
Hours Billed to Project No. 268 by Co- Counsel:	0.50				

287224_10.XLS 166 of 306

Project No. 269		Prepare Opposition to Motion for Summary Judgment (Filed July 1, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/04/08	L. LeClair	Outline issues for motion for summary judgment.	3.90	\$	700	\$	2,730.00
06/06/08	L. LeClair	Work on summary judgment issues related to GLAs; review of deposition testimony regarding potential summary judgment.	2.40	\$	700	\$	1,680.00
06/09/08	L. LeClair	Work on summary judgment issues.	0.30	\$	700	\$	210.00
06/10/08	L. LeClair	Work on summary judgment.	1.10	\$	700	\$	770.00
06/12/08	B. Charhon	Review emails from J. Naylor regarding drafting fact section for summary judgment response	0.20	\$	400	\$	80.00
06/13/08	B. Charhon	Begin drafting fact section for summary judgment response	2.30	\$	400	\$	920.00
06/13/08	J. Naylor	Further drafting of response to motion for summary judgment.	8.20	\$	450	\$	3,690.00
06/14/08	B. Charhon	Continue drafting response to Defendant's motion for summary judgment	4.30	\$	400	\$	1,720.00
06/14/08	J. Naylor	Draft response.	3.50	\$	450	\$	1,575.00
06/15/08	B. Charhon	Draft response to Defendant's motion for summary judgment	4.70	\$	400	\$	1,880.00
06/15/08	J. Naylor	Draft motion for summary judgment response.	12.80	\$	450	\$	5,760.00
06/16/08	B. Charhon	Telephone conference with J. Adler regarding response to motion for summary judgment; telephone conference with team regarding same	0.80	\$	400	\$	320.00
06/16/08	J. Naylor	Draft motion for summary judgment response.	14.30	\$	450	\$	6,435.00
06/17/08	J. Naylor	Draft motion for summary judgment response.	15.20	\$	450	\$	6,840.00
06/18/08	J. Naylor	Draft motion for summary judgment response.	10.90	\$	450	\$	4,905.00
06/19/08	A. Garza	Draft section of motion for summary judgment response.	5.20	\$	375	\$	1,950.00
06/19/08	J. Naylor	Draft motion for summary judgment response.	12.80	\$	450	\$	5,760.00
06/20/08	B. Charhon	Review draft response to Defendant's motion for summary judgment	0.50	\$	400	\$	200.00
06/20/08	A. Garza	Draft section of motion for summary judgment response.	3.50	\$	375	\$	1,312.50
06/20/08	J. Naylor	Draft motion for summary judgment response.	8.30	\$	450	\$	3,735.00
06/23/08	B. Charhon	Telephone conference with team regarding response to motion for summary judgment	1.00	\$	400	\$	400.00
06/23/08	A. Garza	Review Motion of Summary Judgment Response draft.	0.70	\$	375	\$	262.50
06/23/08	J. Naylor	Legal research and draft motion for summary judgment response.	5.10	\$	450	\$	2,295.00
06/24/08	L. LeClair	Continue work on summary judgment; telephone conferences with Manatt; review of evidence and legal issues.	5.30	\$	700	\$	3,710.00
06/24/08	J. Naylor	Legal research and draft motion for summary judgment response.	2.20	\$	450	\$	990.00
06/25/08	A. Garza	Email J. Naylor regarding fiduciary duty.	0.20	\$	375	\$	75.00
06/25/08	L. LeClair	Continued work on summary judgment.	5.20	\$	700	\$	3,640.00
06/25/08	J. Naylor	Legal research and draft motion for summary judgment response.	3.30	\$	450	\$	1,485.00

287224_10.XLS 167 of 306

06/26/08	R. Snider	Review defendants' summary judgment motion	4.30	\$ 575	\$ 2,472.50
		and review and revise plaintiffs' draft reply.			,
06/26/08	L. LeClair	Continue work on summary judgment.	6.10	\$ 700	\$ 4,270.00
06/26/08	J. Naylor	Revise motion for summary judgment response.	6.60	\$ 450	\$ 2,970.00
06/27/08	L. LeClair	Work on summary judgment.	2.80	\$ 700	\$ 1,960.00
06/28/08	L. LeClair	Continue work on summary judgment; work on	8.30	\$ 700	\$ 5,810.00
		rewrite of draft motion and potential motion to strike.			
06/28/08	J. Naylor	Revise motion for summary judgment response.	1.20	\$ 450	\$ 540.00
06/29/08	L. LeClair	Continue work on summary judgment; draft outline of difficult legal issues for summary judgment.	5.90	\$ 700	\$ 4,130.00
06/29/08	J. Naylor	Revise motion for summary judgment response.	2.20	\$ 450	\$ 990.00
06/30/08	J. Naylor	Prepare additions for motion for summary judgment opposition briefing.	3.00	\$ 450	\$ 1,350.00
06/30/08	J. Naylor	Coordinate exhibits and evidence with A. Garza and B. Charhon.	0.70	\$ 450	\$ 315.00
07/01/08	J. Naylor	Revise, finalize and edit motion for summary judgment opposition.	11.30	\$ 450	\$ 5,085.00
07/04/08	A. Garza	Correspond with B. Charhon regarding agency burden of proof.	0.10	\$ 375	\$ 37.50
Project Total:			190.70		\$ 95,260.00
Percentage Recoverable:	100%				\$ 95,260.00
Hours Billed to Project No. 269 by Co- Counsel:	42.50				

287224_10.XLS 168 of 306

Project No. 270		Edit Opposition to Motion for Summary Judgment (Filed July 1, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/11/08	J. Naylor	Review and revise fact section for motion for summary judgment response.	9.30	\$	450	\$	4,185.00
06/24/08	B. Charhon	Review and revise citation in opposition to Defendants' motion for summary judgment	1.50	\$	400	\$	600.00
06/24/08	A. Garza	Edit Motion for Summary Judgment Response brief.	3.60	\$	375	\$	1,350.00
06/25/08	B. Charhon	Review and revise opposition to Defendants' motion for summary judgment	2.00	\$	400	\$	800.00
06/26/08	B. Charhon	Review and revise opposition to Defendants' motion for summary judgment	2.00	\$	400	\$	800.00
06/27/08	B. Charhon	Review and revise opposition to Defendants' motion for summary judgment	0.50	\$	400	\$	200.00
06/28/08	K. Sherrill	Cite check response brief to defendants' motion for summary judgment	5.10	\$	180	\$	918.00
06/29/08	A. Garza	Edit Motion for Summary Judgment response.	2.00	\$	375	\$	750.00
06/30/08	B. Charhon	Conference call with team regarding summary judgment response; review legal cites in summary judgment response	3.00	\$	400	\$	1,200.00
06/30/08	L. LeClair	Extensive work on summary judgment.	4.40	\$	700	\$	3,080.00
07/01/08	B. Charhon	Review and respond to emails regarding summary judgment response; review final summary judgment response	0.80	\$	400	\$	320.00
07/01/08	A. Garza	Proofread Motion for Summary Judgment Response.	1.70	\$	375	\$	637.50
07/01/08	L. LeClair	Extensive work editing final draft of summary judgment; e-mails and telephone conferences with Manatt, J. Naylor, B. Charhon and A. Garza.	6.80	\$	700	\$	4,760.00
Project Total:			42.70			\$	19,600.50
Percentage Recoverable:	100%					\$	19,600.50
Hours Billed to Project No. 270 by Co- Counsel:	57.70						

287224_10.XLS 169 of 306

Project No. 271		Review Local Rules			
Date	Time Keeper	Description	Hours	Rate	Fee
06/11/08	J. Naylor	Review rules on statement of facts for motion for summary judgment.	0.40	\$ 450	\$ 180.00
06/04/07	J. Naylor	Review court order.	0.30	\$ 450	\$ 135.00
08/17/08	J. Naylor	Review Court's order regarding same.	0.50	\$ 450	\$ 225.00
Project Total:			1.20		\$ 540.00
Percentage Recoverable:	100%				\$ 540.00
Hours Billed to Project No. 271 by Co- Counsel:	0.00				

Project No. 272		Review Summary Judgment Brief and Exhibits			
Date	Time Keeper	Description	Hours	Rate	Fee
07/02/08	L. LeClair	Review of final filings on summary judgment.	0.70	\$ 700	\$ 490.00
Project Total:			0.70		\$ 490.00
Percentage Recoverable:	100%				\$ 490.00
Hours Billed to Project No. 272 by Co- Counsel:	0.00				

287224_10.XLS 170 of 306

Project No. 273		Prepare Exhibits to Opposition to Motion for Summary Judgment (Filed July 1, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
06/23/08	K. Sherrill	Meeting with J. Naylor regarding exhibits to our response to the defendants' motion for summary judgment.	0.20	\$ 180	\$ 36	.00
06/24/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment.	3.40	\$ 85	\$ 289	.00
06/24/08	K. Sherrill	Review response to motion for summary judgment and start cite checking, editing and preparing exhibits.	5.30	\$ 180	\$ 954	.00
06/25/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment; cite check cases referenced in same.	8.60	\$ 85	\$ 731	.00
06/25/08	K. Sherrill	Review new version of response to motion for summary judgment; meeting with B. Sanders regarding case law; review for exhibits and pull same.	2.10	\$ 180	\$ 378	.00
06/26/08	B. Sanders	Assist with preparation of exhibits for reponse to motion for summary judgment; cite check cases referenced in same.	6.30	\$ 85	\$ 535	.50
06/26/08	C. Alaniz	Assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	4.70	\$ 85	\$ 399	.50
06/26/08	K. Sherrill	Cite check, prepare declaration, and exhibits for response to the defendants' motion for summary judgment.	4.50	\$ 180	\$ 810	.00
06/27/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment; cite check cases referenced in same .	10.40	\$ 85	\$ 884	.00
06/27/08	C. Alaniz	Assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	12.50	\$ 85	\$ 1,062	.50
06/28/08	B. Charhon	Coordinate preparation of evidence in support of Defendants' motion for summary judgment; review evidence in support thereof.	4.50	\$ 400	\$ 1,800	.00
06/28/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment; cite check cases referenced in same.	8.70	\$ 85	\$ 739	.50
06/28/08	C. Alaniz	Continue to assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	8.50	\$ 85	\$ 722	.50
06/29/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment; cite check cases referenced in same.	10.30	\$ 85	\$ 875	.50
06/29/08	C. Alaniz	Continue to assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	7.00	\$ 85	\$ 595	.00
06/30/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment; cite check cases referenced in same.	7.20	\$ 85	\$ 612	.00

287224_10.XLS 171 of 306

06/30/08	C. Alaniz	Continue to assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	10.30	\$ 85	\$ 875.50
07/01/08	B. Sanders	Assist with preparation of exhibits for response to motion for summary judgment.	3.20	\$ 85	\$ 272.00
07/01/08	C. Alaniz	Continue to assist K. Sherrill and B. Charhon prepare exhibits for Motion for Summary Judgment Response.	5.40	\$ 85	\$ 459.00
Project Total:			123.10		\$ 13,030.50
Percentage Recoverable:	100%				\$ 13,030.50
Hours Billed to Project No. 273 by Co- Counsel:	4.10				

Project No. 274		Prepare R. Hilburt Declaration in Support of Opposition to Motion for Summary Judgment					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
06/27/08	K. Sherrill	Prepare Declaration and exhibits of R. Hilbert in support of our response to defendants' motion for summary judgment.	10.00	\$	180	\$	1,800.00
06/28/08	K. Sherrill	Prepare exhibits to declaration of R. Hilbert and edit R. Hilbert declaration	4.70	\$	180	\$	846.00
06/29/08	B. Charhon	Insert evidentiary cites in Plaintiffs' response to Defendants' motion for summary judgment; prepare evidence for declaration of R. Hilbert	9.00	\$	400	\$	3,600.00
06/29/08	K. Sherrill	Prepare exhibits to declaration of R. Hilbert and continue to edit declaration; review new version of response brief to the defendants' motion for summary judgment in connection with same	9.00	\$	180	\$	1,620.00
06/30/08	K. Sherrill	Continue prepare exhibits to the declaration of R. Hilbert and finalize R. Hilbert declaration; emails with D. Wishon regarding documents needed for exhibit; emails regarding FTP site needed to upload exhibits; review cite checks; meeting with B. Charhon regarding exhibits.	8.30	\$	180	\$	1,494.00
Project Total:			41.00			\$	9,360.00
Percentage Recoverable:	100%					\$	9,360.00
Hours Billed to Project No. 274 by Co- Counsel:	0.00						

287224_10.XLS 172 of 306

Project No. 275		Prepare Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 1, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/20/08	L. LeClair	Work on potential witness issues and motion to strike.	0.90	\$	700	\$	630.00
06/29/08	B. Charhon	Begin drafting motion to strike	3.00	\$	400	\$	1,200.00
06/29/08	A. Garza	Research law regarding disclosure of witnesses in the Ninth Circuit.	4.40	\$	375	\$	1,650.00
06/30/08	B. Charhon	Continue drafting motion to strike third party declarations; meet with A. Garza regarding same; cite check evidence in brief and in declaration in support thereof	7.00	\$	400	\$	2,800.00
06/30/08	A. Garza	Draft motion to strike	4.30	\$	375	\$	1,612.50
07/01/08	B. Charhon	Review revised draft of motion to strike third party declarations; telephone conference with team regarding motion to strike and need for additional witnesses	1.20	\$	400	\$	480.00
07/01/08	A. Garza	Proofread Motion to Strike; participate in telephone conference regarding Motion to Strike (.	2.00	\$	375	\$	750.00
07/23/08	A. Garza	Prepare for hearing regarding motion to strike.	1.30	\$	375	\$	487.50
Project Total:			24.10			\$	9,610.00
Percentage Recoverable:	100%					\$	9,610.00
Hours Billed to	9.60						
Project No. 275 by Co-Counsel:							

	Prepare Declaration of B. Charhon in Support of Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 1, 2008)			
Time Keeper	Description	Hours	Rate	Fee
		-		\$ -
100%				\$ -
1.00				
	100%	of Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 1, 2008) Time Keeper Description 100% 1.00	of Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 1, 2008) Time Keeper Description Hours -100% 1.00	of Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 1, 2008) Time Keeper Description Hours Rate 100% 1.00

287224_10.XLS 173 of 306

Project No. 277		Prepare for and Attend June 2008 Discovery Hearing					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
06/06/08	L. LeClair	Review of all G. Upshaw compensation letters in preparation for hearing; e-mails to D. Feher regarding meet and confer on G. Upshaw motion.	1.00	\$	700	\$	700.00
06/10/08	B. Charhon	Review deposition testimony of G. Upshaw and email same to R. Hilbert in preparation for hearing	0.50	\$	400	\$	200.00
06/10/08	L. LeClair	Prepare for discovery hearing with Judge Alsup.	5.30	\$	700	\$	3,710.00
06/11/08	B. Charhon	Exchange emails with R. Hilbet regarding hearing; review transcript from hearing.	0.70	\$	400	\$	280.00
06/11/08	L. LeClair	Attend discovery hearing in California with Judge Alsup.	1.30	\$	700	\$	910.00
Project Total:			8.80			\$	5,800.00
Percentage Recoverable:	100%					\$	5,800.00
Hours Billed to Project No. 277 by Co- Counsel:	4.70						

Project No. 278		Review and Edit Expert Reports					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
05/21/08	J. Naylor	Review expert report.	3.10	\$	450	\$	1,395.00
05/21/08	J. Naylor	Discuss same with co-counsel and L. LeClair.	1.00	\$	450	\$	450.00
05/21/08	J. Naylor	Make suggested revisions to same.	1.50	\$	450	\$	675.00
05/22/08	J. Naylor	Conference call with co-counsel regarding expert reports.	0.80	\$	450	\$	360.00
06/11/08	L. LeClair	Work on expert issues.	1.80	\$	700	\$	1,260.00
06/12/08	L. LeClair	Work on expert report issues.	3.50	\$	700	\$	2,450.00
06/16/08	L. LeClair	Work on expert issues.	0.80	\$	700	\$	560.00
06/23/08	L. LeClair	Call with experts and finalize reply reports.	1.20	\$	700	\$	840.00
Project Total:			13.70			\$	7,990.00
Percentage Recoverable:	100%					\$	7,990.00
Hours Billed to Project No. 278 by Co- Counsel:	47.40						

287224_10.XLS 174 of 306

Project No. 279		Review S. Jizmagian Expert Report			
Date	Time Keeper	Description	Hours	Rate	Fee
06/18/08	B. Charhon	Review and analyze expert report of S. Jizmagian	0.50	\$ 400	\$ 200.00
Project Total:			0.50		\$ 200.00
Percentage Recoverable:	100%				\$ 200.00
Hours Billed to Project No. 279 by Co- Counsel:	0.00				

Project No. 280		Review R. Knoll Expert Report			
Date	Time Keeper	Description	Hours	Rate	Fee
06/18/08	B. Charhon	Review and analyze expert report of R. Knoll	0.50	\$ 400	\$ 200.00
06/26/08	L. LeClair	Work on experts and discovery issues.	0.40	\$ 700	\$ 280.00
06/27/08	L. LeClair	Continue work on expert reports.	1.40	\$ 700	\$ 980.00
06/30/08	L. LeClair	Begin preparation for expert depositions.	1.20	\$ 700	\$ 840.00
Project Total:			3.50		\$ 2,300.00
Percentage Recoverable:	100%				\$ 2,300.00
Hours Billed to Project No. 280 by Co- Counsel:	4.60				

Project No. 281		Edit Reply Expert Reports			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	47.60				
Project No. 281 by Co-					
Counsel:					

287224_10.XLS 175 of 306

Project No. 282		Meet with P. Rhee Regarding Preparation of Expert Report			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			_		\$ -
Percentage	100%		<u> </u>		\$ -
Recoverable:					
Hours Billed to Project No. 282 by Co- Counsel:	0.00				

Project No. 283		Review Supplemental D. Rascher Expert Report			
Date	Time Keeper	Description	Hours	Rate	Fee
06/25/08	L. LeClair	Work on expert reply report issues.	0.50	\$ 700	\$ 350.00
08/22/08	B. Charhon	Review and revise supplemental expert report of D. Rascher; multiple phone calls with J. Naylor and R. Hilburt regarding same	1.00	\$ 400	\$ 400.00
08/27/08	B. Charhon	Review and respond to emails regarding supplemental expert report	0.30	\$ 400	\$ 120.00
Project Total:			1.80		\$ 870.00
Percentage Recoverable:	100%				\$ 870.00
Hours Billed to Project No.283 by Co- Counsel:	0.00				

Project No. 284		Review Rowley Charts of Players that Signed GLAs			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 284 by Co-					
Counsel:					

287224_10.XLS 176 of 306

Project No. 285		July 2008 Case Management and Miscellaneous					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
07/01/08	L. LeClair	Call with potential witnesses for trial.	0.30	\$	700	\$	210.00
07/02/08	L. LeClair	Prepare for depositions of expert witnesses.	0.50	\$	700	\$	350.00
07/02/08	L. LeClair	Telephone conference with Manatt on witness interviews; plan for schedule on mock trial.	5.70	\$	700	\$	3,990.00
07/03/08	L. LeClair	Telephone conference regarding witness interviews.	0.30	\$	700	\$	210.00
07/03/08	L. LeClair	Work on expert depositions.	2.10	\$	700	\$	1,470.00
07/07/08	K. Sherrill	Emails regarding collecting deposition and uploading same to trial director; review depositions and videos in connection with same.	1.10	\$	180	\$	198.00
07/07/08	J. Naylor	Review and respond to e-mails from team members regarding various matters.	0.40	\$	450	\$	180.00
07/08/08	K. Sherrill	Review files for materials needed for trial preparation; emails regarding trial preparation; emails regarding deposition exhibits	2.10	\$	180	\$	378.00
07/08/08	C. Alaniz	Prepare copies of videotaped depositions of Nahra, Friss, and Zucker for R. Hilbert's review and transmittal letter regarding same.	1.80	\$	85	\$	153.00
07/08/08	J. Naylor	Review and respond to e-mails from team members regarding various matters.	0.40	\$	450	\$	180.00
07/10/08	C. Alaniz	Confer and prepare missing Zucker deposition exhibit for court reporter's review and transmittal letter regarding same; Confer with D. Wishon regarding CLASS production documents; prepare materials for B. Taylor's review, transmittal letter regarding same and index of materials.	6.20	\$	85	\$	527.00

287224_10.XLS 177 of 306

07/14/08	L. LeClair	Telephone conference with Manatt team regarding witness interviews.	0.50	\$ 700	\$ 350.00
07/21/08	L. LeClair	Telephone conference with P. Parcher and C. Hummel regarding summary judgment,	0.20	\$ 700	\$ 140.00
07/21/08	L. LeClair	Work with B. Charhon on payments to class representative H. Adderley.	1.00	\$ 700	\$ 700.00
07/22/08	B. Charhon	Meet with A. Garza regarding draft task list	0.30	\$ 400	\$ 120.00
07/22/08	A. Garza	Prepare pro hac vice motion; draft pre-trial task list.	2.40	\$ 375	\$ 900.00
07/23/08	A. Garza	Finalize pre-trial task list.	0.50	\$ 375	\$ 187.50
07/24/08	J. Naylor	Review and respond to e-mails from various team members.	0.30	\$ 450	\$ 135.00
07/28/08	B. Charhon	Office conference with A. Garza regarding outstanding tasks.	0.20	\$ 400	\$ 80.00
Project Total:			26.30		\$ 10,458.50
Percentage Recoverable:	100%				\$ 10,458.50
Hours Billed to Project No. 285 by Co- Counsel:	51.70				

Project No. 286		Review Defendants' Reply Brief in Support of Motion for Summary Judgment and Defendants' Opposition to Motion to Strike Declarations (Filed July 10, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/11/08	J. Naylor	Review reply brief to motion for summary judgment.	0.80	\$ 450	\$	360.00
Project Total:			0.80		\$	360.00
Percentage Recoverable:	100%				\$	360.00
Hours Billed to Project No. 286 by Co- Counsel:	17.50					

287224_10.XLS 178 of 306

Project No. 287		Prepare for Deposition of S. Jizmagian			
Date	Time Keeper	Description	Hours	Rate	Fee
07/07/08	L. LeClair	Prepare for expert deposition of S. Jizmagian in California.	4.20	\$ 700	\$ 2,940.00
07/14/08	L. LeClair	Review of expert depositions.	0.70	\$ 700	\$ 490.00
Project Total:			4.90		\$ 3,430.00
Percentage Recoverable:	100%				\$ 3,430.00
Hours Billed to Project No. 287 by Co- Counsel:	26.10				

Project No. 288		Attend Deposition of S. Jizmagian (July 8, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
07/08/08	L. LeClair	Attend S. Jizmagian deposition in San Francisco.	5.50	\$	700	\$	3,850.00
07/10/08	L. LeClair	Review of issues from expert depositions.	2.20	\$	700	\$	1,540.00
Project Total:			7.70			\$	5,390.00
Percentage Recoverable:	100%					\$	5,390.00
Hours Billed to Project No. 288 by Co- Counsel:	8.20						

Project No. 289		Prepare for Deposition of R. Noll				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/08/08	L. LeClair	Meeting with R. Katz regarding R. Noll deposition; conference with Manatt lawyers regarding experts and jury study.	2.10	\$ 700	\$	1,470.00
Project Total:			2.10		\$	1,470.00
Percentage Recoverable:	100%				\$	1,470.00
Hours Billed to Project No. 289 by Co- Counsel:	20.80					

287224_10.XLS 179 of 306

Project No. 290		Attend Deposition of R. Noll. (July 9, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/09/08	L. LeClair	Attend deposition of R. Noll in Palo Alto; conference with Manatt team regarding R. Noll and jury study.	6.70	\$ 700	\$	4,690.00
Project Total:			6.70		\$	4,690.00
Percentage Recoverable:	100%				\$	4,690.00
Hours Billed to Project No.290 by Co- Counsel:	17.30					

Project No. 291		Prepare for Deposition of P. Rowley					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/02/08	C. Alaniz	Continue to perform research and document preparation of potential key exhibits to assist attorney with upcoming Rowley deposition.	3.20	\$	85	\$	272.00
06/02/08	L. LeClair	Work on expert witness issues.	0.90	\$	700	\$	630.00
06/10/08	C. Alaniz	Continue to perform research and document preparation of potential key exhibits to assist attorney with upcoming Rowley deposition.	2.30	\$	85	\$	195.50
06/12/08	C. Alaniz	Continue to perform research and document preparation of potential key exhibits to assist attorney with upcoming Rowley deposition.	3.60	\$	85	\$	306.00
07/11/08	L. LeClair	Expert deposition preparation.	2.20	\$	700	\$	1,540.00
07/21/08	L. LeClair	Work on expert deposition of P. Rowley and D. Rascher.	1.10	\$	700	\$	770.00
05/28/08	L. LeClair	Review of depositions and prepare for expert depositions.	1.60	\$	700	\$	1,120.00
Project Total:			14.90			\$	4,833.50
Percentage Recoverable:	100%					\$	4,833.50
Hours Billed to Project No. 291 by Co- Counsel:	18.50						

287224_10.XLS 180 of 306

Project No. 292		Attend Deposition of P. Rowley (July 22, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	14.80				
Project No. 292 by Co-					
Counsel:					

Project No. 293		Prepare for Deposition of D. Rascher			
Date	Time Keeper	Description	Hours	Rate	Fee
07/23/08	L. LeClair	Meetings with expert D. Rascher; meetings with R. Katz regarding outline.	5.00	\$ 700	\$ 3,500.00
Project Total:			5.00		\$ 3,500.00
Percentage Recoverable:	100%				\$ 3,500.00
Hours Billed to Project No. 293 by Co- Counsel:	23.50				

Project No. 294		Attend Deposition of D. Rasher (July 25, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 294 by Co- Counsel:	5.00				

287224_10.XLS 181 of 306

Project No. 295		Prepare for Hearing Re: Motion For Summary Judgment and Other Issues					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/09/08	L. LeClair	Begin work on potential issues in summary judgment argument.	2.80	\$	700	\$	1,960.00
07/11/08	L. LeClair	Summary judgment argument preparation.	1.50	\$	700	\$	1,050.00
07/18/08	L. LeClair	Work on summary judgment hearing preparation and B. Parrish issue.	3.30	\$	700	\$	2,310.00
07/20/08	L. LeClair	Review of new memorandum on fiduciary duty issues; plan for hearing.	1.40	\$	700	\$	980.00
07/21/08	L. LeClair	Work on hearing issues and expert issues; work on outline for summary judgment argument to share with R. Katz on Wednesday;	6.70	\$	700	\$	4,690.00
07/22/08	B. Charhon	Prepare documents for argument on motion to strike	0.50	\$	400	\$	200.00
07/22/08	L. LeClair	Work on summary judgment issues; prepare for hearing.	1.20	\$	700	\$	840.00
07/23/08	L. LeClair	Prepare for summary judgment hearing,	1.70	\$	700	\$	1,190.00
07/24/08	L. LeClair	Prepare for summary judgment hearing; conference with R. Katz.	4.70	\$	700	\$	3,290.00
07/23/08	J. Naylor	Facilitate motion for summary judgment hearing with legal research.	1.00	\$	450	\$	450.00
07/23/08	J. Naylor	Review outline of summary judgment arguments.	0.80	\$	450	\$	360.00
07/23/08	J. Naylor	Review and respond to e-mails from team members.	0.20	\$	450	\$	90.00
Project Total:			25.80			\$	17,410.00
Percentage Recoverable:	100%					\$	17,410.00
Hours Billed to Project No. 295 by Co- Counsel:	68.10						

Project No. 296		Attend MSJ Hearing			
Date	Time Keeper	Description	Hours	Rate	Fee
07/24/08	L. LeClair	Attend summary judgment hearing.	2.10	\$ 700	\$ 1,470.00
Project Total:			2.10		\$ 1,470.00
Percentage	100%				\$ 1,470.00
Recoverable:					
Hours Billed to	9.90				
Project No. 296 by Co-	-				
Counsel:					

287224_10.XLS 182 of 306

Project No. 297		Prepare Reply in Support of Motion to Strike Declarations of L. Castillon, A. Sullins, J. Brenner, C. Finch and S. Byrd (Filed July 17, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
07/07/08	B. Charhon	Finalize reply in support of motion to strike	1.00	\$ 400	\$ 400.00
07/14/08	B. Charhon	Telephone conference with A. Garza regarding reply in support of motion to strike	0.30	\$ 400	\$ 120.00
Project Total:			1.30		\$ 520.00
Percentage Recoverable:	100%				\$ 520.00
Recoverable.			<u> </u>		
Hours Billed to Project No. 297 by Co- Counsel:	3.70				

Project No. 298		Prepare Post-Argument Letter to the Court and Review Defendants' Letter Regarding					
		Same					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
07/24/08	L. LeClair	Review of notes and potential strategy regarding post argument letter to Court.	1.40	\$	700	\$	980.00
07/25/08	L. LeClair	Work on issues regarding letter and Madden 2007; begin draft of letter to Court.	2.90	\$	700	\$	2,030.00
07/26/08	L. LeClair	Continue work on draft of letter; work on Madden issues and obtaining a transcript.	3.50	\$	700	\$	2,450.00
07/27/08	L. LeClair	Continue discussion with R. Katz and edit letter to Court after seeing R. Katz comments.	3.70	\$	700	\$	2,590.00
07/29/08	B. Charhon	Review and revise letter in opposition of Defendants' motion for summary judgment	0.80	\$	400	\$	320.00
07/29/08	K. Sherrill	Prepare materials regarding summary judgment issues for review by J. Naylor.	0.30	\$	180	\$	54.00
07/29/08	L. LeClair	Telephone conferences with P. Parcher, C. Hummel and R. Katz regarding letter to Court; review edits from C. Hummel and revise letter; work on Madden issues.	3.70	\$	700	\$	2,590.00
07/30/08	B. Charhon	Finalize letter brief to J. Alsup	1.00	\$	400	\$	400.00
07/30/08	L. LeClair	Finalize letter to Court and conference with team.	2.10	\$	700	\$	1,470.00

287224_10.XLS 183 of 306

08/01/08	B. Charhon	Review Defendants' letter brief to court.	0.50	\$ 400	\$ 200.00
07/29/08	J. Naylor	Review and revise letter to Court regarding supplemental briefing of summary judgment issues.	1.50	\$ 450	\$ 675.00
07/29/08	J. Naylor	Telephone conference with L. LeClair, R. Katz, and L. Franco regarding same.	1.00	\$ 450	\$ 450.00
Project Total:			22.40		\$ 14,209.00
Percentage Recoverable:	100%				\$ 14,209.00
Hours Billed to Project No. 298 by Co- Counsel:	50.70				

Project No. 299		Prepare Exhibits for Post-Argument Letter to			
		the Court			
Date	Time Keeper	Description	Hours	Rate	Fee
07/29/08	B. Charhon	Prepare exhibits to letter brief.	0.70	\$ 400	\$ 280.00
Project Total:			0.70		\$ 280.00
Percentage Recoverable:	100%				\$ 280.00
Hours Billed to Project No. 299 by Co- Counsel:	12.50				

Project No. 300		Review Court's Order Denying Motion for				
		Summary Judgment				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/06/08	L. LeClair	Review of summary judgment order.	1.20	\$ 70) \$	840.00
08/06/08	J. Naylor	Review summary judgment denial order.	0.20	\$ 45) \$	90.00
08/08/08	A. Garza	Review motion for summary judgment order.	0.20	\$ 37	5 \$	75.00
Project Total:			1.60		\$	1,005.00
Percentage	100%				\$	1,005.00
Recoverable:						
Hours Billed to	12.60					
Project No. 300 by Co-						
Counsel:						

287224_10.XLS 184 of 306

Project No. 301		Prepare Scripts and Presentation for Jury Study					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/09/08	B. Charhon	Meet with L. LeClair regarding summary judgment response and jury study; begin drafting outline for jury script	6.20	\$	400	\$	2,480.00
06/09/08	L. LeClair	Work on mock trial issues for the defense; prepare for meeting.	2.90	\$	700	\$	2,030.00
06/10/08	B. Charhon	Continue preparation of jury study outline	5.00	\$	400	\$	2,000.00
06/10/08	L. LeClair	Work on mock trial.	1.90	\$	700	\$	1,330.00
06/11/08	L. LeClair	Work on mock trial.	3.80	\$	700	\$	2,660.00
06/18/08	B. Charhon	Prepare for meeting regarding jury study; review jury study outlines.	5.50	\$	400	\$	2,200.00
06/18/08	L. LeClair	Review of outlines received from Manatt; prepare for meeting.	6.90	\$	700	\$	4,830.00
06/19/08	B. Charhon	Attend team meeting in Palo Alto regarding status of case and jury study	9.00	\$	400	\$	3,600.00
06/20/08	B. Charhon	Begin preparation of Defendants' jury study script	1.80	\$	400	\$	720.00
06/20/08	L. LeClair	Work on outline for jury study, including defense exhibits.	4.40	\$	700	\$	3,080.00
06/23/08	B. Charhon	Continue drafting Defendants' jury script	7.00	\$	400	\$	2,800.00
06/24/08	B. Charhon	Continue preparation of Defendants' jury script	6.00	\$	400	\$	2,400.00
06/25/08	B. Charhon	Continue preparation of Defendants' jury script	6.00	\$	400	\$	2,400.00
06/26/08	B. Charhon	Continue preparation of Defendants' jury script	5.50	\$	400	\$	2,200.00
06/26/08	L. LeClair	Prepare for jury study.	0.70	\$	700	\$	490.00
06/27/08	B. Charhon	Continue preparation of Defendants' jury script	2.50	\$	400	\$	1,000.00
07/02/08	B. Charhon	Continue preparation of jury script; review J. Naylor's comments to jury script; coordinate preparation of powerpoint with C. Martin	4.00	\$	400	\$	1,600.00
07/02/08	J. Naylor	Review jury script.	0.40	\$	450	\$	180.00
07/02/08	J. Naylor	Conference with B. Charhon regarding same.	0.40	\$	450	\$	180.00
07/03/08	B. Charhon	Continue preparation of jury script; coordinate creation of PowerPoint presentation with C. Alaniz and C. Martin.	4.50	\$	400	\$	1,800.00
07/03/08	L. LeClair	Work on jury script for mock trial; conference with B. Charhon regarding jury script.	2.90	\$	700	\$	2,030.00
07/04/08	B. Charhon	Prepare jury script.	6.00	\$	400	\$	2,400.00
07/04/08	L. LeClair	Work on jury script for mock trial.	2.50	\$	700	\$	1,750.00
07/05/08	B. Charhon	Prepare jury script.	6.50	\$	400	\$	2,600.00
07/06/08	B. Charhon	Review L. LeClair's comments to jury script.	0.50	\$	400	\$	200.00
07/06/08	L. LeClair	Extensive review of materials regarding jury script for defense; review B. Charhon draft of script and make substantial changes.	6.90	\$	700	\$	4,830.00
07/07/08	B. Charhon	Review and revise jury script; incorporate Lew LeClair's suggestions in jury script; prepare documentary evidence for PowerPoint presentation; meet with C. Martin and C. Alaniz regarding same; review J. Naylor's comments to jury script; circulate jury script to team	3.50	\$	400	\$	1,400.00
07/07/08	C. Alaniz	Assist B. Charhon with Defendants' Jury Script.	2.50	\$	85	\$	212.50
07/07/08	L. LeClair	Continue extensive work on jury script.	5.10	\$	700	\$	3,570.00

287224_10.XLS 185 of 306

07/07/08	J. Naylor	Review and revise jury script.	1.50	\$ 450	\$ 675.00
07/08/08	B. Charhon	Review and revise powerpoint for jury study; review and respond to emails regarding research work plan	1.30	\$ 400	\$ 520.00
07/08/08	L. LeClair	Continued work on jury script; review of jury questions and issues.	1.20	\$ 700	\$ 840.00
07/09/08	B. Charhon	Review plaintiffs' jury script; email L. LeClair regarding same; prepare powerpoint Defendants' mock jury presentation; meet with C. Martin regarding powerpoint for jury study; circulate same to team	4.00	\$ 400	\$ 1,600.00
07/10/08	B. Charhon	Review correspondence from TrialGraphix regarding poweroint; email L. LeClair regarding same; work with C. Alaniz to get documents to TrialGrphix	1.30	\$ 400	\$ 520.00
07/10/08	L. LeClair	Work on jury script.	2.80	\$ 700	\$ 1,960.00
07/10/08	L. LeClair	Continue work on mock trial and B. Parrish dismissal.	3.30	\$ 700	\$ 2,310.00
07/11/08	B. Charhon	Telephone conference with C. Santiago regarding powerpoint for jury study; telephone conference with TrialGraphix representatives regarding materials for jury study; exchange emails with TrialGraphix regarding materials needed for jury study.	1.00	\$ 400	\$ 400.00
07/11/08	L. LeClair	Continue work on jury scripts.	3.00	\$ 700	\$ 2,100.00
07/14/08	B. Charhon	Prepare materials for jury study; review documents identified by A. Garza; office conference with A. Garza regarding same	0.70	\$ 400	\$ 280.00
07/14/08	L. LeClair	Continue work on jury study script for defendants; review of jury script for Plaintiffs and provide comments.	5.50	\$ 700	\$ 3,850.00
07/15/08	B. Charhon	Review jury study scripts and powerpoints; meet with team in preparation for jury study; review and revise L. LeClair's draft jury study script.	5.00	\$ 400	\$ 2,000.00
07/15/08	J. Naylor	Review jury study scripts.	3.10	\$ 450	\$ 1,395.00
07/16/08	B. Charhon	Team meeting in preparation for jury study; review and revise jury study scripts and powerpoints; attend jury study run through.	10.50	\$ 400	\$ 4,200.00
07/16/08	J. Naylor	Prepare for meeting.	5.10	\$ 450	\$ 2,295.00
07/16/08	L. LeClair	Final day of preparation for jury study, including extensive meetings at Manatt; work on scripts; conference with team on numerous issues and challenges; change slides and prepare for Thursday presentation.	7.20	\$ 700	\$ 5,040.00
Project Total:		 	177.30		\$ 88,957.50
Percentage Recoverable:	100%				\$ 88,957.50
Hours Billed to Project No.301 by Co- Counsel:	16.30				

287224_10.XLS 186 of 306

Project No. 302		Discuss and Analyze Jury Study Strategy					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/04/08	L. LeClair	Work on mock trial issues.	0.70	\$	700	\$	490.00
06/05/08	L. LeClair	Look at materials from Kroll regarding mock trial; conference call with Manatt, Kroll and TrialGraphix regarding mock trial, themes, issues and potential meeting.	4.20	\$	700	\$	2,940.00
06/06/08	B. Charhon	Review work plan for jury study	0.70	\$	400	\$	280.00
06/06/08	L. LeClair	Continue work on mock trial, trial graphics, work plan outline for Monday meeting.	1.60	\$	700	\$	1,120.00
06/13/08	L. LeClair	Work on jury study.	0.50	\$	700	\$	350.00
06/15/08	L. LeClair	Prepare for jury study meeting on June 19.	1.00	\$	700	\$	700.00
06/16/08	L. LeClair	Plan for jury study; trial preparation.	0.60	\$	700	\$	420.00
06/17/08	L. LeClair	Work on preparation for jury study meeting.	2.90	\$	700	\$	2,030.00
06/19/08	L. LeClair	Attend extensive jury study meeting in Palo Alto with Manatt, Kroll and TrialGraphix representatives; review of outlines and issues.	10.20	\$	700	\$	7,140.00
06/25/08	L. LeClair	Work on mock trial.	0.40	\$	700	\$	280.00
07/15/08	L. LeClair	Meetings in Palo Alto with Manatt, TrialGraphix, Kroll, and McKool Smith to plan for jury study.	8.30	\$	700	\$	5,810.00
Project Total:			31.10			\$	21,560.00
Percentage Recoverable:	100%					\$	21,560.00
Hours Billed to Project No. 302 by Co- Counsel:	264.60						

Project No. 303		Review Potential Defense Exhibits for Jury Study			
Date	Time Keeper	Description	Hours	Rate	Fee
Date	Time Keeper	Description	Hours	Kate	ree
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.90				
Project No. 303 by Co-					
Counsel:					

287224_10.XLS 187 of 306

Project No. 304		Create PowerPoint Presentation			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	1.00				
Project No. 304 by Co-					
Counsel:					

Project No. 305		Attend Jury Study			
Date	Time Keeper	Description	Hours	Rate	Fee
07/17/08	B. Charhon	Attend jury study; debrief with team regarding same	7.00	\$ 400	\$ 2,800.00
07/17/08	L. LeClair	Mock trial in South San Francisco and watch jury deliberations; confer with counsel; follow up meeting with team at Embassy Suites to review information learned at study.	10.70	\$ 700	\$ 7,490.00
07/17/08	J. Naylor	Attend jury study.	8.30	\$ 450	\$ 3,735.00
Project Total:			26.00		\$ 14,025.00
Percentage Recoverable:	100%				\$ 14,025.00
Hours Billed to Project No. 305 by Co- Counsel:	44.90				

Project No. 306		Review Jury Study Report			
Date	Time Keeper	Description	Hours	Rate	Fee
07/18/08	L. LeClair	Review notes from mock trial.	1.40	\$ 700	\$ 980.00
08/08/08	J. Naylor	Review jury study results.	0.70	\$ 450	\$ 315.00
08/10/08	J. Naylor	Review e-mails from team members.	0.30	\$ 450	\$ 135.00
Project Total:			2.40		\$ 1,430.00
Percentage Recoverable:	100%				\$ 1,430.00
Hours Billed to Project No. 306 by Co- Counsel:	5.40				

287224_10.XLS 188 of 306

Project No. 307		August 2008 Case Management					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/25/08	J. Naylor	Review and respond to e-mails from team	0.30	\$	450	\$	135.00
		members regarding various matters.					
08/01/08	L. LeClair	Work on pretrial and expert matters.	1.30	\$	700	\$	910.00
08/02/08	L. LeClair	Work on pretrial and deposition matters.	3.70	\$	700	\$	2,590.00
08/04/08	L. LeClair	Work on pretrial motions and filings and prepare	5.80	\$	700	\$	4,060.00
		for final depositions.					
08/05/08	L. LeClair	Work on pretrial and trial matters.	4.30	\$	700	\$	3,010.00
08/06/08	L. LeClair	Work on pretrial and trial matters.	1.70	\$	700	\$	1,190.00
08/07/08	A. Garza	Review task list; meet with team regarding task	1.20	\$	375	\$	450.00
		list.					
08/07/08	L. LeClair	Conference call on trial planning.	0.30	\$	700	\$	210.00
08/11/08	B. Charhon	Email team regarding deposition schedule for C.	0.50	\$	400	\$	200.00
		McNeil, W. Beach and B. Laird; telephone					
		conference with R. Hilburt regarding pre-trial					
		deadlines					
08/12/08	B. Charhon	Extended telephone conference with team	1.00	\$	400	\$	400.00
		regarding trial themes and trial preparation;					
		exchange emails with opposing counsel regarding					
		deposition schedule					
08/13/08	L. LeClair	Work on pretrial and trial matters.	3.10	\$	700	\$	2,170.00
08/15/08	B. Charhon	Exchange emails with D. Greenspan regarding	0.40	\$	400	\$	160.00
		deposition scheduling; exchange emails with D.					
		Wishon regarding hotel accommodations for trial					
08/15/08	L. LeClair	Work on pretrial and trial planning.	2.40	\$	700	\$	1,680.00
08/16/08	L. LeClair	Trial planning.	1.30	\$	700	\$	910.00
08/18/08	B. Charhon	Extended call with team regarding upcoming tasks	0.70	\$	400	\$	280.00
00/00/00	x x G1 :		1.00		5 00	Φ.	1.250.00
08/22/08	L. LeClair	Telephone conferences regarding continuance and	1.80	\$	700	\$	1,260.00
		other issues; continue pretrial and trial planning.					
08/26/08	A. Garza	Review notice of appearances.	0.30	\$	375	\$	112.50
08/27/08	B. Charhon	Review emails regarding revised task list	0.20	\$	400	\$	80.00
08/29/08	B. Charhon	Telephone conference with team regarding status	1.00	\$	400	\$	400.00
		of case					

287224_10.XLS 189 of 306

08/29/08	A. Garza	Participate in team call; update task list.	2.00	\$ 375	\$ 750.00
08/29/08	L. LeClair	Continue work on pretrial filings and reorganize for new trial date; review of deposition schedule and proof issues.	1.70	\$ 700	\$ 1,190.00
08/30/08	L. LeClair	Continue work on pretrial issues and revision of task list; telephone conference with C. Hummel regarding lead trial counsel.	5.10	\$ 700	\$ 3,570.00
Project Total:			40.10		\$ 25,717.50
Percentage Recoverable:	100%				\$ 25,717.50
Hours Billed to Project No. 307 by Co- Counsel:	47.20				

Project No. 307(A)		Attend August 14, 2008 Trial Preparation Meeting			
Date	Time Keeper	Description	Hours	Rate	Fee
08/14/08	B. Charhon	Participate in all-day team meeting regarding trial preparation and tasks	7.00	\$ 400	\$ 2,800.00
08/14/08	L. LeClair	Attend all day trial planning meeting and telephone conference with R. Katz and C. Hummel; pretrial and trial planning.	7.00	\$ 700	\$ 4,900.00
Project Total:			14.00		\$ 7,700.00
Percentage Recoverable:	100%				\$ 7,700.00
Hours Billed to Project No. 307(A) by Co-Counsel:	0.00				

287224_10.XLS 190 of 306

Project No. 308		Discuss Propriety of Dismissing Parrish Claims					
Date	Time Keeper	Description	Hours	Rate		Fee	
06/30/08	J. Naylor	Telephone conference with R. Hilbert regarding same.	0.40	\$ 4	150	\$	180.00
07/03/08	J. Naylor	Review team e-mails.	0.90	\$ 4	150	\$	405.00
07/03/08	J. Naylor	Prepare e-mail memorandum regarding same.	0.70	\$ 4	150	\$	315.00
07/04/08	L. LeClair	Review of J. Naylor memorandum on B. Parrish dismissal; work on B. Parrish dismissal.	0.80	\$ 7	700	\$	560.00
09/02/08	L. LeClair	Work on B. Parrish dismissal.	0.40	\$ 7	700	\$	280.00
09/03/08	L. LeClair	B. Parrish stipulation.	0.20	\$ 7	700	\$	140.00
07/09/08	J. Naylor	Review and respond to e-mails from team members.	0.10	\$ 4	150	\$	45.00
Project Total:			3.50			\$	1,925.00
Percentage	0%					\$	-
Recoverable:							
Hours Billed to Project No. 308 by Co- Counsel:	1.80						

287224_10.XLS 191 of 306

Project No. 309		Draft Motion to Dismiss Parrish Claims					
Date	Time Keeper	Description	Hours	Rate		Fee	
05/08/08	B. Charhon	Draft stipulation dismissing claims of B. Parrish	0.20	\$	400	\$	80.00
05/27/08	B. Charhon	Review correspondence regarding draft stipulation dismissing Parrish's claims and expert deposition schedule	0.20	\$	400	\$	80.00
06/30/08	J. Naylor	Prepare motion to dismiss Parrish claims and proposed order.	1.20	\$	450	\$	540.00
07/09/08	J. Naylor	Review Parrish motion to dismiss.	0.40	\$	450	\$	180.00
07/10/08	B. Charhon	Review correspondence regarding motion to dismiss claims of B. Parrish	0.20	\$	400	\$	80.00
09/02/08	B. Charhon	Review emails regarding dismissal of B. Parrish's claim.	0.10	\$	400	\$	40.00
09/03/08	B. Charhon	Review emails regarding stipulation to dismiss claims of B. Parrish	0.10	\$	400	\$	40.00
09/04/08	B. Charhon	Review emails from team regarding stipulation to dismiss claims of B. Parrish	0.20	\$	400	\$	80.00
Project Total:			2.60			\$	1,120.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 309 by Co- Counsel:	11.50						

Project No. 310		Research Procedural Mechanism for Dismissing Parrish Claims					
Date	Time Keeper Description	9	Hours	Rate		Fee	
07/03/08	J. Naylor	Legal research regarding how to dispose of Parrish's claims.	2.20	\$	450	\$	990.00
07/14/08	J. Naylor	Review appellate article regarding dismissals.	0.40	\$	450	\$	180.00
07/14/08	J. Naylor	Review and respond to e-mails from other team members regarding various matters.	0.60	\$	450	\$	270.00
09/01/08	J. Naylor	Review cases regarding dismissal of Parrish claim.	0.60	\$	450	\$	270.00
Project Total:			3.80			\$	1,710.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 310 by Co- Counsel:	2.00						

287224_10.XLS 192 of 306

Project No. 311		Prepare Motion to Dismiss Bernard Parrish's Claims (Filed August 12, 2008)			
Date	Time Keeper	Description Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	0%				\$ -
Recoverable:					
Hours Billed to	16.30				
Project No. 311 by Co-					
Counsel:					

Project No. 312		Review and Analysis of Defendants' Motion to Decertify Class (Filed August 15, 2008)					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/15/08	J. Naylor	Review motion to decertify class.	0.90	\$ 4:	50	\$	405.00
08/15/08	J. Naylor	Legal research regarding same.	2.10	\$ 43	50	\$	945.00
08/18/08	J. Naylor	Legal research regarding motion to decertify.	1.80	\$ 4:	50	\$	810.00
Project Total:			4.80			\$	2,160.00
Percentage Recoverable:	100%					\$	2,160.00
Hours Billed to Project No. by Co-	11.90						
Counsel:							

Project No. 313		Prepare for deposition of W. Beach			
Date	Time Keeper	Description	Hours	Rate	Fee
08/14/08	A. Garza	Contact W. Beach re: subpoena	0.20	\$ 375	\$ 75.00
08/15/08	B. Charhon	Exchange emails with A. Garza regarding responding to W. Beach subpoena	0.30	\$ 400	\$ 120.00
08/16/08	A. Garza	Draft and circulate objections and responses to W. Beach subpoena.	2.00	\$ 375	\$ 750.00

287224_10.XLS 193 of 306

08/18/08	B. Charhon	Prepare for W. Beach deposition	3.00	\$ 400	\$ 1,200.00
08/19/08	B. Charhon	Meet with W. Beach; prepare W. Beach for deposition	5.50	\$ 400	\$ 2,200.00
09/17/08	A. Garza	Contact I. Papendick regarding deposition subpoenas.	0.60	\$ 375	\$ 225.00
Project Total:			11.60		\$ 4,570.00
Percentage Recoverable:	100%				\$ 4,570.00
Hours Billed to Project No.313 by Co- Counsel:	2.10				

Project No. 314		Attend Deposition of W. Beach (August 20, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/20/08	B. Charhon	Meet with W. Beach in preparation for deposition; defend deposition of W. Beach	8.00	\$ 400	\$	3,200.00
Project Total:			8.00		\$	3,200.00
Percentage	100%				\$	3,200.00
Recoverable:						
	0.00					
Project No. 314 by Co-	1					
Counsel:						

Project No. 315		Prepare Opposition to Defendants Motion to					
_		Decertify Class (Filed August 21, 2008)		_		_	
Date	Time Keeper	Description	Hours	Rate	2	Fee	
08/20/08	J. Naylor	Prepare opposition to motion to decertify.	10.90	\$	450	\$	4,905.00
08/21/08	J. Naylor	Finalize opposition to motion to decertify.	2.20	\$	450	\$	990.00
09/02/08	B. Charhon	Review order on motion to decertify class and	0.20	\$	400	\$	80.00
		exchange emails with A. Garza regarding same					
Project Total:			13.30			\$	5,975.00
Percentage	100%					\$	5,975.00
Recoverable:							
Hours Billed to	26.80						
Project No. 315 by Co-							
Counsel:							

287224_10.XLS 194 of 306

Project No. 316		Review and Analysis of Reply Brief in Support of Defendants' Motion to Decertify Class (Filed August 28, 2009)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 316 by Co-Counsel:	2.50				

Project No. 317		Purchase and Review Various Almanacs			
Date	Time Keeper	Description	Hours	Rate	Fee
08/13/08	A. Garza	Find and order football almanacs.	0.70	\$ 375	\$ 262.50
08/14/08	B. Charhon	Research regarding retired player statistical information	0.50	\$ 400	\$ 200.00
08/15/08	B. Charhon	Research regarding Becket football card guide	0.50	\$ 400	\$ 200.00
08/16/08	B. Charhon	Review Becket football card guide for products that include retired players.	1.50	\$ 400	\$ 600.00
08/21/08	B. Charhon	Review and analyze Becket pricing guide for information regarding Topps football cards; telephone conference with A. Garza regarding same	1.50	\$ 400	\$ 600.00
					\$ -
Project Total:			4.70		\$ 1,862.50
Percentage Recoverable:	100%				\$ 1,862.50
Hours Billed to Project No. 317 by Co-	0.00				
Counsel:					

287224_10.XLS 195 of 306

Project No. 318		Purchase and Review Various Football Card Guides			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			_		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 318 by Co- Counsel:	1.10				

Project No. 319		Find and Purchase Selected Football Cards			
Date	Time Keeper	Description	Hours	Rate	Fee
08/15/08	B. Charhon	Telephone call with multiple baseball card stores regarding football card industry	0.50	\$ 400	\$ 200.00
08/21/08	A. Garza	Find and purchase various football cards.	3.80	\$ 375	\$ 1,425.00
Project Total:			4.30		\$ 1,625.00
Percentage Recoverable:	100%				\$ 1,625.00
Hours Billed to Project No. 319 by Co- Counsel:	0.00				

Project No. 320		Prepare Summary of Topps Evidence			
Date	Time Keeper	Description	Hours	Rate	Fee
08/22/08	B. Charhon	Prepare chart regarding Topps evidence	0.50	\$ 400	\$ 200.00
08/26/08	B. Charhon	Coordinate preparation of chart regarding Topps evidence	0.50	\$ 400	\$ 200.00
09/04/08	B. Charhon	Review chart from B. Sanders regarding Topps exhibits	0.30	\$ 400	\$ 120.00
Project Total:			1.30		\$ 520.00
Percentage Recoverable:	100%				\$ 520.00
Hours Billed to Project No. 320 by Co- Counsel:	0.00				

287224_10.XLS 196 of 306

Project No. 321		September 2008 Case Management and					
10,0001101021		Miscellaneous					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
09/01/08	L. LeClair	Work on revised task list.	1.40	\$	700	\$	980.00
09/02/08	A. Garza	Correspond with L. LeClair regarding motion in	0.50	\$	375	\$	187.50
		limine deadlines.					
09/05/08	L. LeClair	Work on exhibit issues and continuance.	1.10	\$	700	\$	770.00
09/07/08	L. LeClair	Calls and issues regarding trial setting and	1.80	\$	700	\$	1,260.00
		preparation.					
09/11/08	B. Charhon	Exchange emails with D. Greenspan regarding	0.50	\$	400	\$	200.00
		deposition dates; office conference with A. Garza					
		regarding pre-trial deadlines					
09/11/08	A. Garza	Calculate deadlines in light of moved trial;	0.90	\$	375	\$	337.50
		correspond with L. LeClair and B. Charhon about					
		the same.					
09/15/08	B. Charhon	Review email from D. Greenspan regarding T.	0.40	\$	400	\$	160.00
		McFarlane and circulate same to team; review					
		emails from team regarding T. McFarlane					
09/18/08	K. Sherrill	Review task list.	3.90	\$	180	\$	702.00
09/19/08	B. Charhon	Exchange emails with D. Greenspan regarding	0.20	\$	400	\$	80.00
		trial deposition of M. McBath					
09/22/08	B. Charhon	Exchange emails with D. Greenspan regarding	0.60	\$	400	\$	240.00
		McBath deposition; exchange emails with team					
		regarding McBath deposition; review and revise					
		stipulation regarding testimony of D. Allen and P.					
00/02/00	Y Y C1 :	Allen	0.20	Φ.	700	Φ	210.00
09/23/08	L. LeClair	P. Allen subpoena issues, and telephone	0.30	\$	700	\$	210.00
00/04/00	TZ C1 '11	conferences with C. Hummel, et al.	0.20	Ф	100	Ф	26.00
09/24/08	K. Sherrill	Email depositions to D. Wishon	0.20	\$	180	\$	36.00
09/25/08	K. Sherrill	Telephone conference with D. Wishon regarding	1.20	\$	180	\$	216.00
		deposition designations, judge Alsup's standing order and other trial preparation; meeting with L.					
		LeClair regarding trial task deadlines; review task					
		list					
09/29/08	K. Sherrill	Review emails and standing order regarding trial	0.20	\$	180	\$	36.00
07/27/00	K. Shemin	preparation	0.20	Ψ	100	Ψ	30.00
09/30/08	K. Sherrill	Email regarding update on trial tasks.	0.10	\$	180	\$	18.00
07/30/00	IX. Sherrin	Email regarding apatite on that tasks.	0.10	Ψ	100	Ψ	10.00
Project Total:			13.30			\$	5,433.00
Percentage	100%					\$	5,433.00
Recoverable:							,
	1						
Hours Billed to	27.00						
Project No. 321 by 0							
Counsel:							

287224_10.XLS 197 of 306

Project No. 321(A)		Attend September 17-18, 2008Trial Strategy Meeting in New York					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
09/17/08	B. Charhon	Review and revise proof outline in preparation for team meeting; extended meeting with trial team regarding preparation for trial	8.00	\$	400	\$	3,200.00
09/17/08	L. LeClair	Attend team meeting in New York City with Parcher, C. Hummel, R. Katz and B. Charhon.	8.50	\$	700	\$	5,950.00
09/18/08	L. LeClair	Continue team meeting in New York City, trial preparation and Electronic Arts issues.	9.20	\$	700	\$	6,440.00
09/18/08	B. Charhon	Extended meeting with L. LeClair, P. Parcher, C. Hummell and R. Katz regarding trial preparation; telephone conference with experts in preparation for trial testimony	8.10	\$	400	\$	3,240.00
Project Total:			33.80			\$	18,830.00
Percentage Recoverable:	100%					\$	18,830.00
Hours Billed to Project No. 321(A) by Co-Counsel:	10.90						

Project No. 322		Review B. Laird Documents for Production			
Date	Time Keeper	Description	Hours	Rate	Fee
08/13/08	B. Charhon	Telephone conference with A. Garza regarding responding to deposition subpoenas	0.30	\$ 400	\$ 120.00
08/20/08	A. Garza	Review B. Laird documents.	5.00	\$ 375	\$ 1,875.00
Project Total:			5.30		\$ 1,995.00
Percentage Recoverable:	100%				\$ 1,995.00
Hours Billed to Project No. 322 by Co- Counsel:	0.00				

287224_10.XLS 198 of 306

Project No. 323		Respond to W. Beach Subpoena			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No.323 by Co-					
Counsel:					

Project No. 324		Respond to B. Laird Subpoena					
Date	Time Keeper	Description He	Hours	Rate		Fee	
08/13/08	A. Garza	Review subpoenas of football players.	0.30	\$	375	\$	112.50
08/14/08	A. Garza	Contact S. Bovine regarding copying boxes in Baltimore.	0.30	\$	375	\$	112.50
08/15/08	A. Garza	Contact B. Laird regarding documents.	0.80	\$	375	\$	300.00
08/25/08	A. Garza	Draft response to Laird subpoena.	1.00	\$	375	\$	375.00
09/10/08	A. Garza	Contact B. Laird regarding deposition.	0.20	\$	375	\$	75.00
09/12/08	B. Charhon	Exchange emails with A. Garza regarding B. Laird deposition subpoena	0.20	\$	400	\$	80.00
Project Total:			2.80			\$	1,055.00
Percentage Recoverable:	100%					\$	1,055.00
Hours Billed to Project No. 324 by Co- Counsel:	0.00						

Project No. 325		Meet with H. Adderley in Preparation for Trial					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/27/08	L. LeClair	Attend all day meeting with R. Katz and H. Adderley in Philadelphia regarding trial preparation.	8.30	\$	700	\$	5,810.00
08/28/08	L. LeClair	Continue meeting with H. Adderley.	4.10	\$	700	\$	2,870.00
Project Total:			12.40			\$	8,680.00
Percentage Recoverable:	100%					\$	8,680.00
Hours Billed to Project No. 325 by Co- Counsel:	27.20						

287224_10.XLS 199 of 306

Project No. 326		Prepare for Deposition of B. Laird					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
09/12/08	B. Charhon	Multiple telephone conferences and emails with D. Greenspan, L. LeClair and R. Katz regarding B. Laird deposition	0.30	\$	400	\$	120.00
09/15/08	B. Charhon	Exchange emails with D. Greenspan regarding B. Laird deposition; exchange emails with R. Katz and L. LeClair scheduling for B. Laird deposition; telephone conference with B. Laird regarding same;	0.70	\$	400	\$	280.00
09/15/08	A. Garza	Pull documents for B. Laird deposition preparation.	3.10	\$	375	\$	1,162.50
09/16/08	A. Garza	Pull documents for B. Laird deposition preparation.	0.60	\$	375	\$	225.00
09/17/08	B. Charhon	Review documents in preparation for deposition of B. Laird; telephone conference with B. Laird and R. Katz regarding deposition preparation.	2.50	\$	400	\$	1,000.00
09/17/08	A. Garza	Prepare binders of B. Laird deposition preparation materials.	3.00	\$	375	\$	1,125.00
09/18/08	B. Charhon	Telephone conference with B. Laird regarding deposition preparation	0.30	\$	400	\$	120.00
09/19/08	B. Charhon	Telephone conference with R. Katz and R. Hilburt regarding preparation for B. Laird deposition; telephone conference with R. Katz and R. Hilburt regarding preparation for B. Laird deposition	2.30	\$	400	\$	920.00
09/19/08	K. Sherrill	Assist A. Garza with supplemental material for Laird deposition	1.80	\$	180	\$	324.00
09/19/08	A. Garza	Review additional B. Laird exhibits and gather documents.	3.10	\$	375	\$	1,162.50
09/20/08	B. Charhon	Review documents pulled in preparation for B. Laird deposition; meet with B. Laird to prepare for deposition.	5.00	\$	400	\$	2,000.00
09/22/08	B. Charhon	Review documents pulled for B. Laird deposition preparation; multiple emails and telephone calls with B. Laird regarding deposition	1.80	\$	400	\$	720.00
09/22/08	A. Garza	Book flights for B. Laird.	0.30	\$	375	\$	112.50
09/23/08	B. Charhon	Prepare B. Laird for deposition	3.00	\$	400	\$	1,200.00
09/24/08	K. Sherrill	Emails regarding deposition preparation of B. Laird.	0.30	\$	180	\$	54.00
Project Total:			28.10	\vdash		\$	10,525.50
Percentage Recoverable:	100%		20.10			\$	10,525.50
Hours Billed to Project No. 326 by Co- Counsel:	2.00						

287224_10.XLS 200 of 306

Project No. 327		Attend Deposition of B. Laird (September 24, 2008)			
Date	Time Keeper	Description	Hours	Rate	Fee
09/24/08	B. Charhon	Attend deposition of B. Laird.	3.50	\$ 400	\$ 1,400.00
09/29/08	B. Charhon	Review and analyze transcript of B. Laird deposition.	1.50	\$ 400	\$ 600.00
Project Total:			5.00		\$ 2,000.00
Percentage Recoverable:	100%				\$ 2,000.00
Hours Billed to Project No. 327 by Co- Counsel:	25.00				

Project No. 328		Research Motions in Limine			
Date	Time Keeper	Description	Hours	Rate	Fee
08/06/08	J. Naylor	Work on motions in limine.	2.00	\$ 450	\$ 900.00
08/07/08	A. Garza	Review motions in limine.	0.70	\$ 375	\$ 262.50
08/08/08	J. Naylor	Legal research regarding motions in limine.	5.20	\$ 450	\$ 2,340.00
08/10/08	J. Naylor	Legal research regarding motions in limine.	1.80	\$ 450	\$ 810.00
Project Total:			9.70		\$ 4,312.50
Percentage	100%				\$ 4,312.50
Recoverable:					
Hours Billed to	12.80				
Project No. 328 by Co-					
Counsel:					

287224_10.XLS 201 of 306

Project No. 329		Draft Motions in Limine. (Filed September 25, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/11/08	K. Sherrill	Assist A. Garza with preparation of motions in limine	0.30	\$	180	\$	54.00
08/13/08	J. Naylor	Revise motions in limine.	1.20	\$	450	\$	540.00
08/14/08	B. Charhon	Review draft motions in limine	0.30	\$	400	\$	120.00
08/14/08	A. Garza	Draft motions in limine.	5.40	\$	375	\$	2,025.00
08/15/08	A. Garza	Circulate motions in limine.	0.20	\$	375	\$	75.00
08/16/08	L. LeClair	Work on extensive pretrial filings and motions in limine.	5.40	\$	700	\$	3,780.00
08/17/08	B. Charhon	Review and revise motions in limine	1.50	\$	400	\$	600.00
08/17/08	A. Garza	Edit motions in limine and circulate.	2.10	\$	375	\$	787.50
08/17/08	L. LeClair	Continue work on pretrial filings regarding motions in limine.	1.70	\$	700	\$	1,190.00
08/18/08	A. Garza	Revise motions in limine; participate in conference call about same.	5.30	\$	375	\$	1,987.50
08/18/08	L. LeClair	Continue work on pretrial filings regarding motions in limine.	2.60	\$	700	\$	1,820.00
08/19/08	A. Garza	Edit motions in limine.	4.90	\$	375	\$	1,837.50
08/22/08	L. LeClair	Pretrial preparation regarding motions in limine.	2.00	\$	700	\$	1,400.00
08/27/08	B. Charhon	Review draft motions in limine	0.50	\$	400	\$	200.00
08/28/08	A. Garza	Edit motions in limine 4 and 6.	6.60	\$	375	\$	2,475.00
09/02/08	B. Charhon	Review emails from L. LeClair and R. Katz regarding motions in limine	0.20	\$	400	\$	80.00
09/05/08	B. Charhon	Email team regarding motions in limine	0.20	\$	400	\$	80.00
09/08/08	A. Garza	Draft email on G. Upshaw motion in limine; correspond with J. Naylor about the same.	0.50	\$	375	\$	187.50
09/25/08	B. Charhon	Exchange emails with D. Greenspan regarding responses to motions in limine	0.20	\$	400	\$	80.00
09/25/08	A. Garza	Finalize motions in limine 8 - 10; serve same on defendants.	1.60	\$	375	\$	600.00
10/02/08	B. Charhon	Exchange emails with N. Cohen regarding motions in limine; exchange emails with team regarding same	0.40	\$	400	\$	160.00
10/13/08	A. Garza	Edit stipulation regarding motions in limine.	0.30	\$	375	\$	112.50
10/17/08	A. Garza	Edit MIL 4.	1.00	\$	375	\$	375.00
Project Total:			44.40			\$	20,566.50
Percentage Recoverable:	100%					\$	20,566.50
Hours Billed to Project No. 329 by Co- Counsel:	29.30						

287224_10.XLS 202 of 306

Project No. 330		Review and Summarize Defendants' Motions in					
		Limine					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/20/08	A. Garza	Review Defendants' motions in limine; write summary for team.	1.80	\$	375	\$	675.00
08/25/08	J. Naylor	Review defendants motions in limine.	1.80	\$	450	\$	810.00
09/17/08	A. Garza	Contact team regarding motions in limine.	0.30	\$	375	\$	112.50
Project Total:			3.90			\$	1,597.50
Percentage Recoverable:	100%					\$	1,597.50
Hours Billed to Project No. 330 by Co- Counsel:	26.60						

Project No. 331		Prepare Plaintiffs' Exhibit List					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/22/08	B. Charhon	Begin preparation of exhibit list	4.00	\$	400	\$	1,600.00
07/25/08	B. Charhon	Review documents for potential trial exhibits	0.80	\$	400	\$	320.00
07/31/08	B. Sanders	Assist with organization of deposition exhibits to be reviewed for possible use at trial.	1.20	\$	85	\$	102.00
08/01/08	B. Sanders	Assist with organization of deposition exhibits for possible use at trial.	2.20	\$	85	\$	187.00
08/04/08	B. Sanders	Assist with organization of deposition exhibits for possible use at trial.	1.30	\$	85	\$	110.50
08/07/08	B. Charhon	Continue preparation of exhibit list	1.20	\$	400	\$	480.00
08/08/08	B. Charhon	Extended meeting with A. Garza regarding preparation of exhibit list; continue preparation of exhibit list; office conference with K. Sherrill regarding same	2.90	\$	400	\$	1,160.00
08/08/08	K. Sherrill	Initial preparation of trial exhibit list and trial exhibits.	1.90	\$	180	\$	342.00
08/11/08	B. Charhon	Coordinate preparation of trial exhibit list	1.00	\$	400	\$	400.00
08/11/08	K. Sherrill	Review and prepare trial exhibit list	0.40	\$	180	\$	72.00
08/11/08	B. Sanders	Review and edit trial exhibit list	8.50	\$	85	\$	722.50
08/12/08	K. Sherrill	Review trial exhibits and exhibit list; emails and meetings with B. Sanders regarding same.	1.90	\$	180	\$	342.00
08/12/08	B. Sanders	Assist with review of potential trial exhibits and editing of trial exhibit list.	7.20	\$	85	\$	612.00
08/13/08	B. Charhon	Prepare trial exhibit list; review documents for inclusion on exhibit list	2.50	\$	400	\$	1,000.00
08/13/08	B. Sanders	Assist with organization and preparation of documents to be used by attorneys and co-counsel at meeting regarding identification of potential trial exhibits.	10.70	\$	85	\$	909.50
08/14/08	B. Sanders	Assist with review of potential trial exhibits and editing of trial exhibit list	9.30	\$	85	\$	790.50
08/15/08	B. Charhon	Continue preparation of exhibit list	3.90	\$	400	\$	1,560.00

287224_10.XLS 203 of 306

08/15/08	B. Sanders	Assist with organization and review of potential trial exhibits and editing of trial exhibit list.	15.30	\$ 85	\$ 1,300.50
08/16/08	B. Sanders	Assist with organization and review of potential trial exhibits and editing of trial exhibit list.	14.10	\$ 85	\$ 1,198.50
08/16/08	D. Gaiser	Quality control check draft trial exhibit list for duplicative entries; compile list of same; office conference with B. Sanders regarding same.	2.00	\$ 115	\$ 230.00
08/17/08	B. Charhon	Prepare trial exhibit list	5.00	\$ 400	\$ 2,000.00
08/17/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	9.20	\$ 85	\$ 782.00
08/17/08	L. LeClair	Continue work on pretrial filings regarding exhibits.	2.50	\$ 700	\$ 1,750.00
08/18/08	B. Charhon	Review and revise exhibit list; add documents and physical evidence to exhibit list; multiple emails with B. Sanders regarding exhibit list	3.80	\$ 400	\$ 1,520.00
08/18/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list.	14.10	\$ 85	\$ 1,198.50
08/18/08	L. LeClair	Continue work on pretrial filings regarding exhibit list.	3.80	\$ 700	\$ 2,660.00
08/19/08	B. Charhon	Circulate exhibit list to team; multiple telephone calls with B. Sanders regarding preparation of exhibit list	0.50	\$ 400	\$ 200.00
08/19/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	8.30	\$ 85	\$ 705.50
08/19/08	A. Garza	Review exhibit list; correspond with B. Charhon and B. Sanders regarding the same.	2.20	\$ 375	\$ 825.00
08/20/08	B. Charhon	Continue review and revision of exhibit list; multiple telephone conferences with R. Hilbert regarding potential exhibits	2.50	\$ 400	\$ 1,000.00
08/20/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	13.60	\$ 85	\$ 1,156.00
08/20/08	D. Page	Review and update exhibit list.	2.30	\$ 110	\$ 253.00
08/21/08	B. Charhon	Review and revise exhibit list; review and analyze documents listed on exhibit list in preparation for exchange of list	5.00	\$ 400	\$ 2,000.00
08/21/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	8.60	\$ 85	\$ 731.00
08/22/08	B. Charhon	Continue preparation of exhibit list; extended telephone conference with B. Sanders regarding exhibit list	3.10	\$ 400	\$ 1,240.00
08/22/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	8.90	\$ 85	\$ 756.50
08/22/08	L. LeClair	Pretrial preparation regarding exhibits.	2.00	\$ 700	\$ 1,400.00
08/23/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	9.20	\$ 85	\$ 782.00
08/25/08	B. Charhon	Conference with B. Sanders and K. Sherrill regarding exhibit list	0.30	\$ 400	\$ 120.00
08/25/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list.	12.80	\$ 85	\$ 1,088.00

287224_10.XLS 204 of 306

08/26/08	B. Charhon	Review and revise exhibit list; review revised pre- trial order; telephone conference with P. Rhee regarding Madden exhibits; office conference with B. Sanders and K. Sherril regarding exhibit list	1.00	\$ 400	\$ 400.00
08/26/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	7.60	\$ 85	\$ 646.00
08/27/08	B. Charhon	Review and revise exhibit list	2.00	\$ 400	\$ 800.00
08/27/08	B. Charhon	Exchange emails with R. Hilburt and B. Sanders regarding additional documents for exhibit list; exchange emails with L. LeClair regarding same	0.50	\$ 400	\$ 200.00
08/27/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	9.30	\$ 85	\$ 790.50
08/28/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list	9.30	\$ 85	\$ 790.50
08/29/08	B. Sanders	Assist with review and organization of potential trial exhibits and editing of trial exhibit list.	7.40	\$ 85	\$ 629.00
09/09/08	L. LeClair	Work on pretrial matters regarding exhibits.	2.10	\$ 700	\$ 1,470.00
Project Total:			249.20		\$ 41,332.50
Percentage Recoverable:	100%				\$ 41,332.50
Hours Billed to Project No. 331 by Co- Counsel:	15.00				

Project No. 332		Object to Defendants' Exhibits (Served September 25, 2009)			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 332 by Co- Counsel:	2.10				

287224_10.XLS 205 of 306

Project No. 333		Research Choice of Law					
Date	Time Keeper	Description	Hours	Rate		Fee	
05/08/08	B. Charhon	Review correspondence regarding choice of law issues	0.40	\$	400	\$	160.00
06/10/08	J. Naylor	Legal research regarding choice of law in matter.	0.50	\$	450	\$	225.00
07/09/08	J. Naylor	Legal research regarding choice of law.	2.30	\$	450	\$	1,035.00
08/18/08	J. Naylor	Legal research regarding choice of law on every issue.	6.80	\$	450	\$	3,060.00
08/20/08	J. Naylor	Prepare choice of law analysis.	2.10	\$	450	\$	945.00
08/20/08	J. Naylor	Telephone conference with L. Franco regarding same.	1.10	\$	450	\$	495.00
08/21/08	J. Naylor	Prepare choice of law analysis.	6.00	\$	450	\$	2,700.00
08/27/08	J. Naylor	Further research on choice of law and punitive damages.	2.90	\$	450	\$	1,305.00
08/27/08	B. Charhon	Review emails regarding choice of law issue	0.20	\$	400	\$	80.00
08/28/08	A. Garza	Correspond with team regarding choice of law.	0.60	\$	375	\$	225.00
Project Total:			22.90			\$	10,230.00
Percentage Recoverable:	100%					\$	10,230.00
Hours Billed to Project No. 333 by Co- Counsel:	0.00						

Project No. 334		Analyze Propriety of Moving the Court to Determine Choice of Law			
Date	Time Keeper	Description	Hours	Rate	Fee
07/10/08	J. Naylor	Prepare motion to determine choice of law; legal research in connection with same.	3.70	\$ 450	\$ 1,665.00
Project Total:			3.70		\$ 1,665.00
Percentage Recoverable:	100%				\$ 1,665.00
	0.00				
Project No. 334 by Co-					
Counsel:					

287224_10.XLS 206 of 306

Project No. 335		Prepare Summary of Choice of Law Issues			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.00				
Project No. 335 by Co-					
Counsel:					

Project No. 336		October 2008 Case Management and Miscellaneous					
Date	Time Keeper	Description	Hours	Rate		Fee	
10/01/08	B. Charhon	Exchange emails with opposing counsel and team regarding pre-trial deadlines	0.30	\$	400	\$	120.00
10/06/08	K. Sherrill	Meting with L. LeClair regarding trial and deadlines; review emails regarding trial preparation and depositions;	0.70	\$	180	\$	126.00
10/06/08	A. Garza	Participate in conference call; Discuss Wordperfect requirements with R. Hilbert and B. Charhon.	1.30	\$	375	\$	487.50
10/14/08	K. Sherrill	Assist with obtaining videos needed for trial.	0.30	\$	180	\$	54.00
10/23/08	D. Forbes	Convert deposition transcripts from text to PTX format and transmit to B. Sanders.	0.80	\$	125	\$	100.00
10/23/08	K. Sherrill	Assist B. Sanders with trial team requests regarding all deposition transcripts and getting material to the team.	1.00	\$	180	\$	180.00
10/24/08	K. Sherrill	Continue to prepare all depositions and exhibits for transfer to trial team.	0.90	\$	180	\$	162.00
Project Total:			5.30			\$	1,229.50
Percentage Recoverable:	100%					\$	1,229.50
Hours Billed to Project No. 336 by Co- Counsel:	19.90						

287224_10.XLS 207 of 306

Project No. 337		Prepare Joint Exhibit List					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/28/08	B. Charhon	Extended telephone conference with J. Clark regarding joint exhibit list; office conference with B. Sanders and K. Sherrill regarding joint exhibit list; telephone conference with J. Clark regarding template for exhibit list; coordinate preparation of joint exhibit list.	4.50	\$	400	\$	1,800.00
08/29/08	B. Charhon	Coordinate preparation of joint exhibit list; telephone conference with J. Clark regarding joint exhibit list	2.30	\$	400	\$	920.00
09/02/08	B. Charhon	Coordinate preparation of joint exhibit list; serve draft joint exhibit list	0.50	\$	400	\$	200.00
09/02/08	B. Charhon	Exchange emails with J. Clark regarding joint exhibit list; multiple telephone calls with B. Sanders regarding joint exhibit list.	0.30	\$	400	\$	120.00
09/02/08	B. Sanders	Edit trial exhibit list.	0.90	\$	85	\$	76.50
09/03/08	B. Sanders	Edit trial exhibit list.	1.40	\$	85	\$	119.00
09/04/08	B. Charhon	Exchange emails with J. Clark regarding joint exhibit list; review emails from team regarding same; exchange emails with B. Sanders regarding preparation of exhibits; extended office conference with B. Sanders regarding same; exchange emails with opposing counsel regarding stipulation concerning exhibits; exchange emails with opposing counsel regarding exhibit stickers; office conference with B. Sanders regarding missing exhibits;	1.80	\$	400	\$	720.00
09/04/08	B. Sanders	Edit trial exhibit list.	1.70	\$	85	\$	144.50
09/05/08	B. Charhon	Coordinate preparation of final draft of joint exhibit list; exchange emails with B. Sanders, K. Sherrill and opposing counsel regarding same; exchange emails with S. Girard regarding documents relied on; serve joint exhibit list; exchange emails with P. Rhee regarding Madden exhibits.	2.10	\$	400	\$	840.00
09/05/08	B. Sanders	Edit trial exhibit list.	1.70	\$	85	\$	144.50
09/08/08	B. Charhon	Coordinate preparation of exhibits and exhibit list	0.70	\$	400	\$	280.00
09/09/08	B. Charhon	Exchange emails with J. Clark regarding exhibit list;	0.30	\$	400	\$	120.00
09/12/08	K. Sherrill	Review and edit exhibit list	1.20	\$	180	\$	216.00
09/22/08	B. Charhon	Exchange emails with J. Clark regarding exhibit list	0.10	\$	400	\$	40.00
09/26/08	B. Charhon	Exchange emails with J. Clark regarding exhibit list	0.20	\$	400	\$	80.00
10/01/08	B. Charhon	Attention to exhibit list	0.50	\$	400	\$	200.00
10/02/08	B. Charhon	Attention to exhibit list; email same to opposing counsel.	0.40	\$	400	\$	160.00

287224_10.XLS 208 of 306

10/02/08	B. Sanders	Assist with responses to defendants' questions regarding trial exhibits and trial exhibit list; update trial exhibit list.	2.40	\$ 85	\$ 204.00
10/03/08	B. Charhon	Attention to trial exhibit list	0.50	\$ 400	\$ 200.00
10/06/08	B. Charhon	Attention to trial exhibit list	1.00	\$ 400	\$ 400.00
10/07/08	B. Charhon	Attention to trial exhibit list	2.00	\$ 400	\$ 800.00
10/10/08	B. Charhon	Exchange emails with J. Clark regarding trial exhibits; exchange emails with J. Naylor regarding trial exhibits	0.40	\$ 400	\$ 160.00
Project Total:			26.90		\$ 7,944.50
Percentage Recoverable:	100%				\$ 7,944.50
Hours Billed to Project No. 337 by Co- Counsel:	15.40				

Project No. 337(A)		Prepare Trial Exhibits					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
07/22/08	K. Sherrill	trial exhibits; meeting and emails with C. Alaniz regarding same; review of documents for potential trial exhibits;		\$	180	\$	324.00
08/04/08	K. Sherrill	Research native files and the proper bates numbers; prepare trial exhibits.	1.80	\$	180	\$	324.00
08/18/08	K. Sherrill	Prepare trial exhibits, meetings with B. Sanders regarding exhibit list and emails regarding same.	3.10	\$	180	\$	558.00
08/18/08	K. Sherrill	Assist with trial exhibits	0.10	\$	180	\$	18.00
08/19/08	K. Sherrill	Telephone conferences regarding trial exhibits and exhibit list and emails regarding same with B. Sanders; review court order regarding trial exhibits and exhibit list; assist with trial exhibits.	2.90	\$	180	\$	522.00
08/20/08	K. Sherrill	Assist with trial list preparation and exhibits	0.70	\$	180	\$	126.00
08/22/08	J. Leach	Assist B. Sanders with case trial exhibits.	5.00	\$	115	\$	575.00
08/25/08	K. Sherrill	Assist with preparation of trial exhibit list and trial exhibits and meetings with B. Charhon and B. Sanders regarding trial exhibits.	3.40	\$	180	\$	612.00
08/25/08	J. Leach	Assist B. Sanders with case trial exhibits.	4.00	\$	115	\$	460.00
08/26/08	K. Sherrill	Assist with trial exhibit list and trial exhibits; meetings with B Sanders regarding trial preparation; review native file information for trial exhibit purposes.	3.90	\$	180	\$	702.00
08/27/08	K. Sherrill	Assist with preparation of trial exhibit list and trial exhibits.	2.10	\$	180	\$	378.00
08/28/08	K. Sherrill	Assist with the trial exhibit list and trial exhibits.	2.30	\$	180	\$	414.00
09/02/08	K. Sherrill	Meeting with B. Sanders regarding trial preparation; preparation of trial exhibits.	2.30	\$	180	\$	414.00

287224_10.XLS 209 of 306

09/02/08	B. Sanders	Assist with review and organization of trial exhibits.	4.20	\$ 85	\$ 357.00
09/03/08	B. Charhon	Coordinate preparation of trial exhibits to send to Manatt	0.20	\$ 400	\$ 80.00
09/03/08	K. Sherrill	Emails and telephone conferences with D. Wishon regarding trial preparation and trial exhibits; meeting with B. Sanders regarding trial exhibits and preparation of same.	1.70	\$ 180	\$ 306.00
09/03/08	B. Sanders	Assist with review and organization of trial exhibits.	5.40	\$ 85	\$ 459.00
09/04/08	K. Sherrill	Meeting with B. Charhon and B. Sanders regarding trial exhibits; preparation of trial exhibits;	3.10	\$ 180	\$ 558.00
09/04/08	B. Sanders	Assist with review and organization of trial exhibits.	6.90	\$ 85	\$ 586.50
09/05/08	B. Sanders	Assist with review and organization of trial exhibits.	7.10	\$ 85	\$ 603.50
09/08/08	B. Charhon	Prepare Madden exhibits for exchange with opposing counsel	1.00	\$ 400	
09/08/08	K. Sherrill	Meetings with B. Sanders and D. Gaiser regarding trial exhibits and prepare trial exhibits.	2.90	\$ 180	\$ 522.00
09/08/08	B. Sanders	Assist with review and preparation of trial exhibits.	8.80	\$ 85	\$ 748.00
09/09/08	B. Charhon	Multiple office conferences with B. Sanders regarding preparation of exhibits	0.30	\$ 400	\$ 120.00
09/09/08	B. Charhon	Exchange emails with P. Rhee regarding Madden screen shots for inclusion on exhibit list	0.20	\$ 400	\$ 80.00
09/09/08	K. Sherrill	Preparation of trial exhibits and other trial preparation.	2.80	\$ 180	\$ 504.00
09/09/08	B. Sanders	Assist with review and preparation of trial exhibits.	9.30	\$ 85	\$ 790.50
09/10/08	B. Charhon	Prepare trial exhibits for service on opposing counsel; extended meeting with B. Sanders regarding same	1.10	\$ 400	
09/10/08	K. Sherrill	Preparation of final trial exhibits to exchange with opposing counsel.	2.20	\$ 180	\$ 396.00
09/10/08	B. Sanders	Assist with review and preparation of trial exhibits.	7.80	\$ 85	\$ 663.00
09/11/08	B. Charhon	Finalize exhibits to be served on Defendants; office conference with B. Sanders regarding same; telephone conference with B. Sanders regarding exhibit of H. Adderley screen shots	1.50	\$ 400	
09/11/08	B. Sanders	Assist with review and preparation of trial exhibits.	6.30	\$ 85	\$ 535.50
09/12/08	B. Sanders	Assist with review and preparation of trial exhibits.	5.70	\$ 85	\$ 484.50
09/15/08	B. Sanders	Assist with review and preparation of trial exhibits.	2.00	\$ 85	\$ 170.00
09/18/08	B. Charhon	Exchange emails with J. Clark regarding exhibits	0.30	\$ 400	
09/18/08	K. Sherrill	Meeting with paralegal team regarding trial exhibits	0.60	\$ 180	

287224_10.XLS 210 of 306

09/19/08	B. Charhon	Coordinate production of Madden games to Defendants	0.30	\$ 400	
09/22/08	B. Charhon	Exchange emails with B. Sanders regarding inspection of Madden games; exchange emails with L. Franco regarding Madden exhibits	0.30	\$ 400	
09/24/08	B. Sanders	Assist with preparation of trial exhibits.	5.20	\$ 85	\$ 442.00
09/25/08	B. Sanders	Assist with review of trial exhibits.	2.60	\$ 85	\$ 221.00
10/02/08	B. Sanders	Assist with preparation of trial exhibits	4.20	\$ 85	\$ 357.00
10/02/08	K. Sherrill	Emails regarding trial exhibits and phone conference regarding same; emails regarding trial exhibit list and redaction of exhibits and phone conference regarding same; review trial exhibits regarding redaction issues	0.80	\$ 180	\$ 144.00
10/06/08	B. Sanders	Assist with preparation of trial exhibits.	3.30	\$ 85	\$ 280.50
10/06/08	K. Sherrill	Redacting trial exhibits; email D. Wishon updated and additional trial exhibits	7.00	\$ 180	\$ 1,260.00
10/07/08	B. Sanders	Assist with preparation of trial exhibits	7.50	\$ 85	
10/08/08	B. Sanders	Assist with preparation of trial exhibits.	7.30	\$ 85	\$ 620.50
10/09/08	B. Sanders	Assist with preparation of trial exhibits.	10.10	\$ 85	\$ 858.50
10/10/08	B. Charhon	Meet with B. Sanders regarding redactions to interrogatories on trial exhibit list	0.50	\$ 400	
10/10/08	B. Sanders	Assist with preparation of trial exhibits.	9.70	\$ 85	\$ 824.50
10/11/08	B. Sanders	Assist with preparation of trial exhibits.	8.30	\$ 85	\$ 705.50
10/11/08	J. Leach	Assist S. Bovine and B. Sanders with trial exhibits.	6.50	\$ 115	\$ 747.50
10/12/08	B. Sanders	Assist with preparation of trial exhibits.	10.10	\$ 85	\$ 858.50
10/12/08	J. Leach	Assist S. Bovine and B. Sanders with trial exhibits.	4.00	\$ 115	\$ 460.00
10/13/08	B. Sanders	Assist with preparation of trial exhibits.	8.10	\$ 85	\$ 688.50
10/14/08	D. Forbes	Replace corrected exhibit in Parrish Trial Exhibit database.	0.80	\$ 125	\$ 100.00
10/14/08	B. Sanders	Assist with preparation of trial exhibits.	7.60	\$ 85	\$ 646.00
10/15/08	B. Sanders	Assist with preparation of trial exhibits.	7.60	\$ 85	\$ 646.00
10/16/08	B. Sanders	Assist with preparation of trial exhibits.	2.40	\$ 85	\$ 204.00
10/16/08	K. Sherrill	Assist trial team with information regarding trial exhibits and duplicate deposition exhibits.	0.50	\$ 180	\$ 90.00
10/17/08	B. Sanders	Assist with preparation of trial exhibits.	0.90	\$ 85	\$ 76.50
10/23/08	B. Sanders	Assist with preparation of trial exhibits.	2.90	\$ 85	\$ 246.50

287224_10.XLS 211 of 306

10/29/08	B. Sanders	Research database to assist trial team with questions regarding trial exhibits.	2.50	\$ 85	\$ 212.50
11/03/08	B. Sanders	Research database to assist trial team with questions regarding trial exhibits.	2.10	\$ 85	\$ 178.50
Project Total:			237.90		\$ 24,258.50
Percentage Recoverable:	100%	Total Fees Recoverable:			\$ 24,258.50
Hours Billed to Project No. 337(A) by Co-Counsel:	0.00				

Project No. 337(B)		Attend to Trial Logistics					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
09/18/08	B. Charhon	Multiple emails with trial consultants regarding graphics and equipment	0.30	\$	400	\$	120.00
09/19/08	B. Charhon	Telephone conference with trial consultants regarding equipment needed for trial.	0.30	\$	400	\$	120.00
09/22/08	B. Charhon	Exchange emails with TrialGraphix regarding AV budget	0.20	\$	400	\$	80.00
09/26/08	B. Charhon	Exchange emails with C. Hummel and L. LeClair regarding audio/video budget	0.20	\$	400	\$	80.00
10/01/08	B. Charhon	Draft email to L. LeClair, C. Hummel and R. Katz regarding trial logistics	0.30	\$	400	\$	120.00
10/02/08	B. Charhon	Attention to trial logistics	0.30	\$	400	\$	120.00
10/03/08	B. Charhon	Exchange emails with opposing counsel regarding trial logistics; exchange emails with K. Sherrill and opposing counsel regarding equipment needed for trial; email trial team regarding logistics	0.60	\$	400	\$	240.00
10/06/08	B. Charhon	Attention to trial logistics	1.00	\$	400	\$	400.00
10/06/08	K. Sherrill	Emails with D. Wishon and telephone conference regarding trial logistics issues	0.20	\$	180	\$	36.00
10/07/08	B. Charhon	Exchange emails with D. Wishon regarding hotel reservations; telephone conferences with C. McNeil, W. Beach and B. Laird regarding travel arrangements; Exchange emails with trial consultant regarding trial logistics; draft e-mail from L. LeClair to team regarding trial logistics; multiple telephone conferences with S. Bovine and B. Sanders regarding same	1.50	\$	400	\$	600.00
10/07/08	B. Sanders	Participate in conference call with S. Bovine and D. Wishon regarding trial logistics and preparation.	1.10	\$	85	\$	93.50
10/08/08	B. Charhon	Attend to trial logistics	0.50	\$	400	\$	200.00
10/09/08	B. Charhon	Attend to trial logistics	0.50	\$	400	\$	200.00

287224_10.XLS 212 of 306

10/10/08	B. Charhon	Review and respond to emails from TrialGraphix regarding consulting services; review and respond to emails from S. Bovine regarding trial equipment	0.50	\$ 400	\$ 200.00
10/10/08	B. Sanders	Participate in conference call with S. Bovine, H. Nava and O. Morena regarding trial logistics and preparation.	0.40	\$ 85	\$ 34.00
10/12/08	B. Charhon	Multiple telephone conferences with S. Bovine regarding trial logistics	0.50	\$ 400	\$ 200.00
10/13/08	B. Charhon	Attend to travel arrangements for player witnesses.	0.50	\$ 400	\$ 200.00
Project Total:			8.90		\$ 3,043.50
Percentage Recoverable:	25%				\$ 760.88
Hours Billed to Project No. 337(B) by Co-Counsel:	12.20				

Project No. 337(C)		Prepare Joint Timeline						
Date	Time Keeper	Description	Hours	Rat	e	Fee		
10/07/08	B. Charhon	Prepare timeline demonstrative; telephone conference with L. LeClair regarding same; exchange emails with C. Martin regarding same	1.50	\$	400	\$	600.00	
10/09/08	B. Charhon	Prepare timeline	1.00	\$	400	\$	400.00	
10/13/08	B. Charhon	Review and revise timeline demonstrative; telephone conference with C. Hummel regarding same	0.50	\$	400	\$	200.00	
10/15/08	B. Charhon	Revise timeline; email team regarding same; exchange emails with opposing counsel regarding same	1.50	\$	400	\$	600.00	
10/16/08	B. Charhon	Finalize timeline; circulate proposal regarding same.	1.00	\$	400	\$	400.00	
Project Total:			5.50			\$	2,200.00	
Percentage Recoverable:	100%					\$	2,200.00	
Hours Billed to Project No. 337(C) by Co-Counsel:	0%							

Project No. 338		Prepare for Deposition of S. Saxon					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/15/08	L. LeClair	Work on outlines and prepare for S. Saxon	5.70	\$	700	\$	3,990.00
		deposition.					

287224_10.XLS 213 of 306

08/16/08	A. Garza	Supplement Saxon subpoena.	0.80	\$ 375	\$ 300.00
08/20/08	K. Sherrill	Deposition preparation for Mr. Saxon; telephone conference with L. LeClair regarding deposition; telephone conference with B. Sanders regarding upcoming deposition	1.50	\$ 180	\$ 270.00
08/20/08	L. LeClair	Extensive preparation for S. Saxon deposition.	6.30	\$ 700	\$ 4,410.00
08/21/08	L. LeClair	Prepare for S. Saxon; cancel deposition.	7.20	\$ 700	\$ 5,040.00
09/11/08	B. Charhon	Exchange emails with K. Sherrill regarding S. Saxon deposition notice	0.20	\$ 400	\$ 80.00
09/11/08	K. Sherrill	Assist with preparation of the witness pack for S. Saxon	0.40	\$ 180	\$ 72.00
09/15/08	B. Charhon	Exchange emails with K. Sherrill regarding S. Saxon deposition notice	0.20	\$ 400	\$ 80.00
09/16/08	K. Sherrill	Emails with A. Garza regarding S. Saxon amended subpoena and prepare and serve same	2.90	\$ 180	\$ 522.00
09/16/08	A. Garza	Contact K. Sherrill regarding S. Saxon subpoena.	0.20	\$ 375	\$ 75.00
09/17/08	K. Sherrill	Confirm arrangement for S. Saxon deposition	0.20	\$ 180	\$ 36.00
09/23/08	L. LeClair	S. Saxon deposition preparation.	2.00	\$ 700	\$ 1,400.00
09/24/08	L. LeClair	Work on trial preparation regarding S. Saxon.	1.40	\$ 700	\$ 980.00
09/26/08	K. Sherrill	Telephone conference with Manatt Phelps' Washington D.C. office regarding S. Saxon documents	0.10	\$ 180	\$ 18.00
09/26/08	L. LeClair	Trial preparation; work on outlines for trial regrding S. Saxon.	3.10	\$ 700	\$ 2,170.00
09/29/08	K. Sherrill	Deposition preparation for S. Saxon	2.00	\$ 180	\$ 360.00
09/29/08	L. LeClair	Work on pretrial and prepare for S. Saxon.	5.10	\$ 700	\$ 3,570.00
09/30/08	K. Sherrill	Deposition preparation for S. Saxon	3.10	\$ 180	\$ 558.00
09/30/08	L. LeClair	Prepare for S. Saxon deposition.	3.00	\$ 700	\$ 2,100.00
Project Total:			45.40		\$ 26,031.00
Percentage Recoverable:	100%				\$ 26,031.00
Hours Billed to Project No. 338 by Co- Counsel:	2.10				

287224_10.XLS 214 of 306

Project No. 339		Attend Deposition of S. Saxon (October 1, 2008)				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/01/08	L. LeClair	Deposition of S. Saxon.	8.00	\$ 700	\$	5,600.00
Project Total:			8.00		\$	5,600.00
Percentage	100%				\$	5,600.00
Recoverable:						
Hours Billed to	0.00					
Project No. 339 by Co-						
Counsel:						

Project No. 340		Prepare for Deposition of C. McNeil					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/14/08	A. Garza	Contact C. McNeil re: subpoena.	0.20	\$	375	\$	75.00
08/18/08	A. Garza	Correspond with C. McNeil regarding flights.	0.20	\$	375	\$	75.00
08/24/08	A. Garza	Contact C. McNeil regarding postponement of deposition.	0.30	\$	375	\$	112.50
08/29/08	B. Charhon	Office conference with L. LeClair regarding C. McNeil and B. Laird depositions	0.50	\$	400	\$	200.00
09/04/08	B. Charhon	Exchange emails with R. Katz and opposing counsel regarding deposition dates; telephone conferences with B. Laird and C. McNeil regarding same	0.70	\$	400	\$	280.00
09/05/08	B. Charhon	Telephone conference with D. Greenspan regarding deposition dates and motions in limine; exchange emails with R. Katz regarding deposition dates	0.40	\$	400	\$	160.00
09/08/08	B. Charhon	Coordinate deposition dates for B. Laird and C. McNeil	0.30	\$	400	\$	120.00
09/09/08	B. Charhon	Coordinate deposition schedule for depositions of B. Laird and C. McNeil.	0.30	\$	400	\$	120.00
09/10/08	B. Charhon	Exchange emails with D. Greenspan regarding deposition dates; exchange emails with L. LeClair and R. Katz regarding deposition dates; telephone conference with R. Katz regarding same	0.70	\$	400	\$	280.00
09/10/08	A. Garza	Contact C. McNeil regarding depositions.	0.20	\$	375	\$	75.00
09/29/08	B. Charhon	Meet with C. McNeil; eview deposition of W. Beach in preparation for deposition of C. McNei.	7.00	\$	400	\$	2,800.00
09/29/08	K. Sherrill	Deposition preparation for C. McNeil	0.90	\$	180	\$	162.00
09/30/08	B. Charhon	Prepare mock cross outline for preparation of C. McNeil; review deposition transcripts of B. Laird, H. Adderley and W. Beach in connection with same	3.50	\$	400	\$	1,400.00
10/01/08	B. Charhon	Continue preparation of mock cross outline	1.00	\$	400	\$	400.00

287224_10.XLS 215 of 306

10/01/08	A. Garza	Call C. McNeil regarding deposition preparation.	0.10	\$ 375	\$ 37.50
10/02/08	B. Charhon	Prepare McNeil for deposition	7.60	\$ 400	\$ 3,040.00
10/02/08	L. LeClair	Deposition preparation for C. McNeil.	8.00	\$ 700	\$ 5,600.00
Project Total:			31.90		\$ 14,937.00
Percentage Recoverable:	100%				\$ 14,937.00
Hours Billed to Project No.340 by Co- Counsel:	0.00				

Project No. 341		Attend Deposition of C. McNeil (October 3, 2008)					
Date	Time Keeper	Description	Hours	Rate		Fee	
10/03/08	B. Charhon	Meet with C. McNeil prior to deposition; attend deposition of C. McNeil; exchange emails with team regarding C. McNeil deposition; telephone conference with R. Katz regarding same	6.40	\$ 4	100	\$	2,560.00
10/03/08	L. LeClair	Deposition of C. McNeil.	6.00	\$ 7	700	\$	4,200.00
Project Total:			12.40			\$	6,760.00
Percentage Recoverable:	100%					\$	6,760.00
Hours Billed to Project No. 341 by Co- Counsel:	0.00						

287224_10.XLS 216 of 306

Project No. 342		Prepare Joint Pre-Trial Order (Filed October 8, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/11/08	J. Naylor	Prepare pretrial order.	2.30	\$	450	\$	1,035.00
08/13/08	J. Naylor	Draft pre-trial order.	7.40	\$	450	\$	3,330.00
08/15/08	J. Naylor	Prepare pre-trial order.	5.70	\$	450	\$	2,565.00
08/16/08	J. Naylor	Prepare pre-trial order.	4.60	\$	450	\$	2,070.00
08/17/08	J. Naylor	Prepare pre-trial order.	5.90	\$	450	\$	2,655.00
08/18/08	J. Naylor	Conference call with all team members regarding various issues.	1.10	\$	450	\$	495.00
08/18/08	J. Naylor	Prepare pretrial order.	1.80	\$	450	\$	810.00
08/19/08	L. LeClair	Continue work on pretrial filings.	5.10	\$	700	\$	3,570.00
08/25/08	J. Naylor	Revise pretrial order.	5.30	\$	450	\$	2,385.00
08/25/08	J. Naylor	Further research regarding disgorgement and other questions of law.	2.00	\$	450	\$	900.00
08/27/08	B. Charhon	Telephone conference with J. Naylor regarding pre trial order; extended telephone conference with R. Hilburt and D. Greenspan regarding pre-trial submissions	1.30	\$	400	\$	520.00
08/27/08	J. Naylor	Revise pretrial order.	8.10	\$	450	\$	3,645.00
08/27/08	J. Naylor	Telephone conference with L. LeClair regarding choice of law and various other issues.	0.40	\$	450	\$	180.00
08/27/08	J. Naylor	Review defendants pretrial order and jury instructions.	3.20	\$	450	\$	1,440.00
08/28/08	B. Charhon	Telephone conference with J. Naylor, R. Hilburt and L. Franco regarding pre-trial deadlines; extended telephone conference with D. Greenspan, R. Hilburt and L. Franco regarding joint jury instructions and pre-trial order; telephone conference with J. Naylor regarding stipulated facts	1.30	\$	400	\$	520.00
08/28/08	L. LeClair	Work on pretrial filings.	2.40			\$	-
08/28/08	J. Naylor	Coordinate with paralegal conversion of pretrial order into Word Perfect.	0.40	\$	450	\$	180.00
08/29/08	J. Naylor	Work on joint pretrial order and jury instructioins.	1.80	\$	450	\$	810.00
08/29/08	J. Naylor	Telephone conference with D. Greenspan regarding various issues.	0.90	\$	450	\$	405.00
08/29/08	J. Naylor	Review and respond to various e-mails from team.	0.40	\$	450	\$	180.00
09/02/08	L. LeClair	Work on pretrial order.	1.50			\$	-
09/02/08	J. Naylor	Review and respond to e-mails from team members.	0.80	\$	450	\$	360.00
09/04/08	J. Naylor	Review and respond to team e-mails.	0.50	\$	450	\$	225.00
09/08/08	B. Charhon	Review and comment on stipulated facts.	0.50	\$	400	\$	200.00
09/08/08	L. LeClair	Work on trial preparation, and pretrial order.	2.30			\$	-
09/08/08	J. Naylor	Coordinate defendants revisions of joint pretrial order.	2.80	\$	450	\$	1,260.00
09/08/08	J. Naylor	Telephone conferences and e-mails with D. Greenspan regarding same.	0.50	\$	450	\$	225.00
09/08/08	J. Naylor	Further revisions to joint pretrial order.	0.20	\$	450	\$	90.00

287224_10.XLS 217 of 306

09/09/08	B. Charhon	Review and revise stipulated facts	0.50	\$ 400	\$ 200.00
09/09/08	J. Naylor	Review and revise defendants joint pretrial order.	3.20	\$ 450	\$ 1,440.00
09/09/08	J. Naylor	Telephone conferences with D. Greenspan regarding same.	0.30	\$ 450	\$ 135.00
09/09/08	J. Naylor	Telephone conference with R. Hilbert regarding same.	0.40	\$ 450	\$ 180.00
09/10/08	B. Charhon	Telephone conference with team regarding status of case and stipulated facts	0.60	\$ 400	\$ 240.00
09/10/08	L. LeClair	Work on trial planning, outlines, and pretrial order.	2.10		\$ -
09/10/08	J. Naylor	Review joint fact issues list.	0.90	\$ 450	\$ 405.00
09/10/08	J. Naylor	Create chart for contrasting purposes.	1.20	\$ 450	\$ 540.00
09/11/08	B. Charhon	Review emails from team regarding stipulated facts	0.20	\$ 400	\$ 80.00
09/11/08	K. Sherrill	Emails with J. Naylor regarding fact issues; meeting with C. Alaniz regarding comaparison chart for factual issues; review and edit comaparison chart for factual issues	1.80	\$ 180	\$ 324.00
09/11/08	L. LeClair	Work on pretrial order.	1.20		\$ -
09/11/08	J. Naylor	Work with K. Sherrill in organizing preferred fact issues.	0.80	\$ 450	\$ 360.00
09/11/08	J. Naylor	Create compare and contrast list for team.	1.70	\$ 450	\$ 765.00
09/11/08	J. Naylor	Conference call with team on various issues.	0.70	\$ 450	\$ 315.00
09/11/08	J. Naylor	E-mails to D. Greenspan.	0.30	\$ 450	\$ 135.00
09/11/08	J. Naylor	Review and respond to team e-mails regarding various issues	0.40	\$ 450	\$ 180.00
09/12/08	B. Charhon	Review draft fact issues circulated by J. Naylor	0.40	\$ 400	\$ 160.00
09/15/08	J. Naylor	Review and revise comments to fact sections of pretrial order.	3.70	\$ 450	\$ 1,665.00
09/15/08	J. Naylor	Telephone conferences with B. Charhon regarding various issues.	0.70	\$ 450	\$ 315.00
09/15/08	J. Naylor	Telephone conferences with L. LeClair regarding various issues.	0.50	\$ 450	\$ 225.00
09/25/08	J. Naylor	Conference call with opposing counsel and C. Hummel.	0.90	\$ 450	\$ 405.00
09/25/08	J. Naylor	Draft revisions to joint pretrial order.	2.10	\$ 450	\$ 945.00
09/30/08	J. Naylor	Revise pretrial order.	5.50	\$ 450	\$ 2,475.00
10/01/08	B. Charhon	Exchange emails with J. Naylor regarding number of members in class for reference in pre-trial order	0.50	\$ 400	\$ 200.00
10/02/08	J. Naylor	Prepare joint pretrial order.	4.20	\$ 450	\$ 1,890.00
10/03/08	B. Sanders	Coordinate exhibits for joint pretrial order	4.90	\$ 85	\$ 416.50
10/04/08	L. LeClair	Trial preparation; joint pretrial order.	8.00	\$ 700	\$ 5,600.00
10/05/08	L. LeClair	Trial preparation; joint pretrial order.	8.00	\$ 700	\$ 5,600.00
10/06/08	B. Sanders	Assist with preparation of exhibits for joint pretrial order	1.50	\$ 85	\$ 127.50
10/06/08	L. LeClair	Trial preparation; joint pretrial order.	8.00	\$ 700	\$ 5,600.00
10/07/08	B. Charhon	Prepare exhibits for pre-trial order	0.50	\$ 400	\$ 200.00
10/07/08	L. LeClair	Trial preparation; joint pretrial order.	8.00	\$ 700	\$ 5,600.00
10/07/08	J. Naylor	Conference with B. Charhon regarding pretrial order.	0.30	\$ 450	\$ 135.00

287224_10.XLS 218 of 306

10/07/08	J. Naylor	Telephone conferences with defendants regarding pretrial order and changes to same.	0.50	\$ 450	\$ 225.00
10/08/08	L. LeClair	Trial preparation; joint pretrial order.	8.00	\$ 700	\$ 5,600.00
					\$ -
Project Total:			153.00		\$ 72,738.00
Percentage Recoverable:	100%				\$ 72,738.00
Hours Billed to Project No. 342 by Co- Counsel:	25.10				

Project No. 343		Prepare Opposition to Defendants' Motions in Limine (Filed October 8, 2008)					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/26/08	A. Garza	Draft response to motions in limine 1 and 2.	5.20	\$	375	\$	1,950.00
08/27/08	A. Garza	Finish drafting response to motions in limine.	3.70	\$	375	\$	1,387.50
08/27/08	J. Naylor	Revise oppositions to motions in limine.	2.10	\$	450	\$	945.00
09/23/08	A. Garza	Continue drafting motions in limine.	2.00	\$	375	\$	750.00
09/26/08	A. Garza	Insert edits to motions in limine 1 - 3 responses; circulate same to team.	2.80	\$	375	\$	1,050.00
10/06/08	A. Garza	Edit opposition to defendants' motion in limine #1; speak to R. Hilbert about the same.	4.30	\$	375	\$	1,612.50
10/08/08	J. Naylor	Revise brief objecting to defendants motion in limine.	3.00	\$	450	\$	1,350.00
10/12/08	A. Garza	Summarize defendants' motions in limine numbers 1-3.	1.20	\$	375	\$	450.00
Project Total:			24.30			\$	9,495.00
Percentage Recoverable:	100%					\$	9,495.00
Hours Billed to Project No. 343 by Co- Counsel:	117.80						

287224_10.XLS 219 of 306

Project No. 344		Analyze Defendants' Production Relating to Cloning			
Date	Time Keeper	Description	Hours	Rate	Fee
07/21/08	B. Charhon	Review Defendant's production for documents related to EA's use of clones	2.70	\$ 400	\$ 1,080.00
Project Total:			2.70		\$ 1,080.00
Percentage Recoverable:	100%				\$ 1,080.00
Hours Billed to Project No. 344 by Co- Counsel:	0.00				

Project No. 345		Analyze Defendants' Pro-			
		Footballreference.com Materials			
Date	Time Keeper	Description	Hours	Rate	Fee
09/11/08	B. Charhon	Prepare analysis of nfl.reference.com materials on Defendants' exhibit list	1.40	\$ 400	\$ 560.00
09/12/08	B. Charhon	Continue preparation of analysis of Defendant's exhibits of Pro-Football Reference.com materials; circulate chart regarding same to team;	2.80	\$ 400	\$ 1,120.00
D :			4.20		Φ 1.000.00
Project Total:			4.20		\$ 1,680.00
Percentage	100%				\$ 1,680.00
Recoverable:					
Hours Billed to Project No. 345 by Co-	0.00				
Counsel:					

287224_10.XLS 220 of 306

Project No. 346		Research Statute of Limitations under Virginia and D.C. Law					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/10/08	J. Naylor	Draft motion for summary judgment response brief section regarding same.	7.80	\$	450	\$	3,510.00
07/11/08	J. Naylor	Draft and research regarding motion to determine choice of law.	2.60	\$	450	\$	1,170.00
07/22/08	J. Naylor	Research regarding statute of limitations for various causes of action under DC and Virginia law.	0.30	\$	450	\$	135.00
08/19/08	J. Naylor	Prepare choice of law analysis on every legal issue in case.	11.80	\$	450	\$	5,310.00
08/28/08	J. Naylor	Further research on statute of limitations.	1.00	\$	450	\$	450.00
Project Total:			23.50			\$	10,575.00
Percentage Recoverable:	100%					\$	10,575.00
Hours Billed to Project No. 346 by Co- Counsel:	2.00						

Project No. 347		Research Admissibility of Internet Evidence			
Date	Time Keeper	Description	Hours	Rate	Fee
08/11/08	J. Naylor	Legal research regarding admissibility of Internet evidence.	4.20	\$ 450	\$ 1,890.00
Project Total:			4.20		\$ 1,890.00
Percentage	100%				\$ 1,890.00
Recoverable:					
Hours Billed to	3.00				
Project No. 347 by Co-					
Counsel:					

287224_10.XLS 221 of 306

Project No. 348		Research Ambiguity of Contracts				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/17/08	J. Naylor	Legal research regarding ambiguity.	2.80	\$ 450	\$	1,260.00
Project Total:			2.80		\$	1,260.00
Percentage	100%				\$	1,260.00
Recoverable:						
Hours Billed to	0.00					
Project No. 348 by Co-						
Counsel:						

Project No. 349		Research Punitive Damages Cap Under Virginia Law					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/19/08	J. Johnson	Research for J. Naylor regarding Virginia punitive damages cap.	2.20	\$	90	\$	198.00
05/27/08	J. Naylor	Legal research regarding what law will govern punitive damages claim.	0.60	\$	450	\$	270.00
05/27/08	J. Naylor	Review instructions in each jurisdiction and elements of proof.	1.00	\$	450	\$	450.00
05/27/08	J. Naylor	Prepare memorandum regarding same.	1.90	\$	450	\$	855.00
Project Total:			5.70			\$	1,773.00
Percentage Recoverable:	100%					\$	1,773.00
Hours Billed to Project No. 349 by Co- Counsel:	0.00						

Project No. 350		Research California's Dead Man's Statute			
Date	Time Keeper	Description	Hours	Rate	Fee
08/22/08	A. Garza	Research California dead man's statute.	0.60	\$ 375	\$ 225.00
Project Total:			0.60		\$ 225.00
Percentage Recoverable:	100%				\$ 225.00
Hours Billed to Project No. 350 by Co- Counsel:	0.00				

287224_10.XLS 222 of 306

Project No. 351		Research Learned Treatise Doctrine, Draft Memo Regarding the Same					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/19/08	J. Naylor	Conference with B. Charhon regarding learned treatise doctrine.	0.40	\$ 4	50	\$	180.00
08/19/08	J. Naylor	Legal research regarding same.	0.40	\$ 4	50	\$	180.00
08/19/08	J. Naylor	Conference with L. LeClair on various issues.	0.20	\$ 4	50	\$	90.00
08/22/08	J. Naylor	Legal research regarding the learned treatise doctrine.	2.10	\$ 4	50	\$	945.00
08/22/08	J. Naylor	Draft memorandum regarding same.	1.80	\$ 4	50	\$	810.00
08/22/08	J. Naylor	Conferences with B. Charhon regarding same.	1.00	\$ 4	50	\$	450.00
Project Total:			5.90			\$	2,655.00
Percentage Recoverable:	100%					\$	2,655.00
Hours Billed to Project No. 351 by Co- Counsel:	0.00						

Project No. 352		Identify Class Members in Madden VideoGames			
Date	Time Keeper	Description	Hours	Rate	Fee
07/25/08	B. Charhon	Exchange emails with R. Hilburt regarding review of Madden game; telephone conference with R. Hilburt regarding same; review Madden games in order to identify class members whose statistics are used.	1.20	\$ 400	\$ 480.00
07/26/08	B. Charhon	Review Madden game to identify class members whose statistics are used.	5.50	\$ 400	\$ 2,200.00
07/28/08	B. Charhon	Coordinate preparation of spreadsheet identifying class members used in Maden game; review	0.80	\$ 400	\$ 320.00
07/28/08	A. Garza	Review Madden 07 for clones.	3.50	\$ 375	\$ 1,312.50
Project Total:			11.00		\$ 4,312.50
Percentage Recoverable:	100%				\$ 4,312.50
Hours Billed to Project No. 352 by Co- Counsel:	4.50				

287224_10.XLS 223 of 306

Project No. 353		Draft Roster List in Madden 2007			
Date	Time Keeper	Description	Hours	Rate	Fee
07/29/08	A. Garza	Draft list of rosters in Madden 2007.	1.20	\$ 375	\$ 450.00
Project Total:			1.20		\$ 450.00
Percentage	100%				\$ 450.00
Recoverable:					
Hours Billed to	0.00				
Project No. 353 by Co-					
Counsel:					

Project No. 354		Prepare Madden Summaries			
Date	Time Keeper	Description	Hours	Rate	Fee
08/15/08	B. Charhon	Telephone call with P. Rhee regarding Madden project; prepare template for Madden project	1.00	\$ 400	\$ 400.00
08/18/08	B. Charhon	Email team regarding Madden projects; telephone conference with P. Rhee regarding Madden projects; telephone conference with R. Hilbert regarding Madden projects; research internet for source materials for Madden projects.	3.00	\$ 400	\$ 1,200.00
08/19/08	B. Charhon	Multiple telephone conferences with J. Naylor regarding preparation of Madden summaries; telephone conversation with L. LeClair and J. Naylor regarding same; multiple telephone calls with P. Rhee regarding same; prepare list of players to be used in Madden summaries; exchange emails with R. Hilbert regarding same	3.50	\$ 400	\$ 1,400.00
08/20/08	B. Charhon	Multiple telephone conferences with P. Rhee regarding Madden summaries; finalize list of players to be included in Madden summaries	1.00	\$ 400	\$ 400.00
08/21/08	B. Charhon	Review Madden summary prepared by P. Rhee	1.00	\$ 400	\$ 400.00
08/22/08	B. Charhon	Review Madden summary prepared by P. Rhee	1.00	\$ 400	\$ 400.00
08/25/08	B. Charhon	Extended telephone conference with R. Hilburt regarding supplemental expert report, Madden projects and status of case; telephone conference with P. Rhee regarding Madden projects	0.70	\$ 400	\$ 280.00
08/27/08	B. Charhon	Exchange emails with P. Rhee regarding Madden evidence; telephone call with P. Rhee regarding same	0.50	\$ 400	\$ 200.00
09/04/08	B. Charhon	Review and revise Madden summaries	0.50	\$ 400	\$ 200.00
09/09/08	B. Charhon	Finalize Madden summaries and circulate to team	0.50	\$ 400	\$ 200.00

287224_10.XLS 224 of 306

09/10/08	B. Charhon	Review and revise Madden summaries and circulate to team; exchange emails with D. Greenspan regarding deposition dates; exchange multiple emails with team regarding Madden summaries; review and analyze Madden game in order to answer questions regarding Madden summaries; exchange emails with L. LeClair and R. Katz regarding deposition dates; telephone conference with R. Katz regarding same; exchange emails with P. Rhee regarding Madden summaries.	2.50	\$ 400	\$ 1,000.00
09/11/08	B. Charhon	Telephone conference with R. Katz, L. Franco and R. Hilburt regarding Madden summaries and depositions of B. Laird and C. McNeil; office conference with L. LeClair regarding same; telephone conference with P. Rhee regarding Madden summaries and additional screen shots; email team regarding same; exchange emails with R. Hilburt regarding Madden summaries and objections to exhibits	1.90	\$ 400	\$ 760.00
Project Total:		+	17.10		\$ 6,840.00
Percentage Recoverable:	100%				\$ 6,840.00
Hours Billed to Project No. 354 by Co- Counsel:	17.50				

Project No. 355		Prepare Madden Screenshots			
Date	Time Keeper	Description	Hours	Rate	Fee
					\$ -
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	2.30				
Project No. 355 by Co-					
Counsel:					

287224_10.XLS 225 of 306

Project No. 356		Review GLAs for Exclusivity Language			
Date	Time Keeper	Description	Hours	Rate	Fee
10/01/08	B. Charhon	Telephone conference and emails with R. Katz regarding exclusive GLAs	0.80	\$ 400	\$ 320.00
06/16/08	B. Sanders	Review selected group licensing agreements for exclusivity language as requested by B. Charhon	3.60	\$ 85	\$ 306.00
Project Total:			4.40		\$ 626.00
Percentage Recoverable:	100%				\$ 626.00
Hours Billed to Project No. 356 by Co- Counsel:	5.80				

Project No. 357		Review GLAs to Determine Number to Sign GLAs Before LaShun Letter			
Date	Time Keeper	Description	Hours	Rate	Fee
07/29/08	B. Charhon	Coordinate review of GLAs to determine the number of players who signed a GLA prior to the LaShun letter; telephone conference with L. Franco and experts regarding exhibits to LaSun letter; review correspondence from team regarding letter.	2.00	\$ 400	\$ 800.00
07/29/08	B. Sanders	Research effective dates and execution dates on group licensing agreements as requested by B. Charhon.	1.90	\$ 85	\$ 161.50
10/03/08	J. Naylor	Telephone conference with J. Schatz regarding Lawson letter.	0.40	\$ 450	\$ 180.00
10/03/08	J. Naylor	Telephone conference with R. Hilbert regarding same and other matters.	0.20	\$ 450	\$ 90.00
Project Total:			4.50		\$ 1,231.50
Percentage Recoverable:	100%				\$ 1,231.50
Hours Billed to Project No. 357 by Co- Counsel:	0.00				

287224_10.XLS 226 of 306

Project No. 358		Prepare Summary of GLA Changes			
Date	Time Keeper	Description	Hours	Rate	Fee
09/22/08	B. Charhon	Prepare summary of changes to GLA at request of C. Hummel	0.50	\$ 400	\$ 200.00
Project Total:			0.50		\$ 200.00
Percentage	100%				\$ 200.00
Recoverable:					
Hours Billed to	0.00				
Project No. 358 by Co-					
Counsel:					

Project No. 359		Work with Jury Consultant			
Date	Time Keeper	Description	Hours	Rate	Fee
09/19/08	K. Sherrill	Prepare trial exhibit information for trial consultant; telephone conference with consultant regarding criteria needed for trial presentation	1.00	\$ 180	\$ 180.00
09/25/08	K. Sherrill	Emails with trial consultant	0.20	\$ 180	\$ 36.00
Project Total:			1.20		\$ 216.00
Percentage Recoverable:	100%				\$ 216.00
Hours Billed to Project No. 359 by Co- Counsel:	0.00				

287224_10.XLS 227 of 306

Project No. 360		Analyze Gene Upshaw Issues			
Date	Time Keeper	Description	Hours	Rate	Fee
08/21/08	B. Charhon	Email team regarding G. Upshaw; telephone conference with B. Parrish regarding same; extended telephone conference with team regarding impact of Upshaw's passing; telephone conference with R. Hilburt regarding same; review stipulation to extend deadlines	2.70	\$ 400	\$ 1,080.00
08/22/08	B. Charhon	Telephone conference with team regarding Defendants' request for continuance	0.70	\$ 400	\$ 280.00
08/21/08	L. LeClair	Endless calls regarding death of G. Upshaw and effect on trial; calls on decertification motion and pretrial matters.	3.10	\$ 700	\$ 2,170.00
Project Total:			6.50		\$ 3,530.00
Percentage Recoverable:	100%				\$ 3,530.00
Hours Billed to Project No. 360 by Co- Counsel:	5.90				

Project No. 361		Review and Analyze Defendants' Request for					
		Continuance					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/25/08	J. Naylor	Review defendants letter to court.	0.30	\$	450	\$	135.00
08/25/08	L. LeClair	Work on pretrial and continuance.	7.70	\$	700	\$	5,390.00
Project Total:			8.00			\$	5,525.00
Percentage	100%					\$	5,525.00
Recoverable:							
Hours Billed to	16.00						
Project No. 361 by Co-							
Counsel:							

287224_10.XLS 228 of 306

Project No. 362		Calculate Deadlines in Light of New Trial Date			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			_		\$ -
Percentage Recoverable:	100%				\$ -
Hours Billed to Project No. 362 by Co- Counsel:	2.50				

Project No. 363		Review and Analyze Attorney Fees Provisions				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/09/08	J. Naylor	Review attorneys fees opinion and fee provisions in contract.	1.80	\$ 450	\$	810.00
Project Total:			1.80		\$	810.00
Percentage	100%				\$	810.00
Recoverable:	<u> </u>					
Hours Billed to Project No. 363 by	0.00					
Co-Counsel:						

Project No. 364		Prepare for Mediation				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/21/08	L. LeClair	Work on mediation and communications regarding settlement, trial preparation and outlines.	5.10	\$ 700	\$	3,570.00
Project Total:			5.10		\$	3,570.00
Percentage Recoverable:	100%		3.10		\$	3,570.00
Hours Billed to Project No. 364 by Co-	0.00					
Counsel:						

287224_10.XLS 229 of 306

Project No. 365		Attend Mediation			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.00				
Project No. 365 by Co-					
Counsel:					

Project No. 366		November 2008 Case Management and Miscellaneous			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 366 by Co-					
Counsel:					

Project No. 367		Review Witness Outlines				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/01/08	L. LeClair	Work on outlines and trial preparation.	5.10	\$ 700	\$ 3,570.00	
09/02/08	L. LeClair	Work on witness preparation and outlines.	5.90	\$ 700	\$ 4,130.00	
09/03/08	L. LeClair	Trial preparation and outlines.	2.80	\$ 700	\$ 1,960.00	
Project Total:			13.80		\$ 9,660.00	
Percentage Recoverable:	100%				\$ 9,660.00	
Hours Billed to Project No. 367 by Co- Counsel:	0.00					

287224_10.XLS 230 of 306

Project No. 368		Analyze and Create Witness List			
Date	Time Keeper	Description	Hours	Rate	Fee
08/21/08	A. Garza	Draft witness list; discuss witnesses with B. Charhon.	3.30	\$ 375	\$ 1,237.50
Project Total:			3.30		\$ 1,237.50
Percentage	100%				\$ 1,237.50
Recoverable:					
Hours Billed to	11.60				
Project No. 368 by Co-					
Counsel:					

Project No. 369		Interview Potential Witnesses					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
07/02/08	B. Charhon	Email team with list of potential witnesses; telephone conference with J. Naylor regarding Walker Gillette and David Pear	0.50	\$	400	\$	200.00
07/07/08	B. Charhon	Extended telephone conference with B. Parrish regarding witnesses for trial	1.00	\$	400	\$	400.00
07/07/08	J. Naylor	Telephone conference with potential witness.	0.80	\$	450	\$	360.00
07/07/08	J. Naylor	Conference with B. Charhon regarding same.	0.50	\$	450	\$	225.00
07/08/08	B. Charhon	Extended telephone conference with B. Parrish regarding witnesses for trial	0.20	\$	400	\$	80.00
07/08/08	J. Naylor	Research potential witnesses.	0.70	\$	450	\$	315.00
07/08/08	J. Naylor	Interview witnesses.	2.20	\$	450	\$	990.00
07/08/08	J. Naylor	Meeting with B. Charhon regarding same.	0.40	\$	450	\$	180.00
07/09/08	B. Charhon	Extended telephone conferences with Walter Beach, Clifton McNeil, Vince Costello, Blain Bishop, Paul Hornung, and Bruce Laird regarding willingness to be trial witness	3.00	\$	400	\$	1,200.00
07/09/08	K. Sherrill	Research regarding retired NFL contacts for witnesses	2.30	\$	180	\$	414.00
07/10/08	B. Charhon	Multiple telephone calls with retired NFL players regarding their willingness to be witnesses at trial	1.00	\$	400	\$	400.00
07/10/08	J. Naylor	Conduct witness interviews.	0.80	\$	450	\$	360.00
07/11/08	J. Naylor	Meeting with L. LeClair regarding additional witnesses.	0.80	\$	450	\$	360.00
07/24/08	J. Naylor	Research potential witnesses.	0.90	\$	450	\$	405.00
07/30/08	B. Charhon	Multiple phone calls with W. Beach, C. McNeil, J. Nixon and B. Laird regarding interview schedule; multiple telephone conferences with J. Adler regarding same	2.50	\$	400	\$	1,000.00
07/31/08	B. Charhon	Finalize arrangements for interviews with W. Beach, C. McNeil and B. Laird.	1.00	\$	400	\$	400.00

287224_10.XLS 231 of 306

07/31/08	J. Naylor	Make travel arrangements to meet with additional witnesses.	0.40	\$ 450	\$	180.00
07/31/08	J. Naylor	Telephone conferences with potential witnesses.	0.60	\$ 450	\$	270.00
07/31/08	J. Naylor	Review Judge Alsup witness rules.	0.20	\$ 450	\$	90.00
07/31/08	J. Naylor	Review and respond to e-mails from team	0.10	\$ 450	\$	45.00
		members regarding various issues.				
08/01/08	B. Charhon	Meet with Clifton McNeil.	5.00	\$ 400	\$	2,000.00
08/01/08	J. Naylor	Interview C. McNeil.	5.00	\$ 450	\$	2,250.00
08/01/08	J. Naylor	Review pertinent documents.	1.20	\$ 450	\$	540.00
08/05/08	B. Charhon	Interview W. Beach.	3.00	\$ 400	\$	1,200.00
08/05/08	J. Naylor	Meet with witness W. Beach.	2.20	\$ 450	\$	990.00
08/05/08	J. Naylor	Conference with B. Charhon regarding various	1.70	\$ 450	\$	765.00
		matters.				
08/06/08	B. Charhon	Interview B. Laird.	1.00	\$ 400	\$	400.00
08/06/08	J. Naylor	Meet with witness B. Laird.	1.00	\$ 450	\$	450.00
08/06/08	J. Naylor	Conferences with B. Charhon regarding various matters.	1.00	\$ 450	\$	450.00
08/07/08	B. Charhon	Telephone call with team regarding status of case, witness interviews and task list; telephone interview of J. Nixon.	1.30	\$ 400	\$	520.00
08/07/08	J. Naylor	Meeting with witness J. Nixon.	1.00	\$ 450	\$	450.00
08/07/08	J. Naylor	Conference with L. Franco.	0.40	\$ 450	\$	180.00
08/07/08	J. Naylor	Conferences with B. Charhon regarding witness selection.	1.00	\$ 450	\$	450.00
08/08/08	B. Charhon	Email team regarding B. Laird and selection of additional testifying witnesses; telephone conference with L. LeClair regarding same; extended telephone conference with J. Naylor regarding same; review emails regarding witness list; draft letter to opposing counsel disclosing additional witnesses	2.00	\$ 400	\$	800.00
08/08/08	J. Naylor	Telephone conferences with B. Charhon regarding witness selection.	0.50	\$ 450	\$	225.00
Project Total:			47.20		\$	19,544.00
Percentage	100%		29		\$	19,544.00
Recoverable:					Ť	12,2
Hours Billed to Project No. 369 by Co- Counsel:	14.70					

287224_10.XLS 232 of 306

Project No. 370		Prepare and Redact Exhibits					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
07/22/08	C. Alaniz	Assist K. Sherrill download potential trial exhibits in preparation for trial.	2.90	\$	85	\$	246.50
08/07/08	A. Garza	Meet with B. Charhon regarding exhibits.	1.10	\$	375	\$	412.50
08/08/08	A. Garza	Work on exhibits.	3.60	\$	375	\$	1,350.00
08/15/08	C. Alaniz	Assist in preparation of trial exhibits.	6.10	\$	85	\$	518.50
08/16/08	C. Alaniz	Continue to assist in preparation of trial exhibits.	4.20	\$	85	\$	357.00
08/17/08	C. Alaniz	Continue to assist in preparation of trial exhibits.	5.40	\$	85	\$	459.00
08/18/08	C. Alaniz	Continue to prepare potential trial exhibits for attorney's review.	3.20	\$	85	\$	272.00
08/20/08	D. Gaiser	Quality control check hard copies of trial exhibits with draft trial exhibit list as requested by B. Sanders; office conference with B. Sanders regarding results of same.	3.00	\$	115	\$	345.00
08/20/08	D. Page	Confer with K. Sherrill and B. Sanders regarding assisting in compilation and quality control review of physical trial exhibits and trial exhibit list; review, organize and update physical trial exhibits in accordance with B. Charhon's review and analysis of same.	1.30	\$	110	\$	143.00
08/20/08	C. Alaniz	Continue to perform research and document preparation of witness videos and exhibits to assist attorney with upcoming trial.	2.30	\$	85	\$	195.50
08/21/08	D. Page	Perform research and quality control review of physical trial exhibits in relation to the trial exhibit list in preparation for exchange with opposing counsel.	3.10	\$	110	\$	341.00
08/25/08	D. Gaiser	Quality control check hard copies of trial exhibits and compare same with images on scan directory and draft trial exhibit list; office conference with B. Sanders regarding same	5.50	\$	115	\$	632.50
08/25/08	C. Alaniz	Continue to assist in preparation of trial exhibits.	10.30	\$	85	\$	875.50
09/05/08	D. Gaiser	Commence to label trial exhibits with exhibit stickers; quality control check trial exhibits for copying accuracy and compare same with trial exhibit list; office conference with B. Sanders regarding same.	2.50	\$	115	\$	287.50
09/08/08	D. Gaiser	Continue and complete foldering and labeling trial exhibits with exhibit stickers; quality control check trial exhibits for copying accuracy and compare same with trial exhibit list; draft e-mail to K. Sherrill regarding status of same.	7.80	\$	115	\$	897.00
09/16/08	K. Sherrill	Review deposition exhibits and send emails regarding database review trial exhibit list and compare to exhibits in database	1.70	\$	180	\$	306.00
09/17/08	K. Sherrill	Review defendant's trial exhibits and work to have incorporated into trial exhibit database.	4.80	\$	180	\$	864.00

287224_10.XLS 233 of 306

09/18/08	M. Ferrari	Meet with B. Sanders regarding the review of the trial exhibits of the ad hoc agreements of the class plaintiffs; review the trial exhibits for same.	1.60	\$ 150	\$ 240.00
09/18/08	K. Sherrill	Prepare trial exhibit database	0.90	\$ 180	\$ 162.00
09/19/08	M. Ferrari	Review the trial exhibits of the ad hoc agreements of the class plaintiffs; meet with B. Sanders regarding same.	0.90	\$ 150	\$ 135.00
09/19/08	M. Ferrari	Meet with K. Sherrill and B. Sanders regarding the review and organization of the trial exhibits.	0.40	\$ 150	\$ 60.00
09/19/08	K. Sherrill	Review trial exhibit database	0.50	\$ 180	\$ 90.00
10/03/08	M. Ferrari	Meet with B. Sanders regarding the redaction of the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions; review the proposed joint trial exhibit list for same; review the trial exhibits relating to same; discuss with B. Sanders.	0.90	\$ 150	\$ 135.00
10/06/08	M. Ferrari	Meet with K. Sherrill and B. Sanders regarding the redaction of the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions; review the trial exhibits relating to same; redact defendants' objections.	3.70	\$ 150	\$ 555.00
10/06/08	C. Alaniz	Review and redact discovery responses of the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions.	1.80	\$ 85	\$ 153.00
10/07/08	M. Ferrari	Meet with B. Sanders regarding the redaction of the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions; review the trial exhibits relating to same; redact defendants' objections. Meet with B. Sanders regarding trial preparation and the review and organization of the trial exhibits.	4.90	\$ 150	\$ 735.00
10/07/08	S. Bovine	Prepare trial exhibits and check trial exhibits to ensure each exhibit contains all pages.	1.20	\$ 180	\$ 216.00
10/08/08	M. Ferrari	Meet with B. Sanders regarding the organization of the trial exhibits; review and organize same. Review and redact the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions; meet with B. Sanders regarding same.	7.70	\$ 150	\$ 1,155.00
10/08/08	S. Bovine	Check trial exhibit list against hard copy and electronic copy of trial exhibits.	2.70	\$ 180	\$ 486.00

287224_10.XLS 234 of 306

10/09/08	M. Ferrari	Review and redact the objections to the trial exhibits of defendants' responses and objections to plaintiffs' interrogatories and requests for admissions; review the trial exhibits relating to same; redact defendants' objections; update the databases with the redacted exhibits. Meet with B. Sanders regarding the organization of the trial exhibits; organize same.	7.20	\$ 150	\$	1,080.00
10/09/08	S. Bovine	Check trial exhibit list against hard copy and electronic copy of trial exhibits.	2.20	\$ 180	\$	396.00
10/10/08	M. Ferrari	Meet with B. Sanders regarding the organization of the trial exhibits; organize exhibits for review; prepare index of same.	2.10	\$ 150	\$	315.00
10/10/08	S. Bovine	Check trial exhibits against list; Conference call regarding electronic files for trial exhibits; Check redactions of exhibits.	2.70	\$ 180	\$	486.00
10/10/08	D. Smith	Conversion of images and extraction of OCR for loading into database; load data to database; load images to imagebase; link database records to images.	2.00	\$ 125	\$	250.00
10/11/08	O. Moreno	Q/C trial exhibits with Hector and uploaded exhibits to external hard drive.	4.00	\$ 105	\$	420.00
10/11/08	S. Bovine	Check trial exhibit list against hard copy and electronic copy of trial exhibits; check trial exhibits to ensure each exhibit contains all pages.	5.00	\$ 180	\$	900.00
10/11/08	D. Smith	Conversion of images and extraction of OCR for loading into database; load data to database; load images to imagebase; link database records to images.	6.00	\$ 125	\$	750.00
10/12/08	S. Bovine	Check electronic files of exhibits against hard copy exhibits; fix corrected redactions sent by defendants.	4.20	\$ 180	\$	756.00
10/13/08	M. Ferrari	Meet with B. Sanders regarding the review and organization of the trial exhibits including the deposition transcripts and exhibits, DVD's and CD's of plaintiffs and defendants' trial exhibits, the videotape depositions of B. Parrish, M. Parrish and B. Laird, the NFL books and the Madden game for sending to San Francisco for use at trial in the district court for the Northern District of California; review the documents and organize same; review the DVD's and CD's and prepare copies of same for trial; prepare an index of the trial materials and organize same; prepare the boxes of the trial material for shipping to San Francisco.	8.20	\$ 150	\$	1,230.00
10/13/08	S. Bovine	Check trial exhibits to exhibit list.	1.40	\$ 180	\$	252.00
10/14/08	A. Garza	Review will-call exhibits.	2.50	\$ 375	_	937.50

287224_10.XLS 235 of 306

10/14/08	M. Ferrari	Meet with B. Sanders regarding the pending items to prepare for trial; review the DVD's and CD's of the parties trial exhibits and the videotape depositions of B. Parrish, M. Parrish and B. Laird and prepare file folders of same; review and	8.00	\$ 150	\$ 1,200.00
		organize the Madden games and prepare file folders of same; prepare file folders of the native files of calculations and royalty payments; review and organize the trial exhibits of the NFL books and prepare file folders of same; prepare a master index of all of the trial materials; organize documents for shipping to San Francisco for trial			
		in the district court of the Northern District of California.			
10/14/08	S. Bovine	Check redactions on trial exhibits from defendants; prepare trading cards to be used as trial exhibits.	0.50	\$ 180	\$ 90.00
10/15/08	M. Ferrari	Assist with the preparation of the trial exhibits.	2.10	\$ 150	\$ 315.00
10/16/08	S. Bovine	Cross check deposition exhbit numbers with trial exhibit numbers.	0.20	\$ 180	\$ 36.00
10/17/08	S. Bovine	Pack case materials to take to trial.	7.20	\$ 180	\$ 1,296.00
10/17/08	S. Bovine	Go to courtroom and set up and check trial exhibits.	7.80	\$ 180	\$ 1,404.00
10/24/08	M. Ferrari	Assist with reviewing and organizing the trial exhibits and deposition transcripts for trial; prepare index of same.	0.90	\$ 150	\$ 135.00
10/25/08	S. Bovine	Check redactions to trial exhibits.	2.00	\$ 180	\$ 360.00
10/29/08	S. Bovine	Prepare and check redacted exhibits.	2.40	\$ 180	\$ 432.00
10/29/08	C. Alaniz	Continue to review and organize production materials as potential trial exhibits for trial preparation.	4.10	\$ 85	\$ 348.50
10/30/08	C. Alaniz	Continue to review and organize production materials as potential trial exhibits for trial preparation.	0.50	\$ 85	\$ 42.50
11/02/08	S. Bovine	Prepare corrected exhibits from defendants.	2.00	\$ 180	\$ 360.00
11/05/08	S. Bovine	Redact trial exhibits.	1.50	\$ 180	\$ 270.00
11/06/08	S. Bovine	Organize trial exhibits.	1.50	\$ 180	\$ 270.00
Project Total:		+	184.20		\$ 26,956.00
Percentage Recoverable:	100%				\$ 26,956.00
Hours Billed to Project No. 370(A) by Co-Counsel:	0.00				

287224_10.XLS 236 of 306

Project No. 371		Analyze Defendants' Exhibit List, Object to					
Date	Time Keeper	Various Exhibits	Hours	Ra		Fee	
08/28/08	B. Charhon	Description Review and respond to emails from L. LeClair regarding defendants' exhibit list	0.30	\$	400	\$	120.00
09/02/08	B. Charhon	Email D. Greenspan regarding objections to exhibits	0.20	\$	400	\$	80.00
09/04/08	K. Sherrill	telephone conference with D. Wishon regarding defendants trial exhibits	0.30	\$	180	\$	54.00
09/12/08	K. Sherrill	Meeting with B. Sanders regarding defendant's exhibits and review same	0.70	\$	180	\$	126.00
09/15/08	B. Charhon	Coordinate preparation of template for objections to Defendants' exhibits; telephone conference with J. Clark regarding exhibit objections; email team regarding same.	1.50	\$	400	\$	600.00
09/15/08	B. Sanders	Assist with preparation of chart for objections to defendant's trial exhibit list.	3.10	\$	85	\$	263.50
09/18/08	B. Charhon	Prepare objections to Defendants' exhibits	0.50	\$	400	\$	200.00
09/18/08	J. Naylor	Telephone conferences with B. Charhon regarding objections to exhibits.	0.10	\$	450	\$	45.00
09/18/08	J. Naylor	Revise objections.	0.20	\$	450	\$	90.00
09/19/08	B. Charhon	Preparation of objections to Defendants trial exhibits; review Defendants' supplemental trial exhibits; email team regarding problem documents	2.70	\$	400	\$	1,080.00
09/21/08	B. Charhon	Prepare objections to Defendants' trial exhibits; multiple telephone conferences with A. Garza regarding same	3.40	\$	400	\$	1,360.00
09/22/08	B. Charhon	Prepare objections to Defendants' trial exhibits; exchange emails with R. Hilburt and A. Garza regarding same	5.50	\$	400	\$	2,200.00
09/22/08	B. Charhon	telephone conference with L. LeClair regarding exhibit objections; email team regarding same	0.40	\$	400	\$	160.00
09/22/08	A. Garza	Fill out exhibit objections; correspond with B. Charhon about the same.	6.00	\$	375	\$	2,250.00
09/23/08	A. Garza	Finish drafting exhibit objections; proofread exhibit objections.	4.30	\$	375	\$	1,612.50
09/25/08	A. Garza	Finalize exhibit objections.	1.90	\$	375		712.50
10/18/08	A. Garza	Review Defendants' "may use" exhibits and write summary about same.	2.00	\$	375	\$	750.00
10/24/08	A. Garza	Gather objections for P.Allen trial exhibits.	0.50	\$	375	\$	187.50
Project Total:			33.60			\$	11,891.00
Percentage Recoverable:	100%					\$	11,891.00
Hours Billed to Project No. 371 by Co- Counsel:	0.30						

287224_10.XLS 237 of 306

Project No. 372		Organize Deposition Exhibits for Use at Trial			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	32.10				
Project No. 372 by Co-					
Counsel:					

Project No. 373		Prepare Memorandum Regarding Trial Evidentiary Issues				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/11/08	J. Naylor	Prepare memorandum regarding internet evidentiary issues for trial.	6.00	\$ 450	\$	2,700.00
Project Total:			6.00		\$	2,700.00
Percentage Recoverable:	100%				\$	2,700.00
Hours Billed to Project No. 373 by Co- Counsel:	0.00					

Project No. 374		Analyze and Discuss Broad Trial Themes			
Date	Time Keeper	Description	Hours	Rate	Fee
08/12/08	A. Garza	Participate in telephone conference regarding themes.	1.90	\$ 375	\$ 712.50
08/25/08	J. Naylor	Conference call with team members regarding various issues.	0.50	\$ 450	\$ 225.00
08/26/08	J. Naylor	Review and respond to team e-mails regarding various issues.	0.40	\$ 450	\$ 180.00
08/07/08	J. Naylor	Attend all team pre-trial meeting.	2.00	\$ 450	\$ 900.00
08/07/08	J. Naylor	Review and respond to team e-mails.	0.50	\$ 450	\$ 225.00
Project Total:			5.30		\$ 2,242.50
Percentage Recoverable:	100%				\$ 2,242.50

287224_10.XLS 238 of 306

rs Billed to	23.00		
Project No. 374 by Co-			
Counsel:			

Project No. 375		Analyze, Select, and Prepare Summary of Key					
		Documents					
Date	Time Keeper	Description	Hours	Rate		Fee	
07/29/08	C. Alaniz	Continue to perform research and document preparation of potential key trial exhibits to assist attorney with upcoming trial.	2.40	\$	85	\$	204.00
07/30/08	C. Alaniz	Continue to perform research and document preparation of potential key trial exhibits to assist attorney with upcoming trial.	1.90	\$	85	\$	161.50
07/31/08	C. Alaniz	Continue to perform research and document preparation of potential key trial exhibits to assist attorney with upcoming trial.	3.70	\$	85	\$	314.50
08/01/08	C. Alaniz	Continue to perform research and document preparation of potential key trial exhibits to assist attorney with upcoming trial.	3.90	\$	85	\$	331.50
08/12/08	B. Charhon	Begin preparation of documentary evidence for team meeting regarding getting documents into evidence.	1.50	\$ 4	100	\$	600.00
08/13/08	B. Charhon	Prepare key document index of fifty documents most likely to be used at trial; coordinate preparation of key document binders	5.90	\$ 4	100	\$	2,360.00
08/14/08	C. Alaniz	Continue to perform research and document preparation of potential key trial exhibits to assist attorney with upcoming trial.	3.90	\$	85	\$	331.50
08/15/08	B. Charhon	Email team regarding hot documents	0.10	\$ 4	100	\$	40.00
09/12/08	B. Charhon	Coordinate preparation of exhibit binders	0.80	\$ 4	100	\$	320.00
Hours Billed to Project No. 375 by Co Counsel:	0.00						
Percentage Recoverable:	100%					\$	-
Project Total:			24.10			\$	4,663.00
						\$	-

287224_10.XLS 239 of 306

Project No. 376		Review Jury Questionnaire			
08/13/08	J. Naylor	Review and revise jury questionnaire.	0.60	\$ 450	\$ 270.00
08/19/08	J. Naylor	Review proposed jury questionnaire.	0.40	\$ 450	\$ 180.00
Project Total:			1.00		\$ 450.00
Percentage	100%				\$ 450.00
Recoverable:					
Hours Billed to	39.50				
Project No. 376 by Co-	1				
Counsel:					

Project No. 377		Edit Rule 26 Disclosures				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/22/08	L. LeClair	Pretrial preparation regarding disclosures.	2.00	\$ 700	\$ 1,400.00	
08/25/08	A. Garza	Edit 26(a)(3) disclosures.	1.00	\$ 375	\$ 375.00	
08/26/08	A. Garza	Review 26(a)(3) disclosures.	1.00	\$ 375	\$ 375.00	
08/26/08	L. LeClair	Work on extensive pretrial filings due tomorrow.	3.20	\$ 700	\$ 2,240.00	
08/27/08	A. Garza	Finalize 26(a)(3) disclosures.	1.50	\$ 375	\$ 562.50	
10/07/08	A. Garza	Edit first amended disclosures.	3.10	\$ 375	\$ 1,162.50	
10/17/08	A. Garza	Edit pre-trial disclosures.	1.00	\$ 375	\$ 375.00	
Project Total:			12.80		\$ 6,490.00	
Percentage Recoverable:	100%				\$ 6,490.00	
Project No. 377 by Co-	0.00					
Counsel:						

Project No. 378		Prepare Witnesses for Testifying			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	2.00				
Project No. 378 by Co-					
Counsel:					

287224_10.XLS 240 of 306

Project No. 379		Review and Edit List of Stipulated Facts					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
08/28/08	J. Naylor	Review defendants stipulated facts.	1.30	\$	450	\$	585.00
08/28/08	J. Naylor	Create new stipulated fact.	2.80	\$	450	\$	1,260.00
09/02/08	J. Naylor	Revise list of stipulated facts.	1.80	\$	450	\$	810.00
09/09/08	J. Naylor	Prepare stipulated facts.	1.60	\$	450	\$	720.00
09/10/08	J. Naylor	Conference with C. Hummel regarding stipulated facts.	0.80	\$	450	\$	360.00
09/10/08	J. Naylor	Telephone conference with team regarding same.	0.50	\$	450	\$	225.00
10/03/08	J. Naylor	Revise stipulated facts.	0.20	\$	450	\$	90.00
10/03/08	J. Naylor	Conference with defendants regarding same and other revisions to joint pretrial order.	0.90	\$	450	\$	405.00
Project Total:			9.90			\$	4,455.00
Percentage Recoverable:	100%					\$	4,455.00
Hours Billed to Project No. 379 by Co- Counsel:	9.00						

Project No. 380		Prepare Trial Subpoena for Electronic Arts					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/29/08	J. Naylor	E-mail to Electronic Arts regarding trial subpoenas.	0.30	\$	450	\$	135.00
09/04/08	J. Naylor	Correspond with Electronic Arts regarding trial subpoenas.	0.40	\$	450	\$	180.00
10/02/08	K. Sherrill	Review production of materials to assist with trial subpoena	0.40	\$	180	\$	72.00
Project Total:			1.10			\$	387.00
Percentage	100%					\$	387.00
Recoverable:							
Hours Billed to	8.80						
Project No. 380 by Co-	-						
Counsel:							

287224_10.XLS 241 of 306

Project No. 381		Miscellaneous Trial Preparation					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/07/08	L. LeClair	Revise task list; review of materials regarding witnesses and exhibits; pretrial planning; continue work on pretrial and trial matters.	0.30	\$	700	\$	210.00
08/07/08	J. Naylor	Review task list.	0.80	\$	450	\$	360.00
09/01/08	J. Naylor	Review trial plan.	0.60	\$	450	\$	270.00
09/04/08	L. LeClair	Miscellaneous trial preparation.	1.50	\$	700	\$	1,050.00
09/05/08	L. LeClair	Work on trial preparation.	2.30	\$	700	\$	1,610.00
09/11/08	C. Alaniz	Prepare a comparison chart re Plaintiff's Breach of Contracts claim and Defendant's GLA Class: Breach of Contract for J. Naylor's review.	4.80	\$	85	\$	408.00
09/11/08	L. LeClair	Work on trial preparation.	0.40	\$	700	\$	280.00
09/15/08	L. LeClair	Pretrial preparation and preparation for team meeting in New York.	4.80	\$	700	\$	3,360.00
09/15/08	J. Naylor	Review task list.	0.60	\$	450	\$	270.00
09/24/08	L. LeClair	Work on outlines.	0.40	\$	700	\$	280.00
09/25/08	J. Naylor	Conference call with team members regarding various issues.	2.10	\$	450	\$	945.00
09/25/08	J. Naylor	Review and respond to various e-mails from team members.	0.80	\$	450	\$	360.00
09/30/08	J. Naylor	Telephone conferences with R. Hilbert.	1.20	\$	450	\$	540.00
09/30/08	J. Naylor	Review and respond to e-mails regarding various topics.	0.80	\$	450	\$	360.00
10/02/08	J. Naylor	Telephone conference with defendants regarding same.	0.80	\$	450	\$	360.00
10/02/08	J. Naylor	Respond and read emails from team regarding various issues.	1.60	\$	450	\$	720.00
10/02/08	J. Naylor	Telephone conference with R. Hilbert regarding various matters.	1.10	\$	450	\$	495.00
10/02/08	J. Naylor	Meet with clients.	1.20	\$	450	\$	540.00
10/03/08	J. Naylor	Meet with client.	1.50	\$	450	\$	675.00
10/06/08	J. Naylor	Numerous emails with team members.	0.80	\$	450	\$	360.00
10/07/08	J. Naylor	Review and respond to numerous team member emails.	0.90	\$	450	\$	405.00
10/08/08	J. Naylor	Assist with pretrial filings.	3.20	\$	450	\$	1,440.00
10/15/08	B. Charhon	Exchange emails with team regarding witness order; correspond with opposing counsel regarding same; miscellaneous trial preparation	2.00	\$	400	\$	800.00
10/16/08	B. Charhon	Telephone conference with team regarding witness order; multiple telephone conferences with opposing counsel regarding pre-trial submissions; prepare and circulate proposal regarding judge's binder	1.50	\$	400	\$	600.00
10/17/08	B. Charhon	Prepare judge's top twenty binder; prepare joint statement of the case; numerous emails and office conferences with team regarding same	3.00	\$	400	\$	1,200.00
10/21/08	B. Charhon	Prepare for trial	3.00	\$	400	\$	1,200.00
10/22/08	B. Charhon	Attend post-trial meeting with team.	0.50	\$	400	\$	200.00
10/25/08	L. LeClair	Continue trial preparation regarding P. Rowley	4.20	\$	700	\$	2,940.00

287224_10.XLS 242 of 306

10/25/08	L. LeClair	Continue trial preparation regarding D. Rascher	3.10	\$ 700	\$ 2,170.00
10/26/08	B. Charhon	Prepare for trial including meeting with Defendants' regarding Madden screen shots; coordination of exhibit exchange; preparation of Byrd and Castillion cross-outlines	4.50	\$ 400	\$ 1,800.00
10/27/08	L. LeClair	Continue trial preparation regarding P. Rowley	5.00	\$ 700	\$ 3,500.00
10/28/08	B. Charhon	Prepare for trial including preparation of P. Rhee, preparation of jury notebook; review of Defendants designations for W. Friss and A. Zucker; preparation of document containing key trial testimony.	4.50	\$ 400	\$ 1,800.00
10/29/08	B. Charhon	Prepare for trial including creation of index of key trial testimony and creation of key document index indication admitted documents and documents to be admitted; prepare scrambling instruction	5.50	\$ 400	\$ 2,200.00
10/29/08	L. LeClair	Continue trial preparation regarding Armstrong.	5.00	\$ 700	\$ 3,500.00
10/30/08	B. Charhon	Prepare for trial including negotiation of H. Skall designations with Defendants and preparation of document containing key trial testimony	5.50	\$ 400	\$ 2,200.00
10/30/08	L. LeClair	Continue trial preparation regarding P. Rowley	3.00	\$ 700	\$ 2,100.00
Project Total:			42.00		\$ 41,508.00
Percentage Recoverable:	100%				\$ 41,508.00
Hours Billed to Project No. 381 by Co- Counsel:	502.50				

Project No. 382		Prepare J. Linzer Stipulation			
Date	Time Keeper	Description	Hours	Rate	Fee
09/15/08	B. Charhon	Review Linzner stipulation	0.20	\$ 400	\$ 80.00
09/19/08	B. Charhon	Exchange emails with C. Hummel regarding Linzner stipulation	0.20	\$ 400	\$ 80.00
09/22/08	B. Charhon	Review emails regarding Linzner stipulation	0.30	\$ 400	\$ 120.00
Project Total:			0.70		\$ 280.00
Percentage Recoverable:	100%				\$ 280.00
Hours Billed to Project No. 382 by Co- Counsel:	10.90				

287224_10.XLS 243 of 306

Project No. 383		Prepare Witness Packets for Trial					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
09/15/08	B. Sanders	Assist with preparation of witness packets for C. Finch, W. Friss, A. Zucker.	3.60	\$	85	\$	306.00
09/15/08	K. Sherrill	Emails regarding how to find witness material and assist with the preparation of the witness pack for G. Eyrich.	1.10	\$	180	\$	198.00
09/16/08	B. Sanders	Assist with preparation of witness packets for A. Sullins, D. Goich, M. McBath, B. Owens.	6.90	\$	85	\$	586.50
09/16/08	K. Sherrill	Assist with the preparation of witness packs for J. Nahra and H. Walker	1.80	\$	180	\$	324.00
09/17/08	B. Sanders	Assist with preparation of witness packet for W. Friss.	0.50	\$	85	\$	42.50
09/18/08	B. Sanders	Assist with preparation of witness packets for A. Sullins, D. Goich, McBath, B. Owens.	7.80	\$	85	\$	663.00
09/18/08	K. Sherrill	Assist in preparation of witness packs for S. Byrd, A. Zucker, and R. Berthelsen	2.20	\$	180	\$	396.00
09/19/08	B. Sanders	Assist with preparation of witness packets for C. Finch, W. Friss, A. Zucker.	4.00	\$	85	\$	340.00
09/19/08	K. Sherrill	Meet with M. Ferrari and B. Sanders regarding the status of completing all witness packets and email regarding same.	0.50	\$	180	\$	90.00
09/19/08	M. Ferrari	Search the trial exhibit database and make tags of the trial exhibits of L. Castillon, C. Finch, A. Sullins, D. Goich, M. McBath, J. Nahra, R. Berthelsen, S. Saxon, and G. Eyrich.	0.90	\$	150	\$	135.00
09/22/08	B. Sanders	Assist with preparation of witness packets for C. Finch, W. Friss, A. Zucker.	3.20	\$	85	\$	272.00
09/22/08	M. Ferrari	Review and organize the trial exhibits of L. Castillon, A. Sullins, D. Goich, M. McBath, J. Nahra, R. Berthelsen, S. Saxon and G. Eyrich for the preparation of their witness packets; review and organize the deposition transcripts and exhibits of J. Nahra, R. Berthelsen and G. Eyrich for same; organize witness packet of J. Nahra.	7.70	\$	150	\$	1,155.00
09/23/08	B. Sanders	Assist with preparation of witness packets for C. Finch, W. Friss, A. Zucker	0.70	\$	85	\$	59.50
09/24/08	K. Sherrill	Review material to go into the witness packes of M. McBath, J. Nahra, and L. Castillon	1.20	\$	180	\$	216.00
09/24/08	M. Ferrari	Review and organize the deposition transcripts, trial exhibits and deposition excerpts of G. Eyrich and R. Berthelsen for preparation of their witness packets; prepare index of documents for G. Eyrich and prepare witness binder of same.	7.70	\$	150	\$	1,155.00
09/25/08	B. Sanders	Assist with preparation of witness packets for J. Nahra, R. Berthelsen, S. Sacon	2.30	\$	85	\$	195.50
09/25/08	C. Alaniz	Perform research and assemble witness packs of Sullins for attorney's review in preparation for trial.	1.50	\$	85	\$	127.50

287224_10.XLS 244 of 306

09/25/08	K. Sherrill	Review depositions for references to potential	2.70	\$	180	\$	486.00
		witnesses B. Laird, H. Adderly, W. Friss, A.					
		Zucker and G. Upshaw.; meeting with A. Garza					
		regarding all witness packs and deadlines					
09/26/08	B. Sanders	Assist with preparation of witness packets for J.	7.30	\$	85	\$	620.50
		Nahra, R. Berthelsen, S. Saxon.					
09/26/08	C. Alaniz	Continue to perform research and assemble	7.50	\$	85	\$	637.50
		witness packs of Berthelsen, Bryd, Owens,					
		Eryich, Mitchell for attorney's review in					
		preparation for trial.					
09/26/08	K. Sherrill	Assist with the preparation of witness packs for	2.80	\$	180	\$	504.00
		Rascher and Rowley and meeting with paralegals					
		regarding witness packs; email to L. LeClair					
		regarding witness packs and S. Saxon deposition					
09/26/08	M. Ferrari	Meet with K. Sherrill regarding the witness	8.00	\$	150	\$	1,200.00
		packets being prepared by the Manatt firm;					
		organize copies of the trial exhibits, document					
		production and deposition excerpts of G. Eyrich,					
		M. McBath and D. Goich for D. Wishon; prepare					
		letter to D. Wishon enclosing same; organize					
		documents for delivery by Federal Express; meet					
		with K. Sherrill regarding same; Organize the trial					
		exhibits, deposition exhibits and deposition					
		excerpts of J. Nahra for preparation of his witness					
		packet; revise index of same; organize binder of					
		documents; review the document database for					
		documents relating to J. Nahra and tag documents					
		relating to same; discuss the status of the witness					
		packets with K. Sherrill, B. Sanders and C.					
		Alaniz.					
09/29/08	B. Sanders	Assist with preparation of witness packets for J.	8.30	\$	85	\$	705.50
		Nahra, R. Berthelsen, S. Saxon.		Ċ		•	
09/29/08	K. Sherrill	Meetings with paralegal team regarding status of	0.20	\$	180	\$	36.00
05/25/00	IX. Sherrin	witness packs	0.20	Ψ	100	Ψ	30.00
09/29/08	M. Ferrari	Review and organize the deposition transcripts	8.20	\$	150	\$	1,230.00
05/125/100	1,1,1,011,111	and exhibits, deposition excerpts, trial exhibits and	0.20	Ψ	100	Ψ	1,200.00
		document production of J. Nahra, J. Nixon and S.					
		Saxon for preparation of their witness packets;					
		prepare index of documents relating to same;					
		prepare witness packets for each witness; meet					
		with K. Sherrill regarding same.					
09/30/08	B. Sanders	Assist with preparation of witness packets for J.	5.20	\$	85	\$	442.00
09/30/08	D. Sanders	Nahra, S. Saxon, R. Berthelsen	3.20	φ	65	φ	442.00
00/20/09	K. Sherrill		0.70	Φ	100	¢	126.00
09/30/08	K. Snerriii	Assist with preparation of witness packs for	0.70	\$	180	\$	126.00
00/20/00	M. Faurani	Adderley and Beach	0.00	Φ	150		
09/30/08	M. Ferrari	Review and organize the witness packets for S.	8.00	\$	150		
		Saxon and J. Nixon; finalize the witness packet of		Ī			
		J. Nixon; review and organize the deposition					
		transcripts and exhibits, deposition excerpts, trial					
		exhibits and document production of R.					
		Berthelsen for preparation of his packet. Meet		Ī			
		with K. Sherrill regarding the witness packets of					
		S. Saxon, J. Nixon and R. Berthelsen.				I	

287224_10.XLS 245 of 306

10/01/08	B. Sanders	Assist with preparation of witness packets for B. Owens, D. Goich, M. McBath.	6.80	\$ 85	\$ 578.00
10/01/08	C. Alaniz	Continue to perform research and assemble witness packs Lanier, Nahra, and Goich for attorney's review in preparation for trial.	4.10	\$ 85	\$ 348.50
10/01/08	M. Ferrari	Review and organize the witness packet of S. Saxon; revise and finalize the index of documents relating to same; finalize the witness binder of S. Saxon; review and organize the documents relating to R. Berthelsen.	7.50	\$ 150	\$ 1,125.00
10/02/08	B. Sanders	Assist with review and preparation of documents regarding potential witnesses	1.30	\$ 85	\$ 110.50
10/02/08	C. Alaniz	Continue to perform research and assemble witness packs for Sitrin, and Sullins binder attorney's review in preparation for trial.	3.30	\$ 85	\$ 280.50
10/02/08	K. Sherrill	Emails regarding witness packs for trial; telephone conference with B. Sanders regarding same;	0.30	\$ 180	\$ 54.00
10/02/08	M. Ferrari	Review and organize the trial exhibits of R. Berthelsen; revise and finalize the index of documents relating to same; prepare witness binder of R. Berthelsen; review the trial exhibits and document production of S. Byrd and organize same for preparation of his witness packet. Meet with B. Sanders regarding the status of the witness packets of P. Allen and S. Saxon; organize the witness binders of same for L. LeClair.	8.00	\$ 150	\$ 1,200.00
10/03/08	B. Sanders	Assist with review and preparation of documents regarding potential witnesses	2.40	\$ 85	\$ 204.00
10/03/08	M. Ferrari	Review and organize the trial exhibits, deposition excerpts and document production of S. Byrd; prepare an index of the documents relating to same; organize the documents and prepare the witness binder of S. Byrd; review the deposition excerpts of T. McFarlane; discuss status of witness packets with B. Sanders and C. Alaniz.	7.60	\$ 150	
10/06/08	B. Sanders	Assist with research, review and preparation of documents regarding potential witnesses	2.70	\$ 85	\$ 229.50
10/06/08	M. Ferrari	Finalize the witness packets of L. Castillon, A. Sullins and S. Byrd; review and organize the trial exhibits of T. McFarlane for preparation of this witness packet; discuss with B. Sanders.	4.10	\$ 150	\$ 615.00
10/07/08	M. Ferrari	Organize with witness packets of P. Allen, W. Beach, S. Byrd, R. Berthelsen, L. Castillon, T. McFarlane, J. Nahra, J. Nixon, S. Saxon, A. Sullins, G. Eyrich, D. Goich, M. McBath, K. Greene, B. Owens, S. Prusha and T. Sitrin and prepare index of same.	2.60	\$ 150	390.00
10/08/08	M. Ferrari	Review the deposition transcript and exhibits of S. Saxon; organize copies of same for preparation of his witness binder.	0.80	\$ 150	\$ 120.00

287224_10.XLS 246 of 306

10/09/08	M. Ferrari	Review and organize the deposition transcript and exhibits of S. Saxon; prepare witness binder of same.	0.80	\$ 150	
10/10/08	M. Ferrari	Meet with B. Sanders regarding the witness packets; review the deposition transcript and exhibits of C. McNeil and organize copies of same for preparation of his witness binder; prepare binder of same; review and organize the document production and deposition excerpts of C. Finch; prepare index of documents; prepare witness binder of same.	6.60	\$ 150	\$ 990.00
10/18/08	S. Bovine	Prepare witness pack for R. Berthlesen	1.30	\$ 180	
10/19/08	S. Bovine	Prepare witness pack for J. Linzner; prepare updated witness pack for R. Berthelsen; Prepare witness pack for G. Eyrich; Prepare updated witness pack for R. Berthelsen from defendants' exchange of upcoming witnesses	4.80	\$ 180	
10/20/08	S. Bovine	Prepare updated witness pack for J. Linzer from defendants' exchange of upcoming witnesses; Prepare updated witness pack for R. Berthelsen from defendants' exchange of upcoming witnesses; Prepare updated witness pack for Zucker from defendants' exchange of upcoming witnesses.	2.30	\$ 180	
10/23/08	M. Ferrari	Meet with B. Sanders regarding the preparation and organization of the trial exhibits of J. Linzner, B. Laird, R. Berthelson, H. Adderly and W. Beach; organize exhibits and prepare file folders of same for use at trial.	2.20	\$ 150	
10/24/08	M. Ferrari	Assist with reviewing and organizing the trial exhibits and deposition transcripts for trial; prepare index of same.	0.90	\$ 150	
10/26/08	S. Bovine	Prepare witness pack for P. Allen; Prepare witness pack for J. Nahra	6.30	\$ 180	\$ 1,134.00
10/27/08	S. Bovine	Prepare updated witness pack for P. Allen from defendants' exchange of upcoming witnesses; Prepare witness pack for J. Nahra from defendants' exchange of upcoming witnesses; Prepare updated witness pack for J. Linzer; Prepare witness pack for P. Rowley; Prepare witness pack for D. Rascher; Prepare witness pack for P. Rhee.	5.40	\$ 180	\$ 972.00
10/28/08	S. Bovine	Prepare updated witness pack for J. Linzer from defendants' exchange of upcoming witnesses; Prepare updated witness pack for P. Rowley from defendants' exchange of upcoming witnesses; Prepare updated witness pack for D. Rascher from defendants' exchange of upcoming witnesses; Prepare witness pack for S. Byrd from defendants' exchange of upcoming witnesses.	3.60	\$ 180	
10/29/08	S. Bovine	Prepare updated witness pack for Berthelsen.	0.90	\$ 180	\$ 162.00

287224_10.XLS 247 of 306

10/30/08	S. Bovine	Prepare updated witness pack for R. Berthelsen	4.30	\$ 180	\$ 774.00
		from defendants' exhibit exchange information;			
		Prepare updated witness pack for J. Nahra;			
		Prepare witness updated pack for P. Rascher.			
11/02/08	S. Bovine	Prepare witness pack for Goich from defendants' exchange of upcoming witnesses; Prepare witness pack for T. Armstrong from defendants' exchange of upcoming witnesses; Prepare witness pack for Lanier from defendants' exchange of upcoming witnesses; Prepare witness pack for G. Upshaw from defendants' exchange of upcoming witnesses; Prepare witness pack for P. Rowley from defendants' exchange of upcoming witnesses; Prepare witness pack for R. Noll from defendants'	7.50	\$ 180	\$ 1,350.00
		exchange of upcoming witnesses.			
11/03/08	S. Bovine	Prepare and exchange list of upcoming witnesses; Prepare witness pack for T. Armstrong from defendants' exchange of upcoming witnesses; Prepare witness pack for P. Allen and add defendants' exhibits; Prepare witness pack for Jizmagian from defendants' exchange of upcoming witnesses.	3.70	\$ 180	\$ 666.00
11/04/08	S. Bovine	Update witness pack for R. Noll.	1.00	\$ 180	\$ 180.00
Hours Billed to	48.30				
Project No. 383 by Co-Counsel:	-				
Percentage Recoverable:	100%				\$ 23,732.00
Project Total:			215.60		\$ 23,732.00

287224_10.XLS 248 of 306

Project No. 384		Prepare Electronic Arts Stipulation					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
09/05/08	L. LeClair	Work on J. Linzer stipulation.	1.20	\$	700	\$	840.00
09/06/08	L. LeClair	Extensive work and calls regarding J. Linzer trial	3.10	\$	700	\$	2,170.00
		testimony and potential motion; draft stipulation.					
09/07/08	L. LeClair	Continue work on J. Linzer stipulation.	2.10	\$	700	\$	1,470.00
09/08/08	L. LeClair	Work on Electronic Arts issues and stipulation.	2.30	\$	700	\$	1,610.00
09/09/08	L. LeClair	Continue work on Electronic Arts games and J. Linzer.	0.30	\$	700	\$	210.00
09/10/08	L. LeClair	Continue work on J. Linzer and Electronic Arts.	2.10	\$	700	\$	1,470.00
09/15/08	L. LeClair	Continue work on Electronic Arts stipulation and authenticity issues regarding Electronic Arts and Lawson letter.	0.40	\$	700	\$	280.00
09/16/08	L. LeClair	Work on J. Linzer stipulation and Electronic Arts authenticity.	0.70	\$	700	\$	490.00
Project Total:			12.20			\$	8,540.00
Percentage	100%					\$	8,540.00
Recoverable:							
Hours Billed to Project No. 384 by Co-	12.50						
Counsel:							

Project No. 385		Analyze Propriety of Subpoena for P. Allen				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/24/08	L. LeClair	Work on trial preparation regarding P. Allen.	5.10	\$ 700	\$	3,570.00
09/28/08	L. LeClair	Work on pretrial preparation and outlines regarding P. Allen.	3.20	\$ 700	\$	2,240.00
10/10/08	L. LeClair	Trial preparation regarding P. Allen.	1.00	\$ 700	\$	700.00
Project Total:			9.30		\$	6,510.00
Percentage Recoverable:	100%				\$	6,510.00
Hours Billed to Project No. 385 by Co- Counsel:	2.90					

287224_10.XLS 249 of 306

Project No. 386		Prepare for Pretrial Hearing					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/25/08	A. Garza	Review pretrial order.	0.30	\$	375	\$	112.50
10/09/08	L. LeClair	Trial preparation; prepare for pretrial conference.	8.00	\$	700	\$	5,600.00
10/09/08	J. Naylor	Prepare for pretrial hearing.	5.10	\$	450	\$	2,295.00
10/10/08	J. Naylor	Prepare for pretrial hearing.	4.20	\$	450	\$	1,890.00
10/13/08	L. LeClair	Trial preparation; pretrial conference.	8.00	\$	700	\$	5,600.00
10/13/08	J. Naylor	Team conference call.	1.20	\$	450	\$	540.00
10/13/08	J. Naylor	Conference with L. LeClair regarding motions in limine.	0.40	\$	450	\$	180.00
10/13/08	J. Naylor	Prepare cases for pretrial conference.	5.80	\$	450	\$	2,610.00
10/14/08	B. Charhon	Prepare to argue exhibit objections and pre-trial conference; prepare materials for argument regarding motions in limine; prepare materials for argument regarding timeline.	9.00	\$	400	\$	3,600.00
10/14/08	A. Garza	Prepare for pretrial conference.	1.10	\$	375	\$	412.50
10/14/08	J. Naylor	Prepare brief on motions in limine.	7.00	\$	450	\$	3,150.00
10/14/08	J. Naylor	repare for pretrial conference.	5.00	\$	450	\$	2,250.00
10/15/08	B. Charhon	Continue preparation for pre-trial conference	2.00	\$	400	\$	800.00
10/15/08	L. LeClair	Pretrial conference preparation.	3.90	\$	700	\$	2,730.00
10/15/08	J. Naylor	Prepare for pretrial conference.	2.40	\$	450	\$	1,080.00
Project Total:			63.40			\$	32,850.00
Percentage Recoverable:	100%					\$	32,850.00
Hours Billed to Project No. 386 by Co- Counsel:	43.30						

Project No. 387		Prepare Demonstratives			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.00				
Project No. 387 by Co-					
Counsel:					

287224_10.XLS 250 of 306

Project No. 388		Review Defendants' Written Discovery				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/14/08	A. Garza	Review defendants' interrogatories and requests for admission; review active player discovery.	4.30	\$ 375	\$ 1,612.50	
10/16/08	A. Garza	Analyze Defendants' discovery responses for inclusion on exhibit list.	3.00	\$ 375	\$ 1,125.00	
Project Total:			7.30		\$ 2,737.50	
Percentage Recoverable:	100%				\$ 2,737.50	
Hours Billed to Project No. 388 by Co- Counsel:	0.00					

Project No. 389		Compare Retired Players' Directory with Class			
		List			
Date	Time Keeper	Description	Hours	Rate	Fee
10/15/08	A. Garza	Compare retired players' directory with class list.	6.40	\$ 375	\$ 2,400.00
Project Total:			6.40		\$ 2,400.00
Percentage	100%				\$ 2,400.00
Recoverable:					
Hours Billed to	0.00				
Project No. 389 by Co-					
Counsel:					

Project No. 390		Attend Pre-Trial Conference					
Date	Time Keeper	Description	Hours	Rate		Fee	
10/15/08	J. Naylor	Pretrial conference.	4.00	\$	450	\$	1,800.00
10/15/08	L. LeClair	Pretrial conference.	3.00	\$	700	\$	2,100.00
10/15/08	A. Garza	Attend pre-trial conference; summarize pre-trial conference rulings.	5.10	\$	375	\$	1,912.50
10/15/08	B. Charhon	Attend pre-trial conference	6.50	\$	400	\$	2,600.00
Project Total:			18.60			\$	8,412.50
Percentage Recoverable:	100%					\$	8,412.50
Hours Billed to Project No. 390 by Co- Counsel:	15.00						

287224_10.XLS 251 of 306

Project No. 391		Summarize Pre-Trial Conference Rulings					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
10/16/08	A. Garza	Edit summary of pre-trial conference for sending to the other side.	2.50	\$	375	\$	937.50
10/17/08	A. Garza	Meet and confer with M. Donovan re: summary of pre-trial rulings, edit and file same, correspond with the Court about the same.	3.50	\$	375	\$	1,312.50
10/15/08	J. Naylor	Team meeting.	1.20	\$	450	\$	540.00
Project Total:			7.20			\$	2,790.00
Percentage Recoverable:	100%					\$	2,790.00
Hours Billed to Project No. 391 by Co- Counsel:	0.00						

Project No. 392		Miscellaneous Trial Tasks					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
10/07/08	S. Bovine	Review Standing Order regarding trials; Conference call with D. Wishon and B. Sanders regarding trial logistics, trial exhibits, and deposition desingations.	0.80	\$	180	\$	144.00
10/08/08	S. Bovine	Review Standing Order regarding exhibits in trial	0.80	\$	180	\$	144.00
10/09/08	S. Bovine	Conference call to ensure adherence to Standing Order regading deposition designations, use of trial exhibits, and trial IT equipment.	1.30	\$	180	\$	234.00
10/10/08	S. Bovine	Review email regarding trial logistics and questions for courtroom deputy.	1.30	\$	180	\$	234.00
10/14/08	S. Bovine	Organize and pack case materials to send to trial; work on trial logistics.	1.50	\$	180	\$	270.00
10/15/08	S. Bovine	Prepare list of witness assignments.	1.00	\$	180	\$	180.00
10/15/08	J. Naylor	Assist with deposition designations and discovery designations.	4.30	\$	450	\$	1,935.00
10/16/08	A. Garza	Schedule meet and confer re: summary of pretrial conference, draft joint statement of the case.	2.00	\$	375	\$	750.00
10/16/08	S. Bovine	Review checklist of materials needed for trial.; Pack case materials needed for trial.; Review email regarding trial projects.	1.30	\$	180	\$	234.00
10/17/08	A. Garza	Correspond with opposing counsel re: Doug Allen, edit joint statement of case, draft list of deadlines for the day.	2.00	\$	375	\$	750.00

287224_10.XLS 252 of 306

10/18/08	A. Garza	Edit joint statement of the case, correspond with	5.20	\$	375	\$	1,950.00
		D.Greenspan re: demonstratives, edit amended joint stipulation, analyze contracts for inclusion in					
		judge's binder, edit letter brief re: charlotte observer article.					
10/10/00	C. Din		0.00	¢.	100	¢.	144.00
10/18/08	S. Bovine	Prepare and exchange list of upcoming witnesses.	0.80	\$	180	\$	144.00
10/18/08	S. Bovine	Assist with preparing and organizing demonstratives, documents, and testimony for	2.30	Э	180	\$	414.00
		opening.					
10/19/08	A. Garza	Draft list of day's deadlines, edit joint statement of the case, correspond with J. Clark re: binder for Judge, draft letter brief re: HOF emails.	6.00	\$	375	\$	2,250.00
10/19/08	S. Bovine	Prepare and send upcoming witness and exhibit	4.00	\$	180	\$	720.00
10/19/08	S. Bovine	information to defendants.	4.00	Э	180	Э	720.00
10/19/08	J. Naylor	Team meeting regarding various matters.	2.30	\$	450	\$	1,035.00
10/20/08	A. Garza	Correspond with D.Greenspan re: propriety of	0.40	\$	375	\$	150.00
		showing exhibits along with testimony.		Ф	373	Э	
10/20/08	S. Bovine	Prepare and send upcoming witness and exhibit	3.30	\$	180	\$	594.00
		information to defendants; Prepare, pack and					
		check materials for next trial day.					
10/20/08	J. Naylor	Team meetings.	4.30	\$	450	\$	1,935.00
10/21/08	A. Garza	Analyze Kessler's opening for arguments that he	3.50	\$	375	\$	1,312.50
		opened the door to admissibility of certain exhibits					
10/21/08	S. Bovine	Prepare and send upcoming witness and exhibit	3.30	\$	180	\$	594.00
		information to defendants; Prepare, pack, and					
		check trial materials for next trial day.					
10/21/08	J. Naylor	Team meetings.	3.90	\$	450	\$	1,755.00
10/22/08	A. Garza	Attend post-trial meeting	1.50	\$	375	\$	562.50
10/22/08	J. Naylor	Team meetings.	2.50	\$	450	\$	1,125.00
10/24/08	A. Garza	Fnd testimony regarding 35 or less players in an agreement.	1.00	\$	375	\$	375.00
10/25/08	A. Garza	Draft list of deadlines, edit HOF letter brief.	2.00	\$	375	\$	750.00
10/25/08	S. Bovine	Organize and check admitted trial exhibits against list.	1.20	\$	180	\$	216.00
10/25/08	J. Naylor	Team meetings.	2.70	\$	450	\$	1,215.00
10/26/08	A. Garza	Edit HOF letter brief.	1.00	\$	375	\$	375.00
10/26/08	S. Bovine	Prepare and send upcoming witness and exhibit information to defendants; Prepare demonstratives; Prepare, pack and check trial	5.10	\$	180		918.00
		materials for next trial day.					
10/26/08	J. Naylor	Team meetings.	2.40	\$	450	\$	1,080.00
10/27/08	A. Garza	Review definition of "NFL Players" mark .	2.00	\$	375	\$	750.00
10/27/08	S. Bovine	Prepare and send upcoming witness and exhibit	2.60	\$	180		468.00
10/21/00	S. Bovine	information to defendants; Update admitted exhibit list; Prepare, pack and check trial materials	2.00	Ψ	100	Ψ	100.00
		for next trial day.					
10/27/08	J. Naylor	Team meetings.	3.70	\$	450	\$	1,665.00
10/28/08	A. Garza	Edit HOF brief, analyze justification for including D. Allen salary.	2.50	\$	375	\$	937.50
10/28/08	S. Bovine	Prepare, pack, and check trial materials for next trial day.	1.80	\$	180	\$	324.00

287224_10.XLS 253 of 306

10/29/08	A. Garza	Research adoptive admissions, locate D.Allen testimony regarding EA	7.00	\$ 375	\$ 2,625.00
10/29/08	S. Bovine	Prepare and check demonstratives; Prepare, pack, and check trial materials for next trial day.	3.70	\$ 180	\$ 666.00
10/29/08	J. Naylor	Research instruction on scrambling and draft same.	0.90	\$ 450	\$ 405.00
10/29/08	J. Naylor	Meetings with P. Parcher and C. Hummel regarding same.	1.10	\$ 450	\$ 495.00
10/30/08	A. Garza	Review stipulated facts	0.50	\$ 375	\$ 187.50
10/30/08	S. Bovine	Update admitted exhibit list.; Prepare, pack, and check trial materials for next trial day.	3.70	\$ 180	\$ 666.00
10/30/08	J. Naylor	Research regarding class communications.	2.20	\$ 450	\$ 990.00
10/30/08	J. Naylor	Prepare memorandum regarding same.	0.80	\$ 450	\$ 360.00
10/31/08	A. Garza	Research applicability of FRE 804 to Saxon transcript	2.00	\$ 375	\$ 750.00
10/31/08	S. Bovine	Organize trial exhibits sent by defendants; Organize materials brought from courthouse.	1.00	\$ 180	\$ 180.00
11/01/08	J. Naylor	Review e-mails from team members.	0.70	\$ 450	\$ 315.00
11/02/08	A. Garza	Gather list of class members	4.50	\$ 375	\$ 1,687.50
11/02/08	S. Bovine	Prepare, pack, and check trial materials for next trial day.	2.50	\$ 180	\$ 450.00
11/03/08	S. Bovine	Prepare, pack, and check trial materials for next trial day.	2.00	\$ 180	\$ 360.00
11/04/08	S. Bovine	Begin draft of exhibit index for jury.	7.00	\$ 180	\$ 1,260.00
11/04/08	J. Naylor	Team meetings.	5.20	\$ 450	\$ 2,340.00
11/05/08	S. Bovine	Continue drafting exhibit list for jury; Work on demonstratives for closing; Prepare, pack, and check materials for hearing.	5.50	\$ 180	\$ 990.00
11/05/08	J. Naylor	Team meetings.	3.30	\$ 450	\$ 1,485.00
11/05/08	J. Naylor	Prepare for charging conference.	2.90	\$ 450	\$ 1,305.00
11/06/08	S. Bovine	Check and organize admitted trial exhibits and clear materials from courtroom; Finalize exhibit list for jury; Work on demonstratives for closing.; Prepare, pack, and check materials needed for closing.	10.00	\$ 180	\$ 1,800.00
11/10/08	S. Bovine	Take demonstratives to courthouse for jury and continue clearing courtroom.; Prepare materials for hearing on puntative damages; Organize and pack all trial materials.	6.00	\$ 180	\$ 1,080.00
Project Total:			160.10		\$ 48,886.50
Percentage Recoverable:	100%		100.10		\$ 48,886.50
Hours Billed to Project No. 392 by Co- Counsel:	623.70				

287224_10.XLS 254 of 306

Project No. 393		Prepare for D. Allen Examination					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/07/08	L. LeClair	Work on witness outline or D. Allen.	2.70	\$	700	\$	1,890.00
08/12/08	L. LeClair	Pretrial and trial preparation; continued work on	4.60	\$	700	\$	3,220.00
		D. Allen.				,	,
09/19/08	L. LeClair	Work on trial outlines, trial and pretrial matters	3.80	\$	700	\$	2,660.00
		regarding D. Allen.					,
09/21/08	B. Charhon	Telephone conference with P. Parcher regarding	0.30	\$	400	\$	120.00
		cross outlines.					
09/22/08	B. Charhon	Telephone conference with P. Parcher regarding	0.30	\$	400	\$	120.00
		D. Allen cross-examiniation	****	T		Ť	
09/22/08	L. LeClair	Various preparation for trial and depositions	2.30	\$	700	\$	1,610.00
		regarding D. Allen.				,	,
09/23/08	B. Charhon	Meet with P. Parcher regarding background of	8.00	\$	400	\$	3,200.00
		case and D. Allen cross-examination					ŕ
09/23/08	L. LeClair	Work on trial preparation regarding D. Allen.	3.10	\$	700	\$	2,170.00
09/24/08	B. Charhon	All day conference with P. Parcher regarding	7.00	\$	400	\$	2,800.00
		background of case and cross-examination of D.					
		Allen					
09/25/08	B. Charhon	All day meeting with P. Parcher and C. Hummel	8.50	\$	400	\$	3,400.00
		regarding cross-examination of D. Allen; being					
		preparation of notebook of key testimony and					
		documents for D. Allen cross examination.					
09/26/08	B. Charhon	Prepare notebook of key testimony and documents	7.30	\$	400	\$	2,920.00
		for D. Allen cross examination at request of C.					
		Hummel; extended meeting with P. Parcher and					
		C. Hummel regarding D. Allen cross and opening					
		statement;					
09/26/08	L. LeClair	Trial preparation; work on outlines for trial	5.10	\$	700	\$	3,570.00
10/10/0		regrding D. Allen.			=00		
10/10/08	L. LeClair	Trial preparation regarding D. Allen.	4.50	\$	700	\$	3,150.00
10/11/08	L. LeClair	Trial preparation regarding D. Allen.	4.00	\$	700	\$	2,800.00
10/12/08	L. LeClair	Trial preparation regarding D. Allen.	2.50	\$	700	\$	1,750.00
10/15/08	L. LeClair	Trial preparation regarding D. Allen.	3.10	\$	700	\$	2,170.00
10/16/08	L. LeClair	Trial preparation regarding D. Allen.	4.60	\$	700	\$ \$	3,220.00
10/18/08	L. LeClair	Trial preparation regarding D. Allen.	4.50		700		3,150.00
10/20/08	L. LeClair	Continue trial preparation regarding D. Allen.	4.90	\$	700	\$	3,430.00
10/20/08	S. Bovine	Prepare witness pack for D. Allen.	1.50	\$	180 400	\$ \$	270.00 1,800.00
10/21/08	B. Charhon	Extended meetings with P. Parcher in preparation for examination of D. Allen; prepare exhibits in	4.50	Э	400	2	1,800.00
		connection with same; review deposition					
		transcript in connection with same					
10/21/08	L. LeClair	Continue trial preparation regarding D. Allen.	5.00	\$	700	\$	3,500.00
10/21/08	S. Bovine	Prepare updated witness pack for D. Allen from	0.70	\$	180	\$	126.00
10/21/00	S. Dovine	defendants' exchange of upcoming witnesses.	0.70	φ	100	φ	120.00
10/22/08	L. LeClair	Continue trial preparation regarding D. Allen.	5.00	\$	700	\$	3,500.00
10/23/08	B. Charhon	Prepare for trial including preparation of D. Allen	6.50	\$	400	\$	2,600.00
10/23/00	D. Chambii	cross-examination outline; extended meetings with	0.50	Ψ	700	Ψ	2,000.00
		P. Parcher regarding same.					
10/23/08	L. LeClair	Continue trial preparation regarding D. Allen.	10.00	\$	700	\$	7,000.00
10,23,00	L. Lecian	Continue that proparation regarding D. Anien.	10.00	Ψ	, 00	Ψ	7,000.00

287224_10.XLS 255 of 306

10/24/08	A. Garza	Review exhibits that Defendants might introduct	1.50	\$ 375	\$ 562.50
		through D. Allen.			
10/24/08	B. Charhon	Prepare for trial including preparation of D. Allen	8.00	\$ 400	\$ 3,200.00
		cross examination outline; extended meetings with			
		P. Parcher regarding same.			
10/24/08	L. LeClair	Continue trial preparation regarding D. Allen.	10.00	\$ 700	\$ 7,000.00
10/25/08	A. Garza	List exhibits that we would like to get in through	0.50	\$ 375	\$ 187.50
		D.Allen.			
10/25/08	B. Charhon	Prepare for trial including preparation of D. Allen	7.50	\$ 400	\$ 3,000.00
		cross examination outline; extended meetings with			
		P. Parcher regarding same; prepare cross outline.			
10/25/08	S. Bovine	Prepare updated witness pack for D. Allen from	2.30	\$ 180	\$ 414.00
		defendants' exchange of upcoming witnesses.			
10/26/08	A. Garza	Review D. Allen exhibits.	1.00	\$ 375	\$ 375.00
10/26/08	B. Charhon	Prepare for Allen cross; prepare outline in	6.00	\$ 400	\$ 2,400.00
		connection with same.			
Project Total:			151.10		\$ 83,285.00
Percentage	100%				\$ 83,285.00
Recoverable:					
Hours Billed to	28.20				
Project No. 393 by Co-	4				
Counsel:					

Project No. 394		Miscellaneous Witness Outlines			
Date	Time Keeper	Description	Hours	Rate	Fee
09/25/08	L. LeClair	Work on outlines and P. Allen issues.	2.10	\$ 700	\$ 1,470.00
10/08/08	A. Garza	Review Berthlesen documents.	3.50	\$ 375	\$ 1,312.50
10/09/08	A. Garza	Continue reviewing Berthelsen documents.	3.50	\$ 375	\$ 1,312.50
10/10/08	A. Garza	Draft Berthelsen outline	4.30	\$ 375	\$ 1,612.50
Project Total:			13.40		\$ 5,707.50
Percentage	100%				\$ 5,707.50
Recoverable:					
Hours Billed to	37.00				
Project No. 394 by Co-					
Counsel:					

287224_10.XLS 256 of 306

Project No. 395		Prepare and Review Graphics					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
08/08/08	A. Garza	Review trial graphics materials.	0.20	\$	375	\$	75.00
10/06/08	O. Moreno	Upload video depositions to external hard drive for trial.	5.00	\$	105	\$	525.00
10/07/08	O. Moreno	Synchronized video depositions with corresponding depo transcripts for trial.	6.00	\$	105	\$	630.00
10/08/08	O. Moreno	Prepared video deposition cuts from designation list for trial.	9.00	\$	105	\$	945.00
10/10/08	B. Charhon	Coordinate preparation of demonstratives regarding "scrambling" evidence; review and revise timeline demonstrative and circulate same to team	1.10	\$	400	\$	440.00
10/10/08	C. Martin	Prepare Trial Graphics.	4.50	\$	85	\$	382.50
10/11/08	B. Charhon	Prepare powerpoint slides for opening	2.50	\$	400	\$	1,000.00
10/12/08	C. Martin	Prepare trial graphics.	1.50	\$	85	\$	127.50
10/12/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	4.00	\$	105	\$	420.00
10/13/08	A. Garza	Edit opening slides; work with C. Martin about the same	4.20	\$	375	\$	1,575.00
10/13/08	B. Charhon	Prepare powerpoint slides for opening; meet with B. Sanders regarding same; meet with A. Garza and C. Martin regarding same	4.00	\$	400	\$	1,600.00
10/13/08	C. Martin	Prepare trial graphics.	8.50	\$	85	\$	722.50
10/13/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	15.00	\$	105	\$	1,575.00
10/14/08	A. Garza	Edit opening slides.	0.60	\$	375	\$	225.00
10/14/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	16.00	\$	105	\$	1,680.00
10/15/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	15.00	\$	105	\$	1,575.00
10/16/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	15.00	\$	105	\$	1,575.00
10/17/08	B. Charhon	Prepare slides for opening	3.00	\$	400	\$	1,200.00
10/17/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	16.00	\$	105	\$	1,680.00
10/18/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	14.00	\$	105	\$	1,470.00
10/19/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	17.00	\$	105	\$	1,785.00
10/20/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	11.50	\$	105	\$	1,207.50
10/21/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	11.50	\$	105	\$	1,207.50
10/22/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	3.50	\$	105	\$	367.50
10/26/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	15.00	\$	105	\$	1,575.00
10/27/08	O. Moreno	Graphics support in San Francisco for Parrish vs NFL trial.	17.00	\$	105	\$	1,785.00

287224_10.XLS 257 of 306

10/28/08	O M	Caralia and a Cara English of a Demistra	10.00	Φ	105	φ	1 000 00
10/28/08	O. Moreno	Graphics support in San Francisco for Parrish vs	18.00	\$	105	\$	1,890.00
		NFL trial.					
10/29/08	O. Moreno	Graphics support in San Francisco for Parrish vs	9.50	\$	105	\$	997.50
		NFL trial.					
10/30/08	O. Moreno	Graphics support in San Francisco for Parrish vs	10.50	\$	105	\$	1,102.50
		NFL trial.					
10/31/08	O. Moreno	Graphics support in San Francisco for Parrish vs	5.50	\$	105	\$	577.50
		NFL trial.					
11/05/08	B. Charhon	Prepare graphics for closing and other	9.50	\$	400	\$	3,800.00
		miscellaneous preparation for closing					,
11/06/08	B. Charhon	Prepare graphics for closing, meet and confer with	10.00	\$	400	\$	4,000.00
		Defendants regarding graphics, prepare revised					ŕ
		slides based on meet and confer; other					
		miscellaneous preparation in connection with					
		closing					
11/07/08	B. Charhon	Prepare graphics for closing	1.00	\$	400	\$	400.00
Project Total:			284.60			\$	40,117.50
Percentage	100%					\$	40,117.50
Recoverable:							
Hours Billed to	0.00						
Project No. 395 by Co-							
Counsel:							
Counsel.							

Project No. 396		Prepare for C. McNeil Examination				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/07/08	L. LeClair	Work on witness outline for C. McNeil.	2.90	\$ 700	\$ 2,030	00.0
08/08/08	L. LeClair	Work on pretrial and trial matters regarding C McNeil outline.	1.40	\$ 700	\$ 980	0.00
09/03/08	L. LeClair	Deposition planning regarding C. McNeil.	0.80	\$ 700	\$ 560	0.00
09/11/08	L. LeClair	Work on issues regarding retired player witnesses for C. McNeil.	1.10	\$ 700	\$ 770	0.00
09/12/08	L. LeClair	Continue work on retired player issues and trial preparation regarding C. McNeil.	0.40	\$ 700	\$ 280	0.00
09/19/08	L. LeClair	Work on trial outlines, trial and pretrial matters regarding C. McNeil.	1.90	\$ 700	\$ 1,330	0.00
09/22/08	L. LeClair	Various preparation for trial and depositions regarding C. McNeil.	2.20	\$ 700	\$ 1,540).00
09/28/08	L. LeClair	Work on pretrial preparation and outlines regarding C. McNeil.	2.10	\$ 700	\$ 1,470).00
10/07/08	B. Charhon	Telephone conference with L. LeClair regarding witness outlines	0.30	\$ 400	\$ 120	0.00
10/08/08	B. Charhon	Prepare McNeil witness outline	5.00	\$ 400	\$ 2,000	00.0
10/09/08	B. Charhon	Prepare McNeil witness outline and circulate same to team	6.00	\$ 400	\$ 2,400	0.00
10/10/08	B. Charhon	Circulate W. Beach and C. McNeil direct outlines to co-counsel	0.10	\$ 400	\$ 40	0.00
10/10/08	L. LeClair	Trial preparation regarding C. McNeil.	2.50	\$ 700	\$ 1,750	00.0

287224_10.XLS 258 of 306

10/11/08	B. Charhon	Prepare C. McNeil examination; prepare McNeil exhibits for use during examination	3.00	\$ 400	\$ 1,200.00
10/12/08	L. LeClair	Trial preparation regarding C. McNeil.	3.50	\$ 700	\$ 2,450.00
10/14/08	L. LeClair	Pretrial preparation regarding C. McNeil.	4.50	\$ 700	\$ 3,150.00
10/17/08	L. LeClair	Trial preparation regarding C. McNeil.	3.90	\$ 700	\$ 2,730.00
10/18/08	S. Bovine	Prepare witness pack for C. McNeil.	1.40	\$ 180	\$ 252.00
10/19/08	S. Bovine	Prepare updated witness pack for C. McNeil from defendants' exchange of upcoming witnesses.	1.80	\$ 180	\$ 324.00
10/19/08	L. LeClair	Trial preparation regarding C. McNeil.	10.00	\$ 700	\$ 7,000.00
10/20/08	B. Charhon	Prepare Madden screenshots of C. McNeil; meet with C. McNeil in preparation for examination	3.00	\$ 400	\$ 1,200.00
Project Total:			57.80		\$ 33,576.00
Percentage Recoverable:	100%				\$ 33,576.00
Hours Billed to Project No. 396 by Co-	0.00				
Counsel:					

Project No. 397		Prepare for W. Beach Examination			
Date	Time Keeper	Description	Hours	Rate	Fee
09/30/08	B. Charhon	Prepare W. Beach outline for trial	2.00	\$ 400	\$ 800.00
10/01/08	B. Charhon	Prepare W. Beach witness outline for trial	4.60	\$ 400	\$ 1,840.00
10/03/08	B. Charhon	Prepare W. Beach direct outline	1.00	\$ 400	\$ 400.00
10/07/08	B. Charhon	Continue preparation of W. Beach direct outline	2.10	\$ 400	\$ 840.00
10/09/08	B. Charhon	Prepare W. Beach outline and circulate same to team	1.00	\$ 400	\$ 400.00
10/15/08	J. Naylor	Meet with B. Charhon regarding witness W. Beach.	1.60	\$ 450	\$ 720.00
10/15/08	J. Naylor	Review W. Beach testimony and prepare for witness presentation.	1.60	\$ 450	\$ 720.00
10/17/08	B. Charhon	Prepare Beach direct examination	1.00	\$ 400	\$ 400.00
10/19/08	S. Bovine	Prepare witness pack for W. Beach.	2.90	\$ 180	\$ 522.00
10/19/08	J. Naylor	Prepare to pesent witness.	1.30	\$ 450	\$ 585.00
10/20/08	B. Charhon	Meet with W. Beach in preparation for examination	3.00	\$ 400	\$ 1,200.00
10/20/08	J. Naylor	Prepare direct examination of W. Beach.	5.40	\$ 450	\$ 2,430.00
10/21/08	J. Naylor	Prepare direct examination of W. Beach.	4.40	\$ 450	\$ 1,980.00
10/22/08	J. Naylor	Prepare trial exhibits for W. Beach.	3.90	\$ 450	\$ 1,755.00
10/25/08	S. Bovine	Prepare updated witness pack for W. Beach from defendants' exchange of upcoming witnesses	2.00	\$ 180	\$ 360.00
10/25/08	L. LeClair	Continue trial preparation regarding W. Beach.	1.20	\$ 700	\$ 840.00
10/25/08	J. Naylor	Witness preparation.	3.30	\$ 450	\$ 1,485.00
10/25/08	J. Naylor	Review W. Beach exhibits.	1.90	\$ 450	\$ 855.00
10/26/08	J. Naylor	Witness preparation.	4.20	\$ 450	\$ 1,890.00

287224_10.XLS 259 of 306

10/26/08	J. Naylor	Plan exhibits for witness.	2.70	\$ 450	\$ 1,215.00
10/27/08	B. Charhon	Prepare W. Beach for examination	3.50	\$ 400	\$ 1,400.00
10/27/2008	J. Naylor	Witness preparation and prepare for direct examination of W. Beach.	2.00	\$ 450	\$ 900.00
10/28/2008	J. Naylor	Prepare for cross-examination and re-direct of witness W. Beach.	2.90	\$ 450	\$ 1,305.00
10/27/2008	J. Naylor	Witness preparation and prepare for direct examination of W. Beach.	2.00	\$ 450	\$ 900.00
10/28/2008	J. Naylor	Prepare for cross-examination and re-direct of witness W. Beach.	2.90	\$ 450	\$ 1,305.00
10/30/08	L. LeClair	Continue trial preparation regarding W. Beach.	2.00	\$ 700	\$ 1,400.00
Project Total:			66.40		\$ 28,447.00
Percentage Recoverable:	100%				\$ 28,447.00
Hours Billed to Project No. 397 by Co- Counsel:	0.00				

Project No. 398		Prepare for B. Laird Examination					
Date	Time Keeper	Description	Hours	Rate		Fee	
08/08/08	L. LeClair	Work on pretrial and trial matters regarding B. Laird outline.	1.20	\$	700	\$	840.00
09/12/08	L. LeClair	Continue work on retired player issues and trial preparation regarding B. Laird.	0.40	\$	700	\$	280.00
10/07/08	A. Garza	Draft letter to B. Laird regarding appearance at trial.	0.70	\$	375	\$	262.50
10/13/08	B. Charhon	Prepare B. Laird direct outline; review and analyze deposition of B. Laird in connection with same.	4.50	\$	400	\$	1,800.00
10/19/08	S. Bovine	Prepare updated witness pack for B. Laird.	2.50	\$	180	\$	450.00
10/25/08	L. LeClair	Continue trial preparation regarding B. Laird.	1.50	\$	700	\$	1,050.00
10/27/08	B. Charhon	Prepare for B. Laird for direct and cross examination	3.00	\$	400	\$	1,200.00
Project Total:			13.80			\$	5,882.50
Percentage Recoverable:	100%					\$	5,882.50
Hours Billed to	0.00						
Project No. 398 by Co-Counsel:							

287224_10.XLS 260 of 306

Project No. 399		Prepare for H. Adderley examination					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
08/08/08	L. LeClair	Work on pretrial and trial matters regarding H. Adderley outline.	1.70	\$	700	\$	1,190.00
09/23/08	L. LeClair	Work on trial preparation regarding H. Adderley.	3.40	\$	700	\$	2,380.00
10/16/08	B. Charhon	Review and revise Adderley direct outline	2.00	\$	400	\$	800.00
10/17/08	B. Charhon	Continue review of revisions of Adderley outline; email same to R. Katz	1.50	\$	400	\$	600.00
10/19/08	S. Bovine	Prepare witness pack for H. Adderley.	2.30	\$	180	\$	414.00
10/20/08	S. Bovine	Prepare updated witness pack for H. Adderley from defendants' exchange of upcoming witnesses.	1.70	\$	180	\$	306.00
10/28/08	S. Bovine	Prepare witness pack for H. Adderley.	2.30	\$	180	\$	414.00
10/31/08	L. LeClair	Continue trial preparation regarding H. Adderley.	5.00	\$	700	\$	3,500.00
Project Total:			19.90			\$	9,604.00
Percentage Recoverable:	100%					\$	9,604.00
Hours Billed to Project No. 399 by Co- Counsel:	19.60						

Project No. 400		Prepare for T. McFarlane Examination			
Date	Time Keeper	Description	Hours	Rate	Fee
10/10/08	B. Charhon	Multiple telephone calls with A. Garza regarding T. McFarlane cross-outline	0.30	\$ 400	\$ 120.00
Project Total:			0.30		\$ 120.00
Percentage Recoverable:	100%				\$ 120.00
Hours Billed to Project No. 400 by Co- Counsel:	0.00				

287224_10.XLS 261 of 306

Project No. 401		Prepare for C. Finch Examination				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/10/08	A. Garza	Draft Finch cross.	4.00	\$ 375	\$	1,500.00
10/12/08	A. Garza	Edit Finch outline.	1.50	\$ 375	\$	562.50
10/13/08	A. Garza	Edit Finch cross.	2.30	\$ 375	\$	862.50
Project Total:			7.80		\$	2,925.00
Percentage Recoverable:	100%				\$	2,925.00
Hours Billed to Project No.401 by Co- Counsel:	0.00					

Project No. 402		Prepare for L. Castillon Examination			
Date	Time Keeper	Description	Hours	Rate	Fee
10/10/08	B. Charhon	Begin preparation of L. Castillon cross-outline	2.50	\$ 400	\$ 1,000.00
10/11/08	B. Charhon	Continue preparation of L. Castillion cross-outline	0.50	\$ 400	\$ 200.00
10/12/08	B. Charhon	Continue preparation of Castillon cross-outline	3.00	\$ 400	\$ 1,200.00
10/12/08	L. LeClair	Trial preparation regarding L. Castillon.	2.00	\$ 700	\$ 1,400.00
Project Total:			8.00		\$ 3,800.00
Percentage Recoverable:	100%				\$ 3,800.00
Hours Billed to Project No. 402 by Co- Counsel:	0.00				

Project No. 402(A)		Prepare for T. Armstrong Examination			
Date	Time Keeper	Description	Hours	Rate	Fee
10/29/08	K. Sherrill	Trace Armstrong research for L. LeClair.	2.50	\$ 180	\$ 450.00
Project Total:			2.50		\$ 450.00
Percentage	100%				\$ 450.00
Recoverable:					
Hours Billed to	0.00				
Project No. 402(A) by					
Co-Counsel:					

287224_10.XLS 262 of 306

Project No. 403		Prepare Brief on Parol Evidence			
Date	Time Keeper	Description	Hours	Rate	Fee
10/16/08	J. Naylor	Research and prepare brief regarding parol evidence.	9.80	\$ 450	\$ 4,410.00
10/16/08	J. Naylor	Research regarding New York and DC laws regarding parol evidence.	2.00	\$ 450	\$ 900.00
10/17/08	J. Naylor	Research regarding New York and DC laws regarding parol evidence.	2.00	\$ 450	\$ 900.00
Project Total:			13.80		\$ 6,210.00
Percentage Recoverable:	100%				\$ 6,210.00
Hours Billed to Project No. 403 by Co- Counsel:	7.80				

Project No. 404		Research Applicability of Fiduciary Duty to NFLPA and Retired Players					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
10/23/08	A. Garza	Analyze question of duty outside of an agency relationship	1.00	\$	375	\$	375.00
10/27/08	J. Thollander	Discuss fiduciary-duty research issue with S. Baxter.	0.20	\$	450	\$	90.00
10/28/08	J. Thollander	Begin to research and review fiduciary issue per request from S. Baxter and R. Snider; review related e-mails, pleadings, and cases forwarded by A. Garza and R. Snider.	7.00	\$	450	\$	3,150.00
10/29/08	J. Thollander	Discuss issues related to D.C. agency law with A. Garza and engage in research related to same.	5.90	\$	450	\$	2,655.00

287224_10.XLS 263 of 306

10/30/08	J. Thollander	Continue to research issues related to D.C. agency and fiduciary law, and cull most relevant quotes from cases into document to forward to A. Garza; forward same to A. Garza with explanatory e-mail.	5.70	\$ 450	\$ 2,565.00
11/03/08	J. Thollander	Discuss additional research needs with A. Garza; review relevant recently filed briefs and engage in additional research into agency law as necessary to support responsive briefing; cull relevant quotes from discovered cases into document and forward same to A. Garza for use in drafting jury-charge brief.	4.60	\$ 450	\$ 2,070.00
Project Total:			24.40		\$ 10,905.00
Percentage Recoverable:	100%				\$ 10,905.00
Hours Billed to Project No. 404 by Co- Counsel:	0%				

Project No. 405		Research Agency Law				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/27/08	A. Garza	Review D.C. agency cases	3.20	\$ 375	\$ 1,200.00	
10/28/08	A. Garza	Review DC agency cases	2.00	\$ 375	\$ 750.00	
10/30/08	A. Garza	Review DC agency cases	5.00	\$ 375	\$ 1,875.00	
Project Total:			10.20		\$ 3,825.00	
Percentage	100%				\$ 3,825.00	
Recoverable:						
Hours Billed to	0.00					
Project No.405 by Co-Counsel:						

287224_10.XLS 264 of 306

Project No. 406		Review Jury Instructions					
Date	Time Keeper	Description	Hours	Rate		Fee	
06/18/08	B. Charhon	Review draft jury instructions	0.50	\$	400	\$	200.00
08/16/08	J. Naylor	Review draft verdict form and jury instructions.	1.20	\$	450	\$	540.00
08/19/08	J. Naylor	Review proposed jury instructions.	1.20	\$	450	\$	540.00
08/19/08	J. Naylor	Research jury instructions.	0.80	\$	450	\$	360.00
08/19/08	J. Naylor	Draft additional instructions.	0.60	\$	450	\$	270.00
08/28/08	J. Naylor	Conference call with L. Franco and R. Hilbert regarding jury instructions.	1.10	\$	450	\$	495.00
08/28/08	J. Naylor	Conference call with defendants regarding jury instructions.	3.40	\$	450	\$	1,530.00
08/28/08	J. Naylor	Create new fiduciary relationship jury question.	0.60	\$	450	\$	270.00
09/30/08	J. Naylor	Review jury charge.	0.80	\$	450	\$	360.00
09/30/08	J. Naylor	Telephone conferences regarding same.	0.60	\$	450	\$	270.00
10/03/08	J. Naylor	Conference with L. LeClair regarding various related issues.	0.30	\$	450	\$	135.00
Project Total:			11.10			\$	4,970.00
Percentage Recoverable:	100%					\$	4,970.00
Hours Billed to Project No. 406 by Co- Counsel:	98.30						

287224_10.XLS 265 of 306

Project No. 407		Prepare Spreadsheet Ad Hocs					
Date	Time Keeper	Description	Hours	Rate		Fee	
09/19/08	B. Sanders	Review class member list to identify class members with selected ad hoc agreements.	3.20	\$	85	\$	272.00
11/03/08	J. Mowe	Conference with S. Bryan regarding inputting amounts paid to NFL players onto spreadsheet; preparation of spreadsheet.	2.10	\$	180	\$	378.00
11/03/08	K. Collins	Prepare shreadsheet with information requested by L. LeClair for use during trial.	3.00	\$	180	\$	540.00
11/03/08	M. Ferrari	Prepare chart containing the amounts of the payments made to the players by Players Inc.; email chart to S. Bryan.	3.70	\$	150	\$	555.00
11/03/08	D. Gaiser	Input 2005 royalty payments into spreadsheet in preparation for use of same as trial exhibit as requested by K. Sherrill.	3.50	\$	115	\$	402.50
Project Total:			15.50			\$	2,147.50
Percentage Recoverable:	100%					\$	2,147.50
Hours Billed to Project No. 407 by Co- Counsel:	0.00						

Project No. 408		Review Deposition Transcripts			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	13.70				
Project No. 408 by Co-					
Counsel:					

287224_10.XLS 266 of 306

Project No. 409		Review G. Eyrich Deposition Transcript			
Date	Time Keeper	Description	Hours	Rate	Fee
08/11/08	L. LeClair	Work on trial and pretrial matters regarding review of G. Eyrich.	1.10	\$ 700	\$ 770.00
Project Total:			1.10		\$ 770.00
Percentage Recoverable:	100%				\$ 770.00
Hours Billed to Project No. 409 by Co- Counsel:	0.00				

Project No. 410		Review R. Berthelsen Deposition Transcript			
Date	Time Keeper	Description	Hours	Rate	Fee
08/11/08	L. LeClair	Work on trial and pretrial matters regarding review of R. Berthelsen.	0.90	\$ 700	\$ 630.00
09/22/08	L. LeClair	Various preparation for trial and depositions regarding R. Berthelsen.	3.40	\$ 700	\$ 2,380.00
Project Total:			4.30		\$ 3,010.00
Percentage	100%				\$ 3,010.00
Recoverable:					
Hours Billed to Project No. 410 by Co- Counsel:	0.00				

Project No. 411		Review W. Beach Deposition Transcript				
Date	Time Keeper	Description	Hours	Rate	Fee	
08/22/08	B. Charhon	Review W. Beach deposition transcript	1.00	\$ 400	\$ 400.00	
Project Total:			1.00		\$ 400.00	
Percentage	100%				\$ 400.00	
Recoverable:						
Hours Billed to	1.00					
Project No. 411 by Co-						
Counsel:			1			

287224_10.XLS 267 of 306

Project No. 412		Review H. Adderley Deposition Transcript			
Date	Time Keeper	Description	Hours	Rate	Fee
08/11/08	L. LeClair	Work on trial and pretrial matters regarding review of H. Adderley.	1.10	\$ 700	\$ 770.00
Project Total:			1.10		\$ 770.00
Percentage Recoverable:	100%				\$ 770.00
Hours Billed to Project No. 412 by Co- Counsel:	5.90				

Project No. 413		Review C. McNeil Deposition Transcript			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	0.00				
Project No. 413 by Co-	ł				
Counsel:					

287224_10.XLS 268 of 306

Project No. 414		Prepare G. Upshaw Deposition Cuts					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
10/02/08	B. Charhon	Coordinate preparation of deposition video of G. Upshaw	0.30	\$	400	\$	120.00
10/16/08	A. Garza	Edit G. Upshaw deposition designations, conform G. Upshaw deposition exhibits with trial exhibits	4.00	\$	375	\$	1,500.00
10/18/08	A. Garza	Edit G.Upshaw deposition designations.	7.00	\$	375	\$	2,625.00
10/18/08	S. Bovine	Check deposition designations for G. Upshaw.	1.20	\$	180	\$	216.00
10/19/08	A. Garza	Review G. Upshaw designations and counterdesignations	4.50	\$	375	\$	1,687.50
11/03/08	S. Bovine	Prepare witness pack for G. Upshaw from defendants' exchange of upcoming witnesses	1.00	\$	180	\$	180.00
10/08/09	B. Charhon	Review Upshaw deposition designations and video	1.50			\$	-
Project Total:			19.50			\$	6,328.50
Percentage Recoverable:	100%					\$	6,328.50
Hours Billed to Project No. 414 by Co- Counsel:	0.00						

Project No. 415		Prepare Miscellaneous Deposition Cuts				
Date	Time Keeper	Description	Hours	Rate		Fee
09/30/08	B. Sanders	Review status of deposition transcripts and videos in preparation for trial.	2.60	\$ 8	35	\$ 221.00
10/01/08	B. Sanders	Coordinate video and deposition transcripts to be used at trial.	1.50	\$ 8	5	\$ 127.50
10/13/08	B. Charhon	Telephone conference with S. Bovine and D. Wishon regarding deposition designations; exchange emails with L. LeClair regarding same	0.50	\$ 40	00	\$ 200.00
10/13/08	S. Bovine	Conference call with D. Wishon, R. Hilbert, and B. Charhon regarding formatting deposition designations and assigning designation tasks.	1.10	\$ 18	30	\$ 198.00
10/14/08	B. Charhon	Prepare video designations	1.00	\$ 40	00	\$ 400.00
10/16/08	B. Charhon	Prepare pre-trial materials including deposition designations of W. Friss, prepare deposition designations of W. Zucker; prepare deposition designations of J. Linzner;	7.50	\$ 40	00	\$ 3,000.00

287224_10.XLS 269 of 306

10/16/08	A. Garza	Conform G.Eyrich deposition exhibits, conform Zucker deposition exhibits.	1.00	\$ 375	\$ 375.00
10/17/08	A. Garza	Continue working on deposition designations, edit S.Saxon deposition designation.	5.80	\$ 375	\$ 2,175.00
10/18/08	S. Bovine	Work on deposition designations.	3.50	\$ 180	\$ 630.00
10/19/08	A. Garza	Edit R.Berthlesen cross, designated Zucker testimony	4.00	\$ 375	\$ 1,500.00
10/20/08	A. Garza	Object to J.Linzer designations, object to Zucker designations, designate W.Friss testimony, designate H.Skall testimony.	6.00	\$ 375	\$ 2,250.00
10/21/08	S. Bovine	Assist with deposition designations.	1.20	\$ 180	\$ 216.00
10/21/08	A. Garza	Edit Zucker designations, edit Friss designations and write summary about the same.	3.00	\$ 375	\$ 1,125.00
10/23/08	A. Garza	Edit H.Skall designations	0.50	\$ 375	\$ 187.50
10/24/08	A. Garza	Edit Skall designations, draft email about the same to R.Taub.	2.00	\$ 375	\$ 750.00
10/25/08	S. Bovine	Prepare deposition designations.	3.50	\$ 180	\$ 630.00
10/25/08	A. Garza	Prepare deposition designations.	7.00	\$ 375	\$ 2,625.00
10/26/08	A. Garza	Continue deposition designations, transmit S.Saxon deposition designations, objections, and counters.	12.00	\$ 375	\$ 4,500.00
10/27/08	A. Garza	Review S.Saxon deposition errata, Designate Zucker transcript,	2.00	\$ 375	\$ 750.00
10/28/08	S. Bovine	Prepare exhibits for Saxon deposition designations.	0.30	\$ 180	\$ 54.00
Project Total:			66.00		\$ 21,914.00
Percentage Recoverable:	100%				\$ 21,914.00
Hours Billed to Project No. 415 by Co Counsel:	2.50				

287224_10.XLS 270 of 306

Project No. 416		Research Issues Related to Jury Instructions					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
08/29/08	A. Garza	Draft fiduciary duty instruction.	2.50	\$	375	\$	937.50
10/06/08	A. Garza	Edit fiduciary relationship jury instruction.	3.50	\$	375	\$	1,312.50
11/03/08	M. Ferrari	Meet with K. Sherrill regarding the review and organization of cases cited in defendants' memorandum in support of their position on disputed jury instructions; review defendants' memorandum for cases cited and download copies of same from Lexis.	2.60	\$	150	\$	390.00
11/03/08	D. Gaiser	Search Lexis and Westlaw for case law cited in various trial briefs as requested by K. Sherrill; convert same to PDF files and place on scan directory per K. Sherrill's instructions.	4.50	\$	115	\$	517.50
09/25/08	J. Naylor	Review jury issues.	1.30	\$	450	\$	585.00
09/30/08	J. Naylor	Revise legal research regarding jury instructions.	0.80	\$	450	\$	360.00
09/30/08	J. Naylor	Legal research regarding same.	1.20	\$	450	\$	540.00
10/03/08	J. Naylor	Review master jury instructions.	2.30	\$	450	\$	1,035.00
Project Total:			18.70			\$	5,677.50
Percentage Recoverable:	100%					\$	5,677.50
Hours Billed to Project No. 416 by Co- Counsel:	7.10						

Project No. 417		Review Jury Instructions				
Date	Time Keeper	Description	Hours	Rate	Fee	
09/25/08	L. LeClair	Work on jury instructions and pretrial order.	4.80	\$ 700	\$ 3,360.00	
10/29/08	A. Garza	Review jury instruction on scrambling.	0.50	\$ 375	\$ 187.50	
10/30/08	A. Garza	Rreview jury instruction on scrambling.	1.00	\$ 375	\$ 375.00	
10/31/08	J. Naylor	Review judge's preliminary jury instructions.	1.40	\$ 450	\$ 630.00	
11/01/08	J. Naylor	Review draft jury instructions.	0.90	\$ 450	\$ 405.00	
11/06/08	J. Naylor	Review final jury instructions.	2.10	\$ 450	\$ 945.00	
Project Total:			10.70		\$ 5,902.50	
Percentage	100%				\$ 5,902.50	
Recoverable:						
Hours Billed to	0.80					
Project No. 417 by Co-	-					
Counsel:						

287224_10.XLS 271 of 306

Project No. 418		Draft Jury Instructions			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	3.10				
Project No. 418 by Co-					
Counsel:					

Project No. 419		Draft Brief Supporting Jury Instructions					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
10/03/08	J. Naylor	Begin drafting brief.	3.50	\$	450	\$	1,575.00
10/04/08	J. Naylor	Continue work on brief in support of plaintiffs jury instructions.	7.50	\$	450	\$	3,375.00
10/05/08	J. Naylor	Continue preparation of brief in support of plaintiffs jury instructions.	8.30	\$	450	\$	3,735.00
10/06/08	J. Naylor	Continue preparation of brief in support of plaintiffs jury instructions.	5.50	\$	50	\$	275.00
10/07/08	J. Naylor	Revise brief in support of plaintiffs jury instructions.	11.00	\$	450	\$	4,950.00
10/31/08	A. Garza	Draft portions of brief related to jury instructions.	1.00	\$	375	\$	375.00
11/01/08	A. Garza	Draft, research, and edit brief on jury instructions.	7.50	\$	375	\$	2,812.50
11/01/08	J. Naylor	Prepare brief regarding jury instructions.	1.70	\$	450	\$	765.00
11/02/08	A. Garza	Draft, research, and edit brief on jury instructions.	10.00	\$	375	\$	3,750.00
11/02/08	J. Naylor	Prepare brief regarding jury instructions.	3.20	\$	450	\$	1,440.00
11/03/08	J. Naylor	Review defendants cases regarding jury instructions.	5.40	\$	450	\$	2,430.00
11/03/08	J. Naylor	Further research on jury charge issues.	6.70	\$	450	\$	3,015.00
11/04/08	J. Naylor	Research and briefing on jury instructions.	4.40	\$	450	\$	1,980.00
11/05/08	J. Naylor	Research and briefing regarding jury instructions.	5.20	\$	450	\$	2,340.00
Project Total:			80.90			\$	32,817.50
Percentage Recoverable:	100%					\$	32,817.50
Hours Billed to Project No. 419 by Co- Counsel:	44.00						

287224_10.XLS 272 of 306

Project No. 419A		Prepare closing statement					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
11/01/08	B. Charhon	Prepare double-talk chart; begin preparation of closing outline; continue preparation of document containing key trial testimony	7.00	\$	400	\$	2,800.00
11/02/08	B. Charhon	Prepare for trial including preparation of closing outline and double-talk chart.	8.00	\$	400	\$	3,200.00
11/03/08	B. Charhon	Extended meetings with P. Parcher regarding closing; continue preparation of closing outline.	9.50	\$	400	\$	3,800.00
11/04/08	B. Charhon	Prepare for trial including preparation of closing outline and analysis of P. Parcher opening in antipation of Defendants' attacs on same; extended meetings with P. Parcher	3.50	\$	400	\$	1,400.00
Project Total:			28.00			\$	11,200.00
Percentage Recoverable:	100%					\$	11,200.00
Hours Billed to	20.00						
Project No. 419(A) by Co-Counsel:	20.00						

Project No. 420		Attend Trial Day 1				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/20/08	B. Charhon	Attend trial	2.50	\$ 400	\$ 1,000.00	
10/20/08	A. Garza	Attend trial	2.50	\$ 375	\$ 937.50	
10/20/08	O. Moreno	Attend trial	6.50	\$ 105	\$ 682.50	
10/20/08	S. Bovine	Take trial materials to courtroom, set up for trial, attend and assist with trial.	8.00	\$ 180	\$ 1,440.00	
10/20/08	L. LeClair	Trial.	5.10	\$ 700	\$ 3,570.00	
10/20/08	J. Naylor	Attend trial.	6.50	\$ 450	\$ 2,925.00	
Project Total:			31.10		\$ 10,555.00	
Percentage Recoverable:	100%				\$ 10,555.00	
Hours Billed to Project No. 420 by Co- Counsel:	40.00					

287224_10.XLS 273 of 306

Project No. 421		Attend Trial Day 2					
Date	Time Keeper	Description	Hours	Rate		Fee	
10/21/08	B. Charhon	Attend trial	2.50	\$	400	\$	1,000.00
10/21/08	A. Garza	Attend trial	2.50	\$	375	\$	937.50
10/21/08	O. Moreno	Attend trial	6.50	\$	105	\$	682.50
10/21/08	S. Bovine	Take trial materials to courtroom, set up for trial, attend and assist with trial.	8.00	\$	180	\$	1,440.00
10/21/08	L. LeClair	Trial.	5.00	\$	700	\$	3,500.00
10/21/08	J. Naylor	Attend trial.	6.50	\$	450	\$	2,925.00
Project Total:			31.00			\$	10,485.00
Percentage Recoverable:	100%					\$	10,485.00
Hours Billed to Project No. 421 by Co- Counsel:	44.00						

Project No. 422		Attend Trial Day 3				
Date	Time Keeper	Description	Hours	Rate	Fee	
10/22/08	B. Charhon	Attend trial	2.50	\$ 400	\$ 1,000.00	
10/22/08	A. Garza	Attend trial	2.50	\$ 375	\$ 937.50	
10/22/08	O. Moreno	Attend trial	6.50	\$ 105	\$ 682.50	
10/22/08	S. Bovine	Take trial materials to courtroom, set up for trial, attend and assist with trial.	8.00	\$ 180	\$ 1,440.00	
10/22/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00	
10/22/08	J. Naylor	Attend trial.	6.50	\$ 450	\$ 2,925.00	
					\$ -	
Project Total:			31.00		\$ 10,485.00	
Percentage Recoverable:	100%				\$ 10,485.00	
Hours Billed to Project No. 422 by Co-Counsel:	37.00					

287224_10.XLS 274 of 306

Project No. 423		Attend Trial Day 4			
Date	Time Keeper	Description	Hours	Rate	Fee
10/27/08	B. Charhon	Attend trial	2.50	\$ 400	\$ 1,000.00
10/27/08	A. Garza	Attend trial	2.50	\$ 375	\$ 937.50
10/27/08	O. Moreno	Attend trial	6.50	\$ 105	\$ 682.50
10/27/08	S. Bovine	Take trial materials to courthouse, set up, attend, and assist with trial.	8.00	\$ 180	\$ 1,440.00
10/27/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00
10/27/08	J. Naylor	Attend trial.	6.50	\$ 450	\$ 2,925.00
Project Total:			31.00		\$ 10,485.00
Percentage Recoverable:	100%				\$ 10,485.00
Hours Billed to Project No. 423 by Co- Counsel:	41.00				
Project No. 424	m: **	Attend Trial Day 5	**	7	7
Date	Time Keeper	Description	Hours	Rate	Fee
10/28/08 10/28/08	B. Charhon A. Garza	Attend trial Attend trial	2.50 2.50	\$ 400 \$ 375	
10/28/08	O. Moreno	Attend trial	6.50	\$ 105	
10/28/08	S. Bovine	Take trial materials to courtroom, set up, attend, and assist with trial	8.00	\$ 180	
10/28/08	J. Naylor	Attend trial.	6.50	\$ 450	\$ 2,925.00
10/28/08	L. LeClair	Attend Trial	6.50	\$ 700	\$ 4,550.00
Project Total:			32.50		\$ 11,535.00
Percentage Recoverable:	100%				\$ 11,535.00
Hours Billed to Project No. 424 by Co- Counsel:	97.00				

287224_10.XLS 275 of 306

Project No. 425		Attend Trial Day 6					
Date	Time Keeper	Description	Hours	Rate		Rate Fee	
10/29/08	B. Charhon	Attend Trial	2.50	\$	400	\$	1,000.00
10/29/08	A. Garza	Attend trial.	6.50	\$	375	\$	2,437.50
10/29/08	O. Moreno	Attend trial	6.50	\$	105	\$	682.50
10/29/08	S. Bovine	Take trial materials to courtroom, set up, attend and assist with trial.	8.00	\$	180	\$	1,440.00
10/29/08	L. LeClair	Trial.	5.00	\$	700	\$	3,500.00
Project Total:			28.50			\$	9,060.00
Percentage	100%					\$	9,060.00
Recoverable:							
Hours Billed to	152.00						
Project No. 425 by Co-							
Counsel:							

Project No. 425A		Prepare opening statement					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
10/11/08	L. LeClair	Trial preparation regarding opening statement.	4.00	\$	700	\$	2,800.00
10/14/08	L. LeClair	Pretrial preparation regarding opening statement.	5.50	\$	700	\$	3,850.00
10/16/08	L. LeClair	Trial preparation regarding opening statement.	5.40	\$	700	\$	3,780.00
10/17/08	L. LeClair	Trial preparation regarding opening statement.	6.10	\$	700	\$	4,270.00
10/18/08	B. Charhon	Prepare for trial including preparation of opening and slides in connection with same and extended meetings with P. Parcher regarding same.	14.00	\$	400	\$	5,600.00
10/18/08	L. LeClair	Trial preparation regarding opening statement.	5.50	\$	700	\$	3,850.00
10/19/08	B. Charhon	Prepare for trial including preparation of opening and slides in connection with same and extended meetings with P.Parcher regarding same; negotiate with Defendants' regarding Upshaw deposition designations; exchange opening slides with Defendants'; review Defendants' opening slides; coordinate exhibit disclosures with Defendants; coordinate preparation of judge's binder with Defendants; review and object to Defendants' counter-designations for G. Eyrich; review and revise opening slides based on Defendants' objections.	14.00	\$	400	\$	5,600.00
Project Total:			54.50			\$	29,750.00
Percentage	100%		34.30			\$	29,750.00
Recoverable:	100 /0					φ	29,730.00
Hours Billed to Project No. 425 by Co- Counsel:	27.80						

287224_10.XLS 276 of 306

Project No. 426		Attend Trial Day 7					
Date	Time Keeper	Description	Hours	Rate		Fee	
10/30/08	B. Charhon	Attend trial	2.50	\$ 4	400	\$	1,000.00
10/30/08	A. Garza	Attend trial.	2.50	\$ 3	375	\$	937.50
10/30/08	O. Moreno	Attend trial	6.50	\$	105	\$	682.50
10/30/08	S. Bovine	Take trial materials to courtroom, set up, attend, and assist with trial.	8.00	\$	180	\$	1,440.00
10/30/08	L. LeClair	Trial.	5.00	\$ 7	700	\$	3,500.00
Project Total:			24.50			\$	7,560.00
Percentage	100%					\$	7,560.00
Recoverable:							
Hours Billed to	41.00						
Project No. 426 by Co-							
Counsel:							

Project No. 427		Attend Trial Day 8			
Date	Time Keeper	Description	Hours	Rate	Fee
10/31/08	B. Charhon	Attend trial	5.00	\$ 400	\$ 2,000.00
10/31/08	O. Moreno	Attend trial	6.50	\$ 105	\$ 682.50
10/31/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00
10/31/08	S. Bovine	Take trial materials to courthroom, set up, attend and assist with trial.	8.00	\$ 180	\$ 1,440.00
Project Total:			24.50		\$ 7,622.50
Percentage	100%				\$ 7,622.50
Recoverable:					
	6.00				
Project No. 427 by Co-					
Counsel:					

287224_10.XLS 277 of 306

Project No. 428		Attend Trial Day 9			
Date	Time Keeper	Description	Hours	Rate	Fee
11/03/08	B. Charhon	Attend trial	5.00	\$ 400	\$ 2,000.00
11/03/08	S. Bovine	Take trial materials to courtroom, set up, attend, and assist with trial.	8.00	\$ 180	\$ 1,440.00
11/03/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00
Project Total:			18.00		\$ 6,940.00
Percentage Recoverable:	100%				\$ 6,940.00
Hours Billed to Project No. 428 by Co- Counsel:	34.00				

Project No. 429		Attend Trial Day 10					
Date	Time Keeper	Description	Hours	Rate		Fee	
11/04/08	B. Charhon	Attend trial	5.00	\$ 4	400	\$	2,000.00
11/04/08	S. Bovine	Take trial materials to courtroom, set up, attend, and assist at trial.	8.00	\$	180	\$	1,440.00
11/04/08	J. Naylor	Attend trial.	6.50	\$ 4	450	\$	2,925.00
11/04/08	Lew LeClair	Trial.	5.00	\$ 1	700	\$	3,500.00
Project Total:			24.50			\$	9,865.00
Percentage Recoverable:	100%					\$	9,865.00
Recoverable:							
Hours Billed to Project No. 429 by Co-	41.00						
Counsel:							

287224_10.XLS 278 of 306

Project No. 430		Attend Trial Day 11			
Date	Time Keeper	Description	Hours	Rate	Fee
11/05/08	J. Naylor	Attend trial.	6.50	\$ 450	\$ 2,925.00
11/05/08	B. Charhon	Attend trial	5.00	\$ 400	\$ 2,000.00
11/05/08	S. Bovine	Take trial materials to courtroom, set up, attend, and assist at trial and begin clearing courtroom.	8.00	\$ 180	\$ 1,440.00
11/05/08	Lew	Trial.	5.00	\$ 700	\$ 3,500.00
Project Total:			24.50		\$ 9,865.00
Percentage Recoverable:	100%				\$ 9,865.00
Hours Billed to Project No.430 by Co- Counsel:	37.00				

Project No. 431		Attend Charging conference			
Date	Time Keeper	Description	Hours	Rate	Fee
11/06/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00
11/06/08	J. Naylor	Attend, argue, and prepare for charging conference.	6.50	\$ 450	\$ 2,925.00
11/06/08	S. Bovine	Take materials to courtroom, attend, and assist with hearing.	3.00	\$ 180	\$ 540.00
Project Total:			14.50		\$ 6,965.00
Percentage Recoverable:	100%				\$ 6,965.00
Hours Billed to Project No. 431 by Co- Counsel:	24.10				

287224_10.XLS 279 of 306

Project No. 432		Attend Trial Day 12			
Date	Time Keeper	Description	Hours	Rate	Fee
11/07/08	B. Charhon	Attend trial	5.00	\$ 400	\$ 2,000.00
11/07/08	L. LeClair	Trial.	5.00	\$ 700	\$ 3,500.00
11/07/08	S. Bovine	Take materials to courtroom, set up, attend and assist at closings.	5.00	\$ 180	\$ 900.00
11/07/08	J. Naylor	Attend closing arguments.	6.20	\$ 450	\$ 2,790.00
Project Total:			21.20		\$ 9,190.00
Percentage Recoverable:	100%				\$ 9,190.00
Hours Billed to Project No. 432 by Co- Counsel:	31.90				

Project No. 433		Intentionally Omitted			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage					\$ -
Recoverable:					
Hours Billed to	10.20				
Project No. 433 by Co-					
Counsel:					

Project No. 434		Analyze Attorney Fees			
Date	Time Keeper	Description	Hours	Rate	Fee
09/09/08	J. Naylor	Legal research regarding attorneys fees and common fund disclosure.	1.20	\$ 450	\$ 540.00
11/11/08	J. Naylor	Legal research regarding attorney fees application.	0.80	\$ 450	\$ 360.00
11/11/08	J. Naylor	Review transcript of jury verdict and judge's order.	0.40	\$ 450	\$ 180.00
11/20/08	A. Garza	Review J. Naylor brief; draft section of brief.	1.90	\$ 375	\$ 712.50
Project Total:			4.30		\$ 1,792.50
Percentage Recoverable:	0%				\$ -
Hours Billed to Project No. 434 by Co- Counsel:	5.70				

287224_10.XLS 280 of 306

Project No. 435		Research Appropriate Incentive/Service					
Date	Time Keeper	Awards for Class Representative Description	Hours	Rat	e e	Fee	
11/14/08	J. Naylor	Legal research regarding class representative incent		\$	450	\$	3,060,00
11/14/08	J. Naylor	Numerous e-mails to L. LeClair regarding same.	0.70	\$	450	\$	315.00
11/21/08	J. Naylor	Conference call.	0.40	\$	450		180.00
Project Total:			7.90			\$	3,555.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 435 by Co- Counsel:	6.30						

Project No. 436		Draft Plaintiffs' statement in Response to					
		Court's Request for Information Re Disposition					
		of Award and Award of Attorneys' Fees and					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
11/11/08	J. Naylor	Prepare motion regarding attorneys fees and to	7.00	\$	450	\$	3,150.00
		enter judgment.					
11/14/08	L. LeClair	Work on filing with court.	0.80	\$	700	\$	560.00
11/14/08	J. Naylor	Review defendants submission to court.	0.60	\$	450	\$	270.00
Project Total:			8.40			\$	3,980.00
Percentage	100%					\$	3,980.00
Recoverable:							
Hours Billed to	0.00						
Project No. 436 by Co-	ļ						
Counsel:							

287224_10.XLS 281 of 306

Project No. 437		Prepare Class Counsel's Application for Fees and Costs (Filed November 26, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
11/13/08	J. Naylor	Draft brief to court regarding attorney's fees.	6.60	\$	450	\$	2,970.00
11/14/08	L. LeClair	Continue work on attorney fees and plan of distribution.	2.80	\$	700	\$	1,960.00
11/17/08	L. LeClair	Continue work on fees and bill of costs; conference with team members regarding same.	4.10	\$	700	\$	2,870.00
11/17/08	J. Naylor	Prepare attorney fee application, application for expenses and fees, and application for incentive payment.	5.00	\$	450	\$	2,250.00
11/18/08	L. LeClair	Review of draft attorney fees motion; conference with K. Sherrill regarding bill of costs; work on costs and attorney fees; conference with S. Bassinger regarding numbers.	5.10	\$	700	\$	3,570.00
11/19/08	L. LeClair	Continue work on fees and costs.	3.20	\$	700	\$	2,240.00
11/19/08	J. Naylor	Review e-mails.	0.40	\$	450	\$	180.00
11/20/08	L. LeClair	Continue work on attorney fees and bill of costs.	2.20	\$	700	\$	1,540.00
11/21/08	L. LeClair	Continue work on attorney fees and bill of costs and C. Hummel questions on eligibility.	4.80	\$	700	\$	3,360.00
11/21/08	J. Naylor	Further work on attorney's fees application.	3.20	\$	450	\$	1,440.00
11/24/08	J. Naylor	Revise fee application regarding same.	0.30	\$	450	\$	135.00
11/25/08	B. Charhon	Extended call with team regarding motion for attorney's fees	0.50	\$	400	\$	200.00
11/26/08	L. LeClair	Final editing and numerous telephone conferences with Manatt on filings, including bill of costs and attorney fees.	8.20	\$	700	\$	5,740.00
11/26/08	J. Naylor	Conference call.	0.70	\$	450	\$	315.00
11/26/08	J. Naylor	Review fee application.	0.40	\$	450	\$	180.00
Project Total:			47.50			\$	28,950.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No.437 by Co- Counsel:	128.90						

287224_10.XLS 282 of 306

Project No. 438		Prepare Declaration of L. LeClair in Support of Fee Application. (filed November 26, 2008)					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
11/20/08	J. Naylor	Review draft affidavit.	1.00	\$	450		
11/23/08	L. LeClair	Work on L. LeClair declaration for fees.	4.10	\$	700	\$	2,870.00
11/24/08	B. Charhon	Review declaration of L. LeClair in support of motion for attorney's fees; multiple telephone conferences and emails with J. Naylor regarding motion for attorney's fees;	1.00	\$	400	\$	400.00
11/24/08	L. LeClair	Extensive work on L. LeClair declaration and fee issues.	6.20	\$	700	\$	4,340.00
11/25/08	B. Charhon	Insert cites to attorney declarations in motion for fees and expenses.	1.50	\$	400	\$	600.00
11/25/08	K. Sherrill	Assist with L. LeClair with declaration	1.40	\$	180	\$	252.00
11/25/08	L. LeClair	Extensive work on L. LeClair declaration and motion regarding attorney fees and bill of costs; telephone conference with team regarding status.	5.40	\$	700	\$	3,780.00
11/26/08	B. Charhon	Review and revise cites to declarations in motion for attorney's fees; email team regarding same; multiple conference calls with team regarding attorney's fee motion; review underlying bills in order to calculate expenses for outside legal consultant.	3.20	\$	400	\$	1,280.00
11/26/08	K. Sherrill	Prepare exhibits to declarations.	3.00	\$	180	\$	540.00
11/26/08	L. LeClair	Final editing and numerous telephone conferences with Manatt on L. LeClair declaration.	2.00	\$	700	\$	1,400.00
11/26/08	L. LeClair	Final editing and numerous telephone conferences with Manatt on R. Katz declaration.	0.50	\$	700	\$	350.00
Project Total:			29.30			\$	15,812.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 438 by Co- Counsel:	0.00						

287224_10.XLS 283 of 306

Project No. 439		Prepare Declaration of R. Katz in Support of Fee Application. (Filed November 26, 2008)					
Date	Time Keeper	Description	Hours	Rate	;	Fee	
11/20/08	B. Charhon	Review motion for attorney's fees; draft declaration of R. Katz in support of same; multiple telephone conferences with A. Garza and J. Naylor regarding same.	2.50	\$	400	\$	1,000.00
11/21/08	B. Charhon	Review and revise declaration of R. Katz in support of motion for attorney's fees; telephone conference with team regarding motion for attorney's fees;	2.00	\$	400	\$	800.00
11/24/08	J. Naylor	Review R. Katz declaration.	0.80	\$	450	\$	360.00
11/24/08	B. Charhon	Continue preparation of declaration of R. Katz regarding same; extended conference call with team regarding motion for attorney's fees.	3.00	\$	400	\$	1,200.00
11/24/08	J. Naylor	Prepare memorandum regarding same.	0.20	\$	450	\$	90.00
11/24/08	J. Naylor	Conference with B. Charhon regarding same.	0.40	\$	450	\$	180.00
Project Total:			8.90			\$	3,630.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No.439 by Co- Counsel:	15.30						

Project No. 440		Draft Bill of Costs				
Date	Time Keeper	Description	Hours	Rate	Fee	
11/19/08		Emails regarding bill of costs and review material regarding same.	0.60	\$ 180	\$ 108.00	
11/20/08	K. Sherrill	Prepare bill of costs for filing, emails and meeting with L. LeClair regarding same.	2.20	\$ 180	\$ 396.00	
11/21/08	K. Sherrill	Prepare bill of costs for filing.	3.90	\$ 180	\$ 702.00	
11/23/08	K. Sherrill	Prepare bill of costs.	6.30	\$ 180	\$ 1,134.00	

287224_10.XLS 284 of 306

11/24/08	K. Sherrill	Meeting with L. LeClair regarding bill of cost; telephone conference with D. Wishon regarding back up for bill of cost; edit and prepare bill of	3.60	\$ 180	\$ 648.00
11/24/08	B. Sanders	Assist with review and preparation of exhibits to bill of costs.	1.20	\$ 85	\$ 102.00
11/25/08	K. Sherrill	Bill of costs and biography for attorney fees;	3.30	\$ 180	\$ 594.00
11/25/08	B. Sanders	Assist B. Charhon with preparation of exhibits to declaration in support of application for fees and expenses.	5.60	\$ 85	\$ 476.00
11/26/08	K. Sherrill	Finalize bill of costs	2.30	\$ 180	\$ 414.00
Project Total:			29.00		\$ 4,574.00
Percentage Recoverable:	100%				\$ 4,574.00
Hours Billed to Project No. 440 by Co- Counsel:	2.40				

Project No. 441		Perform Legal Research Re: Class			
		Representative Incentive Payment			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
Hours Billed to	4.50				
Project No.441 by Co-					
Counsel:					

287224_10.XLS 285 of 306

Project No. 442		Correspond with Retired Players Re: Status of Case			
Date	Time Keeper	Description	Hours	Rate	Fee
11/18/08	B. Charhon	Review and respond to emails from retired players regarding status of case; multiple phone calls with retired players regarding status of case;	2.00	\$ 400	\$ 800.00
11/25/08	B. Charhon	Review and respond to emails regarding player inquiries	0.50	\$ 400	\$ 200.00
02/23/09	J. Naylor	Telephone conferences with prospective class members.	0.30	\$ 450	\$ 135.00
Project Total:			2.80		\$ 1,135.00
Percentage Recoverable:	100%				\$ 1,135.00
Hours Billed to Project No. 442 by Co- Counsel:	61.70				

Project No. 443		Research Retired Player Response to Support					
		fee Application					
Date	Time Keeper	Description	Hours	Rate		Fee	
11/19/08	A. Garza	Find articles with quotes from players.	1.30	\$	375	\$	487.50
11/20/08	J. Naylor	Additional research regarding fee application.	0.90	\$	450	\$	405.00
12/19/08	J. Naylor	Review defendants response to fee application.	1.20	\$	450	\$	540.00
12/19/08	J. Naylor	Legal research regarding same.	2.80	\$	450	\$	1,260.00
12/19/08	J. Naylor	Prepare reply brief regarding same.	8.20	\$	450	\$	3,690.00
12/19/08	J. Naylor	Review team emails.	0.50	\$	450	\$	225.00
12/20/08	J. Naylor	Prepare reply brief to response to fee application.	12.10	\$	450	\$	5,445.00
12/22/08	J. Naylor	Review R. Katz's revisions to reply brief.	0.40	\$	450	\$	180.00
12/22/08	J. Naylor	Conference with L. LeClair.	0.40	\$	450	\$	180.00
12/22/08	J. Naylor	Revisions to brief.	2.50	\$	450	\$	1,125.00
12/22/08	J. Naylor	Telephone conference with R. Hilbert.	0.80	\$	450	\$	360.00
Project Total:			31.10			\$	13,897.50
Percentage Recoverable:	100%					\$	13,897.50
Hours Billed to Project No. 443 by Co-	0.00						
Counsel:							

Project No. 444	Research Rule 50		

287224_10.XLS 286 of 306

Date	Time Keeper	Description	Hours	Rate	Fee
11/14/08	L. LeClair	Work on Rule 50 issues.	0.60	\$ 700	\$ 420.00
11/19/08	L. LeClair	Continue work on Rule 50	0.70	\$ 700	\$ 490.00
11/20/08	L. LeClair	Continue work on Rule 50.	1.60	\$ 700	\$ 1,120.00
11/20/08	J. Naylor	Review e-mails regarding Rule 50.	0.30	\$ 450	\$ 135.00
11/24/08	J. Naylor	Research regarding Rule 50(b) motion.	0.30	\$ 450	\$ 135.00
11/24/08	J. Naylor	Conference call.	0.70	\$ 450	\$ 315.00
11/25/08	J. Naylor	Review and respond to email.	0.20	\$ 450	\$ 90.00
11/25/08	J. Naylor	Conference call	0.60	\$ 450	\$ 270.00
Project Total:			5.00		\$ 2,975.00
Percentage Recoverable:	100%				\$ 2,975.00
Hours Billed to Project No. 444 by Co- Counsel:	4.70				

Project No. 445		Research Legal Issues Related to Fee Application						
Date	Time Keeper	Description	Hours	Rate		Fee		
11/12/08	J. Naylor	Research regarding components of fee application.	0.70	\$	450	\$	315.00	
11/12/08	J. Naylor	Research regrding proper amount of award.	0.90	\$	450	\$	405.00	
11/12/08	J. Naylor	Research regarding punitive damage award in 9th Circuit.	2.50	\$	450	\$	1,125.00	
11/13/08	J. Naylor	Team conference call regarding various matters.	0.60	\$	450	\$	270.00	
11/14/08	J. Naylor	Review and respond to team e-mails regarding various matters.	0.70	\$	450	\$	315.00	
11/17/08	J. Naylor	Legal research regarding same.	5.20	\$	450	\$	2,340.00	
11/18/08	J. Naylor	Prepare attorney fee application, application for fees and expenses, and application for incentive payment.	7.10	\$	450	\$	3,195.00	
11/18/08	J. Naylor	Legal research regarding same.	8.10	\$	450	\$	3,645.00	
11/19/08	J. Naylor	Review A. Garza revisions to fee application.	0.40	\$	450	\$	180.00	
11/21/08	J. Naylor	Review and respond to team emails regarding various subjects.	0.50	\$	450	\$	225.00	
12/03/08	L. LeClair	Continue work on attorney fee issues.	0.60	\$	700	\$	420.00	
Project Total:			27.30			\$	12,435.00	
Percentage Recoverable:	100%					\$	12,435.00	
Hours Billed to Project No. 445 by Co- Counsel:	14.70							

287224_10.XLS 287 of 306

Project No. 446		Scrutinize Trial Consultant Charges					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
11/18/08	B. Charhon	Exchange emails with R. Katz regarding outstanding invoices.	0.50	\$	400	\$	200.00
11/21/08	B. Charhon	Telephone conference with Ed Soto regarding Trial Graphix invoices; review and analyze same; telephone conference with R. Katz regarding same.	0.50	\$	400	\$	200.00
11/25/08	B. Charhon	Review and analyze back-up for TrialGraphix expenses; extended telephone conference with D. Wishon regarding same; exchange emails with team regarding same;	0.50	\$	400	\$	200.00
12/10/08	K. Sherrill	Emails with D. Wishon regarding invoice questions by opposing counsel, review invoices and telephone conferences with accounting regarding same.	1.10	\$	180	\$	198.00
Project Total:			2.60			\$	798.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 446 by Co- Counsel:	0.00						

287224_10.XLS 288 of 306

Project No. 447		Review and Analysis of Defendants' JMOL Motion. (filed November 26, 2008)					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
12/01/08	L. LeClair	Work on Rule 50 issues; telephone conference with R. Katz; telephone conference with C. Hummel.	2.90	\$	700	\$	2,030.00
12/02/08	L. LeClair	Continue work on Rule 50.	3.30	\$	700	\$	2,310.00
12/02/08	J. Naylor	Review emails.	0.40	\$	450	\$	180.00
12/02/08	J. Naylor	Begin preparation of response to renewed JMOL.	3.50	\$	450	\$	1,575.00
12/02/08	J. Naylor	Review trial transcript and case law.	1.30	\$	450	\$	585.00
12/03/08	J. Naylor	Review trial transcript and case law.	1.80	\$	450	\$	810.00
12/04/08	J. Naylor	Review trial transcript and case law.	1.90	\$	450	\$	855.00
12/05/08	J. Naylor	Review trial transcript and case law.	2.00	\$	450	\$	900.00
12/05/08	J. Naylor	Conference with L. LeClair regarding "contorts."	0.30	\$	450	\$	135.00
12/05/08	J. Naylor	Legal research regarding same.	0.50	\$	450	\$	225.00
12/10/08	J. Naylor	Review emails regarding same.	0.50	\$	450	\$	225.00
12/12/08	J. Naylor	Conference call with team regarding JMOL response brief.	0.30	\$	450	\$	135.00
12/12/08	J. Naylor	Additional research and revisions to same.	1.00	\$	450	\$	450.00
12/15/08	J. Naylor	Review team emails.	0.40	\$	450	\$	180.00
12/17/08	J. Naylor	Review team emails.	0.50	\$	450	\$	225.00
Project Total:			20.60			\$	10,820.00
Percentage Recoverable:	100%					\$	10,820.00
Hours Billed to Project No. 447 by Co- Counsel:	10.80						

Project No. 448		Research Damages Issues Related to JMOL			
Date	Time Keeper	Description	Hours	Rate	Fee
11/21/08	B. Charhon	Email team regarding theories for supporting damages award.	0.50	\$ 400	\$ 200.00
12/12/08	J. Naylor	Review emails.	0.50	\$ 450	\$ 225.00
12/15/08	J. Naylor	Participate in conference call.	0.40	\$ 450	\$ 180.00
12/15/08	J. Naylor	Legal research regarding damages.	1.10	\$ 450	\$ 495.00
Project Total:			2.50		\$ 1,100.00
Percentage	100%				\$ 1,100.00
Recoverable:			1		
Hours Billed to Project No. 448 by Co- Counsel:	41.20				

287224_10.XLS 289 of 306

Project No. 449		December 2008 Case Management					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
12/22/08	L. LeClair	Numerous conference calls with Manatt regarding HBO special and related matters; argument on Rule 50.	2.20	\$	700	\$	1,540.00
12/31/08	L. LeClair	Review of Rule 50 reply, pending issues, conference call with Manatt regarding argument.	3.10	\$	700	\$	2,170.00
01/27/09	L. LeClair	Final filing of brief; review of defense brief and edit to conform to defense statement.	1.50	\$	700	\$	1,050.00
03/13/09	L. LeClair	Further work on TrialGraphix issues and executive director issues regarding Maui election.	1.60	\$	700	\$	1,120.00
03/14/09	L. LeClair	Review of breaking news from Maui regarding election of D. Smith as executive director; telephone conference with R. Katz; review of news articles and plan for settlement strategy.	1.20	\$	700	\$	840.00
03/16/09	L. LeClair	Continue discussion of new election of D. Smith and settlement status.	1.40	\$	700	\$	980.00
03/20/09	L. LeClair	Schedule call with D. Smith and telephone conference with Manatt.	0.90	\$	700	\$	630.00
06/12/09	L. LeClair	Deal with issues regarding Judge Alsup order, approval, and Ninth Circuit; numerous telephone conferences with R. Katz and Manatt; telephone conferences with Latham.	2.10	\$	700	\$	1,470.00
06/19/09	L. LeClair	Work on S. Mutch issues.	0.20	\$	700	\$	140.00
06/30/09	L. LeClair	Work on S. Mutch issues.	0.20	\$	700	\$	140.00
Project Total:			14.40			\$	10,080.00
Percentage Recoverable:	100%					\$	10,080.00
Hours Billed to Project No. 449 by Co- Counsel:	15.50						

287224_10.XLS 290 of 306

Project No. 450		Prepare Response to JMOL Motion (Filed December 18, 2008)					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
12/03/08	L. LeClair	Continue work on Rule 50.	1.50	\$	700	\$	1,050.00
12/03/08	J. Naylor	Prepare response to renewed JMOL.	5.40	\$	450	\$	2,430.00
12/04/08	L. LeClair	Continue work on Rule 50 response.	2.90	\$	700	\$	2,030.00
12/04/08	J. Naylor	Prepare response to renewed JMOL.	4.90	\$	450	\$	2,205.00
12/05/08	L. LeClair	Continue work on Rule 50.	3.30	\$	700	\$	2,310.00
12/05/08	J. Naylor	Prepare response to renewed JMOL.	5.40	\$	450	\$	2,430.00
12/08/08	L. LeClair	Rule 50 drafting and editing.	5.30	\$	700	\$	3,710.00
12/09/08	L. LeClair	Continue review of drafts and work on Rule 50.	2.20	\$	700	\$	1,540.00
12/10/08	L. LeClair	Conference call and continue work on Rule 50.	4.90	\$	700	\$	3,430.00
12/10/08	J. Naylor	Review draft of response to renewed motion for JMOL.	0.30	\$	450	\$	135.00
12/11/08	L. LeClair	Continue editing of Rule 50 brief and conference calls regarding Rule 50.	3.40	\$	700	\$	2,380.00
12/12/08	L. LeClair	Continue work on Rule 50 response.	3.80	\$	700	\$	2,660.00
12/15/08	J. Naylor	Review response to renewed JMOL.	0.50	\$	450	\$	225.00
12/16/08	L. LeClair	Continue work on Rule 50 motion.	1.60	\$	700	\$	1,120.00
12/17/08	L. LeClair	Finalize Rule 50 opposition.	4.90	\$	700	\$	3,430.00
12/17/08	J. Naylor	Prepare legal footnote for response to JMOL.	0.40	\$	450	\$	180.00
12/18/08	L. LeClair	Finalize Rule 50 briefing and argument.	3.10	\$	700	\$	2,170.00
12/23/08	L. LeClair	Work on reply on fees and costs.	3.80	\$	700	\$	2,660.00
12/24/08	L. LeClair	Finalize reply and file.	2.10	\$	700	\$	1,470.00
Project Total:			59.70			\$	37,565.00
Percentage	100%					\$	37,565.00
Recoverable:							
Hours Billed to Project No. 450 by Co- Counsel:	125.60						

287224_10.XLS 291 of 306

Project No. 451		Prepare to Argue JMOL					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
01/02/09	L. LeClair	Prepare for Rule 50 hearing and telephone conferences with Manatt; prepare outline for hearing.	4.30	\$	700	\$	3,010.00
01/04/09	L. LeClair	Prepare for Rule 50 hearing and review of briefs.	4.90	\$	700	\$	3,430.00
01/05/09	L. LeClair	Prepare for Rule 50 hearing, telephone conferences and emails.	4.50	\$	700	\$	3,150.00
01/06/09	L. LeClair	Draft outline for P. Parcher; prepare for meeting on Wednesday.	3.00	\$	700	\$	2,100.00
01/07/09	L. LeClair	All day meeting with P. Parcher, C. Hummel, and R. Katz regarding preparation for hearing on Thursday; revamp outlines and documents to be used.	9.10	\$	700	\$	6,370.00
01/08/09	L. LeClair	Continue preparation for hearing; edit charts for court and conference with Manatt lawyers.	6.90	\$	700	\$	4,830.00
01/09/09	L. LeClair	Extensive work on supplemental brief filed today.	2.00	\$	700	\$	1,400.00
Project Total:			34.70			\$	24,290.00
Percentage Recoverable:	100%					\$	24,290.00
Hours Billed to Project No. 451 by Co- Counsel:	82.00						

Project No. 452		Attend Hearing on JMOL			
Date	Time Keeper	Description	Hours	Rate	Fee
01/08/09	L. LeClair	Attend court hearing and then extensive preparation for brief to be filed on Friday.	4.40	\$ 700	\$ 3,080.00
Project Total:			4.40		\$ 3,080.00
Percentage Recoverable:	100%				\$ 3,080.00
Hours Billed to Project No. 452 by Co- Counsel:	13.40				

287224_10.XLS 292 of 306

Project No. 453		Review JMOL Order			
Date	Time Keeper	Description	Hours	Rate	Fee
01/13/09	L. LeClair	Review of order from Judge denying post trial motions; numerous telephone conferences with Manatt to discuss order.	2.20	\$ 700	\$ 1,540.00
01/13/09	J. Naylor	Review order denying all motions.	0.20	\$ 450	\$ 90.00
Project Total:			2.40		\$ 1,630.00
Percentage Recoverable:	100%				\$ 1,630.00
Hours Billed to Project No. 453 by Co- Counsel:	5.30				

Project No. 454		Analyze Judgment and Finality Issues					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
01/14/09	L. LeClair	Review issues regarding interest on judgment and potential finality brief; conference with J. Naylor and begin work on brief.	2.40	\$	700	\$	1,680.00
01/15/09	L. LeClair	Work on interest on judgment and finality issues.	1.10	\$	700	\$	770.00
01/16/09	L. LeClair	Continue work on finality and interest issues.	2.30	\$	700	\$	1,610.00
01/20/09	J. Naylor	Additional research on finality of judgment.	0.40	\$	450	\$	180.00
01/23/09	J. Naylor	Further research regarding finality of judgment and attorneys fees.	0.60	\$	450	\$	270.00
01/23/09	J. Naylor	Conference with other counsel regarding same.	0.40	\$	450	\$	180.00
01/30/09	J. Naylor	Legal research regarding whether post judgment interest must be included in judgment or whether judgment must be reformed.	2.50	\$	450	\$	1,125.00
Project Total:			9.70			\$	5,815.00
Percentage Recoverable:	100%					\$	5,815.00
Hours Billed to Project No. 454 by Co- Counsel:	8.80						

287224_10.XLS 293 of 306

Project No. 455		Prepare Letter to Judge Alsup Re: Finality					
Date	Time Keeper	Description	Hours	Rate	e	Fee	
01/16/09	J. Naylor	Legal research regarding finality of judgment, necessity of distribution plan, etc.	8.80	\$	450	\$	3,960.00
01/19/09	J. Naylor	Prepare legal memorandum regarding finality of order.	2.10	\$	450	\$	945.00
01/19/09	L. LeClair	Continue work on brief on finality.	2.10	\$	700	\$	1,470.00
01/20/09	J. Naylor	Revise brief regarding same.	0.70	\$	450	\$	315.00
01/20/09	L. LeClair	Continue work on finality brief.	0.80	\$	700	\$	560.00
01/21/09	L. LeClair	Edit brief and work on interest issues.	1.30	\$	700	\$	910.00
01/23/09	J. Naylor	Revise brief regarding same.	1.30	\$	450	\$	585.00
01/26/09	L. LeClair	Finalize brief to Judge Alsup on finality and attorney fees.	1.40	\$	700	\$	980.00
Project Total:			18.50			\$	9,725.00
Percentage Recoverable:	100%					\$	9,725.00
Hours Billed to Project No. 455 by Co- Counsel:	9.10						

Project No. 456		Research Liability of Judgment			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	2.80				
Project No. 456 by Co-					
Counsel:					

Project No. 457		Research Necessity of Distribution Plan			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.60				
Project No. 457 by Co-					
Counsel:					

287224_10.XLS 294 of 306

Project No. 458		Prepare Memorandum Regarding Notice of Judgment				
Date	Time Keeper	Description	Hours	Rate	Fee	
01/19/09	J. Naylor	Legal research regarding notice / hearing of post- judgment matters.	2.10	\$ 450	\$	945.00
01/19/09	J. Naylor	Prepare legal memorandum regarding same.	2.00	\$ 450	\$	900.00
Project Total:	1		4.10		\$	1,845.00
Percentage Recoverable:	100%				\$	1,845.00
Hours Billed to Project No. 458 by Co- Counsel:	0.70					

Project No. 459		Prepare Brief on Fiduciary Duty and the Jury			
		Charge			
Date	Time Keeper	Description	Hours	Rate	Fee
01/26/09	J. Naylor	Review jury charge and legal research for appeal regarding "mere license vs. marketing agent."	4.30	\$ 450	\$ 1,935.00
01/27/09	J. Naylor	Prepare brief regarding fiduciary duty and jury charge for appeal.	3.40	\$ 450	\$ 1,530.00
01/29/09	J. Naylor	Legal research regarding licensing vs. marketing and fiduciary duty.	3.10	\$ 450	\$ 1,395.00
02/02/09	J. Naylor	Legal research regarding fiduciary duty for appeal.	2.40	\$ 450	\$ 1,080.00
02/04/09	J. Naylor	Legal research regarding "mere license vs. marketing contract" for appeal.	1.40	\$ 450	\$ 630.00
Project Total:			14.60		\$ 6,570.00
Percentage Recoverable:	100%				\$ 6,570.00
Hours Billed to Project No. 459 by Co- Counsel:	0.00				

287224_10.XLS 295 of 306

Project No. 460		Research Fiduciary Duty					
Date	Time Keeper	Description	Hours	Rate		Fee	
02/02/09	J. Naylor	Legal research regarding fiduciary duty for appeal.	2.40	\$ 4	150	\$	1,080.00
02/04/09	J. Naylor	Legal research regarding "mere license vs. marketing contract" for appeal.	1.40	\$ 4	150	\$	630.00
02/05/09	J. Naylor	Review restatement of agency for appeal.	1.50	\$ 4	150	\$	675.00
02/06/09	J. Naylor	Review restatement of agency for appeal.	1.00	\$ 4	150	\$	450.00
Project Total:			6.30			\$	2,835.00
Percentage	100%					\$	2,835.00
Recoverable:							
Hours Billed to Project No. 460 by Co-	0.00						
Counsel:							

Project No. 461		Analyze Appellate Issues Related to Judgment			
Date	Time Keeper	Description	Hours	Rate	Fee
02/05/09	L. LeClair	Work on appellate issues.	2.00	\$ 700	\$ 1,400.00
02/05/09	J. Naylor	Review restatement of agency for appeal.	1.60	\$ 450	\$ 720.00
02/06/09	J. Naylor	Review restatement of agency for appeal.	1.00	\$ 450	\$ 450.00
02/08/09	L. LeClair	Review of notice of appeal and review of issues raised.	1.10	\$ 700	\$ 770.00
02/11/09	J. Naylor	Review other legal briefing regarding choice of law issue for appeal.	2.90	\$ 450	\$ 1,305.00
06/29/09	J. Naylor	Review emails from appellate counsel.	0.80	\$ 450	\$ 360.00
06/29/09	J. Naylor	Legal research regarding whether a class action settlement is a collateral issue to appeal.	3.60	\$ 450	\$ 1,620.00
06/29/09	J. Naylor	Emails with L. LeClair regarding same.	0.30	\$ 450	\$ 135.00
06/29/09	J. Naylor	Review appellate court order dismissing appeal.	0.20	\$ 450	\$ 90.00
Project Total:			13.50		\$ 6,850.00
Percentage	100%				\$ 6,850.00
Recoverable:					
Hours Billed to	5.50				
Project No. 461 by Co-Counsel:					

287224_10.XLS 296 of 306

Project No. 462		Reconcile Expenses					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
12/05/08	L. LeClair	Continue work on attorney fee issues.	0.30	\$	700	\$	210.00
02/06/09	L. LeClair	Continue review of trial expenses; correction of errors regarding expert costs; work with Manatt to correct and reconcile expenses.	1.50	\$	700	\$	1,050.00
03/04/09	L. LeClair	Meeting with S. Bassinger regarding TrialGraphix invoices and issues; telephone conference with R. Katz; work on amended costs and fees.	2.10	\$	700	\$	1,470.00
03/05/09	L. LeClair	Continue work on TrialGraphix.	0.80	\$	700	\$	560.00
03/09/09	L. LeClair	Further work on TrialGraphix issues and bills.	0.20	\$	700	\$	140.00
03/19/09	L. LeClair	Work on TrialGraphix and agreement with Manatt; send proposed agreement to Manatt to split invoices and then notify vendor; telephone conference with R. Katz regarding upcoming discussions with defendants on settlement.	2.50	\$	700	\$	1,750.00
06/04/09	K. Sherrill	Emails with S. Bassinger regarding costs.	0.40	\$	180	\$	72.00
Project Total:			7.80			\$	5,252.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 462 by Co- Counsel:	0.00						

Project No. 463		Research Choice of Law in Class Actions					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
02/09/09	J. Naylor	Legal research regarding Shutts and choice of law in class actions for appeal.	4.10	\$	450	\$	1,845.00
02/10/09	J. Naylor	Legal research regarding Shutts and choice of law issues for appeal.	3.10	\$	450	\$	1,395.00
02/11/09	J. Naylor	Review other legal briefing regarding choice of law issue for appeal.	2.90	\$	450	\$	1,305.00
02/16/09	J. Naylor	Review law review article on Shutts for appeal.	1.80	\$	450	\$	810.00
03/04/09	J. Naylor	Legal research regarding Shutts for appellate brief.	1.20	\$	450	\$	540.00
03/05/09	J. Naylor	Legal research regarding Shutts for appellate brief.	1.40	\$	450	\$	630.00
Project Total:			14.50			\$	6,525.00
Percentage Recoverable:	100%					\$	6,525.00
Hours Billed to Project No. 463 by Co- Counsel:	0.00						

287224_10.XLS 297 of 306

Project No. 464		Prepare Appellate Brief					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
01/29/09	J. Naylor	Prepare brief insert for appeal.	2.00	\$	450	\$	900.00
02/03/09	J. Naylor	Prepare appellate brief regarding fiduciary duty.	4.90	\$	450	\$	2,205.00
02/03/09	J. Naylor	Review notice of appeal.	0.40	\$	450	\$	180.00
02/04/09	J. Naylor	Prepare appellate brief regarding same.	2.40	\$	450	\$	1,080.00
02/05/09	J. Naylor	Further work on appellate brief.	3.00	\$	450	\$	1,350.00
02/06/09	J. Naylor	Further work on appellate brief.	5.20	\$	450	\$	2,340.00
02/12/09	J. Naylor	Prepare appellate brief regarding choice of law issue.	7.90	\$	450	\$	3,555.00
02/16/09	J. Naylor	Prepare appellate brief regarding same and choice of law issue.	6.90	\$	450	\$	3,105.00
02/18/09	J. Naylor	Work on choice of law brief for appeal.	3.10	\$	450	\$	1,395.00
02/23/09	J. Naylor	Work on appellate brief.	2.80	\$	450	\$	1,260.00
03/09/09	J. Naylor	Work on appellate brief.	1.80	\$	450	\$	810.00
Project Total:			40.40			\$	18,180.00
Percentage	100%					\$	18,180.00
Recoverable:							
Hours Billed to Project No. 464 by Co- Counsel:	0.00						

Project No. 465		Discuss Issues with D. Smith			
Date	Time Keeper	Description	Hours	Rate	Fee
04/15/09	L. LeClair	Conference call on settlement issues.	0.90	\$ 700	\$ 630.00
Project Total:			0.90		\$ 630.00
Percentage	100%				\$ 630.00
Recoverable:					
Hours Billed to	8.70				
Project No. 465 by Co-					
Counsel:					

287224_10.XLS 298 of 306

Project No. 466		Analyze Possible Settlement Terms					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
03/02/09	L. LeClair	Work on settlement; prepare for calls with counsel; telephone conference with R. Katz.	2.20	\$	700	\$	1,540.00
03/03/09	L. LeClair	Continue work on settlement issues and appeal.	1.30	\$	700	\$	910.00
03/24/09	L. LeClair	Telephone conference with R. Katz and Craig regarding upcoming call with D. Smith; work on settlement.	2.30	\$	700	\$	1,610.00
03/25/09	K. Sherrill	Email with L. LeClair regarding settlement.	0.10	\$	180	\$	18.00
03/27/09	L. LeClair	Follow up call with D. Smith; work on settlement.	1.20	\$	700	\$	840.00
04/02/09	L. LeClair	Conference call with Manatt regarding several issues, delay of briefing, settlement terms, etc.	1.50	\$	700	\$	1,050.00
04/17/09	L. LeClair	Telephone conference with C. Hummel and address issue regarding conversations with DeSmith.	0.80	\$	700	\$	560.00
05/01/09	L. LeClair	Review of emails and settlement communications; conference call with DeCat and R. Katz regarding settlement.	1.70	\$	700	\$	1,190.00
Project Total:			11.10			\$	7,718.00
Percentage Recoverable:	100%					\$	7,718.00
Hours Billed to Project No. 466 by Co- Counsel:	58.10						

287224_10.XLS 299 of 306

Project No. 467		Negotiate Settlement					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
03/05/09	L. LeClair	Continue work on settlement issues.	0.14	\$	700	\$	98.00
03/09/09	L. LeClair	Work on settlement.	1.50	\$	700	\$	1,050.00
03/25/09	L. LeClair	Telephone conference with D. Smith on	3.20	\$	700	\$	2,240.00
		settlement; calls and emails with Manatt regarding settlement conference.					
04/01/09	L. LeClair	Continue calls and issues regarding settlement.	1.20	\$	700	\$	840.00
04/09/09	L. LeClair	Further work on appeal and settlement.	1.40	\$	700	\$	980.00
04/30/09	L. LeClair	Telephone conference with R. Katz and C. DeCat regarding settlement.	0.70	\$	700	\$	490.00
05/09/09	L. LeClair	Continue settlement discussions and counter to proposal; work on pending fee issues.	2.80	\$	700	\$	1,960.00
05/11/09	L. LeClair	Continue settlement discussion and review.	1.30	\$	700	\$	910.00
05/26/09	L. LeClair	Pick up serious discussions on settlement and numerous calls and emails regarding same.	2.20	\$	700	\$	1,540.00
05/27/09	L. LeClair	Continue settlement discussions, emails, etc.	2.90	\$	700	\$	2,030.00
06/08/09	L. LeClair	Continue work on settlement, tax issues, notice, etc.	3.60	\$	700	\$	2,520.00
06/09/09	L. LeClair	Continue work on settlement.	1.20	\$	700	\$	840.00
06/19/09	L. LeClair	Conference call with Latham regarding status, escrow agreement, filings, and plan of distribution.	1.20	\$	700	\$	840.00
06/23/09	L. LeClair	Conference call with Latham regarding escrow agreement issues and status; work on revised affidavit and documents.	2.10	\$	700	\$	1,470.00
Project Total:			25.44			\$	17,808.00
Percentage Recoverable:	100%					\$	17,808.00
Hours Billed to Project No. 467 by Co- Counsel:	15.20						

287224_10.XLS 300 of 306

Project No. 468		Review and Edit Drafts of Settlement Agreement					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
05/29/09	L. LeClair	Continue work on settlement; review of first draft of agreement; telephone conferences with Manatt; emails to J. Naylor regarding same.	3.10	\$	700	\$	2,170.00
05/30/09	L. LeClair	Extensive work on settlement; revise and edit draft of settlement agreement; calls with DeCat and R. Katz; negotiate issues; calls with Latham regarding documents and filings.	6.70	\$	700	\$	4,690.00
05/30/09	J. Naylor	Review settlement document.	2.80	\$	450	\$	1,260.00
05/30/09	J. Naylor	Propose revisions.	1.20	\$	450	\$	540.00
05/30/09	J. Naylor	Legal research regarding scope of release in class action.	0.80	\$	450	\$	360.00
05/30/09	J. Naylor	Emails with L. LeClair regarding same.	0.80	\$	450	\$	360.00
05/31/09	L. LeClair	Continue negotiation and drafting of agreement; conference call with Latham and N. Cohen regarding agreement; review of prior forms of notice, approval, etc. and emails to J. Naylor regarding same; edit settlement agreement.	5.20	\$	700	\$	3,640.00
06/01/09	L. LeClair	Extensive work on settlement documents and settlement negotiations; conference calls with Latham and Manatt and J. Naylor; revise settlement documents; send drafts; work on class notice and application.	8.30	\$	700	\$	5,810.00
06/01/09	J. Naylor	Review draft settlement agreement.	2.20	\$	450	\$	990.00
06/01/09	J. Naylor	Emails with team members regarding various issues.	1.40	\$	450	\$	630.00
06/01/09	J. Naylor	Prepare revisions to settlement agreement.	1.30	\$	450	\$	585.00
06/02/09	L. LeClair	Continue work on settlement and documents; telephone conferences with Latham and Manatt; prepare for announcement; edit documents.	6.90	\$	700	\$	4,830.00
06/03/09	A. Garza	Review settlement agreement and associated documents.	2.50	\$	400	\$	1,000.00
06/03/09	L. LeClair	Continue finalization of settlement and drafting of settlement documents; negotiate signature timing and press conference; work on fees and costs.	7.10	\$	700	\$	4,970.00
06/03/09	J. Naylor	Continue drafting and revisions to settlement documents.	8.70	\$	450		
06/04/09	J. Naylor	Continue revisions and finalization of settlement documents.	5.20	\$	450		
06/04/09	L. LeClair	Finalization of settlement documents; plan for announcement.	2.80	\$	700	\$	1,960.00
06/05/09	L. LeClair	Meeting with R. Katz; attend signing meeting at NFLPA offices; attend press conference at DC Press Club.	6.20	\$	700	\$	4,340.00
06/15/09	L. LeClair	Work on settlement documents.	1.20	\$	700	\$	840.00

287224_10.XLS 301 of 306

06/16/09	L. LeClair	Continue work on documents regarding settlement, taxes, attorney fees, costs, and escrow	2.60	\$ 700	\$	1,820.00
06/25/09	L. LeClair	agreement. Work on settlement documents and attorney fees.	1.40	\$ 700	\$	980.00
07/30/09	J. Naylor	Emails with L. LeClair regarding settlement approval.	0.40	\$ 450	<u> </u>	180.00
07/31/09	L. LeClair	Work on revised Settlement Agreement and changes requested by Court for approval of settlement.	3.20	\$ 700	\$	2,240.00
08/03/09	L. LeClair	Finalize revised notice and revised settlement for Judge Alsup.	2.10	\$ 700	\$	1,470.00
08/06/09	L. LeClair	Continue work on revised settlement and pending issues with B. Parrish.	1.80	\$ 700	\$	1,260.00
Project Total:			85.90		\$	46,925.00
Percentage Recoverable:	100%				\$	46,925.00
Hours Billed to Project No. 468 by Co- Counsel:	17.50					

Project No. 469		Draft District Court Motions Related to Settlement Agreement					
Date	Time Keeper	Description	Hours	Rat	te	Fee	
06/01/09	K. Sherrill	Assist J. Naylor with settlement motions.	0.90	\$	180	\$	162.00
06/01/09	J. Naylor	Prepare exhibits to settlement agreement.	7.30	\$	450	\$	3,285.00
06/01/09	J. Naylor	Telephone conferences with L. Leclair regarding same.	0.60	\$	450	\$	270.00
06/02/09	K. Sherrill	Assist J. Naylor with settlement documents.	0.50	\$	180	\$	90.00
06/02/09	J. Naylor	Prepare class notice of settlement and additional exhibits to settlement agreement.	13.50	\$	450	\$	6,075.00
06/02/09	J. Naylor	Prepare application for approval.	3.20	\$	450	\$	1,440.00
06/03/09	K. Sherrill	Assist J. Naylor with post trial submissions.	0.90	\$	180	\$	162.00
06/08/09	J. Naylor	Research form of motion for final approval.	0.80	\$	450	\$	360.00
06/08/09	J. Naylor	Begin draft of same.	1.60	\$	450	\$	720.00
06/11/09	J. Naylor	Review Judge's order regarding settlement.	0.20	\$	450	\$	90.00
06/15/09	J. Naylor	Research/Review different forms of final judgments.	1.20	\$	450	\$	540.00
06/15/09	J. Naylor	Emails to and from L. LeClair regarding same.	0.40	\$	450	\$	180.00
06/15/09	J. Naylor	Review judge's order and response.	0.20	\$	450	\$	90.00
06/15/09	J. Naylor	Review other emails from team members and co- counsel regarding various issues.	0.50	\$	450	\$	225.00
07/01/09	J. Naylor	Revise notice of settlement and application for preliminary approval of settlement.	0.40	\$	450	\$	180.00
07/01/09	J. Naylor	Exchange emails and conference with L. LeClair regarding same.	0.30	\$	450	\$	135.00

287224_10.XLS 302 of 306

07/02/09	L. LeClair	Continue work on motion for preliminary approval	5.10	\$	700	\$	3,570.00
07/02/09	L. LeCian	filings; distribute draft documents nd edit Plan of	5.10	Ф	700	Φ	3,370.00
		Distribution; telephone conferences with Manatt					
		and numerous emails regarding status.					
07/03/09	L. LeClair	Edit Plan of Distribution and remaining issues;	3.20	\$	700	\$	2,240.00
07/03/09	L. Lecian	emails to Manatt; revise all documents regarding	3.20	φ	700	Ψ	2,240.00
		preliminary approval.					
07/06/09	J. Naylor	Conference call with team members regarding	0.70	\$	450	\$	315.00
07/00/09	J. Nayloi	filings.	0.70	Ф	430	Φ	313.00
07/06/09	J. Naylor	Meet with L. LeClair regarding same.	0.60	\$	450	\$	270.00
07/08/09	L. LeClair	Extensive work on filing and comments from	3.20	\$	700	\$	2,240.00
07/08/09	L. LeCian	~	3.20	ф	700	Ф	2,240.00
07/00/00	T. Nissala ii	Latham regarding preliminary approval.	0.50	¢.	150	¢.	225.00
07/08/09	J. Naylor	Review Latham's changes to settlement pleadings.	0.50	\$	450	\$	225.00
07/08/09	J. Naylor	Revise documents.	0.30	\$	450	\$	135.00
07/10/09	L. LeClair	Finalize motions for filing on Monday; calls and	5.50	\$	700	\$	3,850.00
	<u> </u>	emails with Manatt; review of expenses and fees.					
07/11/09	J. Naylor	Review and revise court filings related to	1.60	\$	450	\$	720.00
	<u> </u>	settlement.					
07/12/09	L. LeClair	Major work on filing and motion for preliminary	5.40	\$	700	\$	3,780.00
	<u> </u>	approval.					
07/13/09	L. LeClair	Edit, finalize and file motions for preliminary	6.10	\$	700	\$	4,270.00
		approval; numerous emails and calls regarding					
		same.					
07/13/09	J. Naylor	Finalize pleadings related to settlement.	1.90	\$	450	\$	855.00
07/13/09	J. Naylor	Telephone conferences with L. LeClair regarding	0.20	\$	450	\$	90.00
		same.					
07/20/09	L. LeClair	Prepare for hearing and calls with Manatt and	1.20	\$	700	\$	840.00
		Latham.					
07/22/09	L. LeClair	Reviw order from Court; begin planning for	2.10	\$	700	\$	1,470.00
		hearing and issues that could arise.					
07/24/09	L. LeClair	Review Court orders and prepare for hearing.	1.10	\$	700	\$	770.00
07/27/09	J. Naylor	Work on draft final motion for approval.	6.50	\$	450	\$	2,925.00
07/28/09	J. Naylor	Work on draft final motion for approval.	5.80	\$	450	\$	2,610.00
07/29/09	L. LeClair	Prepare for hearing on preliminary approval;	2.90	\$	700	\$	2,030.00
		meeting with Latham and telephone conference					
		with C. Hummel.					
07/29/09	J. Naylor	Legal research and work on draft final motion for	8.70	\$	450	\$	3,915.00
		approval.					
07/30/09	L. LeClair	Prepare for and attend hearing in San Francisco.	6.40	\$	700	\$	4,480.00
07/30/09	J. Naylor	Work on draft final motion for approval.	6.80	\$	450	\$	3,060.00
07/31/09	J. Naylor	Work on draft final motion for approval.	6.80	\$	450	\$	3,060.00
08/10/09	L. LeClair	Edit and revise notice and claim issues.	0.90	\$	700	\$	630.00
08/18/09	L. LeClair	Work on final notice and distribution.	2.10	\$	700	\$	1,470.00
08/21/09	L. LeClair	Continue work on notice and final documents.	1.80	\$	700	\$	1,260.00
00, 21, 07	Z. Zeelun	commune work on notice and final documents.	1.00	Ψ	, 00	Ψ	1,200.00
Project Total:	+		119.90			\$	65,084.00
Percentage	100%		117.70			\$	65,084.00
Recoverable:	100/0					Ψ	05,004.00
Recoverable.	+						
Hours Billed to	37.50					-	
Project No. 469 by Co							
Counsel:							
Counsel.				<u> </u>			

287224_10.XLS 303 of 306

Project No. 470		Draft Appellate Motions Related to Settlement Agreement					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
06/25/09	L. LeClair	Work on appeal dismissal.	1.50	\$	700	\$	1,050.00
06/27/09	L. LeClair	Further work on appeal dismissal and telephone conferences with R. Katz.	0.50	\$	700	\$	350.00
Project Total:			2.00			\$	1,400.00
Percentage Recoverable:	100%					\$	1,400.00
Hours Billed to Project No. 470 by Co- Counsel:	2.20						

Project No. 471		Analyze Plan of distribution			
Date	Time Keeper	Description	Hours	Rate	Fee
06/06/09	L. LeClair	Work on plan of distribution.	2.20	\$ 700	\$ 1,540.00
06/08/09	J. Naylor	Research standard for distribution plan.	0.80	\$ 450	\$ 360.00
07/01/09	J. Naylor	Review experts distribution calculations.	0.50	\$ 450	\$ 225.00
07/01/09	J. Naylor	Legal research regarding distribution plan.	1.80	\$ 450	\$ 810.00
07/01/09	J. Naylor	Conference with expert regarding plan.	0.60	\$ 450	\$ 270.00
07/01/09	J. Naylor	Draft distribution plan.	4.20	\$ 450	\$ 1,890.00
07/02/09	J. Naylor	Further work on Distribution Plan and preliminary application for approval.	3.20	\$ 450	\$ 1,440.00
					\$ -
Project Total:			13.30		\$ 6,535.00
Percentage Recoverable:	100%				\$ 6,535.00
Hours Billed to Project No. 471 by Co- Counsel:	0.00				

287224_10.XLS 304 of 306

Project No. 472		Prepare Fee Application					
Date	Time Keeper	Description	Hours	Ra	te	Fee	
03/30/09	L. LeClair	Work on amended fee and cost application and settlement issues.	1.80	\$	700	\$	1,260.00
03/31/09	L. LeClair	Work on amended fee application.	1.20	\$	700	\$	840.00
04/03/09	L. LeClair	Work on updated expenses to be filed in California court.	3.10	\$	700	\$	2,170.00
06/15/09	L. LeClair	Work on fee application.	0.90	\$	700	\$	630.00
06/18/09	L. LeClair	Work on application for fees and costs, escrow agreement, and pending documents.	1.30	\$	700	\$	910.00
06/22/09	L. LeClair	Continue work on documents and attorney fees.	2.10	\$	700	\$	1,470.00
06/24/09	L. LeClair	Continue work on documents and attorney fees	2.20	\$	700	\$	1,540.00
07/01/09	L. LeClair	Work on revised application for attorney fees and preliminary approval.	4.20	\$	700	\$	2,940.00
07/09/09	J. Naylor	Revise fee application.	3.50	\$	450	\$	1,575.00
07/09/09	J. Naylor	Conference with L. LeClair regarding same.	0.30	\$	450	\$	135.00
07/09/09	J. Naylor	Review R. Katz declaration.	1.00	\$	450	\$	450.00
07/09/09	J. Naylor	Review LeClair declaration.	1.20	\$	450	\$	540.00
07/09/09	J. Naylor	Make revisions to declarations.	0.80	\$	450	\$	360.00
07/09/09	J. Naylor	Conference with R. Katz and L. LeClair regarding same.	0.40	\$	450	\$	180.00
Project Total:			24.00			\$	15,000.00
Percentage Recoverable:	0%					\$	-
Hours Billed to Project No. 472 by Co- Counsel:	116.20						

Project No. 473		Analyze Escrow Agreement				
Date	Time Keeper	Description	Hours	Rate	Fee	
07/16/09	L. LeClair	Work on Escrow Account and prepare for motion hearing.	1.20	\$ 700	\$	840.00
07/17/09	L. LeClair	Continue work on Escrow Agreement and hearing.	2.10	\$ 700	\$	1,470.00
07/18/09	L. LeClair	Continue work on Escrow Agreement, Certificates of Incumbency and planning for hearing.	0.80	\$ 700	\$	560.00
Project Total:			4.10		\$	2,870.00
Percentage Recoverable:	100%				\$	2,870.00
Hours Billed to Project No. 473 by Co- Counsel:	0.00					

287224_10.XLS 305 of 306

Project No. 474		Prepare Conformed Class List					
Date	Time Keeper	Description	Hours	Rat	e	Fee	
02/23/09	K. Sherrill	Assist J. Naylor with class list and emails	0.50	\$	180	\$	90.00
06/25/09	K. Sherrill	Review class lists and emails regarding same for L. LeClair.	0.30	\$	180	\$	54.00
06/25/09	B. Sanders	Assist K. Sherrill with research regarding class list.	0.70	\$	85	\$	59.50
06/26/09	B. Charhon	Coordinate preparation of conformed class list.	1.00	\$	425	\$	425.00
06/26/09	K. Sherrill	Review class lists and emails regarding same.	0.80	\$	180	\$	144.00
06/29/09	B. Charhon	Coordinate preparation of conformed class list; review conformed class list.	1.00	\$	425	\$	425.00
06/30/09	B. Charhon	Finalize conformed class list.	0.50	\$	425	\$	212.50
07/02/09	B. Charhon	Email J. Naylor with information regarding Garden City Group.	0.10	\$	425	\$	42.50
Project Total:			4.90			\$	1,452.50
Percentage Recoverable:	100%					\$	1,452.50
Hours Billed to Project No. 474 by Co- Counsel:	0.00						

Project No. 475		Review Ninth Circuit Dismissal Order			
Date	Time Keeper	Description	Hours	Rate	Fee
Project Total:			-		\$ -
Percentage	100%				\$ -
Recoverable:					
	0.00				
Project No.475 by Co-					
Counsel:					

287224_10.XLS 306 of 306